Item #	Room	Name/Description	Scope of Damage	Qty	Cost/Item	Total RCV	Tax Rate	Sales Tax	Total RCV Inc. Sales Tax	Source/Reference Age	Comments
	ATTIC FRONT STORAGE AND GYM	New Lego-like building block set from Susengo, Titanic 1912									
1	ROOM ATTIC FRONT	RMS, Item 0577, 1021 piece set, Photo 8070	Replace	1	\$119.99 \$	119.99	6.25%	\$ 7.50	\$ 127.49	NEW	
2	STORAGE AND GYM ROOM	257 piece Lego building set, Disney's Pixar Toy Story, Item 7593 Buzz's Star Command Ship, new in box	Replace	1	\$124.99 \$	124.99	6.25%	\$ 7.81	\$ 132.80	NEW	
3	ATTIC FRONT STORAGE AND GYM ROOM	Lego set from Toy Story, 92 piece set, Item 7590, Woody & Buzz to the Rescue, new in box, Photo 8071	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4.37	\$ 74.36	NEW	
	ATTIC FRONT STORAGE AND GYM										
4	ROOM ATTIC FRONT STORAGE AND GYM	US military coin	Replace	5	\$14.99 \$	74.95	6.25%	\$ 4.68	\$ 79.63	+5	
5	ROOM ATTIC FRONT	US military shirt pin, Photo 8072	Replace	14	\$4.99 \$	69.86	6.25%	\$ 4.37	\$ 74.23	+5	
6	STORAGE AND GYM ROOM ATTIC FRONT	3 disc adult DVD set	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	+5	
7	STORAGE AND GYM ROOM ATTIC FRONT	Adult massager toy from Pearl Sheen series	Replace	1	\$ \$24.99	24.99	6.25%	\$ 1.56	\$ 26.55	+5	
8	STORAGE AND GYM ROOM	6' leather whip adult toy	Replace	1	\$18.99 \$	18.99	6.25%	\$ 1.19	\$ 20.18	+5	
9	ATTIC FRONT STORAGE AND GYM ROOM	Adult movie on DVD	Replace	3	\$24.99 \$	74.97	6.25%	\$ 4.69	\$ 79.66	+5	
40	ATTIC FRONT STORAGE AND GYM			•	¢2.00. ¢	0.07	C 25%	0.50	. 0.52		
10	ROOM ATTIC FRONT STORAGE AND GYM	Glass shot glass	Replace	3	\$2.99 \$		6.25%			+5	
11	ROOM ATTIC FRONT STORAGE AND GYM	Men's leather banded wrist watch from Disney	Replace	2	\$59.99 \$	119.98	6.25%	\$ 7.50	\$ 127.48	+5	
12	ROOM ATTIC FRONT	Men's stainless steel wrist watch from Coca Cola	Replace	2	\$59.99 \$	119.98	6.25%	\$ 7.50	\$ 127.48	+5	
13	STORAGE AND GYM ROOM ATTIC FRONT	Adult DVD, Photo 8073	Replace	21	\$29.99 \$	629.79	6.25%	\$ 39.36	\$ 669.15	+5	
14	STORAGE AND GYM ROOM ATTIC FRONT	Large soft cover reference book	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+5	
15	STORAGE AND GYM ROOM ATTIC FRONT	Adult DVD	Replace	11	\$29.99 \$	329.89	6.25%	\$ 20.62	\$ 350.51	+5	
16	STORAGE AND GYM ROOM	Hanging wall calendar	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+5	
17	ATTIC FRONT STORAGE AND GYM ROOM	Men's heavy duty tube socks from Fruit of the Loom Work Gear, 6 count package	Replace	2	\$17.99 \$	35.98	6.25%	\$ 2.25	\$ 38.23	+5	
18	ATTIC FRONT STORAGE AND GYM ROOM	Man's tube scale for Pig 9 Tall 10 sount pooleges	Panlaga	2	\$8.99 \$	17.98	6.25%	\$ 1.12	\$ 19.10	Aveere	
	ATTIC FRONT STORAGE AND GYM	Men's tube socks for Big & Tall, 10 count package	Replace							4 years	
19	ROOM ATTIC FRONT STORAGE AND GYM	Fleece throw blanket	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+5	
20	ROOM ATTIC FRONT	Small hanging pillow	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	+5	
21	ROOM ATTIC FRONT	Folded American flags (believe they are for fallen service members)	Replace	2	\$99.99 \$	199.98	6.25%	\$ 12.50	\$ 212.48	+5	
22	STORAGE AND GYM ROOM ATTIC FRONT	American flag storm flag	Replace	1	\$48.99 \$	48.99	6.25%	\$ 3.06	\$ 52.05	+5	
23	STORAGE AND GYM ROOM ATTIC FRONT	Military certificate or award for a fallen member	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4.37	\$ 74.36	+5	
24	STORAGE AND GYM ROOM ATTIC FRONT	18" X 12" wooden picture frame with wall print	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74	+5	
25	STORAGE AND GYM ROOM	Large floor safe from Sentry Safe, Photo 8075	Replace	1	\$343.99 \$	343.99	6.25%	\$ 21.50	\$ 365.49	+5	

	ATTIC FRONT										
	STORAGE AND GYM										
26	ROOM ATTIC FRONT STORAGE AND GYM	8 pound 2 ounce fire extinguisher from Kidde, dry chemical	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.2	1	+5
27	ROOM ATTIC FRONT	Queen quilt	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.2	1	+5
28	STORAGE AND GYM ROOM ATTIC FRONT	Small electric humidifier from Walgreens, Photo 8076	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	•	+5
29	STORAGE AND GYM ROOM	Full fleece throw blanket, new	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.8	3	+5
	ATTIC FRONT							,	,		older than 5 years
30	STORAGE AND GYM ROOM ATTIC FRONT	Personalized ceramic coffee mug	Replace	15	\$9.99 \$	149.85	6.25%	\$ 9.37	\$ 159.2		but new condition, never used
31	STORAGE AND GYM ROOM ATTIC FRONT	Hard plastic pencil box from Staples	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.2	3	+5
32		Model monster truck with motorcycles from Hess, new in box, Photo 8078	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.1	1	NEW
33	STORAGE AND GYM ROOM ATTIC FRONT	Dual window intake and exhaust fan from Holmes	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	9	+5
34	STORAGE AND GYM ROOM ATTIC FRONT	Canon all in one printer, Model MG6120, Photo 8079	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.9	9	+5
35	STORAGE AND GYM ROOM	Sports Illustrated wall calendar, new	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.2	3	+5
36	ATTIC FRONT STORAGE AND GYM ROOM	5" X 7" metal picture frame	Replace	2	\$14.99 \$	29.98	6.25%	\$ 1.87	\$ 31.8	5	+5
37	ATTIC FRONT STORAGE AND GYM ROOM	15 count package of 8M compact flash disk from San Disk, Photo 8080	Replace	1	\$62.99 \$	62.99	6.25%	\$ 3.94	\$ 66.9	3	Box opened, but not used
38	ATTIC FRONT STORAGE AND GYM ROOM	Large digital camera from Olympus, Model E-500, Photo 8081	Replace	1	\$799.99 \$	799.99	6.25%	\$ 50.00	\$ 849.9	https://www.google.com/shop ping/product/1301456185472 2469020?q=Large+digital+ca mera+from+Olympus&prds=e pd:8541249601733363948,p mr:3,eb:854124960173336 3948,1,rb:1,tpim:CNC2m46 Psq678gEQqKiio5vZ2csXGP DBu_C0lgNVU0Qo4PzrhAYw 9rrYOw&utm_medium=tu_pro p&utm_content=eid- lsjeuxoeqt&utm_campaign=12 9 5181302 https://www.google.com/shop ping/product/2930364881737 2916737g=PalmCorder+from +Panasonic&prds=epd:16156 409323373683750_ 1,rb:1,tpim:CMXE0MjssN- KOQEQjjW6- PjhoMHGPCGJACIgNVU0Qo 4KrMhAYw9rrYOw&utm_medi um=tu_prop&utm_content=eid-	+5
39	STORAGE AND GYM ROOM ATTIC FRONT	PalmCorder from Panasonic, Model PV-21D, Photo 8082	Replace	1	\$599.99 \$	599.99	6.25%	\$ 37.50	\$ 637.4	Isjeuxoeqt&utm_campaign=12 5181302	+5
40	STORAGE AND GYM ROOM ATTIC FRONT	8" plastic flashlight	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.2	3	+5
41	STORAGE AND GYM ROOM ATTIC FRONT	Compact VHS tape - VHS-C, Model TC-30 from JVC	Replace	18	\$5.99 \$	107.82	6.25%	\$ 6.74	\$ 114.5	i i	+5
42	STORAGE AND GYM ROOM ATTIC FRONT	4 pack of 9 volt batteries from Duracell Coppertop	Replace	2	\$16.99 \$	33.98	6.25%	\$ 2.12	\$ 36.1)	+5
43	STORAGE AND GYM ROOM ATTIC FRONT	Large canvas camera bag with shoulder strap	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.9)	+5
44	STORAGE AND GYM ROOM	New baseball cap, Photo 8083	Replace	34	\$29.99 \$	1,019.66	6.25%	\$ 63.73	\$ 1,083.3)	NEW

	ATTIC FRONT										
45	STORAGE AND GYM ROOM	Photo paper from Kodak, 8-1/2" X 11", 100 sheet package	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.00) \$	84.96	+5
	ATTIC FRONT STORAGE AND GYM	7									
46	ROOM	Ream of printer paper from Georgia Pacific	Replace	1	\$6.99 \$	6.99	6.25%	\$ 0.44	1 \$	7.43	+5
	ATTIC FRONT STORAGE AND GYM										
47	ROOM	Ream of HP Advanced Photo Paper, 100 sheets, 8-1/2" X 11"	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	7 \$	31.86	+5
	ATTIC FRONT STORAGE AND GYM										
48	ROOM	Little League baseball	Replace	9	\$4.99 \$	44.91	6.25%	\$ 2.81	\$	47.72	NEW
	ATTIC FRONT STORAGE AND GYM										
49	ROOM	Medium canvas camera bag from JVC video movie	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$	42.49	+5
	ATTIC FRONT STORAGE AND GYM										
50	ROOM	Small wooden bench, 13" X 42" long X 10" wide, Photo 8084	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	5 \$	63.74	+5
	ATTIC FRONT STORAGE AND GYM	Large hanging wall shelf, solid wood, believe it used to sit a TV,									
51	ROOM	32" tall X 49" long X 21" deep	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4.37	7 \$	74.36	+5
	ATTIC FRONT STORAGE AND GYM										
52	ROOM	VHS-C tape, new, from JVC	Replace	12	\$1.99 \$	23.88	6.25%	\$ 1.49	\$	25.37	+5
	ATTIC FRONT STORAGE AND GYM										
53	ROOM	New refill for Canon printer, Canon Pixma	Replace	3	\$70.99 \$	212.97	6.25%	\$ 13.31	1 \$	226.28	NEW
	ATTIC FRONT STORAGE AND GYM										
54	ROOM ATTIC FRONT	Package of various garden seeds from Eden Garden Seeds	Replace	24	\$1.55 \$	37.20	6.25%	\$ 2.33	3 \$	39.53	+5
	STORAGE AND GYM	Set of digital camera universal screen protectors from Digital									
55	ROOM ATTIC FRONT	Concepts, Model SP-60BULK	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	7 \$	31.86	+5
	STORAGE AND GYM										_
56	ROOM ATTIC FRONT	Sony CD/DVD player, Model DVP-NS710H	Replace	1	\$44.99 \$	44.99	6.25%	\$ 2.81	\$	47.80	+5
57	STORAGE AND GYM ROOM	Dial resistance exercise bike, Photo 8085	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50		212.49	+5
37	ATTIC FRONT	Dial resistance exercise bike, i noto ooos	Replace	•	\$133.33 \$	133.33	0.23/6	ψ 12.30	, ,	212.43	13
58	STORAGE AND GYM ROOM	Plastic flower water pot	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	2 \$	10.61	+5
	ATTIC FRONT			•	*****			,	•		-
59	STORAGE AND GYM ROOM	Kidde fire extinguisher, 8 pound 2 ounce, dry chemical	Replace	1	\$74.99 \$	74.99	6.25%	\$ 4.69	\$	79.68	+5
	ATTIC FRONT STORAGE AND GYM										
60	ROOM	King mattress with split box spring/foundation, Photo 8086	Replace	1	\$1,699.99 \$	1,699.99	6.25%	\$ 106.25	5 \$	1,806.24	+5
	ATTIC FRONT STORAGE AND GYM										
61	ROOM	King mattress protector	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$	84.99	+5
	ATTIC FRONT STORAGE AND GYM										
62	ROOM ATTIC FRONT	King sheet set	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	5 \$	106.24	+5
	STORAGE AND GYM										
63	ROOM ATTIC FRONT	King throw blanket	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$	84.99	+5
	STORAGE AND GYM	6 count package of Polaroid instant print film, 12 photos per									
64	ROOM ATTIC FRONT	package, Photo 8087	Replace	6	\$18.99 \$	113.94	6.25%	\$ 7.12	2 \$	121.06	+5
0.5		24" X 14" wooden picture frame, beveled, with wall print double	Dl.		****	40.00	0.050/			50.44	
65	ROOM ATTIC FRONT	mat, Photo 8088	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	2 \$	53.11	+5
66	STORAGE AND GYM ROOM	Hot Wheel car, new in package	Replace	3	\$5.99 \$	17.97	6.25%	\$ 112	2 \$	19.09	NEW
00	ATTIC FRONT	That wheel out, new in puckage	replace	·	ψ0.55 ψ	17.57	0.2070	Ψ 1.12		15.05	NEW
67	STORAGE AND GYM ROOM	Claw tooth hammer	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	7 \$	31.86	+5
	ATTIC FRONT				,			*	•		
68	STORAGE AND GYM ROOM	Model truck set from Hess, new in box, Photo 8089	Replace	7	\$69.99 \$	489.93	6.25%	\$ 30.62	2 \$	520.55	NEW
	ATTIC FRONT STORAGE AND GYM										
69	ROOM	Action figure set from A Christmas Story, new in box	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	7 \$	31.86	NEW
	ATTIC FRONT STORAGE AND GYM										
70	ROOM ATTIC FRONT	Tin lunch box from A Christmas Story	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$	26.55	+5
	STORAGE AND GYM	Porcelain or ceramic beer stein with metal attached lid, Photo									
71	ROOM	8090	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	5 \$	21.24	+5

	ATTIC FRONT												
72	STORAGE AND GYM ROOM	Speedway Vintage International D-2 pickup, new in box	Replace	1	\$29.99 \$	29 99	6.25%	\$	1.87	\$ 31.86		NEW	
	ATTIC FRONT	opeoutral vinage international 2 2 pionap, non in 20x	Поршоо	•	V20.00 V	20.00	0.2070	*		• • • • • • • • • • • • • • • • • • • •			
73	STORAGE AND GYM ROOM	Small stuffed animal	Replace	3	\$9.99 \$	29.97	6.25%	•	1.87	\$ 31.84		+5	
73	ATTIC FRONT	Onlail Stuffed affilmal	Replace	3	ψ3.33 ψ	25.51	0.23 /6	¥	1.07	31.04		13	
	STORAGE AND GYM							_				_	
74	ROOM ATTIC FRONT	6" porcelain statue	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61		+5	
		New leather banded Coca Cola watch in plastic bottle case with											
75	ROOM	pin up girl on it, Photo 8090	Replace	1	\$18.00 \$	18.00	6.25%	\$	1.13	\$ 19.13		NEW	
	ATTIC FRONT STORAGE AND GYM	2 piece set of golf balls from The US Army with 6 wooden golf											
76	ROOM	tees	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.86		+5	
	ATTIC FRONT STORAGE AND GYM												
77	ROOM	Small multi tool	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61		+5	
	ATTIC FRONT		•										
78	STORAGE AND GYM ROOM	Men's leather banded wrist watch from Timex	Replace	2	\$59.99 \$	119.98	6 25%	•	7.50	\$ 127.48		+5	
70	ATTIC FRONT	World Toutier ballaca wilst water from Timex	replace	-	ψ05.55 ψ	110.00	0.2070	•	7.00	127.40			
70	STORAGE AND GYM	December of the Control of the Contr	Benten	•		77.00	0.050/	•	4.00			. 5	
79	ROOM ATTIC FRONT	Prescription medication	Replace	3	\$25.00 \$	75.00	6.25%	Þ	4.69	\$ 79.69		+5	
	STORAGE AND GYM												
80	ROOM ATTIC FRONT	Oral B battery powered toothbrush, Oral B Pulsar, new	Replace	1	\$5.99 \$	5.99	6.25%	\$	0.37	\$ 6.36		NEW	
	STORAGE AND GYM	Surround sound set from Poly Acousticone Hi Tech, Order											
81	ROOM ATTIC FRONT	870825A	Replace	1	\$479.99 \$	479.99	6.25%	\$	30.00	\$ 509.99		5+	
	STORAGE AND GYM												
82	ROOM ATTIC FRONT	Baseball cap	Replace	5	\$29.99 \$	149.95	6.25%	\$	9.37	\$ 159.32		5+	
	STORAGE AND GYM												
83	ROOM	Large leather camera bag from Digital Concepts, Photo 8093	Replace	1	\$69.99 \$	69.99	6.25%	\$	4.37	\$ 74.36		+5	
	ATTIC FRONT STORAGE AND GYM												
84	ROOM	Camera flash for Olympus, Model FS-FL50	Replace	1	\$149.99 \$	149.99	6.25%	\$	9.37	\$ 159.36		+5	
	ATTIC FRONT STORAGE AND GYM												
85	ROOM	Camera lens, ultraviolet, from Olympus Digital, 40-150 mm	Replace	1	\$199.00 \$	199.00	6.25%	\$	12.44	\$ 211.44		+5	
	ATTIC FRONT STORAGE AND GYM												
86	ROOM	Battery charger for Olympus camera	Replace	1	\$44.99 \$	44.99	6.25%	\$	2.81	\$ 47.80		+5	
	ATTIC FRONT	To be desired as a second seco											
87	ROOM	Toy truck and space cruiser with scout from Hess, new in box, Photo 8095	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$ 53.11		NEW	
	ATTIC FRONT		•										
88	STORAGE AND GYM ROOM	24" X 14" yard sign, plastic	Replace	4	\$9.99 \$	39.96	6.25%	•	2.50	\$ 42.46		+5	
00	ATTIC FRONT	24 X 14 yard sign, plastic	Керисс	•	ψ5.55 ψ	00.00	0.2070	•	2.00	42.40			
89	STORAGE AND GYM ROOM	10 piece box of ceramic tile, 12" X 12"	Replace	1	\$9.99 \$	9.99	6.25%	•	0.62	\$ 10.61		+5	
03	ATTIC FRONT	To piece box of ceramic tile, 12 X 12	Replace	•	ψ5.55 ψ	3.33	0.23 /6	¥	0.02	, 10.01		13	
00	STORAGE AND GYM	Harris In William Charles	Builde	_	***	440.05	0.050/	•				. 5	
90	ROOM ATTIC FRONT	Heavy knit throw blanket	Replace	5	\$29.99 \$	149.95	6.25%	\$	9.37	\$ 159.32		+5	
	STORAGE AND GYM												
91	ROOM ATTIC FRONT	Window box fan from companies like Lasko	Replace	2	\$29.99 \$	59.98	6.25%	\$	3.75	\$ 63.73		+5	
	STORAGE AND GYM	Digital electric exercise bike from Bally Fitness, Life Cycle, Photo											
92	ROOM	8096	Replace	1	\$499.99 \$	499.99	6.25%	\$	31.25	\$ 531.24		+5	
	ATTIC FRONT	Large home gym workout machine from Tough Stuff, 4 sided; one									https://www.fitnessunlimited.n		
93	STORAGE AND GYM ROOM	side has leg press, 2 sides are chest, triceps, etc.; also one side has back machine, another side has the dips, Photo 8097, 8098	Replace	1	\$10,999.00 \$	10,999.00	6.25%	•	687.44	\$ 11,686.44	et/product/tuff-stuff-apollo-	+5	
93	ATTIC FRONT	nas back machine, another side has the dips, i noto ocer, oceo	Replace	•	\$10,333.00 \$	10,333.00	0.23 /6	4	007.44	7 11,000.44	7400/	13	
04	STORAGE AND GYM	Madisus service totals	Danisas	•	£20.00 £	00.07	C 25%	•	F. CO.	ė 05.50		. 5	
94	ROOM ATTIC FRONT	Medium canvas tote bag	Replace	3	\$29.99 \$	69.97	6.25%	Þ	5.62	\$ 95.59		+5	
	STORAGE AND GYM						:	_				_	
95	ROOM ATTIC FRONT	Outdoor speaker from Bose 151, Set, Photo 8099	Replace	1	\$278.00 \$	278.00	6.25%	\$	17.38	\$ 295.38		+5	
	STORAGE AND GYM											_	
96	ROOM ATTIC FRONT	Corded house phone	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24		+5	
	STORAGE AND GYM	Shoebox sized toy treasure chest with plastic toy coins, Photo											
97	ROOM ATTIC FRONT	8100	Replace	1	\$5.99 \$	5.99	6.25%	\$	0.37	\$ 6.36		+5	
	STORAGE AND GYM	Large leather briefcase luggage bag from American Tourister,											
98	ROOM	Photo 8101	Replace	1	\$299.99 \$	299.99	6.25%	\$	18.75	\$ 318.74		+5	

	ATTIC FRONT												
99	STORAGE AND GYM ROOM	Children's toothbrush from Oral B, new	Damlass	2	\$2.99 \$	F 00	6.25%	•	0.37 S	6.35		NEW	
99	ATTIC FRONT	Children's toothbrush from Oral B, new	Replace	2	\$2.99 \$	5.96	6.25%	Þ	0.37 \$	b.35		NEVV	
	STORAGE AND GYM											_	
100	ROOM ATTIC FRONT	Safety goggles	Replace	2	\$9.99 \$	19.98	6.25%	\$	1.25 \$	21.23		+5	
	STORAGE AND GYM												
101	ROOM	Fingertipless leather workout gloves from Weider	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94 \$	15.93		+5	
	ATTIC FRONT STORAGE AND GYM												
102	ROOM	Women's generic sunglasses	Replace	2	\$29.99 \$	59.98	6.25%	\$	3.75 \$	63.73		+5	
	ATTIC FRONT		•										
103	STORAGE AND GYM ROOM	One subject notebook	Ponlaco	4	\$1.99 \$	7.06	6.25%	•	0.50 \$	8.46		+5	
103	ATTIC FRONT	One subject notebook	Replace	4	\$1.33 \$	7.50	0.25%	¥	U.SU 4	0.40		+5	
	STORAGE AND GYM											_	
104	ROOM ATTIC FRONT	Paper file folder	Replace	6	\$0.50 \$	3.00	6.25%	\$	0.19 \$	3.19		+5	
	STORAGE AND GYM												
105		Small collapsible metal caddy, may be for golf bag, Photo 8102	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12 \$	53.11		+5	
	ATTIC FRONT STORAGE AND GYM	Treadmill from Weslo, Cadence 920, folds up, space saver, Photo											
106	ROOM	8103	Replace	1	\$399.99 \$	399.99	6.25%	\$ 2	5.00 \$	424.99		+5	
											https://www.nordictrack.com/		
											skiers/nordictrack-classic-pro-		
											skier?gclid=Cj0KCQjwyZmEB		
											hCpARIsALIzmnLNFIAukB9V AwTOALNBok4NvDUtKZMk		
	ATTIC FRONT										WKk7-		
407	STORAGE AND GYM	Francisco de Norte Trade Francis Divide 0404	Benten		4700.00	700.00	0.050/				Ke6AdS0jtSXoJxGNYIaAqDb	.5	
107	ROOM ATTIC FRONT	Exercise machine, NordicTrack Excel, Photo 8104	Replace	1	\$799.00 \$	799.00	6.25%	\$ 4	9.94 \$	848.94	EALw_wcB	+5	
	STORAGE AND GYM												
108	ROOM ATTIC FRONT	Small indoor putting green, Photo 8105	Replace	1	\$169.99 \$	169.99	6.25%	\$ 1	0.62 \$	180.61		+5	
	STORAGE AND GYM												
109	ROOM	Telescope with tripod from Polaris, Model 60AZ-D, Photo 8107	Replace	1	\$69.99 \$	69.99	6.25%	\$	4.37 \$	74.36		+5	
	ATTIC FRONT STORAGE AND GYM												
110	ROOM	Hanging wall poster	Replace	3	\$14.99 \$	44.97	6.25%	\$	2.81 \$	47.78		+5	
	ATTIC FRONT		-										
111	STORAGE AND GYM ROOM	Shoebox plastic storage container with lid	Replace	2	\$2.99 \$	5 98	6.25%	•	0.37 \$	6.35		+5	
	ATTIC FRONT	Onocoox plastic storage container with his	поршее	-	Ψ2.55 Ψ	0.50	0.2070	•	0.07	0.00		. 9	
	STORAGE AND GYM											_	
112	ROOM ATTIC FRONT	Uninstalled smoke alarm from First Alert	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86		+5	
	STORAGE AND GYM												
113	ROOM ATTIC FRONT	Men's prescription glasses	Replace	1	\$199.99 \$	199.99	6.25%	\$ 1	2.50 \$	212.49		+5	
	STORAGE AND GYM												
114	ROOM	Baseball cap	Replace	3	\$29.99 \$	89.97	6.25%	\$	5.62 \$	95.59		+5	
	ATTIC FRONT STORAGE AND GYM												
115	ROOM	3 gallon plastic bucket	Replace	2	\$2.99 \$	5.98	6.25%	\$	0.37 \$	6.35		+5	
	ATTIC FRONT STORAGE AND GYM												
116	ROOM	American flag, storm flag size, on wooden pole	Replace	1	\$113.99 \$	113.99	6.25%	\$	7.12 \$	121.11		+5	
	ATTIC FRONT							•					
117	ROOM	Magazine from companies like Every Day with Rachel Ray, People, Ladies Home Journal	Replace	37	\$4.99 \$	184.63	6 25%	¢ 1	1.54 \$	196.17		+5	
	ATTIC FRONT	r copie, Ladies Home dodinal	поршее	01	ψ4.55 ψ	104.00	0.2070	• .		, 130.17		. 9	
110	STORAGE AND GYM	Matiria and dis	Danies	•	2 00 5	45.00	C 050/	•	400 6	40.00		.5	
118	ROOM ATTIC FRONT	Votive candle	Replace	2	\$7.99 \$	15.90	6.25%	Þ	1.00 \$	16.98		+5	
	STORAGE AND GYM												
119	ROOM ATTIC FRONT	Hard cover reference book	Replace	3	\$39.99 \$	119.97	6.25%	\$	7.50 \$	127.47		+5	
	STORAGE AND GYM												
120	ROOM	Legal pad note pad	Replace	4	\$2.99 \$	11.96	6.25%	\$	0.75 \$	12.71		+5	
	ATTIC FRONT STORAGE AND GYM												
121	ROOM	Samsung flip phone, Photo 8108	Replace	1	\$199.99 \$	199.99	6.25%	\$ 1	2.50 \$	212.49		+5	
	ATTIC FRONT		-										
122	STORAGE AND GYM ROOM	Men's bifold leather wallet	Replace	1	\$29.99 \$	29 99	6.25%	\$	1.87 \$	31.86		+5	
	ATTIC FRONT			•	Ψ=0.00 ψ	_5.55	JU /0	*	•	. 01.00		-	
123	STORAGE AND GYM ROOM	Small wooden keepsake box with dovetail, very nice quality, 7" X 4" X 2"	Ponlace	1	\$49.99 \$	40.00	6.25%	•	3.12 \$	5 53.11		+5	
123	ROUW	7 1/2	Replace		ф45.33 ф	43.33	0.45%	ø	J. 12 \$, თა.11			

ATTIC FRONT STORAGE AND GYM 124 37 117 54 ROOM Replacement bulbs. Photo 8109 Replace \$2.99 \$ 110.63 6.25% \$ 6.91 \$ +5 ATTIC FRONT STORAGE AND GYM LG DVD player, new in box, Model DP132, Photo 8110 Replace 125 ROOM 1 \$49.99 \$ 49 99 6 25% \$ 3.12 \$ 53 11 +5 ATTIC FRONT STORAGE AND GYM 126 \$9.99 \$ 49.95 6.25% \$ 3.12 \$ 53.07 +5 ROOM Soft cover book Replace 5 Village animated skating pond from Department 56, Inc. includes ATTIC FRONT skating pond base with electric motor and switch cord, 6 figures, 4 STORAGE AND GYM magnetic skaters, 1 snowman, 1 dog, 7 sisal evergreen trees, 1 127 birch clump, Photo 8111 \$120.99 \$ 120.99 6.25% \$ 7.56 \$ 128.55 +5 ROOM Replace 1 ATTIC FRONT STORAGE AND GYM 128 ROOM Disney headband Replace 1 \$2.99 \$ 2.99 6.25% \$ 0.19 \$ 3.18 +5 ATTIC FRONT STORAGE AND GYM 129 ROOM Fisher Price baby monitor Replace 1 \$49.99 \$ 49.99 6.25% \$ 3.12 \$ 53.11 +5 ATTIC FRONT STORAGE AND GYM Hess 2014 collector's edition toy truck, new in box, 50th 130 anniversary Hess Toy Truck, Photo 8112 Replace 1 \$79.99 \$ 79.99 6.25% \$ 5.00 \$ 84.99 NEW ATTIC FRONT STORAGE AND GYM 131 12" X 9" metal picture frame with wall print Replace 3 \$24.99 \$ 74.97 6.25% \$ 4.69 \$ 79.66 +5 ATTIC REAR STORAGE 132 ROOM Twin box spring Replace 3 \$149.99 \$ 449.97 6.25% \$ 28.12 \$ 478.09 +5 ATTIC REAR STORAGE 133 ROOM Twin mattress Replace 2 \$599.99 \$ 1,199.98 6.25% \$ 75.00 \$ 1.274.98 +5 ATTIC REAR STORAGE 134 ROOM Full mattress, Photo 8122, 8123, 8124, 8125 Replace 1 \$999.99 \$ 999.99 6.25% \$ 62.50 \$ 1.062.49 +5 ATTIC REAR STORAGE 135 3' diameter plastic hanging wall clock from Pepsi, Photo 8126 \$149.99 \$ 149.99 6.25% \$ 9.37 \$ +5 ROOM Replace 1 159.36 ATTIC REAR STORAGE 136 PlayStation 2 video game 807.30 19 \$39.99 \$ 759.81 6.25% \$ 47.49 \$ +5 ROOM Replace ATTIC REAR STORAGE DVD, Photo 8127 137 ROOM Replace 22 \$24.99 \$ 549.78 6.25% \$ 34.36 \$ 584.14 +5 ATTIC REAR STORAGE New 10-1/2 ounce crystal drinking glass from Luminarc by JG Durand, Photo 8128, 8130 138 ROOM Replace 8 \$15.99 \$ 127.92 6.25% \$ 8.00 \$ 135.92 NEW ATTIC REAR STORAGE Various porcelain light up statues of buildings, Christmas themed, 139 from companies like Heritage, Photo 8131 Replace 7 \$29.99 \$ 209.93 6.25% \$ 13.12 \$ 223.05 +5 40 piece beverage set, Crystal Classic from Anchor Hocking, ATTIC REAR STORAGE includes 10 16 ounce iced tea cups, 10 9 ounce rocks cups, 20 140 ROOM 12 ounce beverage cups, Photo 8132 Replace \$149.99 \$ 149.99 6.25% \$ 9.37 \$ 159.36 +5 ATTIC REAR STORAGE 141 ROOM Electronic Happy Winter Holiday Victorian skating scene Replace 1 \$39.99 \$ 39.99 6.25% \$ 2.50 \$ 42.49 +5 32 piece Home maker set, includes 4 cups, 4 saucers, 4 soup. ATTIC REAR STORAGE plates, 4 salad plates, 4 dinner plates, 4 16 ounce tea cups, 4 12 142 1 \$52.99 \$ 52.99 6.25% \$ 3.31 \$ 56.30 +5 ROOM ounce beverage cups, 4 9 ounce on the rocks cups Replace Large set dinnerware by Corning from Corelle, new, 33 piece set, ATTIC REAR STORAGE service for 8 special feature 12-1/2" serving platter Provincial 143 Blue, Photo 8133 \$149.99 \$ 149.99 6.25% \$ 9.37 \$ 159.36 NEW ROOM Replace 1 ATTIC REAR STORAGE 144 ROOM 10" X 5" wooden hanging wall shelf, uninstalled, with 2 coat hooks Replace 4 \$34.99 \$ 139.96 6.25% \$ 8.75 \$ 148.71 +5 ATTIC REAR STORAGE 145 12" X 10" copper baking pan, decorative Replace 1 \$19.99 \$ 19.99 6.25% \$ 1.25 \$ 21.24 +5 ATTIC REAR STORAGE 146 18" X 9" aluminum baking pan, decorative Replace 1 \$19.99 \$ 19.99 6.25% \$ 1.25 \$ 21.24 +5 ATTIC REAR STORAGE 32 ounce stainless steel vacuum sealed thermos from Aladdin's 147 ROOM Stanley Vacuum Flask, comes with serving cup lid Replace 1 \$19.99 \$ 19.99 6.25% \$ 1.25 \$ 21.24 +5 ATTIC REAR STORAGE 148 ROOM Plastic soup bowl Replace 6 \$2.99 \$ 17.94 6.25% \$ 1.12 \$ 19.06 +5 ATTIC REAR STORAGE Shoebox sized Sterilite storage container with lid 149 ROOM Replace 8 \$2.99 \$ 23.92 6.25% \$ 1.50 \$ 25.42 +5 ATTIC REAR STORAGE 150 Medium wicker basket 1 \$19.99 \$ 19.99 6.25% \$ 1.25 \$ 21.24 +5 ROOM Replace ATTIC REAR STORAGE 151 Large wicker gift basket (just the basket) Replace 1 \$29.99 \$ 29.99 6.25% \$ 1.87 \$ 31.86 +5 ROOM ATTIC REAR STORAGE Hamilton Beach compact food processor, Emmie 3, Model 382 152 ROOM White, Photo 8134 Replace 1 \$39.99 \$ 39.99 6.25% \$ 2.50 \$ 42.49 +5 ATTIC REAR STORAGE 153 String of Christmas lights Replace 4 \$9.99 \$ 39.96 6.25% \$ 2.50 \$ 42.46 +5 ATTIC REAR STORAGE 154 ROOM Crystal whiskey glass from Anchor Hocking, Photo 8135 Replace 16 \$23.99 \$ 383.84 6.25% \$ 23.99 \$ 407.83 +5 ATTIC REAR STORAGE 155 ROOM Large wicker gift basket Replace 4 \$59.99 \$ 239.96 6.25% \$ 15.00 \$ 254.96 +5 ATTIC REAR STORAGE 156 ROOM Medium wicker basket Replace 2 \$19.99 \$ 39.98 6.25% \$ 2.50 \$ 42.48 +5

	New in box Children's toy, had them in doctor's offices - you								
	ATTIC REAR STORAGE moved the wooden blocks through the metal tubes on wires, made								
157	ROOM by Kinder Color Express, Photo 8136, 8137 ATTIC REAR STORAGE	Replace	1	\$69.99 \$	69.99	6.25% \$	4.37	\$ 74.36	NEW
158	ROOM 16 piece glass set, drinking glass ATTIC REAR STORAGE	Replace	1	\$72.00 \$	72.00	6.25% \$	4.50	\$ 76.50	+5
159	ROOM Small wicker basket	Replace	3	\$9.99 \$	29.97	6.25% \$	1.87	\$ 31.84	+5
160	ATTIC REAR STORAGE ROOM Medium stainless steel sauté pan	Replace	1	\$19.99 \$	19.99	6.25% \$	1.25	\$ 21.24	+5
161	ATTIC REAR STORAGE ROOM New Pyrex Originals 11" X 7" X 1-1/2" 2 quart oblong baking dish	Replace	1	\$9.99 \$	9.99	6.25% \$	0.62	\$ 10.61	NEW
	, , , ,								older than 5 years
	ATTIC REAR STORAGE Pyrex Originals 13" X 9" X 2" 3 quart oblong baking dish, Photo								but new condition,
162	ROOM 8138 ATTIC REAR STORAGE	Replace	1	\$19.99 \$	19.99	6.25% \$		\$ 21.24	never used
163	ROOM Medium wicker serving tray ATTIC REAR STORAGE	Replace	1	\$49.99 \$	49.99	6.25% \$	3.12	\$ 53.11	+5
164	ROOM Large plastic storage basket ATTIC REAR STORAGE	Replace	1	\$19.99 \$	19.99	6.25% \$	1.25	\$ 21.24	+5
165	ROOM Medium plastic storage basket ATTIC REAR STORAGE	Replace	1	\$7.99 \$	7.99	6.25% \$	0.50	\$ 8.49	+5
166	ROOM Handheld steamer from Sisan, Model HV003, new in box	Replace	1	\$39.99 \$	39.99	6.25% \$	2.50	\$ 42.49	+5
167	ATTIC REAR STORAGE Electric small air moisturizer humidifier, cool vapor, from ROOM Hankscraft by Gerber	Replace	1	\$49.99 \$	49.99	6.25% \$	3.12	\$ 53.11	+5
168	ATTIC REAR STORAGE ROOM Double 6 packer Thermos brand hard plastic cooler	Replace	1	\$28.99 \$	28.99	6.25% \$	1.81	\$ 30.80	+5
169	ATTIC REAR STORAGE ROOM Large board game	Replace	2	\$49.99 \$	99.98	6.25% \$	6.25		+5
109	Pyrex Bake & Carry by Corning, new in box, set contains (1) 2-	Replace	2	\$49.99 \$	33.30	6.25% \$	0.25	\$ 100.23	+5
170	ATTIC REAR STORAGE 1/2 quart decorated Pyrex covered casserole and (1) snap tight ROOM quilted washable cozy, Model 4856	Replace	1	\$43.99 \$	43.99	6.25% \$	2.75	\$ 46.74	NEW
171	ATTIC REAR STORAGE ROOM Solid wood serving tray, 17" long X 12" wide X 3-1/2" deep	Replace	3	\$49.99 \$	149.97	6.25% \$	9.37	\$ 159.34	+5
	ATTIC REAR STORAGE Plastic thermos brand Thermos, The Unbreakables - great for					,			
172	ROOM carrying cans of soda, pudding, fruit, holds 2 12 ounce cans	Replace	2	\$22.99 \$	45.98	6.25% \$	2.87	\$ 48.85	+5
173	ATTIC REAR STORAGE ROOM Children's swimming flippers	Replace	1	\$19.99 \$	19.99	6.25% \$	1.25	\$ 21.24	+5
174	ATTIC REAR STORAGE ROOM Film darkroom red lights, set, from Pro	Replace	1	\$27.99 \$	27.99	6.25% \$	1.75	\$ 29.74	+5
175	ATTIC REAR STORAGE ROOM Cralab large hanging wall timer	Replace	1	\$129.99 \$	129.99	6.25% \$	8.12	\$ 138.11	+5
176	ATTIC REAR STORAGE ROOM Unicolor precision timer, Serial No. 020471, Photo 8139, 8140	Replace	1	\$17.99 \$	17.99	6.25% \$	1.12		+5
	ATTIC REAR STORAGE	· ·	-						-
177	ROOM 18 gallon Sterilite plastic storage container with lid ATTIC REAR STORAGE	Replace	1	\$9.97 \$	9.97	6.25% \$	0.62	\$ 10.59	+5
178	ROOM Medium wicker basket ATTIC REAR STORAGE	Replace	3	\$19.99 \$	59.97	6.25% \$	3.75	\$ 63.72	+5
179	ROOM Soft cover book ATTIC REAR STORAGE	Replace	4	\$9.99 \$	39.96	6.25% \$	2.50	\$ 42.46	+5
180	ROOM Large woven tote bag, zip up, wicker material	Replace	1	\$39.99 \$	39.99	6.25% \$	2.50	\$ 42.49	+5
181	ATTIC REAR STORAGE ROOM 8 ounce plastic drinking cup	Replace	8	\$1.99 \$	15.92	6.25% \$	1.00	\$ 16.92	+5
182	ATTIC REAR STORAGE 8" diameter decorative porcelain plate, appears to be Virgin Mary ROOM and someone standing over Baby Jesus	Replace	1	\$19.99 \$	19.99	6.25% \$	1.25	\$ 21.24	+5
183	ATTIC REAR STORAGE ROOM Crystal wine glass	Replace	2	\$14.99 \$	29.98	6.25% \$	1.87	\$ 31.85	+5
	ATTIC REAR STORAGE	· ·	3		89.97	6.25% \$			+5
184	ROOM Children's strap back sandals ATTIC REAR STORAGE	Replace	-	\$29.99 \$			5.62		•
185	ROOM Children's sneakers ATTIC REAR STORAGE	Replace	4	\$49.99 \$	199.96	6.25% \$	12.50	\$ 212.46	+5
186	ROOM Lady Kathleen extra long rayon and nylon blanket, 72" X 90"	Replace	1	\$49.99 \$	49.99	6.25% \$	3.12	\$ 53.11	+5
187	ATTIC REAR STORAGE Large electric Christmas decoration, Mr. & Mrs. Claus sitting on ROOM an upholstered sofa, Photo 8141, 24" tall X 24" wide	Replace	1	\$169.99 \$	169.99	6.25% \$	10.62	\$ 180.61	+5
	ATTIC REAR STORAGE	•	-						•
188	ROOM 20" X 20" wooden picture frame with wall print ATTIC REAR STORAGE	Replace	2	\$79.99 \$	159.98	6.25% \$	10.00		+5
189	ROOM Large board game ATTIC REAR STORAGE	Replace	4	\$49.99 \$	199.96	6.25% \$	12.50	\$ 212.46	+5
190	ROOM Large battery powered game, Battleship from Milton Bradley ATTIC REAR STORAGE	Replace	1	\$49.99 \$	49.99	6.25% \$	3.12	\$ 53.11	+5
191	ROOM Porcelain Nativity statue, Photo 8143, assorted sizes	Replace	12	\$35.99 \$	431.88	6.25% \$	26.99	\$ 458.87	+5
192	ATTIC REAR STORAGE ROOM Medium wooden basket, Photo 8144	Replace	1	\$19.99 \$	19.99	6.25% \$	1.25	\$ 21.24	+5
193	ATTIC REAR STORAGE ROOM Large board game	Replace	1	\$49.99 \$	49.99	6.25% \$	3.12	\$ 53.11	+5
194	ATTIC REAR STORAGE ROOM XL plastic funnel, 9" diameter	Replace	3	\$7.99 \$	23.97	6.25% \$	1.50	\$ 25.47	+5
	The production of diameter		•	7 7	_0.07			0.47	.5

195	ATTIC REAR STORAGE ROOM Accent mat for picture frame	Replace	12	\$1.00 \$	12.00	6.25%	\$ 0.75	\$ 12.79	+5
196	ATTIC REAR STORAGE ROOM Medium plastic mixing bowl	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.6	+5
197	ATTIC REAR STORAGE ROOM Kodak print film, roll, Plus X Pan 125	Replace	8	\$14.99 \$	119.92	6.25%	\$ 7.50	\$ 127.42	. +5
198	ATTIC REAR STORAGE ROOM Transformer car, new	Replace	3	\$14.99 \$	44.97	6.25%	\$ 2.81	\$ 47.78	NEW NEW
199	ATTIC REAR STORAGE ROOM GI Joe action figure, new	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.23	NEW NEW
200	ATTIC REAR STORAGE ROOM Package of wax fun gum fangs, net weight 2 ounces	Replace	2	\$1.99 \$	3.98	6.25%	\$ 0.25	\$ 4.23	+5
201	ATTIC REAR STORAGE ROOM Medium canvas fanny pack	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.75	\$ 63.72	+5
202	ATTIC REAR STORAGE ROOM Children's plastic roller skates from Fisher Price	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+5
203	ATTIC REAR STORAGE ROOM Children's coloring book	Replace	13	\$3.99 \$	51.87	6.25%	\$ 3.24	\$ 55.1	+5
204	ATTIC REAR STORAGE ROOM Children's Barbie doll	Replace	4	\$29.99 \$	119.96	6.25%	\$ 7.50	\$ 127.40	+5
205	ATTIC REAR STORAGE ROOM Small plastic soup bowl	Replace	20	\$1.99 \$	39.80	6.25%	\$ 2.49	\$ 42.29	+5
206	ATTIC REAR STORAGE ROOM 8" tall porcelain statue	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25		
207	ATTIC REAR STORAGE ROOM 8" X 4" porcelain desk plaque	Replace	1	\$9.99 \$	9.99		\$ 0.62		
208	ATTIC REAR STORAGE ROOM 8" tall X 6" diameter half liter water pitcher, glass	Replace	2	\$99.99 \$	199.98			\$ 212.4	
209	ATTIC REAR STORAGE ROOM Lionel multi control toy transformer, Type 1044, 90 watt	Replace	1	\$69.99 \$	69.99		\$ 4.37		
210	ATTIC REAR STORAGE		4	\$359.99 \$	1,439.96	6.25%		\$ 1,529.90	
	ATTIC REAR STORAGE	Replace	1						
211	ROOM Train Master toy transformer ATTIC REAR STORAGE ROOM 4' X 20" wooden baby gate	Replace	1	\$149.99 \$ \$29.99 \$	149.99 29.99				
	ATTIC REAR STORAGE	Replace		, ,					
213	ROOM Children's sneakers ATTIC REAR STORAGE	Replace	1	\$49.99 \$	49.99		\$ 3.12		+5
214	ROOM Deli meat slicer from Slice Crafter, Model 900SA, Photo 8146 ATTIC REAR STORAGE	Replace	1	\$139.99 \$	139.99	6.25%		•	
215	ROOM Children's low top leather boots from TKS Shoes ATTIC REAR STORAGE	Replace	2	\$59.99 \$	119.98	6.25%	•	•	-
216	ROOM Children's low top dress boots from Faded Glory ATTIC REAR STORAGE	Replace	1	\$39.99 \$	39.99			\$ 42.49	
217	ROOM Children's canvas snow boots with ducky foot style ATTIC REAR STORAGE	Replace	2	\$59.99 \$	119.98		•	\$ 127.48	-
218	ROOM Children's flip flops from companies like Old Navy ATTIC REAR STORAGE Little Smart alphabet desk, electronic talking alphabet fun from	Replace	3	\$9.99 \$	29.97	6.25%			-
219	ROOM Vtech ATTIC REAR STORAGE	Replace	1	\$29.99 \$	29.99		\$ 1.87		-
220	ROOM 14" baby doll ATTIC REAR STORAGE	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.75	\$ 63.72	. +5
221	ROOM Large wicker picnic basket ATTIC REAR STORAGE	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.80	+5
222	ROOM Medium wicker basket ATTIC REAR STORAGE	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.75	\$ 63.72	! +5
223	ROOM Small wicker basket, Photo 8147 ATTIC REAR STORAGE	Replace	7	\$9.99 \$	69.93	6.25%	\$ 4.37	\$ 74.30	+5
224	ROOM 12" X 6" wooden shelves, Photo 8148 ATTIC REAR STORAGE	Replace	10	\$15.99 \$	159.90	6.25%	\$ 9.99	\$ 169.89	+5
225	ROOM Large game board ATTIC REAR STORAGE	Replace	2	\$49.99 \$	99.98	6.25%	\$ 6.25	\$ 106.23	+5
226	ROOM 18" X 13" wicker serving tray ATTIC REAR STORAGE	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74	+5
227	ROOM 6" diameter wooden hose clamp ATTIC REAR STORAGE New halogen floodlight bulbs from Sylvania, 1300 lumens, 900	Replace	6	\$2.99 \$	17.94	6.25%	\$ 1.12	\$ 19.00	+5
228	ROOM watts ATTIC REAR STORAGE	Replace	4	\$7.99 \$	31.96	6.25%	\$ 2.00	\$ 33.90	+5
229	ROOM 350 yard roll of twine ATTIC REAR STORAGE	Replace	1	\$2.99 \$	2.99	6.25%	\$ 0.19	\$ 3.18	+5
230	ROOM Small plastic style wicker basket, 3" X 3" ATTIC REAR STORAGE	Replace	6	\$2.99 \$	17.94	6.25%	\$ 1.12	\$ 19.00	+5
231	ROOM Women's flats from companies like Upstage ATTIC REAR STORAGE	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.00	\$ 84.98	+5
232	ROOM Large ceramic beer mug	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.23	+5
233	ATTIC REAR STORAGE ROOM Hard cover book	Replace	9	\$24.99 \$	224.91	6.25%	\$ 14.06	\$ 238.9	+5
234	ATTIC REAR STORAGE ROOM Baseball cap	Replace	4	\$29.99 \$	119.96	6.25%	\$ 7.50	\$ 127.40	+5
235	ATTIC REAR STORAGE ROOM Children's strap back sandals, canvas, from Teva	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.00	\$ 84.98	+5
236	ATTIC REAR STORAGE ROOM Children's basketball sneakers from Everlast	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74	+5

	ATTIC REAR STORAGE										
237	ROOM Children's sneakers from companies like New Balance ATTIC REAR STORAGE	Replace	5	\$59.99 \$	299.95	6.25%	\$ 18.7	5 \$	318.70		+5
238	ROOM Twin comforter ATTIC REAR STORAGE	Replace	3	\$79.99 \$	239.97	6.25%	\$ 15.0	0 \$	254.97		+5
239	ROOM Electric coffee pot, Quick Drip by West Bend, Model 56680	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.7	5 \$	63.74		+5
240	ATTIC REAR STORAGE ROOM Collapsible wooden yard stick, 6' ATTIC REAR STORAGE	Replace	1	\$15.99 \$	15.99	6.25%	\$ 1.0	0 \$	16.99		+5
241	ROOM Soft cover reference book	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.0	0 \$	84.96		+5
242	ATTIC REAR STORAGE ROOM Large reusable ice pack from Stanbel	Replace	2	\$8.99 \$	17.98	6.25%	\$ 1.1	2 \$	19.10		+5
243	ATTIC REAR STORAGE ROOM 12" tall battery powered Mickey Mouse toy	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24		+5
244	ATTIC REAR STORAGE ROOM Women's leather loafer from companies like Anchor Bay	Replace	2	\$59.99 \$	119.98	6.25%	\$ 7.5	0 \$	127.48		+5
245	ATTIC REAR STORAGE Set of 3 light photo developing trays from Photoquip, Model ROOM 1620T, develops photos 16" X 20" prints	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.1	2 \$	53.11		+5
		•								https://www.adorama.com/be	
										23cxl.html?utm_source=googl	
	ATTIC REAR STORAGE									e&utm_medium=organic&utm _campaign=organicshopping	
246	ROOM Camera from Beseler, Model 23CII, Photo 8150 ATTIC REAR STORAGE Emerson portable video cassette recorder, Model VCP700 with	Replace	1	\$1,299.99 \$	1,299.99	6.25%	\$ 81.2	5 \$	1,381.24	&utm_source=adl-gbase-o	+5
247	ROOM canvas carry case, Photo 8151 ATTIC REAR STORAGE Battery pack for Emerson recorder above, with canvas carry	Replace	1	\$299.99 \$	299.99	6.25%	\$ 18.7	5 \$	318.74		+5
248	ROOM case, Photo 8152 ATTIC REAR STORAGE Pentax Saticon color video camera, Model PC-K1500A, Photo	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.7	5 \$	63.74		+5
249	ROOM 8153 ATTIC REAR STORAGE	Replace	1	\$259.99 \$	259.99	6.25%	\$ 16.2	5 \$	276.24		+5
250	ROOM Heavy knit throw blanket	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.7	5 \$	63.73		+5
251	ATTIC REAR STORAGE Stereo 8 player from Realistic, Model 14-935 TR-169, Photo ROOM 8154	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.2	5 \$	106.24		+5
252	ATTIC REAR STORAGE ROOM Large photo develop trays, 19" X 15"	Replace	2	\$27.99 \$	55.98	6.25%	\$ 3.5	0 \$	59.48		+5
253	ATTIC REAR STORAGE ROOM 12" X 10" develop photo tray	Replace	2	\$15.99 \$	31.98	6.25%	\$ 2.0	0 \$	33.98		+5
254	ATTIC REAR STORAGE ROOM Large hard cover photo album	Replace	3	\$29.99 \$	89.97	6.25%	\$ 5.6	2 \$	95.59		+5
255	ATTIC REAR STORAGE ROOM Large decorative felt cowboy hat, Photo 8156	Replace	1	\$89.99 \$	89.99	6.25%	\$ 5.6	2 \$	95.61		+5
256	ATTIC REAR STORAGE ROOM Men's suspenders	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.7	5 \$	63.73		+5
257	ATTIC REAR STORAGE Toy Story action figure, new in box, Chrome Buzz with flying ROOM rocket action	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.9	4 \$	15.93		NEW
258	ATTIC REAR STORAGE ROOM Wicker cowboy hat from Resistol Self Conforming hat	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.0	0 \$	84.99		+5
259	ATTIC REAR STORAGE ROOM Plastic 5 pound weight	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0.7	5 \$	12.73		+5
260	ATTIC REAR STORAGE ROOM Tennis racquet	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.1	2 \$	53.11		+5
261	ATTIC REAR STORAGE Large plastic piggy bank from Dukes of Hazard, in the shape of ROOM the General Lee	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24		+5
262	ATTIC REAR STORAGE ROOM Large board game	Replace	3	\$49.99 \$	149.97	6.25%		7 \$	159.34		+5
263	ATTIC REAR STORAGE ROOM Canvas laptop shoulder bag from American Tourister	Replace	1	\$59.99 \$	59.99	6.25%		5 \$	63.74		+5
264	ATTIC REAR STORAGE ROOM Men's leather working gloves, fleece lined	Replace	2	\$24.99 \$	49.98	6.25%		2 \$	53.10		+5
	ATTIC REAR STORAGE										
265	ROOM Assorted porcelain statues for Nativity set ATTIC REAR STORAGE	Replace	5	\$29.99 \$	149.95			7 \$	159.32		+5
266	ROOM 16" X 8" ceramic serving platter ATTIC REAR STORAGE Zero Gravity C/H set with night glow, Model 6234, made by	Replace	1	\$19.99 \$	19.99	6.25%		5 \$	21.24		+5
267	ROOM Aurora ATTIC REAR STORAGE	Replace	1	\$179.99 \$	179.99	6.25%		5 \$	191.24		+5
268	ROOM Lionel brand train car, new in box, Photo 8158 ATTIC REAR STORAGE	Replace	2	\$89.99 \$	179.98	6.25%		5 \$	191.23		+5
269	ROOM 11" X 14" beveled wooden picture frame ATTIC REAR STORAGE	Replace	4	\$29.99 \$	119.96			0 \$	127.46		+5
270	ROOM Large wicker basket in the shape of a sleigh ATTIC REAR STORAGE Electric The Cooker Plus from West Bend, new in box, Photo	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86		+5
271	ROOM 8159 ATTIC REAR STORAGE	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.1	2 \$	53.11		+5
272	ROOM Large wicker woven and embroidered tote bag ATTIC REAR STORAGE	Replace	2	\$59.99 \$	119.98	6.25%	\$ 7.5	0 \$	127.48		+5
273	ROOM XL board game ATTIC REAR STORAGE	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.1	2 \$	53.11		+5
274	ROOM 16" diameter faux Christmas wreath ATTIC REAR STORAGE	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.7	5 \$	63.74		+5
275	ROOM Tabletop air hockey set from Sport Craft, Air Blaster, Photo 8160 ATTIC REAR STORAGE	Replace	1	\$54.99 \$	54.99	6.25%	\$ 3.4	4 \$	58.43		+5
276	ROOM Medium wicker basket	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.7	5 \$	63.72		+5

277	ATTIC REAR STORAGE ROOM Wicker paper or plastic plate holder	Replace	4	\$4.99 \$	19.96	6.25%	\$ 1.25	\$	21.21	+5
278	ATTIC REAR STORAGE ROOM Allowance-various Easter or spring decorations, Photo 8161	Replace	1	\$50.00 \$	50.00	6.25%	\$ 3.13	\$	53.13	+5
279	ATTIC REAR STORAGE ROOM 10" X 5" wooden shelf	Replace	6	\$9.99 \$	59.94	6.25%	\$ 3.75	\$	63.69	+5
280	ATTIC REAR STORAGE ROOM Potpourri, bag, 2.75 dry quart	Replace	8	\$14.99 \$	119.92	6.25%	\$ 7.50	\$	127.42	+5
281	ATTIC REAR STORAGE ROOM Large wicker basket, picnic basket style	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$	63.74	+5
282	ATTIC REAR STORAGE ROOM 24" tall X 24" long solid wood baby doll crib, shaped like Rudolph	Replace	1	\$64.99 \$	64.99	6.25%			69.05	+5
283	ATTIC REAR STORAGE ROOM Large bouquet of faux flowers	Replace	1	\$39.99 \$	39.99	6.25%			42.49	+5
284	ATTIC REAR STORAGE ROOM Christmas string lights	Replace	2	\$9.99 \$	19.98	6.25%		•	21.23	+5
285	ATTIC REAR STORAGE ROOM 3' Christmas stocking, fleece	Replace	1	\$29.99 \$	29.99	6.25%			31.86	+5
	ATTIC REAR STORAGE	-	1	\$59.99 \$	59.99	6.25%	•		63.74	+5
286	ATTIC REAR STORAGE 24" long X 20" tall X 14" wide solid wood Nativity house with	Replace								
287	ROOM lightbulb installed, Photo 8163 ATTIC REAR STORAGE	Replace	1	\$149.99 \$	149.99	6.25%			159.36	+5
288	ROOM Electric Christmas tree star ATTIC REAR STORAGE Statue of snowman pulling a sled with a baby snowman, new, 7" X	Replace	1	\$29.99 \$	29.99	6.25%			31.86	+5
289	ROOM 9", Photo 8164 ATTIC REAR STORAGE	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$	21.24	NEW
290	ROOM Porcelain votive candle holder, Christmas decoration, Photo 8165 ATTIC REAR STORAGE	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$	10.61	+5
291	ROOM 18 gallon Sterilite plastic storage container with lid ATTIC REAR STORAGE	Replace	4	\$9.97 \$	39.88	6.25%	\$ 2.49	\$	42.37	+5
292	ROOM Medium wicker picnic basket	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.00	\$	84.98	+5
	Allowance-container full of Christmas decorations (per tote) such ATTIC REAR STORAGE as faux Christmas tree garland with lights, stockings, other									
293	ROOM Christmas statues, ornaments, etc., Photo 8166, 8167	Replace	4	\$200.00 \$	800.00	6.25%	\$ 50.00	\$	850.00	+5
294	ATTIC REAR STORAGE ROOM Aluminum adjustable height crutches	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$	42.49	+5
295	ATTIC REAR STORAGE ROOM 3' long wooden model train bridge, Photo 8168, 8169	Replace	2	\$55.99 \$	111.98	6.25%	\$ 7.00	\$	118.98	+5
296	ATTIC REAR STORAGE ROOM Guitar amplifier from Peavey, MINX110 base amplifier	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.37	\$	159.36	+5
297	ATTIC REAR STORAGE ROOM Christmas wrapping paper, roll	Replace	4	\$4.99 \$	19.96	6.25%	\$ 1.25	\$	21.21	+5
298	ATTIC REAR STORAGE ROOM VHS movie tape, Photo 8171	Replace	49	\$9.99 \$	489.51	6.25%	\$ 30.59	\$	520.10	+5
299	ATTIC REAR STORAGE 24" X 20" beveled metal picture frame, shadow box style, with ROOM painting, double mat, Photo 8173	Replace	1	\$179.99 \$	179.99	6.25%	\$ 11.25	. \$	191.24	+5
300	ATTIC REAR STORAGE 20" X 18" beveled wooden picture frame, double mat painting, ROOM Photo 8173	Replace	1	\$129.99 \$	129.99	6.25%			138.11	+5
000	Allowance-various Halloween decoration such as stuffed animals, ATTIC REAR STORAGE hanging pumpkin string lights, faux spider webs, little plastic	Hopiaco	•	4.20.00 4	.20.00	0.2070	• 02	. •	100	
301	ROOM cauldron, plastic wall décor, etc., Photo 8174 ATTIC REAR STORAGE	Replace	1	\$200.00 \$	200.00	6.25%	\$ 12.50	\$	212.50	+5
302	ROOM Children's plastic rocking dog from Fisher Price, Photo 8175 ATTIC REAR STORAGE	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$	63.74	+5
303	ROOM Automobile engine air filter housing unit, Photo 8176	Replace	1	\$111.99 \$	111.99	6.25%	\$ 7.00	\$	118.99	+5
304	ATTIC REAR STORAGE Large children's plastic toy trucks such as fire truck, various ROOM construction trucks	Replace	4	\$39.99 \$	159.96	6.25%	\$ 10.00	\$	169.96	+5
305	ATTIC REAR STORAGE Children's 24" long plastic truck with a machine gun mounted, ROOM Photo 8177	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$	42.49	+5
306	ATTIC REAR STORAGE ROOM Star Wars special edition 3 piece VHS movie set	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.37	\$	159.36	+5
	ATTIC REAR STORAGE Slendertone Flex abdominal training system - electric muscle									
307	ROOM stimulating belt, distributed by Compex, new in package ATTIC REAR STORAGE	Replace	1	\$119.00 \$	119.00	6.25%	\$ 7.44	\$	126.44	+5
308	ROOM New window screen, 58" tall X 28" ATTIC REAR STORAGE Solid wood 2 drawer 4 shelf bookshelf, Photo 8178, 53" tall X 31"	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.00	\$	84.98	+5
309	ROOM long X 13-1/2" wide ATTIC REAR STORAGE	Replace	1	\$279.99 \$	279.99	6.25%	\$ 17.50	\$	297.49	+5
310	ROOM Nerf Dart Tag Set, Fury Fire ATTIC REAR STORAGE	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$	84.99	+5
311	ROOM Disney VHS cassette tape ATTIC REAR STORAGE	Replace	18	\$19.99 \$	359.82	6.25%	\$ 22.49	\$	382.31	+5
312	ROOM VHS cassette tape ATTIC REAR STORAGE	Replace	10	\$9.99 \$	99.90	6.25%	\$ 6.24	\$	106.14	+5
313	ROOM Solid wood 5 drawer bureau from Maisto, Photo 8181	Replace	1	\$369.99 \$	369.99	6.25%	\$ 23.12	: \$	393.11	+5
314	ATTIC REAR STORAGE ROOM Full solid wood head board and foot board, Photo 8182	Replace	1	\$299.99 \$	299.99	6.25%	\$ 18.75	\$	318.74	+5
315	ATTIC REAR STORAGE ROOM New bicycle tire from Primopro	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$	26.55	NEW
316	ATTIC REAR STORAGE ROOM Large canvas bag from Six Six One	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$	63.74	+5

	ATTIC REAR STORAGE									
317	ROOM 10" tall trophy ATTIC REAR STORAGE	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	21.23		+5
318	ROOM Adult large Halloween gorilla costume, Photo 8183 ATTIC REAR STORAGE	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	63.74		+5
319	ROOM Children's bead maze from Playskool ATTIC REAR STORAGE Electric keyboard from Casio, song bank keyboard with lesson	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	21.24		+5
320	ROOM function, Model SA-35 ATTIC REAR STORAGE	Replace	1	\$54.99 \$	54.99	6.25%	\$ 3.44	58.43		+5
321	ROOM Acoustic guitar from Yamaha, Model FG-75 ATTIC REAR STORAGE Compact disc portable stereo from Durabrand, Model CD-1493,	Replace	1	\$495.00 \$	495.00	6.25%	\$ 30.94	525.94		+5
322	ROOM Photo 8185 ATTIC REAR STORAGE	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	63.74		+5
323	ROOM Children's Heelys ATTIC REAR STORAGE	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	63.74		+5
324	ROOM Children's leather dress boots from companies like State Street ATTIC REAR STORAGE	Replace	2	\$59.99 \$	119.98	6.25%	\$ 7.50	127.48		+5
325	ROOM Children's leather belt ATTIC REAR STORAGE Children's large plastic outdoor playhouse from Fisher Price,	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	42.48		+5
326	ROOM disassembled, Photo 8186 ATTIC REAR STORAGE	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	138.11		+5
327	ROOM Men's running shoes from Nike ATTIC REAR STORAGE Children's seated toy backhoe, called The Digger, still in box,	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	106.24		+5
328	ROOM Photo 8187 ATTIC REAR STORAGE	Replace	1	\$52.99 \$	52.99	6.25%	\$ 3.31	56.30		NEW
329	ROOM 30" long toy fire truck ATTIC REAR STORAGE	Replace	3	\$39.99 \$	119.97	6.25%	\$ 7.50	127.47		+5
330	ROOM Plastic mailbox from The Boston Globe ATTIC REAR STORAGE	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	31.86		+5
331	ROOM Plastic mailbox from Sentinel & Enterprise ATTIC REAR STORAGE Large battery powered remote control Jeep Rubicon Rock	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	31.86		+5
332	ROOM Crawler from Fabtech, Photo 8188 - 28" long ATTIC REAR STORAGE	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50	212.49		+5
333	ROOM Children's large plastic toy space craft ATTIC REAR STORAGE	Replace	3	\$39.99 \$	119.97	6.25%	\$ 7.50	127.47		+5
334	ROOM Boy's leather boat shoes from Land Rover ATTIC REAR STORAGE Large roll, 50' X 8', foam carpet rug mat, for under carpet, Photo	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	63.74		+5
335	ROOM 8189 ATTIC REAR STORAGE	Replace	1	\$105.99 \$	105.99	6.25%	\$ 6.62	112.61		+5
336	ROOM Full quilt ATTIC REAR STORAGE	Replace	2	\$99.99 \$	199.98	6.25%	\$ 12.50	212.48		+5
337	ROOM Full comforter ATTIC REAR STORAGE	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	106.24		+5
338	ROOM Twin fleece blanket ATTIC REAR STORAGE	Replace	2	\$49.99 \$	99.98	6.25%	\$ 6.25	106.23		+5
339	ROOM Large inflatable pool or pond toy	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	63.73		+5
340	ATTIC REAR STORAGE ROOM Inflatable sled from Batman, Photo 8190 ATTIC REAR STORAGE	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	31.86		+5
341	ROOM Baby's canvas shoes ATTIC REAR STORAGE	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.75	63.72		+5
342	ROOM Baby's leather dress shoes	Replace	6	\$29.99 \$	179.94	6.25%	\$ 11.25	191.19		+5
343	ATTIC REAR STORAGE ROOM Toddler's Timberland style boots	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	31.86		+5
344	ATTIC REAR STORAGE ROOM Toddler's leather strap back sandals	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	21.24		+5
	Solid wood large baby cradle, stand is directly behind it in photo, think there's a pole that goes through so it can rock. Crib								https://www.dutchcrafters.co m/Amish-Classic-Baby- Cradle/p/556512so=1&utm_s ource=google&utm_medium= organic_shopping&utm_camp aign=Amish/@2Colonial%20 Classic%20Baby%20Cradle	
345	ATTIC REAR STORAGE measures 42" long X 25" wide X 24" tall; base measures 38" tall X ROOM 4' long, Photo 8193	Replace	1	\$999.00 \$	999.00	6.25%	\$ 62.44	1,061.44	&utm_term=55651&utm_cont ent=652	+5
346	ATTIC REAR STORAGE ROOM Crib mattress	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	53.11		+5
347	ATTIC REAR STORAGE ROOM Crib sheet set	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	21.24		+5
348	ATTIC REAR STORAGE ROOM Crib padded runner (bumper)	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	31.86		+5
349	ATTIC REAR STORAGE ROOM Medium Nerf gun	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	63.73		+5
350	ATTIC REAR STORAGE ROOM Hot Wheels car with hard case carry case	Replace	27	\$2.99 \$	80.73	6.25%	\$ 5.05	85.78		+5
351	ATTIC REAR STORAGE ROOM 24" diameter faux Christmas wreath	Replace	3	\$59.99 \$	179.97	6.25%	\$ 11.25	191.22		+5
352	ATTIC REAR STORAGE 3' diameter mirror that sits on top of a bureau, solid wood, Photo ROOM 8194	Replace	1	\$260.99 \$	260.99	6.25%	\$ 16.31	277.30		+5

https://www.crateandbarrel.c om/basque-honey-65-dining-

										om/basque-honey-65-dining-	
353	ATTIC REAR STORAGE ROOM	Disassembled 5' X 3' dining room table with solid wood base, Photo 8195	Replace	1	\$799.00 \$	799.00	6.25%	\$ 49.94	\$ 848.94	table/s658572?localedetail=U	+5
354		Solid wood disassembled twin head board, foot board, rails, Photo 8196	Replace	1	\$249.99 \$		6.25%	15.62			+5
355	ATTIC REAR STORAGE ROOM	7' tall X 2' wide uninstalled countertop, new, pressed wood, vinyl covered, Photo 8197	Replace	1	\$169.00 \$		6.25%	10.56			+5
356	ATTIC REAR STORAGE ROOM		Replace	8	\$22.99 \$		6.25%	11.50			+5
357	ATTIC REAR STORAGE ROOM		Replace	1	\$29.99 \$	29.99	6.25%	1.87			+5
358	ATTIC REAR STORAGE ROOM		Replace	1	\$39.99 \$	39.99	6.25%	2.50	\$ 42.49		+5
359	ATTIC REAR STORAGE ROOM	Children's plastic bicycle helmet	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.73		+5
360	ATTIC REAR STORAGE ROOM	: Twin metal bed frame	Replace	4	\$49.99 \$	199.96	6.25%	\$ 12.50	\$ 212.46		+5
361	ATTIC REAR STORAGE	Uninstalled solid wood top bunk with ladder, Photo 8201, 8202 - Remainder of bunk bed bottom would be full size and top would be twin, Photo 8232, solid wood	Replace	1	\$1,119.99 \$	1,119.99	6.25%	\$ 70.00	\$ 1.189.99	https://www.wyckes.com/twin- size-bunk-beds/artemis- collection-460141-youth- workstation-loft-bunk-bed/	+5
362		Children's 153 piece Star Wars Lego set, Model 7669, Anakin's Jedi Star Fighter	Replace	1	\$29.99 \$	29.99	6.25%	1.87			+5
363	ATTIC REAR STORAGE ROOM		Replace	1	\$29.99 \$	29.99	6.25%	1.87			NEW
364	ATTIC REAR STORAGE ROOM		Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$ 42.48		+5
365	ATTIC REAR STORAGE ROOM	Allowance-various children's toys such as monster trucks, toy Jeeps, Legos, action figures, etc., Photo 8203	Replace	1	\$400.00 \$	400.00	6.25%	\$ 25.00	\$ 425.00		+5
366	ATTIC REAR STORAGE ROOM	Sony PlayStation 1 video game console, Photo 8204	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99		+5
367	ATTIC REAR STORAGE ROOM	Large canvas backpack from Starter	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74		+5
368	ROOM ATTIC REAR STORAGE	Remote control battery powered car - Spy Gear - looks like a tank with a camera	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11		+5
369	ROOM ATTIC REAR STORAGE	Medium Lego set	Replace	3	\$49.99 \$	149.97	6.25%	\$ 9.37	\$ 159.34		+5
370	ROOM	XL plastic toy truck, Mobile Missile Launcher from Gl Joe Wooden shoe cleaning kit from Kiwi, hand crafted shoe valet,	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74		+5
371	ROOM ATTIC REAR STORAGE	Photo 8205	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11		+5
372	ROOM	Children's plastic toy cash register from Fisher Price	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86		+5
										https://www.bestbuy.com/site /bose-acoustimass-10-series- v-5-1-channel-home-theater- speaker-system-	
373	ROOM	Bose satellite surround sound speaker - Bose Lifestyle Home Entertainment System, Photo 8206, 8207	Replace	1	\$999.99 \$	999.99	6.25%	\$ 62.50	\$ 1,062.49	black/3533235.p?skuld=3533 235&ref=212&loc=1	+5
374	ROOM ATTIC REAR STORAGE	Christmas ribbon, roll	Replace	8	\$0.25 \$	2.00	6.25%	\$ 0.13	\$ 2.13		+5
375	ROOM ATTIC REAR STORAGE	Bicycle crank from Primo Products HSTARB	Replace	1	\$164.99 \$	164.99	6.25%	\$ 10.31	\$ 175.30		+5
376	ROOM	GM seat belt extender : 13-1/2" tall X 9" diameter stemmed crystal bowl, almost looks like	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$ 42.48		+5
377	ROOM ATTIC REAR STORAGE	giant chalice or wine cup, Photo 8208	Replace	1	\$65.99 \$	65.99	6.25%	\$ 4.12	\$ 70.11		+5
378	ROOM ATTIC REAR STORAGE	Window box fan	Replace	4	\$29.99 \$	119.96	6.25%	\$ 7.50	\$ 127.46		+5
379	ROOM ATTIC REAR STORAGE	24" sugary fruit faux plant from LNT Home, new	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55		NEW
380	ROOM ATTIC REAR STORAGE		Replace	1	\$109.99 \$		6.25%	6.87			+5
381		7" diameter crystal table candle holder 200 LED multicolor Christmas string lights, C-3 type, from Trim A	Replace	2	\$59.99 \$		6.25%	7.50			+5
382	ROOM ATTIC REAR STORAGE		Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25			NEW
383	ROOM ATTIC REAR STORAGE		Replace	1	\$219.99 \$	219.99	6.25%	13.75			+5
384	ROOM ATTIC REAR STORAGE		Replace	2	\$52.99 \$	105.98	6.25%	6.62			NEW
385	ROOM	25' tarp	Replace	1	\$38.99 \$	38.99	6.25%	\$ 2.44	\$ 41.43		+5

https://www.potterybarn.com/ products/flivingston-smalldesk/?catalogld=84&sku=889 6508&cm ven=FreePLA&cm cat=Google&cm pla=Furnitu re%20%3E%20Desks®io

									cat=Google&cm_pla=Furnitu
386	ATTIC REAR STORAGE Solid wood antique desk, 4 drawers, Photo 8212, 32" tall X 44" ROOM long X 19" wide	Replace	1	\$1,299.00 \$	1,299.00	6.25% \$	81.19	\$ 1,380.19	<u>re%20%3E%20Desks&regio</u> <u>n_id=658780</u> +5
387	ATTIC REAR STORAGE ROOM New large lamp shade	Replace	4	\$29.99 \$	119.96	6.25% \$	7.50	\$ 127.46	NEW
388	ATTIC REAR STORAGE ROOM Large wicker basket	Replace	6	\$29.99 \$	179.94	6.25% \$	11.25	\$ 191.19	+5
389	ATTIC REAR STORAGE ROOM Medium stuffed animal	Replace	3	\$19.99 \$	59.97	6.25% \$	3.75	\$ 63.72	+5
	ATTIC REAR STORAGE Large remote control air craft, propeller planes ranging in size but								
390	ROOM roughly 4' long, some have 5' wing span, Photo 8213, 8214, 8215 ATTIC REAR STORAGE	Replace	10	\$279.99 \$	2,799.90	6.25% \$	174.99	\$ 2,974.89	+5
391	ROOM New candy stick votive candle holder, 12' long ATTIC REAR STORAGE	Replace	4	\$5.99 \$	23.96	6.25% \$	1.50	\$ 25.46	NEW
392	ROOM 8000 BTU digital window AC, Photo 8216 ATTIC REAR STORAGE	Replace	1	\$299.99 \$	299.99	6.25% \$	18.75	\$ 318.74	+5
393	ROOM Wilson NGAA AFCA 1001 pigskin football ATTIC REAR STORAGE	Replace	1	\$145.99 \$	145.99	6.25% \$	9.12	\$ 155.11	+5
394	ROOM Very old speaker, Photo 8217 ATTIC REAR STORAGE	Replace	1	\$59.99 \$	59.99	6.25% \$	3.75	\$ 63.74	+5
395	ROOM Christmas wrapping paper, roll ATTIC REAR STORAGE	Replace	6	\$4.99 \$	29.94	6.25% \$	1.87	\$ 31.81	NEW
396	ROOM Solid wood twin head board, spindle back, Photo 8218	Replace	1	\$199.99 \$	199.99	6.25% \$	12.50	\$ 212.49	+5
397	ATTIC REAR STORAGE ROOM Large Lego set, Model 3181, The Passenger Plane, 309 pieces	Replace	1	\$99.99 \$	99.99	6.25% \$	6.25	\$ 106.24	+5
398	ATTIC REAR STORAGE ROOM Battery powered Tickle Me Elmo	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87	\$ 31.86	+5
399	ATTIC REAR STORAGE ROOM Large 14" tall action figure from The Ninja Turtles	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87	\$ 31.86	+5
400	ATTIC REAR STORAGE ROOM 12' outdoor extension cord	Replace	1	\$7.99 \$	7.99	6.25% \$	0.50	\$ 8.49	+5
401	ATTIC REAR STORAGE ROOM Leather guitar case, Photo 8219	Replace	1	\$349.99 \$	349.99	6.25% \$	21.87	\$ 371.86	+5
402	ATTIC REAR STORAGE ROOM Medium canvas briefcase style luggage bag from Pierre Cardin	Replace	1	\$79.99 \$	79.99	6.25% \$	5.00	\$ 84.99	+5
403	ATTIC REAR STORAGE ROOM Polaroid Instant Film Camera, Job Pro 2	Replace	1	\$99.99 \$	99.99	6.25% \$	6.25	\$ 106.24	+5
404	ATTIC REAR STORAGE ROOM Polaroid I-Zone instant pocket camera	Replace	1	\$39.99 \$	39.99	6.25% \$	2.50	\$ 42.49	+5
405	ATTIC REAR STORAGE ROOM 30' X 16" roll of sheet metal, Photo 8220	Replace	1	\$54.99 \$		6.25% \$	3.44		+5
406	ATTIC REAR STORAGE ROOM Canvas briefcase from Kiwi	Replace	1	\$59.99 \$		6.25% \$	3.75		+5
100	Various parts for Olympus digital camera, Photo 8221, such as	. top.uoo	•	400.00	00.00	0.2070	00		.,
	OM system winder 2, sun pack, pro master spectrum 7 lens from ATTIC REAR STORAGE Olympus, Soligor MP auto teleconverter lens from Olympus, 3								
407	ROOM pack of camera lens (just the glass piece) and connector cables ATTIC REAR STORAGE	Replace	1	\$300.00 \$	300.00	6.25% \$	18.75	\$ 318.75	+5
408	ROOM Shoebox sized Sterilite storage container with lid	Replace	3	\$2.99 \$	8.97	6.25% \$	0.56	\$ 9.53	+5
409	ATTIC REAR STORAGE ROOM VHS movie tape	Replace	17	\$9.99 \$	169.83	6.25% \$	10.61	\$ 180.44	+5
410	ATTIC REAR STORAGE ROOM Baseball cap	Replace	8	\$29.99 \$	239.92	6.25% \$	15.00	\$ 254.92	+5
411	ATTIC REAR STORAGE ROOM Hand knit canvas tote bag, baby bag	Replace	2	\$39.99 \$	79.98	6.25% \$	5.00	\$ 84.98	+5
412	ATTIC REAR STORAGE ROOM Medium wicker basket	Replace	3	\$19.99 \$	59.97	6.25% \$	3.75	\$ 63.72	+5
413	ATTIC REAR STORAGE ROOM Medium bouquet of faux flowers	Replace	1	\$39.99 \$	39.99	6.25% \$	2.50	\$ 42.49	+5
414	ATTIC REAR STORAGE Electric radio controlled car from APR Performance or Troy Lee ROOM Designs, large race car style car, Photo 8222	Replace	1	\$349.99 \$	349.99	6.25% \$	21.87	\$ 371.86	+5
415	ATTIC REAR STORAGE ROOM Ceramic coffee mug from Today's Home, new in box	Replace	6	\$5.99 \$	35.94	6.25% \$	2.25	\$ 38.19	NEW
	ATTIC REAR STORAGE Serviceware-Silverware for 8 including large spoons, small								
416	ROOM spoons, large forks, small forks, butter knives, Photo 8223 ATTIC REAR STORAGE	Replace	1	\$69.99 \$	69.99	6.25% \$	4.37		+5
417	ROOM Turk EZ to install RF modulator, Model MOD-34 ATTIC REAR STORAGE	Replace	1	\$9.95 \$		6.25% \$	0.62		+5
418	ROOM Keyed entrance doorknob set from Schlage, new ATTIC REAR STORAGE	Replace	2	\$99.99 \$	199.98	6.25% \$	12.50	\$ 212.48	NEW
419	ROOM VHS recordable cassette tape, T-120, Super Color, new ATTIC REAR STORAGE	Replace	16	\$2.00 \$	32.00	6.25% \$	2.00	\$ 34.00	NEW
420	ROOM Children's electric guitar, Photo 8224 ATTIC REAR STORAGE 30" X 24" wooden beveled wall hanging mirror, Photo 8224, made	Replace	1	\$179.99 \$	179.99	6.25% \$	11.25	\$ 191.24	+5
421	ROOM by Carolina Mirror Company	Replace	1	\$249.00 \$	249.00	6.25% \$	15.56	\$ 264.56	+5

422	ATTIC REAR STORAGE ROOM Polaroid Photo Max digital picture frame, new in box, Photo 8225	Replace	1	\$55.00 \$	55.00	6.25%	\$ 3.44	\$	58.44	NEW
423	ATTIC REAR STORAGE 34" X 28" beveled wooden picture frame with double mat wall ROOM print, Photo 8226	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.37	· \$	159.36	+5
424	ATTIC REAR STORAGE ROOM Christmas wrapping paper, roll	Replace	6	\$4.99 \$	29.94	6.25%	\$ 1.87	· s	31.81	+5
425	ATTIC REAR STORAGE ROOM Digital camera from Polaroid, Model PDC1300	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50		42.49	+5
425	Noom Digital callera from Folatola, Woden Do 1000	Replace	•	\$35.55 ¥	33.33	0.2376	φ 2.50	, ,	42.43	
	ATTIC REAR STORAGE									older than 5 years but new condition,
426	ROOM Box of Polaroid 600 Instant Film refill ATTIC REAR STORAGE	Replace	32	\$34.99 \$	1,119.68	6.25%	\$ 69.98	\$	1,189.66	never used
427	ROOM 20' X 9" X 10" solid wood plank, Photo 8228 ATTIC REAR STORAGE Car stereo system amplifier from MTX Audio, Thunder 6304,	Replace	5	\$12.99 \$	64.95	6.25%	\$ 4.06	\$	69.01	+5
428	ROOM Photo 8229 ATTIC REAR STORAGE	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50	\$	212.49	+5
429	ROOM Subwoofer box from Audiobahn ATTIC REAR STORAGE 12" subwoofer from Audiobahn, Photo 8230 (supposed to hold	Replace	1	\$89.99 \$	89.99	6.25%	\$ 5.62	\$	95.61	+5
430	ROOM two, but there is only one in there)	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	\$	138.11	+5
431	ATTIC REAR STORAGE Large briefcase style luggage bag from American Tourister, ROOM canvas	Replace	1	\$249.99 \$	249.99	6.25%	\$ 15.62	\$	265.61	+5
432	ATTIC REAR STORAGE ROOM Wooden telescoping camera tripod, Photo 8231	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$	63.74	+5
433	ATTIC REAR STORAGE ROOM Hard cover book	Replace	5	\$24.99 \$	124.95	6.25%	\$ 7.81	s	132.76	+5
434	ATTIC REAR STORAGE ROOM Full sheet of plywood, 3/4" thick, Photo 8233	Replace	1	\$62.99 \$	62.99	6.25%		· \$	66.93	+5
435	ATTIC REAR STORAGE Sanyo 25" color television, Model DS25730, new in box, Photo ROOM 8234		1	\$189.99 \$	189.99	6.25%			201.86	+5
435	Very nice quality solid wood spindle back rocking chair,	Replace	1	\$109.99 \$	109.99	6.25%	\$ 11.0	Þ	201.00	+5
436	ATTIC REAR STORAGE disassembled, new in box, with hand painting and pinstriping, ROOM Photo 8235	Replace	1	\$379.99 \$	379.99	6.25%	\$ 23.75	\$	403.74	NEW
437	ATTIC REAR STORAGE ROOM Solid wood spindle back arm chair, new in box, Photo 8236	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.37	\$	159.36	NEW
438	ATTIC REAR STORAGE ROOM Solid wood spindle back side chair, new in box, Photo 8237	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.37	· \$	159.36	NEW
439	ATTIC REAR STORAGE ROOM Large wicker basket	Replace	1	\$29.99 \$	29.99	6.25%		s	31.86	+5
440	ATTIC REAR STORAGE ROOM Adult DVD		7	\$29.99 \$	209.93	6.25%		•	223.05	+5
	ATTIC REAR STORAGE	Replace		*						-
441	ROOM 12" X 12" ceramic tile from LEA, box ATTIC REAR STORAGE	Replace	4	\$9.99 \$	39.96	6.25%		•	42.46	+5
442	ROOM New Polaroid I-Zone instant pocket camera ATTIC REAR STORAGE Large leather garment bag style luggage bag from American	Replace	25	\$39.99 \$	999.75	6.25%	\$ 62.48	\$	1,062.23	NEW
443	ROOM Tourister ATTIC REAR STORAGE	Replace	1	\$249.99 \$	249.99	6.25%	\$ 15.62	\$	265.61	+5
444	ROOM Large stuffed animal ATTIC REAR STORAGE	Replace	9	\$29.99 \$	269.91	6.25%	\$ 16.87	\$	286.78	+5
445	ROOM Medium stuffed animal ATTIC REAR STORAGE	Replace	9	\$19.99 \$	179.91	6.25%	\$ 11.24	\$	191.15	+5
446	ROOM Small stuffed animal, Photo 8239	Replace	28	\$9.99 \$	279.72	6.25%	\$ 17.48	\$	297.20	+5
447	ATTIC REAR STORAGE ROOM Large canvas duffle bag from Skyway, duffle bag luggage bag	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	: \$	53.11	+5
448	ATTIC REAR STORAGE ROOM 16" long X 10" X 12" tall hard case lockbox from Travelmaster	Replace	1	\$48.99 \$	48.99	6.25%	\$ 3.06	\$	52.05	+5
449	ATTIC REAR STORAGE Sharp Carousel digital microwave oven, Model R-307NW, Photo ROOM 8240	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	: \$	138.11	+5
450	ATTIC REAR STORAGE ROOM Men's strap back sandals from NFI	Replace	1	\$49.99 \$	49.99	6.25%	s 312	· s	53.11	+5
451	ATTIC REAR STORAGE Digital proportional radio control system from Futaba, Model FP- ROOM T4FG	Replace	1	\$129.99 \$	129.99			: \$	138.11	+5
	ATTIC REAR STORAGE Digital proportional radio control system from Futaba, Model FP-		2							-
452	ROOM T5FG/K, Photo 8242 ATTIC REAR STORAGE	Replace		\$129.99 \$	259.98	6.25%			276.23	+5
453	ROOM Canvas shoulder strap water thermos ATTIC REAR STORAGE	Replace	1	\$29.99 \$	29.99			\$	31.86	+5
454	ROOM Small collapsible metal trolly cart ATTIC REAR STORAGE	Replace	1	\$35.99 \$	35.99	6.25%	\$ 2.25	\$	38.24	+5
455	ROOM Large wicker basket ATTIC REAR STORAGE Children's bead maze - they have them in pediatric doctor's	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$	63.73	+5
456	ROOM offices, made by Kinderworks	Replace	1	\$34.99 \$	34.99	6.25%	\$ 2.19	\$	37.18	+5
457	ATTIC REAR STORAGE Electric typewriter made by Royal, Model Academy with hard ROOM plastic briefcase style storage and carry case, Photo 8243	Replace	1	\$279.99 \$	279.99	6.25%	\$ 17.50	s	297.49	+5
	ATTIC REAR STORAGE	•	-							-
458	ROOM Crystal serving dish, 9" diameter X 4" deep ATTIC REAR STORAGE	Replace	1	\$57.99 \$	5.00	6.25%			5.31	+5
459	ROOM Large wicker basket ATTIC REAR STORAGE	Replace	4	\$29.99 \$	119.96	6.25%	•	\$	127.46	+5
460	ROOM Uninstalled carpet, roughly 16' X 25', Photo 8244	Replace	1	\$699.00 \$	699.00	6.25%	\$ 43.69	\$	742.69	+5

461	ATTIC REAR STORAGE New box of Genuine American Wood Flooring from Bruce, 20 SF ROOM carton, each plank is 3/4" thick, Photo 8244, 8245	Replace	1	\$79.99	79.99	6.25%	\$ 5.00	\$	84.99	NEW
462	ATTIC REAR STORAGE ROOM 24" uninstalled shop light that take fluorescent bulbs	Replace	2	\$40.99	\$ 81.98	6.25%	\$ 5.12	\$	87.10	+5
463	ATTIC REAR STORAGE ROOM Sony CD/DVD player, Model DVP-NS300, Photo 8246	Replace	1	\$34.99	34.99	6.25%	\$ 2.19	\$	37.18	+5
	4 piece luggage bag set: XL and large sized canvas briefcase									
464	ATTIC REAR STORAGE style luggage bag on wheels, one large canvas garment bag, one ROOM small canvas duffle bag, from American Tourister, Photo 8247	Replace	1	\$299.99	\$ 299.99	6.25%	\$ 18.75	\$	318.74	+5
465	ATTIC REAR STORAGE ROOM Large canvas shower bag from LL Bean	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$	31.86	+5
466	ATTIC REAR STORAGE ROOM Medium leather shower bag	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$	31.86	+5
467	ATTIC REAR STORAGE Set of 4 frosted crystal drinking mug, 14 ounce, from Crystal Clear ROOM Athens, Photo 8248	Replace	1	\$19.99	19.99	6.25%	\$ 1.25	\$	21.24	+5
	Ceramic and glass statute from Department 56, Snow Babies,									
	new in box, one is Model "And He Kissed Me" second is Model ATTIC REAR STORAGE "Build Your Own Castle", third is Model "Sing a Song", fourth is "O,									
468	ROOM Canada" Photo 8249, 8250, 8251 ATTIC REAR STORAGE Small plush animal from Ty Beanie Babies, Containables line, new	Replace	4	\$29.99	119.96	6.25%	\$ 7.50	\$	127.46	NEW
469	ROOM in case, Photo 8252 ATTIC REAR STORAGE Silver teaspoon, miniature, collectible, some are engraved, Photo	Replace	5	\$9.99	\$ 49.95	6.25%	\$ 3.12	\$	53.07	NEW
470	ROOM 8253 ATTIC REAR STORAGE	Replace	24	\$9.99	\$ 239.76	6.25%	\$ 14.99	\$	254.75	+5
471	ROOM Ceramic hand painted coaster ATTIC REAR STORAGE Personalized engraved solid wood lockbox, very nice quality, 5"	Replace	6	\$5.99	\$ 35.94	6.25%	\$ 2.25	\$	38.19	+5
472	ROOM tall X 6" X 6-1/2", Photo 8254 ATTIC REAR STORAGE	Replace	1	\$49.99	\$ 49.99	6.25%	\$ 3.12	\$	53.11	+5
473	ROOM 12" X 9" wooden picture frame ATTIC REAR STORAGE	Replace	6	\$24.99	\$ 149.94	6.25%	\$ 9.37	\$	159.31	+5
474	ROOM 12" X 9" metal picture frame ATTIC REAR STORAGE	Replace	5	\$24.99	\$ 124.95	6.25%	\$ 7.81	\$	132.76	+5
475	ROOM 20" X 7" metal picture frame, collage style ATTIC REAR STORAGE	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$	31.86	+5
476	ROOM American flag, folded (Believe it's for a service member) ATTIC REAR STORAGE	Replace	1	\$99.99	99.99	6.25%	\$ 6.25	\$	106.24	+5
477	ROOM 12" X 8" wooden wall décor	Replace	2	\$19.99	\$ 39.98	6.25%	\$ 2.50	\$	42.48	+5
478	ATTIC REAR STORAGE ROOM 20" X 16" wooden picture frame with wall print, new	Replace	1	\$39.99	\$ 39.99	6.25%	\$ 2.50	\$	42.49	NEW
479	ATTIC REAR STORAGE ROOM 12" tall X 6" wide ceramic statue style bookends	Replace	2	\$19.99	39.98	6.25%	\$ 2.50	\$	42.48	+5
480	ATTIC REAR STORAGE ROOM Large hard case briefcase style luggage bag from Travel Master	Replace	1	\$249.99	\$ 249.99	6.25%	\$ 15.62	\$	265.61	+5
481	ATTIC REAR STORAGE Large briefcase style luggage bag, leather, from American ROOM Tourister	Replace	1	\$249.99	\$ 249.99	6.25%	\$ 15.62	\$	265.61	+5
482	ATTIC REAR STORAGE ROOM 8000 BTU window AC from Hot Point, Photo 8255	Replace	1	\$299.99	\$ 299.99	6.25%	\$ 18.75	\$	318.74	+5
483	ATTIC REAR STORAGE Recessed lighting fixture for industrial use, from Commercial ROOM Electric, Model CAT7IC	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$	31.86	+5
484	ATTIC REAR STORAGE ROOM Shoebox sized Sterilite storage container with lid	Replace	3	\$2.99	\$ 8.97	6.25%	\$ 0.56	\$	9.53	+5
485	ATTIC REAR STORAGE ROOM Children's coloring book	Replace	8	\$3.99	\$ 31.92	6.25%	\$ 2.00	\$	33.92	+5
486	ATTIC REAR STORAGE ROOM 1-1/2" 3-ring binder	Replace	4	\$8.99	\$ 35.96	6.25%	\$ 2.25	\$	38.21	+5
487	ATTIC REAR STORAGE ROOM Children's soft cover learning book, Photo 8256	Replace	27	\$7.99	\$ 215.73	6.25%	\$ 13.48	\$	229.21	+5
488	ATTIC REAR STORAGE ROOM 12000 BTU window air conditioner, Photo 8257, 8258	Replace	1	\$349.99	\$ 349.99	6.25%	\$ 21.87	\$	371.86	+5
489	ATTIC REAR STORAGE ROOM 3" 3-ring binder	Replace	4	\$11.99	\$ 47.96	6.25%	\$ 3.00	\$	50.96	+5
490	ATTIC REAR STORAGE ROOM 3 gallon metal trash can	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$	31.86	+5
491	ATTIC REAR STORAGE Allowance-various Christmas decorations such as stockings, ROOM string lights, ribbon, garland, etc., Photo 8259	Replace	1	\$100.00	\$ 100.00	6.25%	\$ 6.25	\$	106.25	+5
492	ATTIC REAR STORAGE Automobile stereo system speaker amplifier from MTX Audio, ROOM Thunderbird 6500D, Photo 8260	Replace	1	\$199.99	\$ 199.99	6.25%	\$ 12.50	\$	212.49	+5
493	ATTIC REAR STORAGE Sony FM/AM compact disc player for automobile - CD deck - ROOM Model MEX-5DI, Photo 8261, 8262	Replace	1	\$109.99	\$ 109.99	6.25%	\$ 6.87	\$	116.86	+5
494	ATTIC REAR STORAGE XL hard case briefcase style luggage bag from companies like ROOM American Tourister	Replace	2	\$249.99	\$ 499.98	6.25%	\$ 31.25	\$	531.23	+5
495	ATTIC REAR STORAGE Large Carousel microwave from Sharp with digital touch pad, ROOM Model R-420AK, 1000 watt, Photo 8263	Replace	1	\$129.99	129.99	6.25%	\$ 8.12	\$	138.11	+5
496	ATTIC REAR STORAGE ROOM Jack piece, Photo 8264	Replace	1	\$79.99	79.99	6.25%	\$ 5.00	\$	84.99	+5
497	ATTIC REAR STORAGE ROOM Humidifier from Bionaire, Model CP2550-U, Photo 8265	Replace	1	\$99.99		6.25%	\$ 6.25	S	106.24	+5
498	ATTIC REAR STORAGE ROOM Large board game	Replace	3	\$49.99	,	6.25%	•	•	159.34	+5
499	ATTIC REAR STORAGE ROOM 18" X 10" plastic serving tray	Replace	2	\$4.99		6.25%	•	•	10.60	+5
.55	m to the passes on ring ady		-	ψ03	, 5.50	JU /0	- 0.02	٠	10.00	13

500	ATTIC REAR STORAGE ROOM Portable 3 in 1 booster seat from The First Years	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11	+5
501	ATTIC REAR STORAGE 12" subwoofer from Audio Bahn in subwoofer box from Polk Audio, ROOM Photo 8266	Replace	1	\$449.00 \$	449.00	6.25%	\$ 28.06	\$ 477.06	+5
502	ATTIC REAR STORAGE 20" long wooden wall hanging coat rack, uninstalled, each rack ROOM has 3 wooden hooks	Replace	2	\$24.99 \$	49.98	6.25%	\$ 3.12	\$ 53.10	+5
503	ATTIC REAR STORAGE ROOM Lionel Train cars HO-Gauge Electric Trains, Photo 8267, 8268	Replace	22	\$116.99 \$	2.573.78	6.25%			+5
504	ATTIC REAR STORAGE ROOM Stationary train car building	Replace	4	\$39.99 \$	159.96	6.25%			+5
505	ATTIC REAR STORAGE ROOM Train car tracks, set	Replace	1	\$159.99 \$	159.99	6.25%			+5
	ATTIC REAR STORAGE Various train model decorations such as stop lights, trees,								•
506	ROOM telephone poles, etc. ATTIC REAR STORAGE Remote control race car set with track from Aurora AFX, Ghost	Replace	1	\$400.00 \$	400.00	6.25%			+5
507	ROOM Racer ATTIC REAR STORAGE	Replace	1	\$259.99 \$	259.99	6.25%			+5
508	ROOM Children's action figure from Power Rangers ATTIC REAR STORAGE	Replace	5	\$9.99 \$	49.95	6.25%	\$ 3.12	\$ 53.07	+5
509	ROOM Electric stereo cassette deck from Aiwa, Model F330, Photo 8269 ATTIC REAR STORAGE	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50	\$ 212.49	+5
510	ROOM Hard college cover textbook ATTIC REAR STORAGE	Replace	5	\$199.99 \$	999.95	6.25%	\$ 62.50	\$ 1,062.45	+5
511	ROOM Leather back funeral memory book ATTIC REAR STORAGE	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11	2.5 years
512	ROOM 1" 3-ring binder	Replace	2	\$7.99 \$	15.98	6.25%	\$ 1.00	\$ 16.98	+5
513	ATTIC REAR STORAGE Box of 5 bar envelopes from Louise Vellum, 250 count box of ROOM cards and envelopes, 4-1/8" X 5-1/2"	Replace	2	\$12.99 \$	25.98	6.25%	\$ 1.62	\$ 27.60	+5
514	ATTIC REAR STORAGE ROOM Children's hard cover book	Replace	23	\$9.99 \$	229.77	6.25%	\$ 14.36	\$ 244.13	+5
515	ATTIC REAR STORAGE ROOM Children's soft cover book, Photo 8270	Replace	67	\$7.99 \$	535.33	6.25%	\$ 33.46	\$ 568.79	+5
516	ATTIC REAR STORAGE Digital proportional radio control system (remote control to fly ROOM airplanes), made by Futaba, Model FP-T4L	Replace	1	\$399.99 \$	399.99	6.25%	\$ 25.00	\$ 424.99	+5
	ATTIC REAR STORAGE Allowance-various Christmas decorations such as Christmas								
517	ROOM statues, stockings, tree skirt, potpourri, etc., Photo 8271 ATTIC REAR STORAGE	Replace	1	\$150.00 \$	150.00	6.25%	\$ 9.38	\$ 159.38	+5
518	ROOM New wall outlet boxes, uninstalled, plastic	Replace	6	\$3.29 \$	19.74	6.25%	\$ 1.23	\$ 20.97	NEW
510	ATTIC REAR STORAGE Box of 7/16" medium crown 16 gauge staples, galvanized, chisel ROOM point, 1-1/2" length, from Spot Nails 10,000 count	Daniess	1	\$04.00 B	64.99	6.25%	t 400		+5
519	ATTIC REAR STORAGE	Replace		\$64.99 \$					-
520	ROOM Children's hard cover book ATTIC REAR STORAGE	Replace	46	\$9.99 \$	459.54	6.25%			+5
521	ROOM Children's soft cover book ATTIC REAR STORAGE	Replace	62	\$7.99 \$	495.38	6.25%			+5
522	ROOM 12' outdoor heavy duty extension cord ATTIC REAR STORAGE	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.50	\$ 8.49	+5
523	ROOM Large fleece Christmas gift bag, Santa's bag ATTIC REAR STORAGE	Replace	1	\$4.99 \$	4.99	6.25%	\$ 0.31	\$ 5.30	+5
524	ROOM Adult Santa costume ATTIC REAR STORAGE	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	+5
525	ROOM 6 count package of refill film for Polaroid I-Zone ATTIC REAR STORAGE	Replace	4	\$4.99 \$	19.96	6.25%	\$ 1.25	\$ 21.21	+5
526	ROOM Large hard cover leather back photo album ATTIC REAR STORAGE	Replace	3	\$49.99 \$	149.97	6.25%	\$ 9.37	\$ 159.34	+5
527	ROOM Hard cover book	Replace	15	\$24.99 \$	374.85	6.25%	\$ 23.43	\$ 398.28	+5
528	ATTIC REAR STORAGE Assorted ceramic statue, assorted size, ranging from 5" to 13", created by Michael Garman, Photo 8274, 8275	Replace	9	\$89.99 \$	809.91	6.25%	\$ 50.62	\$ 860.53	+5
529	ATTIC REAR STORAGE XL ceramic decorative beer stein with stainless steel lid, hand ROOM painted	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$ 42.48	+5
530	ATTIC REAR STORAGE ROOM Small porcelain coffee cup from Norman Rockwell Museum	Replace	1	\$10.99 \$	10.99	6.25%	\$ 0.69	\$ 11.68	+5
531	ATTIC REAR STORAGE 8" tall X 7" long hand molded and painted ceramic statue, Photo ROOM 8274, 8275	Replace	2	\$14.99 \$	29.98	6.25%	\$ 1.87	\$ 31.85	+5
532	ATTIC REAR STORAGE Assorted size ceramic Nativity statues, ranging from 12" tall to 3" ROOM tall. Photo 8276	Replace	19	\$19.99 \$	379.81	6.25%	\$ 23.74	\$ 403.55	+5
533	ATTIC REAR STORAGE ROOM 10" tall stuffed animal statue	Replace	1	\$9.99 \$	9.99	6.25%			+5
	ATTIC REAR STORAGE								
534	ROOM 16" tall ceramic statue of Christmas caroler, Photo 8276 SECOND FLOOR MASTER BERDROOM	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+5
	MASTER BEDROOM - WITH CLOSET AND								
535	BATHROOM Plastic toilet bowl brush with plastic caddy SECOND FLOOR	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	+5
	MASTER BEDROOM - WITH CLOSET AND								
536	BATHROOM Soft cover book	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	\$ 42.46	+5

	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND								
537	BATHROOM SECOND FLOOR MASTER BEDROOM -	Men's heavy duty leather belt, 1-3/4" thick	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	+5
538	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	30" X 20" bathroom area rug	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	+5
539	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Bath towel	Replace	2	\$19.99 \$	39.98 6.25% \$	2.50 \$	42.48	+5
540	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Heavy fabric shower curtain	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	+5
541	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Heavy plastic shower curtain	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5
542	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Plastic shower curtain rings	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
543	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Plastic shower curtain tension rod	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	+5
544	WITH CLOSET AND BATHROOM SECOND FLOOR	Plastic shower squeegee with suction cup	Replace	1	\$4.99 \$	4.99 6.25% \$	0.31 \$	5.30	+5
545	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	33.8 ounce bottle of conditioner from Joico	Replace	1	\$24.99 \$	24.99 6.25% \$	1.56 \$	26.55	0-6 months
546	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	33.8 ounce bottle of shampoo from Joico	Replace	1	\$24.99 \$	24.99 6.25% \$	1.56 \$	26.55	0-6 months
547	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	10.1 ounce bottle of conditioner to preserve color and repair damage from Joico	Replace	1	\$14.99 \$	14.99 6.25% \$	0.94 \$	15.93	new
548	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Damage edition or defy damage, contains 1 liter bottle of shampoo and 1 liter bottle of conditioner	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	New
549	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	20" X 8" beveled wooden picture frame with wall print	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
550	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Foam knee mat from Dick's Sporting Goods, 14" X 9"	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
551	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	2 piece bathroom set includes plastic bar soap holder, counter top style, one plastic toothbrush holder, holds 4 toothbrushes	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5
552	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Men's stainless steel folding pocket knife, 3" blade, from Tarpon Bay	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5
553	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Dikes or stainless steel snips	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
554	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	5 piece fingernail and toenail grooming set, stainless steel	Replace	1	\$14.99 \$	14.99 6.25% \$	0.94 \$	15.93	+5
555	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Needle nose pliers	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
556	MASTER BEDROOM - WITH CLOSET AND BATHROOM	5 pack of men's reusable razor head from Schick, new, Tracer FX	Replace	2	\$11.99 \$	23.98 6.25% \$	1.50 \$	25.48	NEW

557	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND BATHROOM	Razor cartridges, contains 10 twin blade plus, from Market Basket	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	1
001	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Tazor sarriagos, soriamo fo timo suato pias, non manto sucriat	ropiaco	•	45.65 4	0.00	0.2070	V 0.02	•	·
558	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Stainless steel reusable razor blade from Gillette	Replace	3	\$29.99 \$	89.97	6.25%	\$ 5.62	\$ 95.59	+5
559	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Toenail clippers, new, from Trim	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$ 6.36	NEW
560	BATHROOM SECOND FLOOR MASTER BEDROOM -	10 ounce bottle of shaving cream foam from Barbasol	Replace	1	\$1.99 \$	1.99	6.25%	\$ 0.12	\$ 2.11	+5
561	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Stick of women's deodorant from Dove	Replace	2	\$3.99 \$	7.98	6.25%	\$ 0.50	\$ 8.48	+5
562	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Men's shaving cream brush from Williams Pure Badger hair or fur	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11	+5
563	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Prescription medication Over the counter medication such as astringent solution from Domeboro, nasal decongestant, extra strength pain relief PM, acetaminophen, Aleve, Turns, Ultra Strendth Ben Gay, Lotromin	Replace	5	\$25.00 \$	125.00	6.25%	\$ 7.81	\$ 132.81	+5
564	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	anti-fungal, hemorrhoid ointment, etc.	Replace	11	\$7.99 \$	87.89	6.25%	\$ 5.49	\$ 93.38	+5
565	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Box of matches, 32 count, from Diamond	Replace	4	\$0.20 \$	0.80	6.25%	\$ 0.05	\$ 0.85	+5
566	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Bath towel	Replace	8	\$19.99 \$	159.92	6.25%	\$ 10.00	\$ 169.92	+5
567	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Beach towel	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.73	+5
568	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Face cloth	Replace	6	\$59.90 \$	359.40	6.25%	\$ 22.46	\$ 381.86	+5
569	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Heavy duty plastic shower curtain, new	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	NEW
570	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Large porcelain coffee mug, hand painted 3 piece shampoo, conditioner and K-PAK reconstructor set from Joico - 10.1 ounce bottle of shampoo, 10.1 ounce bottle of	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	+5
571	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	condition, 5.1 ounce bottle of reconstructor with canvas carry bag	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55	new
572	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Small canvas basket	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$ 6.36	+5
573	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Adult massaging toy, battery powered	Replace	2	\$49.99 \$	99.98	6.25%	\$ 6.25	\$ 106.23	+5
574	BATHROOM SECOND FLOOR MASTER BEDROOM -	10" X 5" plastic storage basket Package of Bic Comfort 3 Advanced disposal razor, 3 blades, 4	Replace	2	\$7.99 \$	15.98	6.25%	\$ 1.00	\$ 16.98	+5
575	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	count package	Replace	4	\$5.99 \$	23.96	6.25%	\$ 1.50	\$ 25.46	+5
576	BATHROOM	10" X 5" plastic storage basket	Replace	2	\$7.99 \$	15.98	6.25%	\$ 1.00	\$ 16.98	+5

577	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND BATHROOM	Travel set of shampoo, conditioner, lotion and body wash, and finishing spray from companies like Aloxxi, Joico	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	s	21.24	+5
0	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	mining opicy non-companies me rushin, code	Портиос	·	¥10.00 ¥		0.2070		Ť		
578	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Grow lighters from Scripto	Replace	2	\$2.99 \$	5.98	6.25%	\$ 0.37	\$	6.35	+5
579	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	2.5 ounce jar candle with glass lid	Replace	4	\$7.99 \$	31.96	6.25%	\$ 2.00	\$	33.96	+5
580	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Toothbrush, new from companies like Oral B	Replace	5	\$3.99 \$	19.95	6.25%	\$ 1.25	\$	21.20	New
581	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	26 piece hair roller set with plastic drawstring carry bag	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$	31.86	+5
582	BATHROOM SECOND FLOOR MASTER BEDROOM -	Bar of body soap, 3.5 ounce, from The Body Shoppe	Replace	4	\$2.99 \$	11.96	6.25%	\$ 0.75	\$	12.71	+5
583		Electric hair rolling set, Clairol Kindness 3 way hair setter, Model K-420S, Photo 8294 New travel set of shampoo, conditioner, color therapy from Joico, K-PAK color therapy set contains 1.7 ounce buttle of shampoo,	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4.37	\$	74.36	+5
584	BATHROOM SECOND FLOOR	1.7 ounce bottle of conditioner, 0.7 ounce bottle of restorative styling oil Large decorative porcelain votive candle with two wicks, 3-3/4" tall X 9" long X 4" wide from Home & Garden Party, new in box -	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$	21.24	new
585	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	bathtub candle, floral, Nature's Rain, 22 ounce	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$	31.86	NEW
586	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	3 ounce jar candle	Replace	4	\$7.99 \$	31.96	6.25%	\$ 2.00	\$	33.96	+5
587	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Votive candle from The Christmas Tree Shop	Replace	2	\$1.00 \$	2.00	6.25%	\$ 0.13	\$	2.13	+5
588	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	22 ounce jar candle from companies like Yankee Candle	Replace	2	\$29.50 \$	59.00	6.25%		\$	62.69	+5
589	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	300 ml bottle of shampoo and conditioner from Joico	Replace	2	\$12.99 \$	25.98	6.25%			27.60	new
590	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	16 count package of feminine pads from Always	Replace	1	\$3.99 \$	3.99	6.25%	\$ 0.25	\$	4.24	+5
591	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Boxes of band aids from CVS, 14 count, assorted sizes	Replace	2	\$2.99 \$	5.98	6.25%	\$ 0.37	\$	6.35	+5
592	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Playing cards from Bicycle, deck Allowance-various bathroom toiletries, hair supplies, etc., Photo	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0.75	\$	12.73	NEW
593	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	8292	Replace	1	\$100.00 \$	100.00	6.25%	\$ 6.25	\$	106.25	+5
594	BATHROOM SECOND FLOOR MASTER BEDROOM -	12 pack of large butterfly clamps from Diane New shampoo and conditioner set from Joico, K-PAK color	Replace	1	\$2.99 \$	2.99	6.25%	\$ 0.19	\$	3.18	+5
595	WITH CLOSET AND BATHROOM	therapy contains 10.1 ounce bottle of K-PAK color therapy shampoo, 10.1 ounce bottle of K-PAK color therapy conditioner	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$	42.49	+5

https://www.dutchcrafters.co	
m/Amish-Cedar-Waterfall-	

Hope-Chest/p/67670?so=1&utm_s ource=google&utm_medium= organic_shopping&utm_camp aign=Amish%20Aromatic%20

596	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Solid wood cedar storage bench like chest, 28" tall X 4' long X 19" wide, Photo 8296	Replace	1	\$529.00 \$	529.00	6.25%	\$ 33	:.06 \$	562.06	organic_shopping&utm_camp aign=Amish%20Aromatic%20 Red%20Cedar%20Waterfall %20Hope%20Chest&utm_ter m=67670&utm_content=151	+5
597	BATHROOM	28" X 24" beveled wooden picture frame with double mat wall print	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9	.37 \$	159.36		+5
	SECOND FLOOR MASTER BEDROOM -	Large solid wood 6 drawer lay down bureau with two doors, with storage mirror with 2 drawers, 4 shelves, lit, Photo 8298, 8299.									https://www.dutchcrafters.co m/Amish-9-Drawer-Dresser- With-Optional-Hutch-Top- Mirrorlp/10677so=1&utm_so urce=google&utm_medium=or ganic_shopping&utm_term=1 067&utm_content=747&utm_ campaign=Amish%209%20Dr awer%20Dresser%20With%	
598	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Bureau measures 34" tall X 70" long X 20" deep; mirror measures 50" tall X 60 [cuts out 12:10]	Replace	1	\$1,829.00 \$	1,829.00	6.25%	\$ 114	.31 \$	1,943.31	20Optional%20Hutch%20Top %20Mirror	+5
599	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	New box of pantyhose from L'Eggs	Replace	4	\$3.29 \$	13.16	6.25%	\$ 0	.82 \$	13.98		+5
600	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Collector's coin from Balfour, new in box, Photo 8300	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4	.37 \$	74.36		1 year
601	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Large heavy duty keychain	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1	.25 \$	21.23		+5
602	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	1/2 ounce bottle of Skin Musk Concentrate	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3	.75 \$	63.74		+5
603	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's nail polish, 1/2 ounce bottle, from Maybelline	Replace	5	\$4.99 \$	24.95	6.25%	\$ 1	.56 \$	26.51		+5
604	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Small vinyl pocket size Bible	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0	.37 \$	6.36		+5
605	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's canvas belt	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3	.75 \$	63.72		+5
606	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's necklace charm from Wings & Wishes, new, Angel of Remembrance	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2	.50 \$	42.49		NEW
607	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's digital necklace watch from Vogue, Photo 8301	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2	.50 \$	42.49		+5
608	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Prescription medication	Replace	4	\$25.00 \$	100.00	6.25%	\$ 6	.25 \$	106.25		+5
609	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Vinyl pocket size Bible	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0	.75 \$	12.73		+5
610	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's small desktop wooden jewelry box, hand painted, 4" long X 8" long X 4-1/2" wide, flip top lid	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0	.62 \$	10.61		+5
611	WITH CLOSET AND BATHROOM	Large wooden rosary bead necklace	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1	.25 \$	21.24		+5

612	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND BATHROOM	Women's large 14 carat gold necklace, Photo 8304	Clean / Service	1	\$75.00 \$	75.00	6.25%	\$ 4.6	9 \$	79.69	+5
	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND										
613	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Small glass desktop statues or heart, 3/4" X 3/4"	Replace	3	\$14.99 \$	44.97	6.25%	\$ 2.8	1 \$	47.78	+5
614	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's shirt pin or brooch	Replace	4	\$5.99 \$	23.96	6.25%	\$ 1.5	60 \$	25.46	+5
615	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's 14 carat gold diamond ring with ruby, Photo 8306	Clean / Service	1	\$75.00 \$	75.00	6.25%	\$ 4.6	9 \$	79.69	+5
616	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's dangling earrings	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.0	0 \$	84.96	+5
617	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's studded earrings Women's large brooch, 1" diameter, with some kind of crystals or	Replace	3	\$9.99 \$	29.97	6.25%	\$ 1.8	7 \$	31.84	+5
618	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	stones, made by Herff Jones, Photo 8307	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24	+5
619	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's comic lashes for laughs at parties - 1-1/2" long	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.3	7 \$	6.36	+5
620	BATHROOM SECOND FLOOR MASTER BEDROOM -	Baby's binkie 5" tall X 5" diameter clay vase, signed on bottom Lisa K. Wakr or	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0.7	5 \$	12.73	+5
621	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	s, Photo 8308, 8309	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86	+5
622	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Small stuffed animal	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.2	5 \$	21.23	+5
623	BATHROOM SECOND FLOOR	Women's 3 piece giff set from Victoria's Secret, Very Sexy, contains 100 ml bottle of body lotion, 125 ml bottle of Sheer Sexy mist, 100 ml bottle of body wash, with canvas carry bag, new,	Replace	3	\$5.99 \$	17.97	6.25%	\$ 1.1	2 \$	19.09	+5
624	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Photo 8310	Replace	1	\$59.99 \$		6.25%		5 \$	63.74	NEW
625	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Large ceramic beer mug, hand painted	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	:5 \$	21.24	+5
626	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Queen 1* thick egg shell memory foam bed topper	Replace	1	\$39.99 \$	39.99	6.25%		60 \$	42.49	+5
627	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Large hard cover photo album	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86	+5
628	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Large under the bed plastic storage container with lid Christmas themed tapered candle holder, 16" long X 9" wide,	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86	+5
629	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	holds 2 tapered candles	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.5	60 \$	42.49	+5
630	BATHROOM SECOND FLOOR MASTER BEDROOM -	Tapered candles, new, Photo 8312 4 piece shower set from Body & Earth Elements, new, contains 4- 1/2 ounce bottle of shower gel, 4-1/2 ounce bottle of body lotion, 5 ounce bottle of bath salts, shower loofah, with plastic carry	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0.7	5 \$	12.73	NEW
631	BATHROOM	case	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.5	0 \$	42.49	NEW

632	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND BATHROOM	New 12 ounce ceramic holiday mug	Replace	1	\$9.99 \$	9 99	6.25%	\$ 0.62	, ,	10.61	NEW
032	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	New 12 outlice ceramic notical may	Replace		ψ3.33 ψ	3.33	0.23 /6	ų 0.02	. •	10.01	IVLVV
633	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	New in box bathroom faucet from Kohler, Model 45100-4-CP	Replace	1	\$291.99 \$	291.99	6.25%	\$ 18.25	5 \$	310.24	NEW
634	BATHROOM SECOND FLOOR MASTER BEDROOM -	Large solid wood 2 drawer nightstand, Photo 8315, 8316	Replace	2	\$399.99 \$	799.98	6.25%	\$ 50.00	\$	849.98	+5
635	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	26" tall solid metal desk lamp, hold 3 bulbs, have glass shade, Photo 8315, 8316	Replace	2	\$79.99 \$	159.98	6.25%	\$ 10.00	\$	169.98	+5
636		Large AM/FM weather band clock radio from Philips Magnavox with dual alarm, Model AJ3480	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$	31.86	+5
637	BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's leather banded stainless steel wrist watch, new in box, from Seiko Lassale, Photo 8317	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	5 \$	106.24	NEW
638	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	24 ounce stainless steel vacuum sealed mug from Contigo	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	5 \$	21.24	+5
639	BATHROOM SECOND FLOOR MASTER BEDROOM -	Package of sleep aid from Quality Plus, 8 count	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	5 \$	21.23	+5
640	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	New package of ear plugs with connected string from The Safety Director, individually packaged	Replace	6	\$1.99 \$	11.94	6.25%	\$ 0.75	5 \$	12.69	NEW
641	BATHROOM SECOND FLOOR MASTER BEDROOM -	New package of women's athletic no show sport socks from National, 3 count	Replace	2	\$4.99 \$	9.98	6.25%	\$ 0.62	2 \$	10.60	NEW
642	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Package of women's texture crew socks from Luxe	Replace	1	\$3.99 \$	3.99	6.25%	\$ 0.25	5 \$	4.24	NEW
643	BATHROOM SECOND FLOOR MASTER BEDROOM -	New women's socks from Mia + Tess, butter socks, fleece knee high socks	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	5 \$	21.24	NEW
644	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's heavy knit winter hat	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	5 \$	63.73	+5
645	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Package of women's crew socks from Smart Wool, new	Replace	1	\$15.00 \$	15.00	6.25%	\$ 0.94	. \$	15.94	NEW
646	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Cardboard coupon organizer, new	Replace	1	\$0.99 \$	0.99	6.25%	\$ 0.06	\$	1.05	NEW
647	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Music CD	Replace	12	\$17.99 \$	215.88	6.25%	\$ 13.49	\$	229.37	+5
648	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Prescription medication	Replace	2	\$25.00 \$	50.00	6.25%	\$ 3.13	3 \$	53.13	+5
649	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Combination Master Lock	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	2 \$	10.61	+5
650	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	New 9' indoor extension cord	Replace	1	\$11.99 \$	11.99	6.25%	\$ 0.75	5 \$	12.74	NEW
651	BATHROOM	Women's fleece ear muffs	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	5 \$	21.24	+5

	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND								
652	BATHROOM SECOND FLOOR MASTER BEDROOM -	New can koozie	Replace	4	\$5.99 \$	23.96 6.25% \$	1.50 \$	25.46	NEW
653	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	New glass hand blown ornament, Christmas tree, Photo 8318	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	NEW
654	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	6" tall ceramic Christmas statue	Replace	2	\$9.99 \$	19.98 6.25% \$	1.25 \$	21.23	+5
655	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Evaporative humidifier air cooler from Duracraft Corp., Photo 8319	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
656	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Ankle weights, set	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5
657	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Small women's shirt pin	Replace	1	\$5.99 \$	5.99 6.25% \$	0.37 \$	6.36	+5
658	WITH CLOSET AND BATHROOM SECOND FLOOR	10 pack of Hallmark birth announcements with envelopes, new	Replace	3	\$12.99 \$	38.97 6.25% \$	2.44 \$	41.41	NEW
659	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Women's large leather bifold wallet	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	+5
660	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Women's small faux leather wallet	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5
661	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Soft cover book	Replace	4	\$9.99 \$	39.96 6.25% \$	2.50 \$	42.46	+5
662	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	3.4 ounce bottle of women's perfume from Miss Dior CD	Replace	1	\$115.00 \$	115.00 6.25% \$	7.19 \$	122.19	1 year
663	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Over the counter medication such as Aleve, Tylenol, aspirin, etc.	Replace	5	\$7.99 \$	39.95 6.25% \$	2.50 \$	42.45	+5
664	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Elastic resistance bands, set	Replace	2	\$29.99 \$	59.98 6.25% \$	3.75 \$	63.73	+5
665	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	12" tapered candle	Replace	2	\$5.99 \$	11.98 6.25% \$	0.75 \$	12.73	+5
666	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Women's 16" diameter straw sun hat	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	+5
667	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	20" X 12" wooden religious cross with hanging Jesus, Photo 8321	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
668	BATHROOM SECOND FLOOR	Women's performance toe socks from Injinji, crew length, mid weight, padded cushioning, 1 count package, new	Replace	2	\$5.99 \$	11.98 6.25% \$	0.75 \$	12.73	NEW
669	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Hard cover book	Replace	3	\$24.99 \$	74.97 6.25% \$	4.69 \$	79.66	+5
670	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Soft cover book	Replace	4	\$9.99 \$	39.96 6.25% \$	2.50 \$	42.46	+5
671	MASTER BEDROOM - WITH CLOSET AND BATHROOM	Wearable acupressure plastic headache relief band from Nculief	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5

	SECOND FLOOR										
	MASTER BEDROOM -										
070	WITH CLOSET AND BATHROOM	Set of correct toes - help align, strength and restore toes, made of	Bleave		*****	05.00	0.050/ .	4.00	•	00.00	4.5
672	SECOND FLOOR	plastic with plastic carry case	Replace	1	\$65.00 \$	65.00	6.25% \$	4.06	>	69.06	1.5 years
	MASTER BEDROOM -										
	WITH CLOSET AND										
673	BATHROOM	Women's generic sunglasses	Replace	2	\$29.99 \$	59.98	6.25% \$	3.75	\$	63.73	+5
	SECOND FLOOR										
	MASTER BEDROOM -										
674	WITH CLOSET AND BATHROOM	Women's strap back sandals from Life Stride	Replace	2	\$49.99 \$	99.98	6.25% \$	6.25	•	106.23	+5
014	SECOND FLOOR	Wonler 3 Strap Back Sandais from Elic Ottac	Поршос	-	ψ+3.33 ψ	55.50	0.2070 W	0.20	•	100.20	.0
	MASTER BEDROOM -										
	WITH CLOSET AND										
675	BATHROOM SECOND FLOOR	Composition notebook	Replace	3	\$2.99 \$	8.97	6.25% \$	0.56	\$	9.53	+5
	MASTER BEDROOM -										
	WITH CLOSET AND										
676	BATHROOM	One subject notebook	Replace	8	\$1.99 \$	15.92	6.25% \$	1.00	\$	16.92	+5
	SECOND FLOOR										
	MASTER BEDROOM - WITH CLOSET AND										
677	BATHROOM	Women's yoga pants, fleece lined, from Reebok, new	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87	•	31.86	NEW
011	SECOND FLOOR	Wonterra yoga panta, neede iniea, nom reebox, new	Поршос	•	₩25.55 ₩	20.00	0.20% V	1.07	•	01.00	NEW
	MASTER BEDROOM -										
	WITH CLOSET AND			_							
678	BATHROOM SECOND FLOOR	New queen quilt	Replace	1	\$99.99 \$	99.99	6.25% \$	6.25	\$	106.24	NEW
	MASTER BEDROOM -										
		New heavy knit baby blanket with stockings and heavy knit winter									
679	BATHROOM	hat	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87	\$	31.86	NEW
	SECOND FLOOR										
	MASTER BEDROOM - WITH CLOSET AND										
680	BATHROOM	Heavy knit 9" diameter doily	Replace	4	\$5.99 \$	23.96	6.25% \$	1.50	•	25.46	+5
000	SECOND FLOOR	rieavy kilit 9 diameter dolly	Replace	•	φ3.33 φ	25.50	0.23 /6 · p	1.50	•	25.40	13
	MASTER BEDROOM -										
	WITH CLOSET AND			_							
681	BATHROOM SECOND FLOOR	Large under the bed plastic storage container with lid	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87	\$	31.86	+5
	MASTER BEDROOM -										
	WITH CLOSET AND										
682	BATHROOM	14" tall trophy	Replace	3	\$19.99 \$	59.97	6.25% \$	3.75	\$	63.72	+5
	SECOND FLOOR										
	MASTER BEDROOM - WITH CLOSET AND										
683	BATHROOM	Medium stuffed animal	Replace	1	\$19.99 \$	19.99	6.25% \$	1.25	•	21.24	+5
000	SECOND FLOOR	Mediani Staned animai	Поршос	•	ψ15.55 ψ	10.00	0.20% 	1.20	•	211.24	.0
	MASTER BEDROOM -										
	WITH CLOSET AND			_							
684	BATHROOM SECOND FLOOR	High school diploma in leather book	Replace	1	\$99.99 \$	99.99	6.25% \$	6.25	\$	106.24	+5
	MASTER BEDROOM -										
	WITH CLOSET AND										
685	BATHROOM	Small metal photo album	Replace	1	\$9.99 \$	9.99	6.25% \$	0.62	\$	10.61	+5
	SECOND FLOOR MASTER BEDROOM -										
	WITH CLOSET AND										
686	BATHROOM	Model kit for 1972 Chevrolet SS from AMT ERTL, 1/25 size	Replace	1	\$79.99 \$	79.99	6.25% \$	5.00	\$	84.99	+5
	SECOND FLOOR		•								
	MASTER BEDROOM -										
687	WITH CLOSET AND BATHROOM	Leather back yearbook or memory book from Military, Fort Knox, Soldiers of Steel, Kentucky	Replace	1	\$99.99 \$	99.99	6.25% \$	6.25		106.24	+5
007	SECOND FLOOR	Soldiers of Steel, Neritacky	Replace	•	φ33.33 φ	33.33	0.23 /6	0.23	•	100.24	13
	MASTER BEDROOM -										
	WITH CLOSET AND										
688	BATHROOM	Adult women's Halloween costume, new, Photo 8324	Replace	2	\$79.99 \$	159.98	6.25% \$	10.00	\$	169.98	NEW
	SECOND FLOOR MASTER BEDROOM -										
	WITH CLOSET AND										
689	BATHROOM	Dog's Halloween costume, new	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87	\$	31.86	NEW
	SECOND FLOOR										
	MASTER BEDROOM - WITH CLOSET AND										
690	BATHROOM	Small stuffed animal - battery powered, make noise	Replace	4	\$14.99 \$	59.96	6.25% \$	3.75	s	63.71	+5
000	SECOND FLOOR	ornan otanoa animai - battory poworou, maito noiso	cpiaco	7	φ14.33 Ψ	00.00	U.2070 W	5.75	•	00.71	.9
	MASTER BEDROOM -										
	WITH CLOSET AND				*****						_
691	BATHROOM	Children's rubber rain boots	Replace	1	\$19.99 \$	19.99	6.25% \$	1.25	\$	21.24	+5

	SECOND FLOOR MASTER BEDROOM -										
692	WITH CLOSET AND BATHROOM	Children's leather mid top boots	Replace	2	\$49.99 \$	99 98	6.25%	•	6.25	\$ 106.23	+5
002	SECOND FLOOR MASTER BEDROOM -	·	порисс	-	Ψ45.55 ψ	33.30	0.2070	•	0.20	100.20	
	WITH CLOSET AND	New package of women's pantyhose from companies like									
693	BATHROOM SECOND FLOOR	Footless	Replace	6	\$5.99 \$	35.94	6.25%	\$	2.25	\$ 38.19	NEW
	MASTER BEDROOM - WITH CLOSET AND										
694	BATHROOM SECOND FLOOR	6 count package of women's ankle socks from Gildan	Replace	2	\$7.99 \$	15.98	6.25%	\$	1.00	\$ 16.98	new
	MASTER BEDROOM -										
695	WITH CLOSET AND BATHROOM	Solid wood head board, foot board, rails, queen, Photo 8325	Replace	1	\$499.99 \$	499.99	6.25%	\$	31.25	\$ 531.24	+5
	SECOND FLOOR MASTER BEDROOM -										
696	WITH CLOSET AND BATHROOM	Queen pillow top mattress with split box spring/foundation	Replace	1	\$1,299.99 \$	1,299.99	6.25%	\$	81.25	\$ 1,381.24	+5
	SECOND FLOOR MASTER BEDROOM -			-	**,===== *	,,		•		, ,,,,,,,,,	-
	WITH CLOSET AND BATHROOM										
697	SECOND FLOOR	2" thick memory foam or gel foam bed topper	Replace	1	\$64.99 \$	64.99	6.25%	\$	4.06	\$ 69.05	1 year
	MASTER BEDROOM - WITH CLOSET AND										
698	BATHROOM SECOND FLOOR	Pillow top queen mattress protector	Replace	1	\$99.99 \$	99.99	6.25%	\$	6.25	\$ 106.24	1 year
	MASTER BEDROOM - WITH CLOSET AND										
699	BATHROOM SECOND FLOOR	Queen sheet set	Replace	1	\$79.99 \$	79.99	6.25%	\$	5.00	\$ 84.99	+5
	MASTER BEDROOM -										
700	WITH CLOSET AND BATHROOM	Bed pillow	Replace	4	\$49.99 \$	199.96	6.25%	\$	12.50	\$ 212.46	+5
	SECOND FLOOR MASTER BEDROOM -										
701	WITH CLOSET AND BATHROOM	Queen comforter, Photo 8325, 8326	Replace	1	\$99.99 \$	99.99	6.25%	•	6.25	\$ 106.24	+5
701	SECOND FLOOR MASTER BEDROOM -		порисс	•	ψ55.55 ψ	33.33	0.2070	•	0.20	100.24	
	WITH CLOSET AND										
702	BATHROOM SECOND FLOOR	Small throw blanket	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.86	+5
	MASTER BEDROOM - WITH CLOSET AND										
703	BATHROOM SECOND FLOOR	Metal curtain rod	Replace	2	\$9.99 \$	19.98	6.25%	\$	1.25	\$ 21.23	+5
	MASTER BEDROOM - WITH CLOSET AND	Heavy linen room darkening curtains or drapes (set of 2 curtains),									
704	BATHROOM	84" in length	Replace	2	\$79.99 \$	159.98	6.25%	\$	10.00	\$ 169.98	+5
	SECOND FLOOR MASTER BEDROOM -										
705	BATHROOM	Lace sheer curtains, panel, 84" length with curtain runner, Photo 8327	Replace	2	\$69.99 \$	139.98	6.25%	\$	8.75	\$ 148.73	+5
	SECOND FLOOR MASTER BEDROOM -										
706	WITH CLOSET AND BATHROOM	10" tall porcelain statue from Willow Tree, angel holding American flag, Photo 8328	Replace	1	\$29.99 \$	29.99	6.25%	•	1.87	\$ 31.86	+5
. 00	SECOND FLOOR MASTER BEDROOM -	nag, 1 1860 0020	Nopiaco	•	\$25.55 ¥	20.00	0.2070	*		• • • • • • • • • • • • • • • • • • • •	
	WITH CLOSET AND	Digital window AC from Frigidaire, 8000 BTU, Model LRA087AT7,									_
707	BATHROOM SECOND FLOOR	Photo 8329, 8330	Replace	1	\$299.99 \$	299.99	6.25%	\$	18.75	\$ 318.74	+5
	MASTER BEDROOM - WITH CLOSET AND										
708	BATHROOM SECOND FLOOR	Unattached shower head from Delta, removable	Replace	1	\$159.99 \$	159.99	6.25%	\$	10.00	\$ 169.99	1 year
	MASTER BEDROOM - WITH CLOSET AND										
709	BATHROOM	12" X 9" wooden picture frame with double mat wall print	Replace	2	\$24.99 \$	49.98	6.25%	\$	3.12	\$ 53.10	+5
	SECOND FLOOR MASTER BEDROOM -										
710	WITH CLOSET AND BATHROOM	Metal wire wall hanging basket, 12" long X 12" tall X 6" wide	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24	+5
	SECOND FLOOR MASTER BEDROOM -		-								
711	WITH CLOSET AND BATHROOM	New Willow Tree figurine or statue, Photo 8331	Replace	2	\$29.99 \$	59 99	6.25%	•	3.75	\$ 63.73	NEW
/ ! !	BATTINOOM	THOM THOS HYURING OF STATUS, I HOLO 0001	Nepiace	4	φ23.33 φ	33.30	J.2J/6	Ψ	3.13	Ų 03.73	INLAA

	SECOND FLOOR											
	MASTER BEDROOM - WITH CLOSET AND											
712	BATHROOM	Small cardboard keepsake box with cardboard address book	Replace	1	\$7.99 \$	7.99	6.25%	\$	0.50	\$ 8.4	•	+5
	SECOND FLOOR											
	MASTER BEDROOM - WITH CLOSET AND											
713	BATHROOM	Medium canvas reusable tote bag	Replace	2	\$29.99 \$	59.98	6.25%	\$	3.75	\$ 63.7	3	+5
	SECOND FLOOR											
	MASTER BEDROOM - WITH CLOSET AND											
714	BATHROOM	2" X 2" marble paperweight	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.2	ı	+5
	SECOND FLOOR	· · ·	-									
	MASTER BEDROOM - WITH CLOSET AND	New 3 pack of metal wire photo holder with stones, angel photo										
715	BATHROOM	holder from Pier One Imports	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.2	ı	NEW
	SECOND FLOOR											
	MASTER BEDROOM - WITH CLOSET AND	Large camera lens for Olympus camera, OM-System Zuiko Auto										
716	BATHROOM	Zoom, 1:4 F=75 to 150 mm, Photo 8333	Replace	1	\$199.00 \$	199.00	6.25%	\$	12.44	\$ 211.4	ı	+5
	SECOND FLOOR	N. B. W. L. M. W.										
		New Disney Mickey Mouse collectible gift, especially designed for [inaudible 31:45] 4-1/4" tall, hand painted resin figurine, new in										
717	BATHROOM	box	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.8	5	NEW
	SECOND FLOOR											
	MASTER BEDROOM - WITH CLOSET AND											
718	BATHROOM	26" box TV from Sanyo, Photo 8334	Replace	1	\$149.99 \$	149.99	6.25%	\$	9.37	\$ 159.3	5	+5
											https://www.countrysideamish	
											furniture.com/product/norway-	
											chest-	
	SECOND FLOOR										armoire?utm_source=google &utm_medium=organic&utm_	
	MASTER BEDROOM -										campaign=Shopping%20Fee	
		Large solid wood dresser armoire with 4 drawers, 1 shelf, 62" tall									d&utm_content=Surfaces%2	_
719	BATHROOM SECOND FLOOR	X 40" long X 19" deep, Photo 8335, 8336	Replace	1	\$2,625.00 \$	2,625.00	6.25%	\$ 1	64.06	\$ 2,789.0	OAcross%20Google	+5
	MASTER BEDROOM -											
	WITH CLOSET AND							_				_
720	BATHROOM SECOND FLOOR	Plastic coat hanger	Replace	237	\$1.00 \$	237.00	6.25%	\$	14.81	\$ 251.8	ı	+5
	MASTER BEDROOM -											
	WITH CLOSET AND							_				_
721	BATHROOM SECOND FLOOR	Wooden cane	Replace	1	\$12.99 \$	12.99	6.25%	\$	0.81	\$ 13.8)	+5
	MASTER BEDROOM -											
700	WITH CLOSET AND	M. P	B	•	***	00.07	0.050/	•				
722	BATHROOM SECOND FLOOR	Medium reusable canvas tote bag	Replace	3	\$29.99 \$	89.97	6.25%	\$	5.62	\$ 95.5	•	+5
	MASTER BEDROOM -											
723	WITH CLOSET AND	Matal and alathar and	Danies	4	£22.00 £	05.00	C 250/	•		6 404.0		. 5
123	BATHROOM SECOND FLOOR	Metal pants clothes rack	Replace	4	\$23.99 \$	33.30	6.25%	a	6.00	\$ 101.9	•	+5
	MASTER BEDROOM -											
724	WITH CLOSET AND BATHROOM	Metal skirt hanger	Replace	12	\$9.99 \$	119.88	6 250/	•	7.49	\$ 127.3	,	+5
124	SECOND FLOOR	wetai skiit nangei	Replace	12	\$3.33 \$	119.00	6.25%	ð	7.45	\$ 127.3		75
	MASTER BEDROOM -											
725	WITH CLOSET AND BATHROOM	Small plush stuffed animal from Ty Beanie Baby Containables	Replace	2	\$9.99 \$	10.08	6.25%	e	1.25	\$ 21.2	1	+5
125	SECOND FLOOR	onall plush stuffed animal from Ty Deanie Daby Contamables	Replace	2	φ3.33 φ	13.30	0.23 /6	Ψ	1.25	ψ Z1.Z	,	13
	MASTER BEDROOM -											
726	WITH CLOSET AND BATHROOM	Allowance-various crayons from Crayola, new	Replace	1	\$30.00 \$	30.00	6.25%	•	1.88	\$ 31.8	3	NEW
. 20	SECOND FLOOR	7 monarios various stayone nom orayona, non	rtopiaoo	•	********	00.00	0.2070	•		• • • • • • • • • • • • • • • • • • • •		
	MASTER BEDROOM - WITH CLOSET AND											
727	BATHROOM	One subject notebook	Replace	12	\$1.99 \$	23.88	6.25%	\$	1.49	\$ 25.3	,	+5
	SECOND FLOOR	,			Ţ ¥	20.00		-		. 20.0		-
	MASTER BEDROOM - WITH CLOSET AND											
728	BATHROOM	Plastic file folder	Replace	2	\$0.99 \$	1.98	6.25%	\$	0.12	\$ 2.10)	+5
	SECOND FLOOR		.,	-	+			•				•
	MASTER BEDROOM - WITH CLOSET AND											
729	BATHROOM	Small board game	Replace	3	\$29.99 \$	89.97	6.25%	\$	5.62	\$ 95.5	9	+5
-	SECOND FLOOR	•		-								
	MASTER BEDROOM - WITH CLOSET AND											
730	BATHROOM	Paper file folder	Replace	2	\$0.50 \$	1.00	6.25%	\$	0.06	\$ 1.0	5	+5

731	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND BATHROOM	Composition notebook	Replace	4	\$2.99 \$	11.96	6.25%	\$ 0.75	5 \$	12.71	+5
	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND										
732	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Children's small canvas backpack from Barney & Baby Bop	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	0 \$	42.49	+5
733	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Large faux leather clutch, women's	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	7 \$	31.86	+5
734	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's large canvas makeup bag	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	5 \$	63.73	+5
735	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	New in box enameled brass ornament, 1987 SNP Chicago	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	5 \$	21.24	NEW
736	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	New hand blown glass Christmas ornament	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	2 \$	10.61	NEW
737	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	4 ounce Christmas jar candle, new	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	2 \$	10.61	NEW
738	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Medium bouquet of faux flowers	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	0 \$	42.49	+5
739	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's leather clogs from companies like Eurostep, Naturalizer	Replace	5	\$59.99 \$	299.95	6.25%	\$ 18.75	5 \$	318.70	+5
740	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's leather flip flops from Timberland	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	2 \$	53.11	+5
741	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's leather flip flops from Columbia	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	2 \$	53.11	+5
742	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's leather flip flops from St. John's Bay	Replace	2	\$49.99 \$	99.98	6.25%	\$ 6.25	5 \$	106.23	+5
743	BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's flip flops from Old Navy Women's leather slide on sandals from companies like Clarks,	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.00	0 \$	84.96	+5
744	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Euro Step, Ekko	Replace	4	\$49.99 \$	199.96	6.25%	\$ 12.50	0 \$	212.46	+5
745	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's canvas running shoes from Skechers	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	5 \$	63.74	+5
746	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's high top winter boots, fleece lined	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	0 \$	84.99	+5
747	BATHROOM SECOND FLOOR MASTER BEDROOM -	7-1/2 ounce can of Soft Sole shoe water proofer	Replace	2	\$7.99 \$	15.98	6.25%	\$ 1.00	0 \$	16.98	+5
748	BATHROOM SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Women's heavy slipper boots from companies like Jane & Bleecker	Replace	4	\$64.99 \$	259.96	6.25%	\$ 16.25	5 \$	276.21	+5
749	BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's canvas sneakers	Replace	2	\$59.99 \$	119.98	6.25%	\$ 7.50	0 \$	127.48	+5
750	WITH CLOSET AND BATHROOM	New 6" tall X 6" diameter ceramic candle holder from Comfort Candles	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	5 \$	21.24	NEW

	SECOND FLOOR										
751	MASTER BEDROOM - WITH CLOSET AND BATHROOM	14-1/2 ounce Yankee Candle jar candle with metal wire stand	Replace	1	\$26.50 \$	26.50	6.25%	\$ 1.66	\$	28.16	+5
	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Yankee Candle VH Snowman with bells or jay bells, candle holder,									
752	BATHROOM SECOND FLOOR MASTER BEDROOM -	ceramic, new	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$	21.24	NEW
753	WITH CLOSET AND BATHROOM	Women's leather sandals from companies like Privo	Replace	2	\$49.99 \$	99.98	6.25%	\$ 6.25	\$	106.23	+5
	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND										
754	BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's small faux leather cross body bag from Ande	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$	31.86	+5
755	WITH CLOSET AND BATHROOM SECOND FLOOR	New Yankee Candle gift set with 14-1/2 ounce jar candle and 3 1.75 ounce votive candle	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$	31.86	NEW
756	MASTER BEDROOM - WITH CLOSET AND BATHROOM	Children's soft cover book	Replace	2	\$7.99 \$	15.98	6.25%	\$ 1.00	s	16.98	+5
	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND		•								
757	BATHROOM SECOND FLOOR	Children's toy cell phone, new New gift set from Body & Earth Elements contains 8-1/2 ounce	Replace	1	\$1.99 \$	1.99	6.25%	\$ 0.12	\$	2.11	NEW
758	WITH CLOSET AND BATHROOM SECOND FLOOR	bottle of body wash, 100 gram bottle of Pomegranate bath salts, bathroom shower loofah and plastic tote bag Gift set from Bath & Body Works, Pleasures Sweet Pea, contains	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$	31.86	NEW
759	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	2 ounce bottle shower gel, 2 ounce bottle of body lotion, 2 ounce bottle of body splash, 2 ounce bottle of bubble bath, with vinyl carry case	Replace	1	\$13.50 \$	13.50	6.25%	\$ 0.84	\$	14.34	+5
760	MASTER BEDROOM -	Women's bowling shoes with leather upper and leather sole from EB, Photo 8339	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75		63.74	+5
700	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	25,1100 0000	Корисс	·	ψ00.00 ψ	03.33	0.2070	V 5.76	•	35.74	
761	BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's leather sneakers from New Balance, new	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$	84.99	NEW
762	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	14-1/2 ounce jar candle from Yankee Candle	Replace	2	\$26.50 \$	53.00	6.25%	\$ 3.31	\$	56.31	+5
763	WITH CLOSET AND BATHROOM SECOND FLOOR	3 ounce jar candle from companies like Yankee Candle	Replace	3	\$11.00 \$	33.00	6.25%	\$ 2.06	\$	35.06	1 year old
764	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	12 ounce jar candle from Yankee Candle	Replace	1	\$19.00 \$	19.00	6.25%	\$ 1.19	\$	20.19	1 year
765	MASTER BEDROOM - WITH CLOSET AND BATHROOM	Sewing machine from Singer, Model 5522 with leather briefcase storage case, Photo 8340	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50	•	212.49	+5
7.00	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Clarage Case, Fred Co. 10	поршоо	·	¥100.00 ¥	100.00	0.2070	.2.00	•	_1_10	
766	BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's leather high heels	Replace	4	\$79.99 \$	319.96	6.25%	\$ 20.00	\$	339.96	+5
767	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's open toe high heels from Marbella, new	Replace	2	\$27.99 \$	55.98	6.25%	\$ 3.50	\$	59.48	NEW
768	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's canvas sneaker sandals from Dr. Scholl's, new	Replace	1	\$37.99 \$	37.99	6.25%	\$ 2.37	\$	40.36	NEW
769		New 8-1/2" X 10" dry erase board set, includes eraser, board, one marker	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$	21.23	NEW
770	WITH CLOSET AND BATHROOM	Children's hard cover book	Replace	3	\$9.99 \$	29.97	6.25%	\$ 1.87	\$	31.84	+5

	SECOND FLOOR										
	MASTER BEDROOM - WITH CLOSET AND										_
771	BATHROOM SECOND FLOOR MASTER BEDROOM -	Children's small puzzle erasers	Replace	4	\$1.49 \$	5.96	6.25% \$	6 0.37	\$	6.33	+5
772	WITH CLOSET AND BATHROOM SECOND FLOOR	New toothbrush from Colgate	Replace	2	\$3.99 \$	7.98	6.25% \$	0.50	\$	8.48	NEW
773	MASTER BEDROOM - WITH CLOSET AND BATHROOM	Package of ballpoint pens, 12 count, from Office Max	Replace	2	\$2.99 \$	E 00	6.25% \$	0.37	•	6.35	+5
773	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	Package of ballpoint pens, 12 count, from Office wax	керіасе	2	\$2.55 \$	5.50	0.25% \$	0.37	•	6.33	+3
774	BATHROOM SECOND FLOOR MASTER BEDROOM -	New 15 puzzle from Think Fun	Replace	1	\$9.99 \$	9.99	6.25% \$	0.62	\$	10.61	NEW
775	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	18 count package of women's security tampons from U by Kotex	Replace	2	\$3.99 \$	7.98	6.25% \$	0.50	\$	8.48	+5
776	WITH CLOSET AND BATHROOM	New 16 ounce bottle of men's body wash from Axe	Replace	4	\$4.99 \$	19.96	6.25% \$	1.25	\$	21.21	NEW
	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND	·	·								
777	BATHROOM SECOND FLOOR MASTER BEDROOM -	tooth brush cap, toothpaste, reusable bag	Replace	2	\$9.99 \$	19.98	6.25% \$	1.25	\$	21.23	NEW
778	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Pom Poms from Susan G. Komen for the Cure	Replace	1	\$5.99 \$	5.99	6.25% \$	0.37	\$	6.36	+5
779	WITH CLOSET AND BATHROOM SECOND FLOOR	Shoebox sized plastic storage basket	Replace	2	\$2.99 \$	5.98	6.25% \$	0.37	\$	6.35	+5
780	MASTER BEDROOM - WITH CLOSET AND BATHROOM	New doll from Disney Princess, Ariel, new in box	Replace	1	\$29.99 \$	29.99	6.25% \$	3 1.87	\$	31.86	NEW
	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND										
781	BATHROOM SECOND FLOOR MASTER BEDROOM -	Barbie, new in box, Paris Barbie	Replace	1	\$29.99 \$	29.99	6.25% \$	5 1.87	\$	31.86	NEW
782	BATHROOM SECOND FLOOR MASTER BEDROOM -	3 piece set of women's knee high socks from Pink Victoria's Secret	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87	\$	31.86	1 year old
783	WITH CLOSET AND BATHROOM SECOND FLOOR	8 ounce bottle of body mist from Bath & Body Works	Replace	2	\$13.50 \$	27.00	6.25% \$	1.69	\$	28.69	+5
784	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	8 ounce bottle of body lotion from Bath & Body Works	Replace	2	\$13.50 \$	27.00	6.25% \$	1.69	\$	28.69	+5
785	MASTER BEDROOM - WITH CLOSET AND BATHROOM	10 ounce bottle of shower gel from Bath & Body Works	Replace	2	\$13.50 \$	27.00	6.25% \$	1.69	\$	28.69	+5
	SECOND FLOOR MASTER BEDROOM - WITH CLOSET AND		•								
786	BATHROOM SECOND FLOOR MASTER BEDROOM -	New scarf, beret and glove set, heavy knit by Berkshire	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87	\$	31.86	NEW
787	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's quilted backpack from Vera Bradley, Photo 8341	Replace	1	\$115.00 \$	115.00	6.25% \$	7.19	\$	122.19	+5
788	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's large faux leather Chanel replica bag, Photo 8342	Replace	1	\$49.99 \$	49.99	6.25% \$	3.12	\$	53.11	+5
789	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	Women's large leather tote bag from Tignanello, Photo 8343	Replace	1	\$267.99 \$	267.99	6.25% \$	16.75	\$	284.74	+5
790	WITH CLOSET AND BATHROOM	2 quart plastic water pitcher with lid	Replace	1	\$2.99 \$	2.99	6.25% \$	0.19	\$	3.18	+5

	SECOND FLOOR MASTER BEDROOM -										
791	WITH CLOSET AND BATHROOM SECOND FLOOR MASTER BEDROOM -	New Children's arm floaties, or arm band floaties from Intex	Replace	4	\$5.99 \$	23.96	6.25%	\$.50 \$	25.46	NEW
792	WITH CLOSET AND BATHROOM SECOND FLOOR	Plastic 1 gallon bucket	Replace	1	\$1.99 \$	1.99	6.25%	\$).12 \$	2.11	+5
793	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	16 count package of Dove beauty bar with deep moisture bar soap, 3.7 ounce bar	Replace	2	\$15.99 \$	31.98	6.25%	\$:	2.00 \$	33.98	+new
794	BATHROOM SECOND FLOOR	Women's small leather backpack from Liz Claiborne Accessories, Photo 8344	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75 \$	63.74	+5
795	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Women's small leather tote bag from Liz Claiborne, Photo 8345	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75 \$	63.74	+5
796	BATHROOM SECOND FLOOR	New 18 ounce plastic vacuum sealed thermos with lid from A Product of Positive Promotions, Think Positive	Replace	2	\$29.99 \$	59.98	6.25%	\$	3.75 \$	63.73	NEW
797	BATHROOM SECOND FLOOR	Cedar lockbox/keepsake box from Lane, presented by Gariepy Furniture Co., Inc., 10" long X 5" wide X 4" tall	Replace	1	\$79.99 \$	79.99	6.25%	\$	5.00 \$	84.99	+5
798	BATHROOM SECOND FLOOR	Canvas post it note highlighter and pen set from Think Positive, Photo 8347	Replace	2	\$7.99 \$	15.98	6.25%	\$.00 \$	16.98	+5
799	BATHROOM SECOND FLOOR	Women's large canvas tote bag with matching small clutch, canvas	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75 \$	63.74	+5
800	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Hard cover book	Replace	4	\$24.99 \$	99.96	6.25%	\$	5.25 \$	106.21	+5
801	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Canvas drawstring backpack	Replace	2	\$29.99 \$	59.98	6.25%	\$:	3.75 \$	63.73	+5
802	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Ankle brace from Donjoy, maximum hold, gets laced up	Replace	1	\$34.99 \$	34.99	6.25%	\$:	.19 \$	37.18	+5
803	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Large medical boot from DJ Ortho	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75 \$	63.74	2 years old
804	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Women's low top leather dress shoes from Mario DeGerard	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75 \$	63.74	+5
805	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Men's leather low top dress boots from Havana Joe	Replace	1	\$79.99 \$	79.99	6.25%	\$	5.00 \$	84.99	+5
806	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	Metal wire hanging shelf, 8" long X 10" tall, Photo 8349	Replace	2	\$21.99 \$	43.98	6.25%	\$:	2.75 \$	46.73	+5
807	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	5 pound fire extinguisher made by Badger, Model B5A-3, multi purpose dry chemical fire extinguisher	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75 \$	63.74	+5
808	MASTER BEDROOM - WITH CLOSET AND BATHROOM SECOND FLOOR	6" tall X 3" diameter glass figurine cover	Replace	2	\$24.99 \$	49.98	6.25%	\$	3.12 \$	53.10	+5
809		Solid wood spindle back hand painted rocking chair arm chair, very nice quality, Photo 8354	Replace	2	\$299.99 \$	599.98	6.25%	\$ 3	'.50 \$	637.48	+5
810	OFFICE SECOND FLOOR	Large window screen, new, Photo 8355	Replace	2	\$52.99 \$	105.98	6.25%	\$	5.62 \$	112.60	NEW
811	MASTER BEDROOM OFFICE	New wooden decorative photo frame, 5" X 7" from Home Interiors	Replace	1	\$14.99 \$	14.99	6.25%	\$).94 \$	15.93	NEW

	SECOND FLOOR										
812	MASTER BEDROOM OFFICE SECOND FLOOR	Women's leather flats, new from American Eagle	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.5	5	NEW
813	MASTER BEDROOM OFFICE SECOND FLOOR	Medium throw pillow	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.7	3	+5
814	MASTER BEDROOM OFFICE SECOND FLOOR	New ceramic infuser mug from The Cozy Tea Cart, Item 88231 Crystal stacking sugar and creamer set from Jennifer, hand made	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.6	1	+5
815	MASTER BEDROOM OFFICE SECOND FLOOR	and hand cut, new in box, includes 10 ounce creamer and 12 ounce bowl, No. 17187	Replace	1	\$68.99 \$	68.99	6.25%	\$ 4.31	\$ 73.3	0	NEW
816	MASTER BEDROOM OFFICE SECOND FLOOR	Chrysanthemum classic bowl, 10-1/2" diameter, from Style Setter division of Crystal Clear, new in box	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	9	NEW
817	MASTER BEDROOM OFFICE SECOND FLOOR	Crystal serving plate, 12-1/2" from Home Beautiful, new in box	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.2	4	NEW
818	MASTER BEDROOM OFFICE SECOND FLOOR	5" diameter X 3" deep crystal bowl, new in box	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	9	NEW
819	MASTER BEDROOM OFFICE SECOND FLOOR	New 10" tall statues/figurine from Willow Tree, all The Hero, new in box	Replace	4	\$29.99 \$	119.96	6.25%	\$ 7.50	\$ 127.4	6	NEW
820	MASTER BEDROOM OFFICE SECOND FLOOR	50" X 60" fleece plush throw blanket, new	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.8	6	NEW
821	MASTER BEDROOM OFFICE SECOND FLOOR	Children's twin comforter	Replace	2	\$79.99 \$	159.98	6.25%	\$ 10.00	\$ 169.9	В	+5
822	MASTER BEDROOM OFFICE	Upholstered office arm chair on caster wheels, Photo 8361	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.37	\$ 159.3	nups://www.aeii.com/en-	+5
	SECOND FLOOR									us/work/shop/desktops-all-in- one-pcs/precision-5820- tower- workstation/spd/precision-	
823	MASTER BEDROOM OFFICE SECOND FLOOR	Home PC from Dell Precision, Model T5400, Photo 8362, 8363	Replace	1	\$1,862.96 \$	1,862.96	6.25%	\$ 116.44	\$ 1,979.4	5820- workstation/xctopt5820us	+5
824	MASTER BEDROOM OFFICE SECOND FLOOR	Small electric humidifier from Walgreens	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	9	+5
825	MASTER BEDROOM OFFICE SECOND FLOOR	Large throw pillow	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	9	+5
826	MASTER BEDROOM OFFICE SECOND FLOOR	Women's faux leather (could be real) medium handbag from XOXO	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	9	+5
827	MASTER BEDROOM OFFICE SECOND FLOOR	Women's canvas medium handbag from XOXO	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	9	+5
828	MASTER BEDROOM OFFICE SECOND FLOOR	20 gallon Sterilite plastic storage container with lid	Replace	1	\$9.97 \$	9.97	6.25%	\$ 0.62	\$ 10.5	9	+5
829	MASTER BEDROOM OFFICE SECOND FLOOR MASTER BEDROOM	Large Lego sets Photo 8364	Replace	3	\$175.00 \$	525.00	6.25%	\$ 32.81	\$ 557.8	1	+5
830	OFFICE SECOND FLOOR MASTER BEDROOM	Allowance-Loose Legos, Photo 8364	Replace	1	\$500.00 \$	500.00	6.25%	\$ 31.25	\$ 531.2	5	+5
831	OFFICE SECOND FLOOR MASTER BEDROOM	Children's soft cover book	Replace	6	\$7.99 \$	47.94	6.25%	\$ 3.00	\$ 50.9	4	+5
832	OFFICE SECOND FLOOR MASTER BEDROOM	Small canvas duffle bag	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.8	6	+5
833	OFFICE SECOND FLOOR MASTER BEDROOM	Small metal photo album	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.2	3	+5
834	OFFICE SECOND FLOOR MASTER BEDROOM	Medium hard cover photo album	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.2	4	+5
835	OFFICE SECOND FLOOR	Necklace whistle, stainless steel Children's basketball game, has three hoops, each one worth different points, 24" X 18", Photo 8365, 8366, 8367 - electric -	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.2	4	+5
836	MASTER BEDROOM OFFICE SECOND FLOOR	large basketball game you set up, made by Arcade Alley Rollercade	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	9	+5
837	MASTER BEDROOM OFFICE	Telescope from Jason, Model 316 Astronaut, Photo 8368	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50	\$ 212.4	9	+5

https://www.countrymarketpla ces.com/roll-top-desk-solidwood-deluxe-executive-oak-54y28y49-bw-classic-home-

	MASTER BEDROOM	Large solid wood antique secretary desk with 7 drawers, fold out table top, 8 cubbies, 2 shelves; measures 42" tall X 50" long X 32"										wood-deluxe-executive-oak- 54x28x49-bw-classic-home-	
838	OFFICE	wide, very nice dovetail on the drawers, Photo 8369, 8370, 8373	Replace	1	\$1,899.00	\$ 1,899	.00	6.25%	\$ 118.69	\$	2,017.69	office-organizer/	+5
	SECOND FLOOR	Big Bucket O'Little Green Men from Walt Disney World Resort											
839	OFFICE	from Toy Story	Replace	1	\$19.99	\$ 19	.99	6.25%	\$ 1.25	s	21.24		+5
000	SECOND FLOOR	nom roy con,	Портаво	•	Ų.0.00	•		0.2070		•			
		Large box of carbon copy receipt paper, personalized - bill sheets,											_
840	OFFICE SECOND FLOOR	Photo 8371	Replace	1	\$39.99	\$ 39	.99	6.25%	\$ 2.50	\$	42.49		+5
	MASTER BEDROOM												
841	OFFICE	24" X 20" metal picture frame	Replace	1	\$39.99	\$ 39	.99	6.25%	\$ 2.50	\$	42.49		+5
	SECOND FLOOR MASTER BEDROOM												
842	OFFICE	Verizon WIFI router, Model 327W	Replace	1	\$99.99	\$ 99	.99	6.25%	\$ 6.25	s	106.24		+5
	SECOND FLOOR	,,			*	,			•	•			
0.40	MASTER BEDROOM	All and the second and the	B	2	***	•		0.050/			24.05		
843	OFFICE SECOND FLOOR	6' long ethernet cable	Replace	2	\$14.99	\$ 25	.98	6.25%	\$ 1.87	Þ	31.85		+5
	MASTER BEDROOM												
844	OFFICE	Dice	Replace	10	\$1.99	\$ 19	.90	6.25%	\$ 1.24	\$	21.14		+5
	SECOND FLOOR MASTER BEDROOM												
845	OFFICE	New Christmas card	Replace	4	\$3.99	\$ 15	.96	6.25%	\$ 1.00	\$	16.96		NEW
	SECOND FLOOR		•										
846	MASTER BEDROOM OFFICE	Small aluminum telescoping camera tripod, 9" to 16", with canvas carry bag, drawstring, photo 8372	Replace	1	\$59.99	\$ 50	.99	6.25%	\$ 3.75	•	63.74		+5
040	SECOND FLOOR	carry bag, drawstring, prioto corz	Replace	•	ψ00.00	• 0.		0.2070	U 0.70	٠	00.14		
	MASTER BEDROOM												
847	OFFICE SECOND FLOOR	New personalized embroidered baseball cap	Replace	1	\$29.99	\$ 29	.99	6.25%	\$ 1.87	\$	31.86		NEW
	MASTER BEDROOM												
848	OFFICE	8 piece golf ball and wooden golf tee set from Top Flite, US Army	Replace	1	\$12.99	\$ 12	.99	6.25%	\$ 0.81	\$	13.80		+5
	SECOND FLOOR MASTER BEDROOM												
849	OFFICE	6 piece Toy Story figurine set / action figure set, Photo 8375	Replace	1	\$39.99	\$ 39	.99	6.25%	\$ 2.50	\$	42.49		+5
	SECOND FLOOR												
850	MASTER BEDROOM OFFICE	16" X 13" wooden picture frame with wall print	Replace	1	\$29.99	¢ 20	.99	6.25%	\$ 1.87	•	31.86		+5
000	SECOND FLOOR	10 X 13 Wooden picture name with wall print	Replace	•	φ23.33	y 23		0.23/6	ų 1.07	÷	31.00		13
	MASTER BEDROOM												
851	OFFICE SECOND FLOOR	Expanding file folder	Replace	1	\$9.99	\$ 9	.99	6.25%	\$ 0.62	\$	10.61		+5
		Metal locking filing cabinet, 2 drawer, measures 29" tall X 15" long											
852	OFFICE	X 18" deep, Photo 8376	Replace	1	\$129.99	\$ 129	.99	6.25%	\$ 8.12	\$	138.11		+5
	SECOND FLOOR MASTER BEDROOM												
853	OFFICE	Package of Polaroid Ink Jet photo paper	Replace	8	\$9.99	\$ 79	.92	6.25%	\$ 5.00	\$	84.92		+5
	SECOND FLOOR												
854	MASTER BEDROOM OFFICE	Soft cover book	Replace	4	\$9.99	\$ 39	.96	6.25%	\$ 2.50	s	42.46		+5
	SECOND FLOOR			=	40.00	,				•			-
055	MASTER BEDROOM	Destructive and from O feel Oll V.5 and d	B	•	44.00			0.050/					
855	OFFICE SECOND FLOOR	Package of index cards from Oxford, 3" X 5, ruled	Replace	3	\$1.99	> :	.97	6.25%	\$ 0.37	>	6.34		+5
	MASTER BEDROOM												
856	OFFICE	Paper expanding file folder	Replace	2	\$9.99	\$ 19	.98	6.25%	\$ 1.25	\$	21.23		+5
	SECOND FLOOR MASTER BEDROOM												
857	OFFICE	Filing cabinet paper folder divider	Replace	40	\$0.10	\$ 4	.00	6.25%	\$ 0.25	\$	4.25		+5
	SECOND FLOOR MASTER BEDROOM												
858	OFFICE	Upholstered office arm chair on caster wheels, Photo 8377	Replace	1	\$149.99	\$ 149	.99	6.25%	\$ 9.37	\$	159.36		+5
	SECOND FLOOR		•										
859	MASTER BEDROOM OFFICE	Large ceramic flower pot	Replace	1	\$39.99	¢ 30	.99	6.25%	\$ 2.50	•	42.49		+5
000	SECOND FLOOR	Large ceramic nower pot	Replace		φ33.33	φ J:		0.2376	φ 2.50	Ţ	42.43		.5
	MASTER BEDROOM												_
860	OFFICE SECOND FLOOR	XL bouquet of faux flowers, Photo 8378	Replace	1	\$59.99	\$ 55	.99	6.25%	\$ 3.75	\$	63.74		+5
	MASTER BEDROOM												
861	OFFICE	Futon mattress, full, Photo 8379	Replace	1	\$239.99	\$ 239	.99	6.25%	\$ 15.00	\$	254.99		+5
	SECOND FLOOR MASTER BEDROOM												
862	OFFICE	Queen comforter	Replace	1	\$99.99	\$ 99	.99	6.25%	\$ 6.25	\$	106.24		+5
	SECOND FLOOR	Lanca and discount had to see the second and the se											
863	MASTER BEDROOM OFFICE	Large solid wood baby crib on caster wheels with spindle siding, very nice quality, Photo 8380	Replace	1	\$299.99	\$ 299	.99	6.25%	\$ 18.75	s	318.74		+5
		, , ,,		-	+					•	2.2		-

SECOND FLOOR Large solid wood antique secretary desk with 7 drawers, fold out

	SECOND FLOOR												
	MASTER BEDROOM												_
864	OFFICE SECOND FLOOR	Crib mattress	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$	53.11		+5
	MASTER BEDROOM												
865	OFFICE	Crib sheet set	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$	31.86		+5
	SECOND FLOOR												
000	MASTER BEDROOM OFFICE	Other lands of the control of the co	B		\$49.99 \$	40.00	0.050/	•	3.12	•	53.11		.5
866	SECOND FLOOR	Crib size comforter	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$	53.11		+5
	MASTER BEDROOM												
867	OFFICE	Crib size heavy knit blanket	Replace	2	\$29.99 \$	59.98	6.25%	\$	3.75	\$	63.73		+5
	SECOND FLOOR												
	MASTER BEDROOM			_									_
868	OFFICE	Children's fleece swaddle blanket	Replace	2	\$9.99 \$	19.98	6.25%	\$	1.25	>	21.23		+5
												EXACT MATCH - https://www.google.com/shop ping/product/9349007739071 7565?q=XL+Lego+set+ +Star+Wars+ship&prds=epd: 4520142685879499117,prmr 3,eto:4520142685879499117,prmr 7_1,rto:1,pim:CJ_R7-HJm- GdDBDL5Nabu_mN7vIBGPD _480ClgNVUQG-dMJRRhAYW prYOW&utm_medium=tu_pro	
	SECOND FLOOR											p&utm_content=eid-	
	MASTER BEDROOM											lsjeuxoeqt&utm_campaign=12	
869	OFFICE SECOND FLOOR	XL Lego set - Star Wars ship, Photo 8381	Replace	1	\$699.99 \$	699.99	6.25%	\$ 4	3.75	\$	743.74	5181302	+5
	MASTER BEDROOM												
870	OFFICE	Queen fleece blanket	Replace	2	\$99.99 \$	199.98	6.25%	\$ 1	2.50	\$	212.48		+5
	SECOND FLOOR												
	MASTER BEDROOM												_
871	OFFICE SECOND FLOOR	Hewlett Packard Desk Jet printer, Model 632C, Photo 8382	Replace	1	\$79.99 \$	79.99	6.25%	\$	5.00	\$	84.99		+5
	MASTER BEDROOM												
872	OFFICE	Hewlett Packard Photo Smart printer, Model 1215, Photo 8383	Replace	1	\$179.99 \$	179.99	6.25%	\$ 1	1.25	\$	191.24		+5
	SECOND FLOOR	• • • • • • • • • • • • • • • • • • • •	•										
	MASTER BEDROOM												
873	OFFICE SECOND FLOOR	Wired keyboard from Gateway 2000	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$	31.86		+5
	MASTER BEDROOM												
874	OFFICE	Fax machine from Sharp, Model UX-107A, Photo 8384	Replace	1	\$299.99 \$	299.99	6.25%	\$ 1	8.75	\$	318.74		+5
	SECOND FLOOR												
	MASTER BEDROOM	Wireless optical desktop set, keyboard and mouse, from											
875	OFFICE SECOND FLOOR	Microsoft, Photo 8385	Replace	1	\$64.99 \$	64.99	6.25%	\$	4.06	\$	69.05		+5
	MASTER BEDROOM												
876	OFFICE	6 outlet surge protector	Replace	2	\$14.99 \$	29.98	6.25%	\$	1.87	s	31.85		+5
	SECOND FLOOR				,,			•					
	MASTER BEDROOM												_
877	OFFICE	5 piece precision screwdriver set	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$	10.61		+5
	SECOND FLOOR MASTER BEDROOM	Box of International Printer jet print photo everyday photo paper,											
878	OFFICE	soft gloss, 60 sheets, 7 mm thick, 8-1/2" X 11"	Replace	2	\$15.99 \$	31.98	6.25%	\$	2.00	\$	33.98		NEW
	SECOND FLOOR		•										
	MASTER BEDROOM			_									_
879	OFFICE SECOND FLOOR	cards, 2" X 3-1/2"	Replace	2	\$99.90 \$	199.80	6.25%	\$ 1	2.49	\$	212.29		+5
	MASTER BEDROOM	Ream of photo paper from Hammermill Office One Business											
880	OFFICE	Gloss, 8-1/2" X 11", 300 sheets	Replace	2	\$5.99 \$	11.98	6.25%	\$	0.75	\$	12.73		+5
	SECOND FLOOR												
004	MASTER BEDROOM OFFICE	1 - 1 - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 -	Bleave		****	00.00	0.050/	•		•	40.40		. 5
881	SECOND FLOOR	Leather mouse pad set into wood, 9-3/4" X 9-3/4"	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	>	42.49		+5
	MASTER BEDROOM												
882	OFFICE	100 pack of music cool colors CD-R discs from Memorex	Replace	1	\$18.99 \$	18.99	6.25%	\$	1.19	\$	20.18		+5
	SECOND FLOOR												
000	MASTER BEDROOM	Drinter into an Ell for Conner Disease Observation 100 000 at a	Danker	,	620.00 6	20.00	0.050/	•		•	25.25		.5
883	OFFICE SECOND FLOOR	Printer ink refill for Canon Pixma Chromalife 100, 36 color	Replace	1	\$32.99 \$	32.99	6.25%	Þ	2.06	Þ	35.05		+5
	MASTER BEDROOM												
884	OFFICE	Ink refill for HP Ink Jet print cartridge 20 Black	Replace	1	\$32.99 \$	32.99	6.25%	\$	2.06	\$	35.05		+5
	SECOND FLOOR	-											
885	MASTER BEDROOM OFFICE	HP Photo Smart all in one printer, Model 2575, Photo 8387	Replace	1	\$229.99 \$	229.99	6 25%	e 1	4.37	•	244.36		+5
000	SECOND FLOOR	The Frieddoman air in one printer, Would 2070, Prioto 6367	Nepiace	'	9223.33 Q	223.33	J.23/0	ψ 1	7.57	*	444.30		. 5
	MASTER BEDROOM	17" computer monitor from Samsung, Sync Master 770TFT, Photo											
886	OFFICE	8388	Replace	1	\$149.99 \$	149.99	6.25%	\$	9.37	\$	159.36		+5

	SECOND FLOOR											
887	OFFICE	HP laptop modem Model T60M283.00, Compaq NC6000, Photo 8389, 8390, 8391	Replace	2	\$165.99 \$	331.98	6.25%	\$	20.75	\$ 352.73		+5
000	SECOND FLOOR MASTER BEDROOM		Blear		450.00	50.00	0.050/	•				
888	OFFICE SECOND FLOOR MASTER BEDROOM	Large wicker laundry basket or hamper with linen removable liner	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75	\$ 63.74		+5
889	OFFICE SECOND FLOOR	Large heavy wicker picnic basket	Replace	4	\$59.99 \$	239.96	6.25%	\$	15.00	\$ 254.96		+5
890	MASTER BEDROOM OFFICE	12" diameter X 6" deep metal wire basket	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24		+5
	SECOND FLOOR MASTER BEDROOM											_
891	OFFICE SECOND FLOOR MASTER BEDROOM	XL wicker storage basket, 24" long X 17" wide X 8" deep 3 candle votive jar candle set from Kringle Candle Company with	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.49		+5
892	OFFICE SECOND FLOOR	metal wire basket, new, Photo 8393	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24		NEW
893	MASTER BEDROOM OFFICE	22 ounce Yankee Candle jar candle, new	Replace	3	\$26.50 \$	79.50	6.25%	\$	4.97	\$ 84.47		NEW
	SECOND FLOOR MASTER BEDROOM											_
894	OFFICE SECOND FLOOR MASTER BEDROOM	20 quart plastic storage box with lid	Replace	1	\$11.99 \$	11.99	6.25%	\$	0.75	\$ 12.74		+5
895	OFFICE SECOND FLOOR	Shoebox plastic storage container with lid	Replace	2	\$2.99 \$	5.98	6.25%	\$	0.37	\$ 6.35		+5
896	MASTER BEDROOM OFFICE	12" tall X 6" diameter metal flower vase	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24		+5
897	SECOND FLOOR MASTER BEDROOM OFFICE	Large bouquet of flowers, Photo 8394	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.49		+5
007	SECOND FLOOR	Solid wood or natural wood frame keepsake box with photo frame	riopiaco	•	¥55.55 ¥	55.55	0.2070	•	2.00			.0
898	OFFICE	on top, 4" X 6", new, Photo 8395, 8396	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.49		+5
	SECOND FLOOR										http://www.ascendtech.us/hig h-end-custom-gaming-pc-am4	
899	MASTER BEDROOM OFFICE	Custom built PC, may have been a gaming PC, with stainless steel case from Lian Li, Photo 8397	Replace	1	\$1,519.99 \$	1,519.99	6.25%	•	95.00	\$ 1,614,99	build_i_dtamdgamingpc03.as px?agent=froogle	+5
000	SECOND FLOOR	Very nice quality solid wood accent table with one storage drawer	поршос	•	ψ1,013.33 ψ	1,010.00	0.2070	*	30.00	1,014.00	px: agent-moogle	
900	MASTER BEDROOM OFFICE SECOND FLOOR	and collapsible side leaves; stands 24" tall X 32-1/2" long X 28" wide, Photo 8399, 8398	Replace	1	\$399.99 \$	399.99	6.25%	\$	25.00	\$ 424.99		+5
901	MASTER BEDROOM OFFICE	Motorola cell phone from Cingular, Photo 8400	Replace	1	\$299.99 \$	299.99	6.25%	\$	18.75	\$ 318.74		+5
	SECOND FLOOR REAR											
902	LEFT BEDROOM	11" X 11" X 11" canvas cubby	Replace	3	\$19.99 \$	59.97	6.25%	\$	3.75	\$ 63.72		+5
903	SECOND FLOOR REAR LEFT BEDROOM	32" LCD TV from Sharp, Model LC-32Q5200U - not new, but looks like it is, Photo 8407, 8408	Replace	1	\$229.99 \$	229.99	6.25%	\$	14.37	\$ 244.36		1 year
904	SECOND FLOOR REAR	Amazon Firestick, Model E9L29Y	Replace	1	\$49.99 \$	49.99	6.25%	•	3.12	\$ 53.11		6 MONTHS
304	SECOND FLOOR REAR		Replace	•	φ - 9.33 φ	43.33	0.2376	Ψ	3.12	33.11		OMONTIO
905		6' HDMI wire	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94	\$ 15.93		6 MONTHS
906	SECOND FLOOR REAR LEFT BEDROOM	Xfinity cable box, Model XID-P	Replace	1	\$99.99 \$	99.99	6.25%	\$	6.25	\$ 106.24		6 MONTHS
907	SECOND FLOOR REAR LEFT BEDROOM	Large canvas reusable tote bag	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.49		+5
908	SECOND FLOOR REAR LEFT BEDROOM	Ball of yarn	Replace	14	\$3.99 \$	55.86	6.25%	\$	3.49	\$ 59.35		3 YEARS
	SECOND FLOOR REAR											
909		XL crochet needles 5 shelf solid wood wall hanging storage rack, 4' tall X 4'1/2" long X	Replace	4	\$9.99 \$	39.96	6.25%	\$	2.50	\$ 42.46		+5
910		7-1/2" deep, Photo 8409	Replace	1	\$89.99 \$	89.99	6.25%	\$	5.62	\$ 95.61		+5
911	SECOND FLOOR REAR LEFT BEDROOM	New Coca Cola brand animated jazz polar bear	Replace	1	\$22.99 \$	22.99	6.25%	\$	1.44	\$ 24.43		NEW
912	SECOND FLOOR REAR LEFT BEDROOM	Coca Cola brand insulated storage bag, holds 2 2-liter bottles	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.86		+5
0.15		Coca Cola brand 2000 holiday helicopter carrier, includes '62										
913	LEFT BEDROOM	replica helicopter, new in box	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.49		NEW

914	SECOND FLOOR REAR 24 ounce popcorn tin with collectible holiday truck set, new in box, LEFT BEDROOM from Coca Cola	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	NEW
915	SECOND FLOOR REAR LEFT BEDROOM 12-1/2" plastic Coca Cola brand dinner plate	Replace	4	\$12.99 \$	51.96 6.25% \$	3.25 \$	55.21	new
916	SECOND FLOOR REAR Coca Cola Superbowl XXXVI New Orleans February 3, 2002, new LEFT BEDROOM in box	Replace	1	\$8.99 \$	8.99 6.25% \$	0.56 \$	9.55	NEW
917	SECOND FLOOR REAR Assorted size and style collectible Coca Cola drinking glasses, LEFT BEDROOM roughly 16 ounce	Replace	16	\$9.99 \$	159.84 6.25% \$	9.99 \$	169.83	+5
918	SECOND FLOOR REAR LEFT BEDROOM Coca Cola brand collectible tin with lid, 6-1/4" tall X 4" X 4"	Replace	1	\$12.99 \$	12.99 6.25% \$	0.81 \$	13.80	+5
919	SECOND FLOOR REAR Collectible plastic reusable water bottle from Coca Cola, 100 LEFT BEDROOM years of The Coca Cola Bottle, anniversary bottle Coca Cola brand collectible cookie tin with spiral hard cover	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5
920	SECOND FLOOR REAR address book and small memo pad - Coca Cola Have A Cookie LEFT BEDROOM set	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
921	SECOND FLOOR REAR LEFT BEDROOM 24 ounce Coca Cola brand collectible popcorn tin	Replace	1	\$15.99 \$	15.99 6.25% \$	1.00 \$	16.99	+5
922	SECOND FLOOR REAR LEFT BEDROOM Small assorted size and shape collectible Coca Cola storage tin	Replace	4	\$7.99 \$	31.96 6.25% \$	2.00 \$	33.96	+5
923	SECOND FLOOR REAR LEFT BEDROOM Coca Cola tin utensil caddy, new with tag	Replace	1	\$18.99 \$	18.99 6.25% \$	1.19 \$	20.18	NEW
924	SECOND FLOOR REAR LEFT BEDROOM Coca Cola brand stainless steel bottle opener	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
925	SECOND FLOOR REAR LEFT BEDROOM Coca Cola ceramic cookie jar in the shape of an igloo from 2005	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5
926	SECOND FLOOR REAR LEFT BEDROOM Coca Cola brand plastic frisbee	Replace	2	\$5.99 \$	11.98 6.25% \$	0.75 \$	12.73	+5
927	SECOND FLOOR REAR LEFT BEDROOM Small Coca Cola brand stuffed animal	Replace	3	\$9.99 \$	29.97 6.25% \$	1.87 \$	31.84	+5
928	SECOND FLOOR REAR LEFT BEDROOM ~2 quart metal bucket from Coca Cola brand	Replace	2	\$9.99 \$	19.98 6.25% \$	1.25 \$	21.23	+5
929	SECOND FLOOR REAR LEFT BEDROOM 14" diameter metal Coca Cola brand sign	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
930	SECOND FLOOR REAR Coca Cola brand collectible ceramic cookie jar with lid in the LEFT BEDROOM shape of Santa's boot	Replace	1	\$24.99 \$	24.99 6.25% \$	1.56 \$	26.55	+5
931	SECOND FLOOR REAR LEFT BEDROOM Heavy glass Coca Cola brand drinking glass with mug handle	Replace	2	\$9.99 \$	19.98 6.25% \$	1.25 \$	21.23	+5
932	SECOND FLOOR REAR LEFT BEDROOM Hard cover book from Coca Cola, The Night Before Christmas	Replace	1	\$24.99 \$	24.99 6.25% \$	1.56 \$	26.55	+5
933	SECOND FLOOR REAR LEFT BEDROOM 24 ounce Coca Cola drink tumbler, plastic, with lid	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
934	SECOND FLOOR REAR LEFT BEDROOM Coca Cola bar style bottle opener and can opener	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
935	SECOND FLOOR REAR LEFT BEDROOM 6 pack of Coca Cola Classic, 6 8 ounce bottles	Replace	1	\$6.99 \$	6.99 6.25% \$	0.44 \$	7.43	+5
936	SECOND FLOOR REAR Small glass cookie jar, Coca Cola brand, made by Anchor LEFT BEDROOM Hocking, with ceramic lid, Item 85810	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
937	SECOND FLOOR REAR Package of drinking glasses from Coca Cola brand, with (6) 16 LEFT BEDROOM ounce glasses with snowmen on them, new	Replace	1	\$34.99 \$	34.99 6.25% \$	2.19 \$	37.18	NEW
938	SECOND FLOOR REAR LEFT BEDROOM 16 ounce heavy drinking mug from Coca Cola	Replace	2	\$9.99 \$	19.98 6.25% \$	1.25 \$	21.23	+5
939	SECOND FLOOR REAR LEFT BEDROOM Small tin Coca Cola lunch box	Replace	3	\$14.99 \$	44.97 6.25% \$	2.81 \$	47.78	+5
940	SECOND FLOOR REAR LEFT BEDROOM Small hanging sign from Coca Cola	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5

941	SECOND FLOOR REAR LEFT BEDROOM 22 ounce Yankee Candle style Coca Cola brand jar candle	Replace	1	\$19.99 \$	19.99 6.2	5% \$	1.25 \$	21.24	+5
942	SECOND FLOOR REAR LEFT BEDROOM Coca Cola bottle opener, new in package	Replace	1	\$3.99 \$	3.99 6.2	5% \$	0.25 \$	4.24	NEW
943	SECOND FLOOR REAR LEFT BEDROOM 8 ounce bottle of Coca Cola, glass bottle	Replace	1	\$1.99 \$	1.99 6.2	5% \$	0.12 \$	2.11	+5
944	SECOND FLOOR REAR Small tin keepsake box from Coca Cola, 3" tall X 4" long X 1-1/2" LEFT BEDROOM wide	Replace	1	\$9.99 \$	9.99 6.2	5% \$	0.62 \$	10.61	+5
945	SECOND FLOOR REAR LEFT BEDROOM 40 piece can puzzle from Coca Cola, new in box	Replace	1	\$14.99 \$	14.99 6.2	5% \$	0.94 \$	15.93	new
946	SECOND FLOOR REAR LEFT BEDROOM 4-1/2" X 7" X 5-1/2" picnic basket style tin lunch box	Replace	1	\$19.99 \$	19.99 6.2	5% \$	1.25 \$	21.24	+5
947	SECOND FLOOR REAR 6 pack of Coca Cola in glass bottles with plastic caps, 12 ounce LEFT BEDROOM resealable bottles, new	Replace	1	\$11.99 \$	11.99 6.2	5% \$	0.75 \$	12.74	NEW
948	SECOND FLOOR REAR LEFT BEDROOM Coca Cola brand playing cards, deck, new	Replace	4	\$5.99 \$	23.96 6.2	5% \$	1.50 \$	25.46	NEW
949	SECOND FLOOR REAR LEFT BEDROOM 4 pack of Coca Cola in glass bottles, 8-1/2 ounce bottle	Replace	1	\$8.99 \$	8.99 6.2	5% \$	0.56 \$	9.55	+5
950	SECOND FLOOR REAR LEFT BEDROOM 8-1/2 ounce bottle of Coca Cola in metal bottle	Replace	2	\$1.99 \$	3.98 6.2	5% \$	0.25 \$	4.23	+5
951	SECOND FLOOR REAR LEFT BEDROOM 10" X 7" wooden wall plaque from Coca Cola	Replace	1	\$9.99 \$	9.99 6.2	5% \$	0.62 \$	10.61	+5
952	SECOND FLOOR REAR LEFT BEDROOM Collectible tin Coca Cola truck, opens from top and front	Replace	1	\$18.99 \$	18.99 6.2	5% \$	1.19 \$	20.18	+5
953	SECOND FLOOR REAR Coca Cola brand playing cards, deck, new, in tin case with Coca LEFT BEDROOM Cola pencil	Replace	2	\$9.99 \$	19.98 6.2	5% \$	1.25 \$	21.23	NEW
954	SECOND FLOOR REAR Coca Cola brand Heritage Collection ceramic music box on LEFT BEDROOM wooden pedestal, issue 1994	Replace	1	\$39.99 \$	39.99 6.2	5% \$	2.50 \$	42.49	+5
955	SECOND FLOOR REAR LEFT BEDROOM Ceramic coffee mug from Coca Cola	Replace	4	\$5.99 \$	23.96 6.2	5% \$	1.50 \$	25.46	+5
956	SECOND FLOOR REAR LEFT BEDROOM [Inaudible 10:44] from Coca Cola	Replace	3	\$9.99 \$	29.97 6.2	5% \$	1.87 \$	31.84	+5
957	SECOND FLOOR REAR LEFT BEDROOM Golf ball from Coca Cola by Pinnacle Gold	Replace	2	\$2.99 \$	5.98 6.2	5% \$	0.37 \$	6.35	+5
958	SECOND FLOOR REAR LEFT BEDROOM Coca Cola brand large night light	Replace	1	\$9.99 \$	9.99 6.2	5% \$	0.62 \$	10.61	+5
959	SECOND FLOOR REAR LEFT BEDROOM Large ceramic soup mug	Replace	1	\$9.99 \$	9.99 6.2	5% \$	0.62 \$	10.61	+5
960	SECOND FLOOR REAR 3 pack of golf balls, Coca Cola by Top Flite XL, long and strong LEFT BEDROOM distance	Replace	1	\$4.99 \$	4.99 6.2	5% \$	0.31 \$	5.30	+5
961	SECOND FLOOR REAR LEFT BEDROOM Medium battery powered stuffed animal	Replace	1	\$24.99 \$	24.99 6.2	5% \$	1.56 \$	26.55	NEW
962	SECOND FLOOR REAR LEFT BEDROOM Women's canvas running shoes from Nike	Replace	1	\$99.99 \$	99.99 6.2	5% \$	6.25 \$	106.24	+5
963	SECOND FLOOR REAR LEFT BEDROOM Large wall calendar from Hooters	Replace	1	\$19.99 \$	19.99 6.2	5% \$	1.25 \$	21.24	+5
964	SECOND FLOOR REAR LEFT BEDROOM Wall calendar	Replace	1	\$19.99 \$	19.99 6.2	5% \$	1.25 \$	21.24	+5
965	SECOND FLOOR REAR LEFT BEDROOM Baseball cap	Replace	3	\$29.99 \$	89.97 6.2	5% \$	5.62 \$	95.59	+5
966	SECOND FLOOR REAR LEFT BEDROOM Women's heavy knit winter beanie	Replace	2	\$29.99 \$	59.98 6.2	5% \$	3.75 \$	63.73	+5
967	SECOND FLOOR REAR LEFT BEDROOM 16 pack of Dove bar soap, 3.5 ounce bars	Replace	1	\$15.99 \$	15.99 6.2	5% \$	1.00 \$	16.99	New

968	SECOND FLOOR REAR LEFT BEDROOM	Baseball	Replace	2	\$5.99 \$	11.98	6.25%	\$ ().75	\$ 12.73		+5
969	SECOND FLOOR REAR LEFT BEDROOM	75 wipe container of Clorox disinfectant wipes	Replace	1	\$49.90 \$	49.90	6.25%	\$ 3	3.12	\$ 53.02		1 year
970	SECOND FLOOR REAR LEFT BEDROOM	Women's canvas trifold wallet	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	1.87	\$ 31.86		+5
971	SECOND FLOOR REAR LEFT BEDROOM	Baby's 24 carat gold bracelet from Kiddie Kraft, Photo 8410	Clean / Service	1	\$75.00 \$	75.00	6.25%	\$ 4	1.69	\$ 79.69	https://www.cabinfield.com/pr oduct/bedroom-storage-	+5
972	LEFT BEDROOM	Large solid wood standing tall bureau with locking drawers, Photo 8411 17" long stainless steel dagger with marble and metal handle,	Replace	1	\$1,590.00 \$	1,590.00	6.25%	\$ 99	9.38	\$ 1,689.38	pieces/capitan-amish-chest- of-drawers-81644/variant- c53d6c16	+5
973	LEFT BEDROOM	blade measures 11-3/4" with leather sheath, very nice quality, Photo 8412	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3	3.12	\$ 53.11		+5
974	SECOND FLOOR REAR LEFT BEDROOM	Women's razor refill cartridge from Gillette Venus, 4 count	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1	1.25	\$ 21.23		6 months
975	SECOND FLOOR REAR LEFT BEDROOM	3.2 ounce bag of Lifesavers hard candy	Replace	2	\$1.99 \$	3.98	6.25%	\$ 0).25	\$ 4.23		6 months
976	SECOND FLOOR REAR LEFT BEDROOM	2 ounce bottle of Opti Free pure moist multipurpose disinfectant solution for contacts	Replace	1	\$2.99 \$	2.99	6.25%	\$ 0).19	\$ 3.18		3 years
977	SECOND FLOOR REAR LEFT BEDROOM	Large 24 ounce drinking glass for an alcoholic beverage	Replace	1	\$8.99 \$	8.99	6.25%	\$ 0).56	\$ 9.55		3 years
978	SECOND FLOOR REAR LEFT BEDROOM	Decorative message in a bottle, 6" tall X 3" diameter	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0).62	\$ 10.61		+5 +5 but in new
979	SECOND FLOOR REAR LEFT BEDROOM	11 ounce jar candle from Well Nest	Replace	2	\$22.99 \$	45.98	6.25%	\$ 2	2.87	\$ 48.85		condition,never used
980	SECOND FLOOR REAR LEFT BEDROOM	4" diameter ceramic plate	Replace	2	\$4.99 \$	9.98	6.25%	\$ 0).62	\$ 10.60		+5
981	SECOND FLOOR REAR LEFT BEDROOM	7-1/2 ounce jar candle from Farm & Sea	Replace	2	\$18.99 \$	37.98	6.25%	\$ 2	2.37	\$ 40.35		NEW
982		3" deep X 14" long X 7" wide tin desktop storage tray or basket, Coca Cola brand, with 3 partitions	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1	1.56	\$ 26.55		+5
983		1.7 ounce bottle of women's perfume from companies like Victoria's Secret	Replace	2	\$58.00 \$	116.00	6.25%	\$ 7	7.25	\$ 123.25		+5
984	SECOND FLOOR REAR LEFT BEDROOM	Children's decorative tiara with rhinestone beads	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0	0.62	\$ 10.61		+5
985	SECOND FLOOR REAR LEFT BEDROOM	Hair band, plastic	Replace	4	\$1.99 \$	7.96	6.25%	\$ 0).50	\$ 8.46		+5
986	SECOND FLOOR REAR LEFT BEDROOM	Charm bracelet, new	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0	0.62	\$ 10.61		NEW
987	SECOND FLOOR REAR LEFT BEDROOM	Alex & Ani stainless steel bracelet	Replace	4	\$29.00 \$	116.00	6.25%	\$ 7	7.25	\$ 123.25		+5
988	SECOND FLOOR REAR LEFT BEDROOM	Faux leather banded stainless steel bezeled wrist watch, women's	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3	3.75	\$ 63.74		+5
989	SECOND FLOOR REAR LEFT BEDROOM	Women's large studded earrings from Piercing Pagoda	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0	0.62	\$ 10.61		3 years
990	SECOND FLOOR REAR LEFT BEDROOM	14" X 11" tin tray from Coca Cola brand	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1	1.25	\$ 21.24		+5
991		1/2 ounce bottle of women's nail polish from companies like Sally Hansen	Replace	5	\$4.99 \$	24.95	6.25%	\$ 1	1.56	\$ 26.51		+5
992	SECOND FLOOR REAR LEFT BEDROOM	Wooden or bamboo hand painted decorative Oriental hand powered fan	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0).62	\$ 10.61		+5
993	SECOND FLOOR REAR LEFT BEDROOM	Contact lenses with contact carry case	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0).62	\$ 10.61		+5
994	SECOND FLOOR REAR LEFT BEDROOM	Battery powered desktop analog alarm clock, old style, from Walt Disney World	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1	1.25	\$ 21.24		+5

995	SECOND FLOOR REAF LEFT BEDROOM	t Personalized glass paperweight, 3" X 3", in the shape of a heart	Replace	1	\$9.99	\$ 9.99	6.25%	\$ 0.62	\$	10.61	+5
996	SECOND FLOOR REAF LEFT BEDROOM	t 1.6 ounce bottle of perfume from Escada Sunset Heat	Replace	2	\$59.99	\$ 119.98	6.25%	\$ 7.50	\$ 1	127.48	+5
997	SECOND FLOOR REAF LEFT BEDROOM	t 8.4 ounce bottle of Endless Sunset body mist	Replace	2	\$18.99	\$ 37.98	6.25%	\$ 2.37	\$	40.35	+5
998	SECOND FLOOR REAF LEFT BEDROOM	R Women's deodorant from Dove	Replace	2	\$3.99	\$ 7.98	6.25%	\$ 0.50	\$	8.48	6 months
999	SECOND FLOOR REAF LEFT BEDROOM	R Nylon head band with buttons for face masks (Corona mask)	Replace	3	\$5.99	\$ 17.97	6.25%	\$ 1.12	\$	19.09	1 year
1000	SECOND FLOOR REAF LEFT BEDROOM	t 2.5 ounce bottle of body mist from Victoria's Secret	Replace	1	\$15.00	\$ 15.00	6.25%	\$ 0.94	\$	15.94	+5
1001	SECOND FLOOR REAF LEFT BEDROOM	t Women's large dangling earrings with some kind of stone, hand made, by Jennifer Middaugh - Boulder Bangles, Ltd.	Replace	1	\$39.99	\$ 39.99	6.25%	\$ 2.50	\$	42.49	+5
1002	SECOND FLOOR REAF LEFT BEDROOM	t Women's small costume jewelry necklace	Replace	1	\$19.99	\$ 19.99	6.25%	\$ 1.25	\$	21.24	+5
1003	SECOND FLOOR REAF LEFT BEDROOM	t 3-1/2 ounce bottle of lasting touch fragrance cream from Pretty Little Things Noir Teas	Replace	1	\$15.99	\$ 15.99	6.25%	\$ 1.00	\$	16.99	+5
1004		POP action figures - 1 is Elton John, #62, 1 is the Pink Ranger from Mighty Morphing Power Rangers, #407	Replace	2	\$49.99	\$ 99.98	6.25%	\$ 6.25	\$ 1	106.23	New
1005	SECOND FLOOR REAF LEFT BEDROOM	t Cordless massager from Mighty Bliss, Photo 8415	Replace	1	\$69.99	\$ 69.99	6.25%	\$ 4.37	\$	74.36	2 years old
1006	SECOND FLOOR REAF LEFT BEDROOM	t 8.4 ounce bottle of body spray from Dream Angels by Victoria's Secret	Replace	1	\$25.00	\$ 25.00	6.25%	\$ 1.56	\$	26.56	+5
1007	SECOND FLOOR REAF LEFT BEDROOM	Medium quilted handbag from Vera Bradley with matching quilted wallet, Photo 8416	Replace	1	\$160.00	\$ 160.00	6.25%	\$ 10.00	\$ 1	170.00	+5
1008	SECOND FLOOR REAF LEFT BEDROOM	t Women's small stone costume jewelry beaded necklace	Replace	1	\$19.99	\$ 19.99	6.25%	\$ 1.25	\$	21.24	+5
1009	SECOND FLOOR REAF LEFT BEDROOM	t Pandora charm bracelet	Replace	1	\$65.00	\$ 65.00	6.25%	\$ 4.06	\$	69.06	+5
1010	SECOND FLOOR REAF LEFT BEDROOM	Pandora charm, Photo 8417	Replace	10	\$45.00	\$ 450.00	6.25%	\$ 28.13	\$ 4	178.13	+5
1011	SECOND FLOOR REAF LEFT BEDROOM	t Women's costume jewelry bracelet	Replace	5	\$19.99	\$ 99.95	6.25%	\$ 6.25	\$ 1	106.20	+5
1012	SECOND FLOOR REAF LEFT BEDROOM	Men's bar soap from Dove Men Plus Care, single bar Men's beard grooming kit, comes with 3 ounce bottle of	Replace	9	\$3.99	\$ 35.91	6.25%	\$ 2.24	\$	38.15	6 MONTHS
1013	SECOND FLOOR REAF	sunscreen, 1 container of beard balm, 1 ounce container of beard t oil, beard guide trimmer, from Full Light Tech with canvas drawstring bag	Replace	1	\$45.99	\$ 45.99	6.25%	\$ 2.87	\$	48.86	1 year
										https://www.us- mattress.com/lempurpedic- tempur-pro-adapt-firm-queer mattress.html?gclid=CjwKC/ w7J6EBhBDEiwA5UUM2n5i 4CCWvt65ylPh7cWdDE7M3 wBJbc-	Aj F
1014	SECOND FLOOR REAF LEFT BEDROOM	t Queen memory foam mattress from Tempur-Pedic, Photo 8418	Replace	1	\$2,999.00	\$ 2,999.00	6.25%	\$ 187.44	\$ 3,1	c6EBNbkWa4Fgk_ytCTzmU 186.44 oCVZIQAvD_BwE	B 4 years
1015	SECOND FLOOR REAF LEFT BEDROOM	t Queen sheet set	Replace	1	\$79.99	\$ 79.99	6.25%	\$ 5.00	\$	84.99	2 years old
1016	SECOND FLOOR REAF LEFT BEDROOM	t Queen comforter set, includes fitted sheet, flat sheet, two pillow shams, two pillow cases, and comforter, queen bed skirt	Replace	1	\$149.99	\$ 149.99	6.25%	\$ 9.37	\$ 1	159.36	2 years old
1017	SECOND FLOOR REAF LEFT BEDROOM	t Bed pillow	Replace	4	\$49.99	\$ 199.96	6.25%	\$ 12.50	\$ 2	212.46	+5
1018	SECOND FLOOR REAF LEFT BEDROOM	t Large throw pillow	Replace	1	\$39.99	\$ 39.99	6.25%	\$ 2.50	\$	42.49	+5
1019	SECOND FLOOR REAF LEFT BEDROOM		Replace	2	\$29.99	\$ 59.98	6.25%	\$ 3.75	\$	63.73	+5

1020	SECOND FLOOR REAR LEFT BEDROOM Large non-stick cookie sheet, new, fro	m Mainstays, 17" X 11" Replace	1	\$19.99 \$	19.99 6.	.25% \$	1.25	\$ 21.24	NEW
1021	SECOND FLOOR REAR LEFT BEDROOM 9.2 ounce container of Beach Body Pe	erformance energize Replace	2	\$34.99 \$	69.98 6.	.25% \$	4.37	\$ 74.35	6 MONTHS
1022	SECOND FLOOR REAR Medium canvas backpack from Transf LEFT BEDROOM holographic photo on front	ormers Autobots with Replace	1	\$59.99 \$	59.99 6.	.25% \$	3.75	\$ 63.74	+5
1023	SECOND FLOOR REAR LEFT BEDROOM Large canvas baseball duffle bag from	Mizuno Replace	1	\$109.99 \$	109.99 6.	.25% \$	6.87	\$ 116.86	+5
1024	SECOND FLOOR REAR LEFT BEDROOM Women's large bristle brush from com	panies like Conair Replace	3	\$9.99 \$	29.97 6.	.25% \$	1.87	\$ 31.84	+5
1025	SECOND FLOOR REAR LEFT BEDROOM 12" X 6" hanging metal plaque from Co	oca Cola Replace	1	\$19.99 \$	19.99 6.	.25% \$	1.25	\$ 21.24	+5
1026	SECOND FLOOR REAR LEFT BEDROOM Women's hair dryer from Remington, N	Model D-1880S Replace	1	\$29.99 \$	29.99 6.	.25% \$	1.87	\$ 31.86	+5
1027	SECOND FLOOR REAR LEFT BEDROOM 25" X 19" metal framed wall mirror, Ph	oto 8420 Replace	1	\$89.99 \$	89.99 6.	.25% \$	5.62	\$ 95.61	+5
1028	SECOND FLOOR REAR Women's small quilted makeup bag from LEFT BEDROOM 8421	om Vera Bradley, Photo Replace	1	\$35.00 \$	35.00 6.	.25% \$	2.19	\$ 37.19	+5
1029	SECOND FLOOR REAR Women's 5 brush makeup brush set fr LEFT BEDROOM canvas carry case	om Victoria's Secret with Replace	1	\$39.99 \$	39.99 6.	.25% \$	2.50	\$ 42.49	+5
1030	SECOND FLOOR REAR 32 mm classic wand, professional curl LEFT BEDROOM infused ceramic barrel from Nu Me, Ph		1	\$89.00 \$	89.00 6.	.25% \$	5.56	\$ 94.56	+5
1031	SECOND FLOOR REAR 25 mm classic wand, professional curl LEFT BEDROOM infused ceramic barrel from Nu Me, Ph		1	\$89.00 \$	89.00 6.	.25% \$	5.56	\$ 94.56	+5
1032	SECOND FLOOR REAR LEFT BEDROOM Large canvas makeup bag, zip up	Replace	1	\$29.99 \$	29.99 6.	.25% \$	1.87	\$ 31.86	+5
1033	SECOND FLOOR REAR 12 color eyeshadow palette with brush LEFT BEDROOM Decay	from Naked 3 Urban	1	\$54.00 \$	54.00 6.	.25% \$	3.38	\$ 57.38	1 year
1034	SECOND FLOOR REAR LEFT BEDROOM 6 color eyeshadow palette from Victoria	a's Secret Replace	2	\$39.99 \$	79.98 6.	.25% \$	5.00	\$ 84.98	+5
1035	SECOND FLOOR REAR LEFT BEDROOM 8 piece fingernail grooming set from E	quate, tip to toe kit Replace	1	\$9.99 \$	9.99 6.	.25% \$	0.62	\$ 10.61	6 months
1036	SECOND FLOOR REAR LEFT BEDROOM 90 count package of bobby pins or sty	ling pins from Conair Replace	3	\$1.99 \$	5.97 6.	.25% \$	0.37	\$ 6.34	+5
1037	SECOND FLOOR REAR LEFT BEDROOM New lipstick from Victoria's Secret, new	w in box Replace	2	\$9.00 \$	18.00 6.	.25% \$	1.13	\$ 19.13	NEW
1038	SECOND FLOOR REAR LEFT BEDROOM 1 ounce blush duo set from Victoria's \$	Secret Replace	2	\$18.00 \$	36.00 6.	.25% \$	2.25	\$ 38.25	+5
1039	SECOND FLOOR REAR LEFT BEDROOM Mascara from Victoria's Secret	Replace	3	\$24.00 \$	72.00 6.	.25% \$	4.50	\$ 76.50	+5
1040	SECOND FLOOR REAR LEFT BEDROOM Volumizing mascara, new, from Beaut	y Counter Replace	1	\$29.00 \$	29.00 6.	.25% \$	1.81	\$ 30.81	NEW
1041	SECOND FLOOR REAR LEFT BEDROOM 11 ounce can of extreme hold hairspra	y from Suave Replace	2	\$2.99 \$	5.98 6.	.25% \$	0.37	\$ 6.35	+5
1042	SECOND FLOOR REAR LEFT BEDROOM Package of soft cotton cleansing pads	, 100 count Replace	1	\$2.99 \$	2.99 6.	.25% \$	0.19	\$ 3.18	+5
1043	SECOND FLOOR REAR LEFT BEDROOM 4 color eyeshadow palette from Victoria	a's Secret Replace	5	\$29.99 \$	149.95 6.	.25% \$	9.37	\$ 159.32	+5
1044	SECOND FLOOR REAR LEFT BEDROOM 5 subject notebook	Replace	2	\$5.99 \$	11.98 6.	.25% \$	0.75	\$ 12.73	+5
1045	SECOND FLOOR REAR LEFT BEDROOM Boxing gloves from ilovekickboxing.co	m Replace	1	\$49.99 \$	49.99 6.	.25% \$	3.12	\$ 53.11	+5
1046	SECOND FLOOR REAR LEFT BEDROOM Yoga ball	Replace	1	\$14.99 \$	14.99 6.	.25% \$	0.94	\$ 15.93	+5

1047	SECOND FLOOR REAF LEFT BEDROOM	R 2 gallon plastic trash bin	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24	+5
1048	SECOND FLOOR REAF LEFT BEDROOM	8 ounce bottle of hand sanitizer from Mountain Country Soap	Replace	3	\$2.99 \$	8.97	6.25%	\$ 0.5	6 \$	9.53	+5
1049	SECOND FLOOR REAF LEFT BEDROOM	R Folding pocket reusable razor from Lenox Gold	Replace	1	\$18.99 \$	18.99	6.25%	\$ 1.1	9 \$	20.18	+5
1050	SECOND FLOOR REAF LEFT BEDROOM	Large metal defense key chain from EIOU, Photo 8425 Wireless over the ear headphones from Bose, Model AE2, has	Replace	3	\$9.99 \$	29.97	6.25%	\$ 1.8	7 \$	31.84	+5
1051	LEFT BEDROOM	R auxiliary port that you can attach a wire to if you do want to make it a wired connection, Photo 8426	Replace	1	\$159.00 \$	159.00	6.25%	\$ 9.9	4 \$	168.94	4 years
1052		Large heavy fleece winter gloves, women's	Replace	3	\$29.99 \$	89.97	6.25%	\$ 5.6	2 \$	95.59	+5
1053		24 ounce stainless steel vacuum sealed tumbler with lid	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.7	5 \$	63.73	3 years
1054	SECOND FLOOR REAF	30" X 18" wooden hanging wall plaque	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86	+5
1055		24" X 12" metal hanging wall plaque	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24	+5
1056	LEFT BEDROOM	Medium stuffed animal from Aurora	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.7	5 \$	63.72	+5
1057		Trumpet with hard case fleece lined storage/carry case, locking	Replace	1	\$419.99 \$	419.99	6.25%	\$ 26.2	5 \$	446.24	+5
1058	LEFT BEDROOM	Sheet music book	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24	+5
1059	SECOND FLOOR REAF LEFT BEDROOM SECOND FLOOR REAF	Large glue gun from Arrow, Model TR-550	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.1	2 \$	53.11	+5
1060	LEFT BEDROOM SECOND FLOOR REAF	Bed pillow	Replace	2	\$49.99 \$	99.98	6.25%	\$ 6.2	5 \$	106.23	+5
1061		6 outlet surge protector	Replace	2	\$14.99 \$	29.98	6.25%	\$ 1.8	7 \$	31.85	+5
1062	LEFT BEDROOM SECOND FLOOR REAF	Medium throw pillow	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86	+5
1063		7" tall X 6" diameter ceramic Halloween statue	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.6	2 \$	10.61	+5
1064	LEFT BEDROOM	16" X 14" Halloween hanging wall plaque R Milwaukee Sawzall reciprocating saw, Cat. 6519-30 with hard	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24	+5
1065	LEFT BEDROOM SECOND FLOOR REAF	case carry case, Photo 8428	Replace	1	\$199.00 \$	199.00	6.25%	\$ 12.4	4 \$	211.44	NEW
1066	LEFT BEDROOM SECOND FLOOR REAF	New Sawzall assorted blades from Diablo	Replace	20	\$14.99 \$	299.80	6.25%	\$ 18.7	4 \$	318.54	NEW
1067	LEFT BEDROOM SECOND FLOOR REAF	5 piece Sawzall blade set from Lenox, 9"	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.5	6 \$	26.55	NEW
1068	LEFT BEDROOM SECOND FLOOR REAF	Shoebox sized plastic storage basket with handle	Replace	1	\$2.99 \$	2.99	6.25%	\$ 0.19	9 \$	3.18	+5
1069	LEFT BEDROOM SECOND FLOOR REAF	4" ceramic Halloween statue	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.5	0 \$	42.46	+5
1070	LEFT BEDROOM SECOND FLOOR REAF	4" tall X 4" long X 1-1/2" wide Halloween candle	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.5	0 \$	8.49	+5
1071	LEFT BEDROOM SECOND FLOOR REAF	Outlet adapter from Leviton, separates it to be 3 outlets	Replace	1	\$4.99 \$	4.99	6.25%	\$ 0.3	1 \$	5.30	+5
1072	LEFT BEDROOM SECOND FLOOR REAF	4" X 2" glass picture frame from Versailles, new in box	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.3	7 \$	6.36	NEW
1073		New multi tool, 14 functions, from Leatherman	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.7	5 \$	63.74	NEW

	0500ND 51 00D D54	No. of the second secon									
1074	LEFT BEDROOM	New package of 5" hook and loop sanding disks, 15 count package, from Gator Power	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	\$ 42.	46	NEW
1075		t 7-1/2" left blade circular saw from Bosch, new in box, Model CS5 or 0601672074, Photo 8429	Replace	1	\$122.99 \$	122.99	6.25%	\$ 7.69	\$ 130.	68	NEW
1076		t Large solid wood twin XL sized almost a bunk bed except the bottom bunk is a desk, Photo 8431	Replace	1	\$2,015.00 \$	2,015.00	6.25%	\$ 125.94	\$ 2,140.	https://www.thebeanbagstore. com/becks-twin-xl-loft-bed- with-desk-and-storage.htm	+5
1077	SECOND FLOOR REAR LEFT BEDROOM	t Twin XL sized mattress	Replace	1	\$699.99 \$	699.99	6.25%	\$ 43.75	\$ 743.	74	+5
1078	SECOND FLOOR REAR LEFT BEDROOM	t Twin XL sheet set	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.	74	+5
1079	SECOND FLOOR REAR LEFT BEDROOM	t Large leather back journal	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.	86	+5
1080	SECOND FLOOR REAR LEFT BEDROOM	t Straw sun hat	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.	86	+5
1081	SECOND FLOOR REAR LEFT BEDROOM	t Twin comforter	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.	99	+5
1082	SECOND FLOOR REAR LEFT BEDROOM	Twin throw blanket	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.	11	+5
1083	SECOND FLOOR REAR LEFT BEDROOM	t Clamping desk lamp with flexible neck	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.	49	+5
1084	SECOND FLOOR REAR LEFT BEDROOM	t Metal curtain rod	Replace	3	\$9.99 \$	29.97	6.25%	\$ 1.87	\$ 31.	84	+5
1085	SECOND FLOOR REAR LEFT BEDROOM	t Sheer window curtains, 84" long, Photo 8431	Replace	3	\$69.99 \$	209.97	6.25%	\$ 13.12	\$ 223.	09	+5
1086	SECOND FLOOR REAR LEFT BEDROOM	Baseball cap	Replace	8	\$29.99 \$	239.92	6.25%	\$ 15.00	\$ 254.	92	+5
1087	SECOND FLOOR REAR LEFT BEDROOM	t Large cookie sheet, 17" X 11", stainless steel	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.75	\$ 63.	72	NEW
1088	SECOND FLOOR REAR LEFT BEDROOM	t New stainless steel loaf pan, 9" X 5" X 2.7" from Mainstays	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.	61	NEW
1089	SECOND FLOOR REAR LEFT BEDROOM	t 3.5 quart plastic mixing bowl with lid from Arrow	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.50	\$ 8.	49	3 years
1090		t 3 piece mixing bowl set from Pampered Chef, tapered in size from 4.5 quart to 3 quart to 2 quart	Replace	1	\$105.00 \$	105.00	6.25%	\$ 6.56	\$ 111.	56	NEW
1091	SECOND FLOOR REAR LEFT BEDROOM	t XL stainless steel mixing bowl, 16" diameter X 7" tall	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.	49	NEW
1092	SECOND FLOOR REAR LEFT BEDROOM	Package of cardboard cake boards, 13" X 19", from Wilton	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.50	\$ 8.	49	2 years old
1093		t Box of Canon selphy CP compact photo printer color ink paper set, Model KP-108IN, new in box, Photo 8432	Replace	1	\$48.99 \$	48.99	6.25%	\$ 3.06	\$ 52.	05	NEW
1094		t Canon WIFI selphy compact photo printer, Model CP1200, Photo 8433	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	\$ 138.	11	5 years
1095	SECOND FLOOR REAR LEFT BEDROOM	t Kitchen Aid stand mixer attachment, new in box, 3 piece pasta roller and cutter set, Photo 8434	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50	\$ 212.	49	3 years
1096	SECOND FLOOR REAR LEFT BEDROOM	t Large wine glass, new in box, from Lolita	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.50	\$ 8.	49	NEW
1097	SECOND FLOOR REAR LEFT BEDROOM	t 10" tall X 4" diameter glass flower vase	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.	61	+5
1098	SECOND FLOOR REAR LEFT BEDROOM	Bouquet of flowers	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.	49	+5
1099		Drinking game set from Spencer's Games, Spin the Shot, includes 2 ounce 60 ml shot glass	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.	61	+5
1100	SECOND FLOOR REAR LEFT BEDROOM	t 18" X 11" metal wire meat resting rack	Replace	2	\$8.99 \$	17.98	6.25%	\$ 1.12	\$ 19.	10	1 year

1101	SECOND FLOOR REAR LEFT BEDROOM L	arge photo album	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+8	5
1102	SECOND FLOOR REAR LEFT BEDROOM L	arge ceramic coffee mug	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0.75	\$ 12.73	6 mo	nths
1103		arge porcelain snow globe music box made by International Bazaar, Item 44142328, Photo 8435	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11	+8	5
1104	SECOND FLOOR REAR LEFT BEDROOM T	oothbrush from Oral B, new	Replace	4	\$3.99 \$	15.96	6.25%	\$ 1.00	\$ 16.96	NE	W
1105	SECOND FLOOR REAR LEFT BEDROOM 2	2 ounce Yankee Candle jar candle	Replace	4	\$29.50 \$	118.00	6.25%	\$ 7.38	\$ 125.38	Ne	.w
1106	SECOND FLOOR REAR LEFT BEDROOM 3	.7 ounce Yankee Candle jar candle	Replace	3	\$11.00 \$	33.00	6.25%	\$ 2.06	\$ 35.06	Ne	.w
1107	SECOND FLOOR REAR LEFT BEDROOM 6	piece Tupperware set with lids	Replace	1	\$10.99 \$	10.99	6.25%	\$ 0.69	\$ 11.68	+6	5
1108	SECOND FLOOR REAR LEFT BEDROOM V	Vooden 5" X 7" photo frame	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	\$ 15.93	+6	5
1109	SECOND FLOOR REAR LEFT BEDROOM	Digital voice recorder from RCA, Model VR5320R	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.37	\$ 159.36	+6	5
1110	SECOND FLOOR REAR LEFT BEDROOM F	Plastic cupcake Tupperware pan with lid, holds 9 cupcakes	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	\$ 15.93	+6	5
1111	SECOND FLOOR REAR LEFT BEDROOM 1	7" tall metal desk lamp from Coca Cola with lamp shade	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74	+6	5
1112	SECOND FLOOR REAR LEFT BEDROOM	Disney Mickey Mouse graduation cap	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+6	5
1113	SECOND FLOOR REAR LEFT BEDROOM	Small ceramic piggy bank	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.23	+6	5
1114	SECOND FLOOR REAR LEFT BEDROOM	Small wooden jewelry box, felt lined, with mirror, Photo 8436	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+6	5
1115	SECOND FLOOR REAR LEFT BEDROOM V	Vomen's large dangling earrings, glass	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+6	5
1116	SECOND FLOOR REAR LEFT BEDROOM V	Vomen's stainless steel necklace charm	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+6	5
1117	SECOND FLOOR REAR LEFT BEDROOM V	Vomen's shirt pin or brooch	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$ 6.36	+6	5
1118	SECOND FLOOR REAR LEFT BEDROOM 6	" tall X 6" diameter candle, decorative candle	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55	+6	5
1119	SECOND FLOOR REAR LEFT BEDROOM	lew can koozie	Replace	4	\$5.99 \$	23.96	6.25%	\$ 1.50	\$ 25.46	NE	W
1120	SECOND FLOOR REAR LEFT BEDROOM	Medium stuffed animal from Disney (Goofy)	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.73	+6	5
1121	SECOND FLOOR REAR LEFT BEDROOM	Music CD	Replace	3	\$17.99 \$	53.97	6.25%	\$ 3.37	\$ 57.34	+6	5
1122		Refill box of paraffin beads from Therabat, Professional Paraffin vax - think it's a prescription for arthritis	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$ 6.36	NE	W
1123	SECOND FLOOR REAR LEFT BEDROOM L	arge scrapbook kit from Disney from Sandy Lion	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+6	5
1124	SECOND FLOOR REAR LEFT BEDROOM	Christmas Santa hat	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.23	+6	5
1125		Coca Cola brand small desktop mini fridge, Photo 8437, Item WC-4	Replace	1	\$55.99 \$	55.99	6.25%	\$ 3.50	\$ 59.49	+6	5
1126	SECOND FLOOR REAR LEFT BEDROOM	Shoebox sized cardboard keepsake box	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$ 6.36	+6	5
1127	SECOND FLOOR REAR LEFT BEDROOM	Medium leather photo album with 3" X 3" picture frame on front	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+6	5

1128	SECOND FLOOR REAR LEFT BEDROOM	t Collectible bottle caps from Disney	Replace	8	\$5.99 \$	47.92	6.25%	\$	3.00	\$ 50.92	+5
1129	SECOND FLOOR REAR LEFT BEDROOM	R New women's metal necklace charm from Heavenly Wings	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.49	NEW
1130	SECOND FLOOR REAR LEFT BEDROOM	t Upholstered office arm chair on caster wheels, Photo 8438	Replace	1	\$149.99 \$	149.99	6.25%	\$	9.37	\$ 159.36	+5
1131	SECOND FLOOR REAR LEFT BEDROOM	t Electronic Dance Maker 2 dance machine, new in box	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75	\$ 63.74	+5
1132	SECOND FLOOR REAR LEFT BEDROOM	R Medium stuffed animal from Ty Beanie Babies	Replace	8	\$19.99 \$	159.92	6.25%	\$ 1	10.00	\$ 169.92	+5
1133	SECOND FLOOR REAR LEFT BEDROOM	t Medium stuffed animal from Aurora	Replace	3	\$19.99 \$	59.97	6.25%	\$	3.75	\$ 63.72	+5
1134	SECOND FLOOR REAR LEFT BEDROOM	t 18" tall play doll, eyes open and close	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24	+5
1135	SECOND FLOOR REAR LEFT BEDROOM	t 12" doll, porcelain	Replace	2	\$29.99 \$	59.98	6.25%	\$	3.75	\$ 63.73	+5
1136	SECOND FLOOR REAR LEFT BEDROOM	t Barbie doll	Replace	3	\$29.99 \$	89.97	6.25%	\$	5.62	\$ 95.59	+5
1137		t Stainless steel camera tripod, telescoping, 27" to 54-1/2", made by Heiwa	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75	\$ 63.74	+5
1138	SECOND FLOOR REAR LEFT BEDROOM	t Metal music stand, new in box, from The Hamilton, No. 400-N	Replace	1	\$44.99 \$	44.99	6.25%	\$	2.81	\$ 47.80	+5
1139	SECOND FLOOR REAR LEFT BEDROOM	t New 16 ounce Hopsulator Trio from Brumate, Photo 8439	Replace	14	\$24.99 \$	349.86	6.25%	\$ 2	21.87	\$ 371.73	NEW
1140	SECOND FLOOR REAR LEFT BEDROOM	New canvas lunch box from Power Rangers	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24	NEW
1141	SECOND FLOOR REAR LEFT BEDROOM	New donut floatie from Intex, River Run One, Photo 8440	Replace	2	\$19.99 \$	39.98	6.25%	\$	2.50	\$ 42.48	NEW
1142	SECOND FLOOR REAR LEFT BEDROOM	t 16' tape measure	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61	+5
1143	SECOND FLOOR REAR LEFT BEDROOM	t Small plush stuffed animal from Ty Beanie Baby, 4 are new in box, Photo 8441	Replace	52	\$9.99 \$	519.48	6.25%	\$ 3	32.47	\$ 551.95	NEW
1144	SECOND FLOOR REAR LEFT BEDROOM	t 11" X 6" wooden wall shelf	Replace	1	\$5.99 \$	5.99	6.25%	\$	0.37	\$ 6.36	+5
1145		t Flute from Silvertone with hard case carry case or storage case, fleece lined, Photo 8442, numbers read 185197	Replace	1	\$469.99 \$	469.99	6.25%	\$ 2	29.37	\$ 499.36	+5
		Small antique locking solid wood secretary desk with very nice dovetail and claw feet, has 3 large drawers on the bottom, desktop folds out to reveal 3 small drawers. 1 door and 6 small									https://www.potterybarn.com/ products/toulouse-secretary- desk/?catalogld=84&sku=223 1392&cm_ven=PLA&cm_cat =Google&cm_pla=Furniture% 20%3E%20Desks®ion_id =658780&cm_ite=2231392& gclid=CjwKCAjwj6SEBhAOEi wAvFRuKH3wWEDZQo0jplzk rl_w6caPFRuShaOWQuan-
1146		t cubbies, Photo 8443, 8444, 8445, 8446, measures 39" tall X 30" long X 26-1/2" wide when desk is laid out	Replace	1	\$1,299.00 \$	1,299.00	6.25%	\$ 8	31.19	\$ 1,380.19	yjle9qMm5YlqCKQRoC9BQQ AvD_BwE +5
1147	SECOND FLOOR REAR LEFT BEDROOM	t Small metal jewelry box	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61	+5
1148	SECOND FLOOR REAR LEFT BEDROOM	R Women's large costume jewelry necklace	Replace	4	\$29.99 \$	119.96	6.25%	\$	7.50	\$ 127.46	+5
1149	SECOND FLOOR REAR LEFT BEDROOM	R Women's small metal costume jewelry necklace, Photo 8448	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24	+5
1150	SECOND FLOOR REAR LEFT BEDROOM	t 90 count book of stamps, Sister Kenny Foundation	Replace	1	\$55.00 \$	55.00	6.25%	\$	3.44	\$ 58.44	+5

1151	SECOND FLOOR REAR New cotton graphic t shirt from Vintage 1962, An American LEFT BEDROOM Classic, new in package	Replace	1	\$23.99 \$	23.99	6.25%	\$	1.50	\$ 25.49		+5
1152	SECOND FLOOR REAR LEFT BEDROOM Ceramic coffee mug with 3 handles	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61		+5
1153	SECOND FLOOR REAR LEFT BEDROOM Ceramic coffee mug	Replace	3	\$5.99 \$	17.97	6.25%	\$	1.12	\$ 19.09		+5
1154	SECOND FLOOR REAR LEFT BEDROOM Elastic back brace waistband - Beer Belly Buster	Replace	1	\$24.99 \$	24.99	6.25%	\$	1.56	\$ 26.55		+5
1155	SECOND FLOOR REAR LEFT BEDROOM Light fixture, new, VLT-X70LP Option Lamp	Replace	1	\$149.99 \$	149.99	6.25%	\$	9.37	\$ 159.36		+5
1156	SECOND FLOOR REAR LEFT BEDROOM XL canvas luggage bag from Amelia Earhart	Replace	1	\$249.99 \$	249.99	6.25%	\$ 1	5.62	\$ 265.61		+5
1157	SECOND FLOOR REAR LEFT BEDROOM Women's canvas belt	Replace	3	\$19.99 \$	59.97	6.25%	\$	3.75	\$ 63.72		+5
1158	SECOND FLOOR REAR LEFT BEDROOM Women's faux leather belt from Nine West	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24		+5
1159	SECOND FLOOR REAR LEFT BEDROOM Women's braided faux leather belt from Nine West	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.86		+5
1160	SECOND FLOOR REAR LEFT BEDROOM Plastic coat hanger	Replace	89	\$1.00 \$	89.00	6.25%	\$	5.56	\$ 94.56		+5
1161	SECOND FLOOR REAR LEFT BEDROOM Soft cover college textbook	Replace	3	\$99.99 \$	299.97	6.25%	\$ 1	8.75	\$ 318.72		+5
1162	SECOND FLOOR REAR LEFT BEDROOM Hard cover college textbook	Replace	4	\$199.99 \$	799.96	6.25%	\$ 5	50.00	\$ 849.96		+5
1163	SECOND FLOOR REAR Statue, from Forever in Blue Jeans, made by Westland Giftware, LEFT BEDROOM may be porcelain	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24		NEW
1164	SECOND FLOOR REAR LEFT BEDROOM Marvel Spiderman cake pan, new	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94	\$ 15.93		NEW
1165	SECOND FLOOR REAR LEFT BEDROOM Package of Spiderman baking cup, 50 count, 2" diameter	Replace	2	\$2.99 \$	5.98	6.25%	\$	0.37	\$ 6.35		+5
1166	SECOND FLOOR REAR Package of Marvel Spiderman icing decorations, net weight 1.25 LEFT BEDROOM ounce	Replace	2	\$2.99 \$	5.98	6.25%	\$	0.37	\$ 6.35		+5
1167	SECOND FLOOR REAR LEFT BEDROOM Window gel clean, cleans decals from Impact Innovations	Replace	6	\$12.99 \$	77.94	6.25%	\$	4.87	\$ 82.81		+5
1168	SECOND FLOOR REAR LEFT BEDROOM Baby shoes	Replace	4	\$19.99 \$	79.96	6.25%	\$	5.00	\$ 84.96	https://www.grainger.com/pro	+5
1169	SECOND FLOOR REAR LEFT BEDROOM 15 pound 1 ounce fire extinguisher from Badger, Model 10MB-8H	Replace	1	\$852.66 \$	852.66	6.25%	\$ 5	3.29	\$ 905.95	duct/36MA44?gucid=N:N:FPL :Free:GGL:CSM- 1946:tew63h3:20501231	+5
1170	SECOND FLOOR REAR Clarinet from Reso-Tone, No. E01683, with hard case carry case, LEFT BEDROOM fleece lined, Photo 8449	Replace	1	\$399.00 \$	399.00	6.25%	\$ 2	24.94	\$ 423.94		+5
1171	SECOND FLOOR REAR 7 piece glass cookware set from Vision Coming, with lid, Photo LEFT BEDROOM 8450	Replace	1	\$359.99 \$	359.99	6.25%	\$ 2	22.50	\$ 382.49		+5
1172	SECOND FLOOR REAR LEFT BEDROOM Small plush stuffed animal from Ty Beanie Baby	Replace	3	\$9.99 \$	29.97	6.25%	\$	1.87	\$ 31.84		+5
1173	SECOND FLOOR REAR LEFT BEDROOM Fleece hair head band	Replace	2	\$3.99 \$	7.98	6.25%	\$	0.50	\$ 8.48		+5
1174	SECOND FLOOR REAR LEFT BEDROOM Tapered candle from Will & Baumer, My Baptismal Candle	Replace	1	\$3.99 \$	3.99	6.25%	\$	0.25	\$ 4.24		+5
1175	SECOND FLOOR REAR LEFT BEDROOM Children's medium vinyl cross body bag	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24		+5
1176	SECOND FLOOR REAR LEFT BEDROOM 7 piece Harry Potter complete series set	Replace	1	\$132.99 \$	132.99	6.25%	\$	8.31	\$ 141.30		4 years
1177	SECOND FLOOR REAR LEFT BEDROOM Large hard cover book	Replace	1	\$24.99 \$	24.99	6.25%	\$	1.56	\$ 26.55		+5

1178	SECOND FLOOR REAF LEFT BEDROOM	R Soft cover novel	Replace	8	\$9.99 \$	79.92	6.25%	\$	5.00 \$	84.92	+5
1179	SECOND FLOOR REAF LEFT BEDROOM	R Package of foam earplugs, 100 count, from Field & Stream	Replace	1	\$2.99 \$	2.99	6.25%	\$	0.19 \$	3.18	+5
1180	SECOND FLOOR REAF LEFT BEDROOM	R Box of Stanley Universal Fit staples, 1500 count	Replace	2	\$3.99 \$	7.98	6.25%	\$	0.50 \$	8.48	+5
1181	SECOND FLOOR REAF LEFT BEDROOM	R Firearm cleaning kit from Hoppe's, Photo 8452	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62 \$	10.61	+5
1182	SECOND FLOOR REAF LEFT BEDROOM	R New gun holster for Ruger LCP, left hand, from Flash Bang, never opened, Photo 8453	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50 \$	42.49	NEW
1183	SECOND FLOOR REAF LEFT BEDROOM	S" X 7" porcelain picture frame	Replace	2	\$14.99 \$	29.98	6.25%	\$	1.87 \$	31.85	+5
1184	SECOND FLOOR REAF LEFT BEDROOM	4 photo wooden picture frame, 5" X 7" photos	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86	+5
1185	SECOND FLOOR REAF LEFT BEDROOM	R New gun holster from Flash Bang	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50 \$	42.49	+5
1186	SECOND FLOOR REAF LEFT BEDROOM	R 50 piece hair curler set	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50 \$	42.49	+5
1187	SECOND FLOOR REAF LEFT BEDROOM	Large solid glass water pitcher from Coca Cola, Photo 8454 9 piece porcelain plate set from Coca Cola brand dinnerware and	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86	+5
1188		R mugs, includes 4 large dinner plates, 4 soup bowls, 1 XL soup bowl	Replace	1	\$37.99 \$	37.99	6.25%	\$	2.37 \$	40.36	+5
1189	SECOND FLOOR REAF LEFT BEDROOM	Plastic 16 ounce Coca Cola cup	Replace	5	\$2.99 \$	14.95	6.25%	\$	0.93 \$	15.88	+5
1190	SECOND FLOOR REAF LEFT BEDROOM	R 30 gallon Sterilite plastic storage container with lid	Replace	3	\$9.97 \$	29.91	6.25%	\$	1.87 \$	31.78	1 year
1191	LEFT BEDROOM	R Large dinner plate from Golden Swirl, Enoch Wedgwood, Photo 8456, 8458 Large ceramic or porcelain beer stein with stainless steel lid,	Replace	8	\$9.99 \$	79.92	6.25%	\$	5.00 \$	84.92	+5
1192	LEFT BEDROOM	R Limited Edition, hand crafted and hand painted, guaranteed by Zoller & Born	Replace	1	\$169.99 \$	169.99	6.25%	\$ 1	0.62 \$	180.61	NEW
1193		2 quart circular glass baking dish from Pyrex	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62 \$	10.61	+5
1194		1-1/2 quart loaf dish from Loving Wear	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62 \$	10.61	+5
1195		Glass casserole dish from Pyrex, 1.8 liter	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62 \$	10.61	+5
1196		Large metal pasta strainer	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25 \$	21.24	+5
1197		14" X 10" metal baking pan, 2" deep	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25 \$	21.24	+5
1198		Large crystal serving bowl, 10" diameter X 5" deep, Photo 8460	Replace	1	\$79.99 \$	79.99	6.25%	\$	5.00 \$	84.99	+5
1199		Large glass baking dish, 2 liter	Replace	4	\$19.99 \$	79.96	6.25%	\$	5.00 \$	84.96	+5
1200		Large stainless steel boiling pan with lid	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86	+5
1201		Porcelain desert plate from Golden Swirl Enoch Wedgwood	Replace	8	\$5.99 \$	47.92	6.25%	\$	3.00 \$	50.92	+5
1202		Tea plate from Enoch Wedgwood	Replace	7	\$5.99 \$	41.93	6.25%	\$	2.62 \$	44.55	+5
1203		5" diameter porcelain plate from Enoch Wedgwood	Replace	8	\$5.99 \$	47.92	6.25%	\$	3.00 \$	50.92	+5
1204	SECOND FLOOR REAF LEFT BEDROOM	R Ski or snowboard goggles from Scott	Replace	1	\$139.99 \$	139.99	6.25%	\$	8.75 \$	148.74	+5

1205	SECOND FLOOR REAR LEFT BEDROOM 3' tall prelit Christmas tree	Replace	1	\$39.99	\$ 39.99	6.25%	\$ 2.50	\$ 42	49 +5
1206	SECOND FLOOR REAR LEFT BEDROOM Women's leather clogs from Clarks	Replace	2	\$59.99	\$ 119.98	6.25%	\$ 7.50	\$ 127	48 +5
1207	SECOND FLOOR REAR LEFT BEDROOM Women's leather heels from Clarks	Replace	1	\$59.99	\$ 59.99	6.25%	\$ 3.75	\$ 63	74 +5
1208	SECOND FLOOR REAR LEFT BEDROOM Large canvas reusable tote bag	Replace	4	\$39.99	\$ 159.96	6.25%	\$ 10.00	\$ 169	96 +5
1209	SECOND FLOOR REAR LEFT BEDROOM Large canvas reusable tote bag from American Eagle Outfitters	Replace	1	\$39.99	\$ 39.99	6.25%	\$ 2.50	\$ 42	49 +5
1210	SECOND FLOOR REAR Ski or snowboard goggles from Giro with clear lens or yellow lens LEFT BEDROOM (can swap them out)	Replace	1	\$90.00	\$ 90.00	6.25%	\$ 5.63	\$ 95	63 6 months
1211	SECOND FLOOR REAR LEFT BEDROOM New battery powered oscillating toothbrush from Colgate, floss tip	Replace	1	\$5.99	\$ 5.99	6.25%	\$ 0.37	\$ 6	36 NEW
1212	SECOND FLOOR REAR LEFT BEDROOM Box of First Response pregnancy tests, 2 count	Replace	1	\$8.99	\$ 8.99	6.25%	\$ 0.56	\$ 9	55 +5
1213	SECOND FLOOR REAR LEFT BEDROOM 4 pack of women's disposable razors from Schick Quattro U	Replace	1	\$11.99	\$ 11.99	6.25%	\$ 0.75	\$ 12	74 +5
1214	SECOND FLOOR REAR XL digital food thermometer - actual metal part of thermometer is LEFT BEDROOM roughly 7" long	Replace	1	\$24.99	\$ 24.99	6.25%	\$ 1.56	\$ 26	55 +5
1215	SECOND FLOOR REAR LEFT BEDROOM Wax warmer, new in box, Photo 8463	Replace	1	\$19.99	\$ 19.99	6.25%	\$ 1.25	\$ 21	24 NEW
1216	SECOND FLOOR REAR Collectible engraved silver small teaspoons with solid wood LEFT BEDROOM display rack, Photo 8464	Replace	20	\$9.99	\$ 199.80	6.25%	\$ 12.49	\$ 212	29 +5
1217	SECOND FLOOR REAR LEFT BEDROOM New 50" X 60" fringed fleece throw blanket from Nantucket Home	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$ 31	86 NEW
1218	SECOND FLOOR REAR LEFT BEDROOM New 750 GB Toshiba portable hard drive, Photo 8465	Replace	1	\$89.99	\$ 89.99	6.25%	\$ 5.62	\$ 95	61 NEW
1219	SECOND FLOOR REAR LEFT BEDROOM 10" tall X 18" long X 12" wide tin serving bucket from Coca Cola	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$ 31	86 +5
1220	SECOND FLOOR REAR 5000 BTU window AC from Arctic King, Model WWK-05CMN1- LEFT BEDROOM BI7, Photo 8466, 8467	Replace	1	\$259.99	\$ 259.99	6.25%	\$ 16.25	\$ 276	24 +5
1221	SECOND FLOOR REAR LEFT BEDROOM Large quilted tote bag from Vera Bradley, Photo 8468	Replace	1	\$130.00	\$ 130.00	6.25%	\$ 8.13	\$ 138	13 +5
1222	SECOND FLOOR REAR LEFT BEDROOM Ball of yarn	Replace	6	\$3.99	\$ 23.94	6.25%	\$ 1.50	\$ 25	44 +5
1223	SECOND FLOOR REAR New 2 ounce candle in a can, 10 hour soy candle, from LEFT BEDROOM Archipelago Botanicals	Replace	8	\$13.50	\$ 108.00	6.25%	\$ 6.75	\$ 114	75 NEW
1224	SECOND FLOOR REAR 24" tall plastic piggy bank from Coca Cola in the shape of a Coke LEFT BEDROOM bottle	Replace	1	\$14.99	\$ 14.99	6.25%	\$ 0.94	\$ 15	93 +5
1225	SECOND FLOOR REAR LEFT BEDROOM 24" long X 6" wide solid wood hanging shelf	Replace	1	\$25.00	\$ 25.00	6.25%	\$ 1.56	\$ 26	56 +5
1226	SECOND FLOOR REAR LEFT BEDROOM Children's Halloween costume	Replace	4	\$29.99	\$ 119.96	6.25%	\$ 7.50	\$ 127	46 +5
1227	SECOND FLOOR REAR LEFT BEDROOM Large stainless steel cheese grater, new	Replace	1	\$9.99	\$ 9.99	6.25%	\$ 0.62	\$ 10	61 NEW
1228	SECOND FLOOR REAR Large stainless steel 3 piece boiling pot with removable colander LEFT BEDROOM and small metal strainer that sits in the pot	Replace	1	\$39.99	\$ 39.99	6.25%	\$ 2.50	\$ 42	49 NEW
1229	SECOND FLOOR REAR LEFT BEDROOM 6 piece silicone spatula set	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$ 31	86 NEW
1230	SECOND FLOOR REAR Large plastic utensils from companies like Cuisinart such as pasta LEFT BEDROOM spoons, spatulas, serving spoons, etc.	Replace	6	\$9.99	\$ 59.94	6.25%	\$ 3.75	\$ 63	69 NEW
1231	SECOND FLOOR REAR LEFT BEDROOM 15 count bag of multi use clips from Cook's Corner	Replace	2	\$9.99	\$ 19.98	6.25%	\$ 1.25	\$ 21	23 NEW

1232	SECOND FLOOR REAF	R Silicone tong set from Cook Works, 7", 9", 12", new	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.9	4 \$	15.93	NEW
1233	SECOND FLOOR REAF	R New queen sheet set, antimicrobial from Refresh	Replace	2	\$79.99 \$	159.98	6.25%	\$ 10.0	0 \$	169.98	NEW
1234	SECOND FLOOR REAF	•	Replace	1	\$79.99 \$		6.25%		0 \$	84.99	NEW
	SECOND FLOOR REAF	₹	-								
1235	SECOND FLOOR REAF		Replace	1	\$19.99 \$		6.25%		5 \$	21.24	NEW
1236	SECOND FLOOR REAF	4 kitchen towels, set, 100% cotton, from Living Trend, 18" X 28" 51 piece service for 8 silverware set from Kitchinox Tableart - 8	Replace	1	\$29.99 \$		6.25%		7 \$	31.86	NEW
1237	LEFT BEDROOM SECOND FLOOR REAF	place settings, 8 coffee spoons, 3 piece serving set, Photo 8470	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4.3	7 \$	74.36	NEW
1238		Electric coffee pot from Walmart, Model 512841 R Large stainless steel boiling pot, 6 quart, All Clad, from Emmel,	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86	+5
1239	LEFT BEDROOM	with lid	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.2	5 \$	106.24	+5
1240		New hand towel by Cynthia Rowley	Replace	4	\$6.00 \$	24.00	6.25%	\$ 1.5	0 \$	25.50	NEW
1241	SECOND FLOOR REAF LEFT BEDROOM	R New luxury hand soap assortment from Good Housekeeping, contains (4) 8.45 ounce bottles	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.5	0 \$	8.49	NEW
1242	SECOND FLOOR REAF LEFT BEDROOM SECOND FLOOR FRONT LEFT	R Large bath towel, new, from Cynthia Rowley	Replace	8	\$10.00 \$	80.00	6.25%	\$ 5.0	0 \$	85.00	NEW
1243	BEDROOM SECOND FLOOR FRONT LEFT	Upholstered office arm chair on caster wheels, Photo 8476	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.1	2 \$	138.11	+5
1244	BEDROOM SECOND FLOOR FRONT LEFT	Metal curtain rod	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.5	0 \$	42.46	+5
1245	BEDROOM SECOND FLOOR FRONT LEFT	Lace curtains, 4' long with curtain runners	Replace	4	\$59.99 \$	239.96	6.25%	\$ 15.0	0 \$	254.96	+5
1246	BEDROOM SECOND FLOOR FRONT LEFT	20" tube TV from Sanyo Small solid wood nightstand with one door - may be accent table,	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.1	2 \$	138.11	+5
1247	BEDROOM SECOND FLOOR	19" tall X 28" diameter, Photo 8478, 8479	Replace	1	\$179.99 \$	179.99	6.25%	\$ 11.2	5 \$	191.24	+5
1248	FRONT LEFT BEDROOM SECOND FLOOR	Men's rubber banded analog stop watch from Casio Illuminator, stainless steel bezel	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.5	0 \$	42.49	+5
1249	FRONT LEFT BEDROOM SECOND FLOOR FRONT LEFT	General Electric deluxe hair dryer with hard case carry case, Photo 8480	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86	+5
1250	BEDROOM SECOND FLOOR FRONT LEFT	Small Beanie Baby	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.2	5 \$	21.23	+5
1251	BEDROOM SECOND FLOOR	Game Boy pocket Nintendo, Model MGB-001	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.7	5 \$	63.74	+5
1252	FRONT LEFT BEDROOM	Nintendo Game Boy game cartridge	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24	+5
1253	SECOND FLOOR FRONT LEFT BEDROOM	Men's large plastic banded stop watch, stainless steel bezel, from Timex, Intelligent quartz, actually gives time, date, temperature - may be diving watch, gives depth as well - Timex 1854 Intelligent Quartz, water resistant for 200 meters	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.3	7 \$	159.36	+5
1254	SECOND FLOOR FRONT LEFT BEDROOM	Men's prescription glasses with hard case carry case	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.5	0 \$	212.49	+5
1255	SECOND FLOOR FRONT LEFT BEDROOM	15" diameter wooden framed hanging wall mirror, Photo 8482	Replace	1	\$49.99 \$		6.25%		2 \$	53.11	+5
	SECOND FLOOR FRONT LEFT		-								
1256	BEDROOM SECOND FLOOR FRONT LEFT	25" X 19" metal framed hanging wall mirror	Replace	1	\$179.99 \$		6.25%		5 \$	191.24	+5
1257	BEDROOM SECOND FLOOR FRONT LEFT	Women's small costume jewelry hoop earrings	Replace	1	\$19.99 \$		6.25%		5 \$	21.24	+5
1258	BEDROOM	Rubber with metal handle dumbbells, 25 pounds	Replace	2	\$49.99 \$	99.98	6.25%	\$ 6.2	5 \$	106.23	1 year

	SECOND FLOOR FRONT LEFT										
1259	BEDROOM SECOND FLOOR	Rubber with metal handle dumbbells, 15 pounds	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.73		1 year
1260	FRONT LEFT BEDROOM SECOND FLOOR	Rubber with metal handle dumbbells, 10 pounds	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$ 42.48		1 year
1261	FRONT LEFT BEDROOM SECOND FLOOR	Rubber with metal handle dumbbells, 8 pounds	Replace	2	\$13.99 \$	27.98	6.25%	\$ 1.75	\$ 29.73		1year
1262	FRONT LEFT BEDROOM SECOND FLOOR	Rubber with metal handle dumbbells, 5 pounds	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.23		1year
1263	FRONT LEFT BEDROOM SECOND FLOOR	Rubber with metal handle dumbbells, 4 pounds	Replace	2	\$7.99 \$	15.98	6.25%	\$ 1.00	\$ 16.98		+5
1264	FRONT LEFT BEDROOM SECOND FLOOR	Elastic resistance band	Replace	6	\$8.99 \$	53.94	6.25%	\$ 3.37	\$ 57.31		2 years old
1265	FRONT LEFT BEDROOM SECOND FLOOR	Queen mattress with split box springs, Photo 8484	Replace	1	\$1,299.99 \$	1,299.99	6.25%	\$ 81.25	\$ 1,381.24		4 years old
1266	FRONT LEFT BEDROOM SECOND FLOOR	Queen sheet set	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99		4 years old
1267	FRONT LEFT BEDROOM SECOND FLOOR	Queen comforter	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.24		4 years old
1268	FRONT LEFT BEDROOM SECOND FLOOR FRONT LEFT	Body pillow	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.24		5+
1269	BEDROOM SECOND FLOOR FRONT LEFT	XL throw pillow	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11		5+
1270	BEDROOM	Bed pillow	Replace	2	\$49.99 \$	99.98	6.25%	\$ 6.25	\$ 106.23		5+
	SECOND FLOOR									https://www.ashleyfurniture.c om/p/sorinella_queen_upholst ered_bed/APK-B603- QUB.html?mrkgcl=1069∏ uct_id=APK-B603- QUB&google_pla=true&utm_s	
1271	FRONT LEFT BEDROOM SECOND FLOOR	Upholstered queen head board, foot board, rails with split solid wood under bed foundation, Photo 8485, 8486, 8487	Replace	1	\$899.99 \$	899.99	6.25%	\$ 56.25	\$ 956.24	ource=google&utm_medium= unpaidShopping&	2 years old
1272	FRONT LEFT BEDROOM SECOND FLOOR	Twin solid wood head board and foot board, spindle back, Photo 8488	Replace	1	\$399.99 \$	399.99	6.25%	\$ 25.00	\$ 424.99		5 years old
1273	FRONT LEFT BEDROOM SECOND FLOOR	24" LED TV from Insignia, new, Model NS-24E730A12, Photo 8489, 8490	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99		NEW
1274	FRONT LEFT BEDROOM SECOND FLOOR	Package of International Paper Jet Print Photo Everyday Photo Paper, soft gloss, 60 sheet, 7 ml, 8-1/2" X 11"	Replace	2	\$18.99 \$	37.98	6.25%	\$ 2.37	\$ 40.35		+5
1275	FRONT LEFT BEDROOM SECOND FLOOR	Small handheld plastic battery powered necklace fan from Walt Disney World	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24		+5
1276	FRONT LEFT BEDROOM SECOND FLOOR	All in one printer, HP Office Jet Pro, Model 6968, Photo 8491	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99		+5
1277	FRONT LEFT BEDROOM SECOND FLOOR	Queen fleece throw blanket	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.73		+5
1278	FRONT LEFT BEDROOM	Incontinency pad	Replace	10	\$0.50 \$	5.00	6.25%	\$ 0.31	\$ 5.31	https://www.odoromo.com/top	+5
	SECOND FLOOR FRONT LEFT									https://www.adorama.com/top s591u04m2.html?utm_source =google&utm_medium=organi c&utm_campaign=organicsho pping&utm_source=adl-gbase	_
1279	BEDROOM SECOND FLOOR FRONT LEFT	Toshiba laptop, Satellite L755-S5360 with charger, Photo 8492	Replace	1	\$799.99 \$	799.99	6.25%	50.00		hometech	+5
1280	BEDROOM SECOND FLOOR FRONT LEFT	Xfinity dual band WIFI router by Arris, Model TG1682G	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.24		6 months
1281	BEDROOM SECOND FLOOR FRONT LEFT	6' ethernet wire	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$ 6.36		+5
1282	BEDROOM	50' ethernet wire	Replace	1	\$15.99 \$	15.99	6.25%	\$ 1.00	\$ 16.99		+5

	SECOND FLOOR FRONT LEFT	Solid wood 2 tier cocktail table, 26" tall X 47" long X 21" wide,									
1283	BEDROOM SECOND FLOOR	Photo 8493	Replace	1	\$399.99 \$	399.99	6.25%	\$ 25.00	\$ 424.99		+5
1284	FRONT LEFT BEDROOM SECOND FLOOR	Large fish tank, 24-1/2" tall X 3' long X 18-1/4" wide, with plastic lid and fluorescent 29" long lamp, Photo 8494	Replace	1	\$349.99 \$	349.99	6.25%	\$ 21.87	\$ 371.86		+5
1285	FRONT LEFT BEDROOM SECOND FLOOR	10" tall plastic piggy bank from The Little Mermaid	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61		+5
1286	FRONT LEFT BEDROOM	9" tall X 10" diameter glass jar	Replace	1	\$12.99 \$	12.99	6.25%	\$ 0.81	\$ 13.80		+5
1287	SECOND FLOOR FRONT LEFT BEDROOM	9" tall X 8" diameter glass jar	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61		+5
1288	SECOND FLOOR FRONT LEFT BEDROOM	8" tall X 6" diameter glass jar	Replace	3	\$7.99 \$	23.97	6.25%	\$ 1.50	\$ 25.47		+5
1289	SECOND FLOOR FRONT LEFT BEDROOM	Pounds of seashells	·	10	\$9.99 \$	99.90	6.25%				+5
	SECOND FLOOR FRONT LEFT		Replace								
1290	BEDROOM SECOND FLOOR FRONT LEFT	DVD 49" tall X 19" wide decorative hanging wall mirror with metal trim	Replace	4	\$24.99 \$	99.96	6.25%	\$ 6.25	\$ 106.21		+5
1291	BEDROOM SECOND FLOOR FRONT LEFT	inside of it as well, Photo 8497	Replace	1	\$229.99 \$	229.99	6.25%	\$ 14.37	\$ 244.36		+5
1292	BEDROOM SECOND FLOOR FRONT LEFT	Twin pillowtop mattress, Photo 8499	Replace	1	\$799.99 \$	799.99	6.25%	\$ 50.00	\$ 849.99		+5
1293	BEDROOM SECOND FLOOR FRONT LEFT	Metal coat hanger	Replace	55	\$0.50 \$	27.50	6.25%	\$ 1.72	\$ 29.22		+5
1294	BEDROOM SECOND FLOOR	Wooden coat hanger	Replace	8	\$2.00 \$	16.00	6.25%	\$ 1.00	\$ 17.00		+5
1295	FRONT LEFT BEDROOM SECOND FLOOR	XL canvas equipment duffle bag from Nike	Replace	1	\$84.99 \$	84.99	6.25%	\$ 5.31	\$ 90.30		+5
1296	FRONT LEFT BEDROOM SECOND FLOOR	Men's leather dress shoes from Thom McCann	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	\$ 138.11		+5
1297	FRONT LEFT BEDROOM SECOND FLOOR	20 gallon Sterilite plastic storage container with lid	Replace	1	\$7.97 \$	7.97	6.25%	\$ 0.50	\$ 8.47		+5
1298	FRONT LEFT BEDROOM SECOND FLOOR	Large canvas shoulder bag from Pierre Cardin (luggage bag)	Replace	1	\$479.99 \$	479.99	6.25%	\$ 30.00	\$ 509.99		+5
1299	FRONT LEFT BEDROOM SECOND FLOOR	Toothbrush, new, from companies like Colgate	Replace	5	\$4.99 \$	24.95	6.25%	\$ 1.56	\$ 26.51		+5
1300	FRONT LEFT BEDROOM SECOND FLOOR	Queen comforter	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.24		+5
1301	FRONT LEFT BEDROOM SECOND FLOOR	King pillow from Royal Velvet	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.24		+5
1302	FRONT LEFT BEDROOM	Medium canvas laptop bag rom Kensington	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74		+5
	SECOND FLOOR FRONT LEFT									https://www.dell.com/en- us/shop/dell-laptops/inspiron- 15-laptop/spd/inspiron-15-	
1303	BEDROOM SECOND FLOOR FRONT LEFT	Laptop from Dell, Inspiron 8200, Photo 8502	Replace	1	\$879.99 \$	879.99	6.25%	\$ 55.00	\$ 934.99	5502-laptop/nn5502ejrih	+5
1304	BEDROOM SECOND FLOOR	New very large piston - personalized with John Roberg's name engraved	Replace	1	\$557.99 \$	557.99	6.25%	\$ 34.87	\$ 592.86	https://www.summitracing.co m/parts/slp-l2349f30	NEW
1305	FRONT LEFT BEDROOM SECOND FLOOR	Bed pillow	Replace	4	\$49.99 \$	199.96	6.25%	\$ 12.50	\$ 212.46		+5
1306	FRONT LEFT BEDROOM SECOND FLOOR	Large throw pillow	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49		+5
1307	FRONT LEFT BEDROOM SECOND FLOOR	New keyed entry doorknob set from Schlage	Replace	1	\$36.99 \$	36.99	6.25%	\$ 2.31	\$ 39.30		NEW
1308	FRONT RIGHT BEDROOM SECOND FLOOR	Queen pillowtop mattress, Photo 8509	Replace	1	\$1,299.99 \$	1,299.99	6.25%	\$ 81.25	\$ 1,381.24		2 years old
1309	FRONT RIGHT BEDROOM	Flannel sheet set	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.24		2 years old

	SECOND FLOOR										
1310	FRONT RIGHT BEDROOM	Bed pillow	Replace	4	\$49.99 \$	400.00	6.25%	•	12.50	\$ 212.4	6 2 years old
1310	SECOND FLOOR		Керіасе	4	\$45.55 \$	133.30	0.25/6	ð	12.50	\$ 212.4	2 years old
1311	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	Scale model kit from The Smithsonian In Air Easy Build, P-40 War Hawk	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94	\$ 15.9	5+
1312	BEDROOM SECOND FLOOR FRONT RIGHT	Rifle mounting flashlight from Surefire, Model A91126	Replace	1	\$179.00 \$	179.00	6.25%	\$	11.19	\$ 190.1	9 5+
1313	BEDROOM SECOND FLOOR FRONT RIGHT	Small plush stuffed animal	Replace	4	\$9.99 \$	39.96	6.25%	\$	2.50	\$ 42.4	6 5+
1314	BEDROOM SECOND FLOOR FRONT RIGHT	Metal Roman military figurine, each package has 5 1" figurines	Replace	2	\$58.00 \$	116.00	6.25%	\$	7.25	\$ 123.2	5 +
1315	BEDROOM SECOND FLOOR FRONT RIGHT	6" tall trophy	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.6	1 5+
1316	BEDROOM SECOND FLOOR FRONT RIGHT	New Zippo lighter	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.2	4 NEW
1317	BEDROOM SECOND FLOOR FRONT RIGHT	Zippo lighter	Replace	2	\$19.99 \$	39.98	6.25%	\$	2.50	\$ 42.4	8 5+
1318	BEDROOM SECOND FLOOR FRONT RIGHT	5" tall figurine or statue	Replace	3	\$9.99 \$	29.97	6.25%	\$	1.87	\$ 31.8	4 5+
1319	BEDROOM SECOND FLOOR FRONT RIGHT	Large metal belt buckle from Transformers	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.2	4 5+
1320	BEDROOM SECOND FLOOR FRONT RIGHT	Large canvas rifle case from Plano Leather banded stainless steel bezel wrist watch from Timex, men's, gives time, day of the week, day of the month, water	Replace	1	\$87.99 \$	87.99	6.25%	\$	5.50	\$ 93.4	5+
1321	BEDROOM SECOND FLOOR FRONT RIGHT	resistant up to 30 meters	Replace	1	\$149.99 \$	149.99	6.25%		9.37		
1322	BEDROOM SECOND FLOOR FRONT RIGHT	Upholstered office armchair on caster wheels, Photo 8510	Replace	1	\$149.99 \$		6.25%		9.37		
1323	BEDROOM SECOND FLOOR FRONT RIGHT	Baseball cap	Replace	9	\$29.99 \$	269.91	6.25%		16.87		
1324	BEDROOM SECOND FLOOR FRONT RIGHT	Canvas bucket hat from Jhats	Replace	1	\$29.99 \$	29.99	6.25%		1.87		
1325	BEDROOM SECOND FLOOR FRONT RIGHT	Men's canvas belt	Replace	3	\$19.99 \$		6.25%		3.75		
1326	BEDROOM SECOND FLOOR FRONT RIGHT	Men's trifold canvas wallet, the National Guard	Replace	1	\$29.99 \$	29.99 59.98	6.25%		1.87		
1327	BEDROOM SECOND FLOOR FRONT RIGHT BEDROOM	Men's leather work gloves	Replace	1	\$29.99 \$		6.25%		3.75		
1328	SECOND FLOOR FRONT RIGHT BEDROOM	Men's slippers Men's fleece winter gloves	Replace Replace	2	\$39.99 \$ \$29.99 \$	39.99 59.98	6.25%		2.50 3.75		
1330	SECOND FLOOR FRONT RIGHT BEDROOM	New deck of tarot cards, made by Dishonored	Replace	1	\$39.99 \$	39.99	6.25%		2.50		
1331	SECOND FLOOR FRONT RIGHT BEDROOM	Collectible Avon Iron Horse shaving mug and Avon leather after shave, 7 ounce, new in box	Replace	1	\$19.99 \$	19.99	6.25%		1.25		
1332	SECOND FLOOR FRONT RIGHT BEDROOM	Avon for Men Sterling Six leather after shave lotion, 7 ounce, new in box	Replace	1	\$19.00 \$	19.00	6.25%		1.19		
1333	SECOND FLOOR FRONT RIGHT BEDROOM	Steel life straw by Vestergaard	Replace	1	\$24.99 \$	24.99	6.25%	\$	1.56	\$ 26.5	5 5+
1334	SECOND FLOOR FRONT RIGHT BEDROOM	Can of men's body spray from Axe	Replace	4	\$4.99 \$	19.96	6.25%	\$	1.25	\$ 21.2	1 4 years
1335	SECOND FLOOR FRONT RIGHT BEDROOM	3.8 ounce can of Dove Men Care dry spray	Replace	1	\$6.99 \$	6.99	6.25%	\$	0.44	\$ 7.4	3 5+
1336	SECOND FLOOR FRONT RIGHT BEDROOM	Stick of men's deodorant from Axe	Replace	2	\$3.99 \$	7.98	6.25%	\$	0.50	\$ 8.4	8 5+

	SECOND FLOOR										
1337	FRONT RIGHT BEDROOM	Stick of men's deodorant from Old Spice	Replace	2	\$3.99 \$	7.98	6.25%	6 05	0 \$	8.48	1 year
1331	SECOND FLOOR	Stick of men's deodorant from Oid Spice	Replace	2	\$3.33 \$	1.50	0.25/6	\$ 0.50	, ş	0.40	i yeai
	FRONT RIGHT										
1338	BEDROOM SECOND FLOOR	3.4 ounce bottle of men's cologne	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.7	5 \$	63.73	2 years old
	FRONT RIGHT										
1339	BEDROOM	Plastic BB loader, like a quick loader	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.50	6 \$	26.55	1 year
	SECOND FLOOR										
1340	FRONT RIGHT BEDROOM	24 ounce stainless steel vacuum sealed tumbler with lid	Replace	2	\$29.99 \$	59.98	6.25%	¢ 37	5 \$	63.73	2 years old
1340	SECOND FLOOR	24 ounce stainless steel vacuum sealed tumbler with hig	Replace	-	φ23.33 φ	33.30	0.23 /6	5 5.7.		03.73	2 years old
	FRONT RIGHT										
1341	BEDROOM SECOND FLOOR	24" X 7" beveled wooden picture frame with wall print	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	0 \$	42.49	5 +
	FRONT RIGHT										
1342	BEDROOM	Arrow with faux leather quiver, Photo 8514	Replace	16	\$24.99 \$	399.84	6.25%	\$ 24.99	9 \$	424.83	5 +
	SECOND FLOOR										
1343	FRONT RIGHT BEDROOM	Glass bowl, 2" deep X 6" diameter	Replace	2	\$9.99 \$	19.98	6.25%	\$ 12	5 \$	21.23	5+
1040	SECOND FLOOR	Glass bowl, 2 deep X o diameter	Поршос	-	ψ5.55 ψ	15.50	0.2070	ų	•	21.20	3 ,
	FRONT RIGHT										
1344	BEDROOM SECOND FLOOR	Large box of tissues from Scotties, 110 count, 2 ply	Replace	2	\$2.99 \$	5.98	6.25%	\$ 0.3	7 \$	6.35	5 +
	FRONT RIGHT										
1345	BEDROOM	16 ounce drinking glass	Replace	1	\$8.99 \$	8.99	6.25%	\$ 0.50	6 \$	9.55	5 +
	SECOND FLOOR										
1346	FRONT RIGHT BEDROOM	Solid wood flip top keepsake storage box, 8" X 8" X 3-1/2" deep	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.13	2 \$	53.11	5 +
	SECOND FLOOR			-	*******			•		*****	•
	FRONT RIGHT										
1347	BEDROOM SECOND FLOOR	Body soap from Dove, bar	Replace	4	\$2.99 \$	11.96	6.25%	\$ 0.79	5 \$	12.71	3 yeara
	FRONT RIGHT										
1348	BEDROOM	Package of Duracell Coppertop 9 volt battery, 2 count	Replace	2	\$7.99 \$	15.98	6.25%	\$ 1.00	0 \$	16.98	4 years
	SECOND FLOOR FRONT RIGHT										
1349	BEDROOM	Gillette Fusion 5 razor refill cartridge pack, 4 count	Replace	1	\$12.99 \$	12.99	6.25%	\$ 0.8	1 \$	13.80	1 year
	SECOND FLOOR	• • •	•								•
1350	FRONT RIGHT BEDROOM	Dattle of Class Five manifestors and association of the second	Daulasa	2	¢5.00 ¢	11.98	6.25%	6 0.7		12.73	5
1350	SECOND FLOOR	Bottle of Clear Eyes maximum redness relief eye drops, 1 ounce	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0.7	5 \$	12.73	5
	FRONT RIGHT										
1351	BEDROOM	iPod Nano, Model A1199, Photo 8515	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.3	7 \$	159.36	5 +
	SECOND FLOOR										ww.apple.com/shop/b e/iphone-12-pro/6.7-
	FRONT RIGHT									inch-disp	lay-128gb-pacific-
1352	BEDROOM	Apple iPhone, Photo 8516, 8517, Model A1778	Replace	1	\$1,099.00 \$	1,099.00	6.25%	\$ 68.69	9 \$	1,167.69 blue-att	5 +
	SECOND FLOOR FRONT RIGHT										
1353	BEDROOM	Wired Apple earbuds with lightning adapter	Replace	1	\$19.00 \$	19.00	6.25%	\$ 1.19	9 \$	20.19	3 years
	SECOND FLOOR	Bose over the ear wireless headphones, come with auxiliary cord									
1354	FRONT RIGHT BEDROOM	and microphone so you can make it a wired connection, Model AE2, Photo 8519	Replace	1	\$159.00 \$	159.00	6.25%	• 00	4 \$	168.94	3 years
1334	SECOND FLOOR	ALZ, 111010 0019	Replace	•	\$155.00 \$	133.00	0.2376	y 5.5-		100.34	3 years
	FRONT RIGHT										_
1355	BEDROOM SECOND FLOOR	18 gallon Sterilite plastic storage container with lid	Replace	1	\$7.97 \$	7.97	6.25%	\$ 0.50) \$	8.47	5 +
	FRONT RIGHT										
1356	BEDROOM	Large package of colored pencils from Crayola	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	4 \$	15.93	5 +
	SECOND FLOOR FRONT RIGHT										
1357	BEDROOM	Ceramic coffee mug	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0.79	5 \$	12.73	5+
	SECOND FLOOR	- ·		-	, J. 00 ¥			, 5.11	. •	•	-
1050	FRONT RIGHT	Large well produce 21 V 21	Danler		640.00 6	70.00	C 050/			04.00	<i>5</i> .
1358	BEDROOM SECOND FLOOR	Large wall poster, 3' X 2'	Replace	4	\$19.99 \$	79.96	6.25%	a 5.00) \$	84.96	5 +
	FRONT RIGHT										
1359	BEDROOM	Small wall poster	Replace	28	\$9.99 \$	279.72	6.25%	\$ 17.4	В \$	297.20	5 +
	SECOND FLOOR FRONT RIGHT										
1360	BEDROOM	Small Lego set, Photo 8520	Replace	3	\$14.99 \$	44.97	6.25%	\$ 2.8	1 \$	47.78	5 +
			-								

https://www.potterybarn.com/ products/mateo-5-drawer-talldresser/?catalogld=84&sku= 9683395&cm_ven=PLA&cm cat=Google&cm_pla=Furnitur e%20%3E%20Dressers%20 %26%20Armoires®ion_id= =658780&cm_ite=9683395& gcid=CjwkCAjwij6SEBhAOEI wAYFRUKIMO2BR42somWtjw YYHVBjbE0SUI31UHq67QfNj

1361	SECOND FLOOR FRONT RIGHT BEDROOM	Medium solid wood 5 drawer bureau, standing, Photo 8521, 8522, made by Carolina Furniture Works	Replace	1	\$999.00 \$	999.00	6.25%	s	62.44	\$ 1,061,44	fyrhvBjbE0SUt31UHq67QfNj vO3T_7kvCYi4GxoCR- UQAvD BwE	5+
1001	SECOND FLOOR FRONT RIGHT	2 tier large computer desk, stainless steel base with composite	Керіасс	•	ψ333.30 ψ	333.00	0.2070	•	02.44	1,001.4-	- 04/VD_BWE	0.
1362	BEDROOM SECOND FLOOR FRONT RIGHT	wood top, 26" tall X 4' long X 30" wide, Photo 8523	Replace	1	\$229.99 \$	229.99	6.25%	\$	14.37	\$ 244.36	3	5 +
1363	BEDROOM SECOND FLOOR	Large drawstring backpack	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.49	1	4 years
1364	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	XBOX cooling fan attachment by Nyko, inter cooler, Item 86020- A50-0701	Replace	1	\$99.99 \$	99.99	6.25%	\$	6.25	\$ 106.24	ı	5 +
1365	BEDROOM SECOND FLOOR FRONT RIGHT	XBOX Kinect for XBOX 1, Model 1520	Replace	1	\$199.99 \$	199.99	6.25%	\$	12.50	\$ 212.49	•	5 +
1366	BEDROOM SECOND FLOOR FRONT RIGHT	XBOX 1 AC adapter	Replace	2	\$49.99 \$	99.98	6.25%	\$	6.25	\$ 106.23	1	3 years
1367	BEDROOM SECOND FLOOR FRONT RIGHT	28 count package of Duracell AA batteries	Replace	1	\$16.99 \$	16.99	6.25%	\$	1.06	\$ 18.05	5	2months
1368	BEDROOM SECOND FLOOR FRONT RIGHT	Hot Wheels car	Replace	12	\$1.99 \$	23.88	6.25%	\$	1.49	\$ 25.37	,	5 +
1369	BEDROOM SECOND FLOOR FRONT RIGHT	Solid wood engraved cutting board, 15" X 8" 10" stainless steel battery powered flashlight from Husky, LED,	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.49	1	6 months
1370	BEDROOM SECOND FLOOR FRONT RIGHT	with multiple settings	Replace	1	\$25.99 \$	25.99	6.25%	\$	1.62	\$ 27.61		5 +
1371	BEDROOM SECOND FLOOR FRONT RIGHT	XBOX 1 video game	Replace	4	\$59.99 \$	239.96	6.25%	\$	15.00	\$ 254.96	3	5 +
1372	BEDROOM SECOND FLOOR FRONT RIGHT	Men's metal costume jewelry necklace with crystal	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.86	3	5 +
1373	BEDROOM SECOND FLOOR FRONT RIGHT	Large key chain	Replace	4	\$5.99 \$	23.96	6.25%	\$	1.50	\$ 25.46	5	5 +
1374	BEDROOM SECOND FLOOR FRONT RIGHT	Zippo lighter	Replace	3	\$19.99 \$	59.97	6.25%	\$	3.75	\$ 63.72	1	5 +
1375	BEDROOM SECOND FLOOR FRONT RIGHT	12 ounce drinking glass	Replace	2	\$8.99 \$	17.98	6.25%	\$	1.12	\$ 19.10	1	5 +
1376	BEDROOM SECOND FLOOR FRONT RIGHT	Keychain wine and bottle opener	Replace	1	\$5.99 \$	5.99	6.25%	\$	0.37	\$ 6.36	3	5 +
1377	BEDROOM SECOND FLOOR FRONT RIGHT	5 piece precision screwdriver set Wireless earbuds with wireless charging case from Boltune,	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61		5 +
1378	BEDROOM SECOND FLOOR FRONT RIGHT	Model BT-BH020, Photo 8527	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75	\$ 63.74	ı	6 months
1379	BEDROOM SECOND FLOOR	Stick of men's deodorant from Old Spice	Replace	2	\$3.99 \$	7.98	6.25%	\$	0.50	\$ 8.48	1	3 months
1380	FRONT RIGHT BEDROOM SECOND FLOOR	Wired gaming keyboard from Razr, Cynosa V2, Model RZ03- 0340, Photo 8528	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75	\$ 63.74	ı	1.5 years
1381	FRONT RIGHT BEDROOM SECOND FLOOR	Wired gaming optical mouse from Cyber Power PC, Elite M1-131, Photo 8529	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.49	•	1.5 years
1382	FRONT RIGHT BEDROOM SECOND FLOOR	LG 24" LED flat screen computer monitor, Model 24ML44B-B, Photo 8530, 8531	Replace	1	\$119.99 \$	119.99	6.25%	\$	7.50	\$ 127.49	•	1.5 years
1383	FRONT RIGHT BEDROOM	Insignia LCD flat screen TV, 40", Model NS-39DR510NA17, Photo 8532, 8533	Replace	1	\$189.99 \$	189.99	6.25%	\$	11.87	\$ 201.86	3	3 years

	SECOND FLOOR FRONT RIGHT										
1384	BEDROOM SECOND FLOOR	External hard drive, portable, 1TB, by Toshiba, Photo 8534	Replace	1	\$55.99 \$	55.99	6.25%	\$ 3.	50 \$	59.49	2 years old
1385	FRONT RIGHT BEDROOM	Car outlet adapter, 2 USB plug ins	Replace	1	\$34.99 \$	34.99	6.25%	\$ 2	19 \$	37.18	2 years old
	SECOND FLOOR FRONT RIGHT	Small tobacco pipe, stainless steel, with carry case, can use it as									
1386	BEDROOM SECOND FLOOR	an ash tray and storage box for tobacco	Replace	1	\$36.99 \$	36.99	6.25%	\$ 2	31 \$	39.30	5 +
1387	FRONT RIGHT BEDROOM	Clip on guitar tuner, new in box, made by Ibanez, new	Replace	1	\$16.65 \$	16.65	6.25%	\$ 1.	04 \$	17.69	NEW
	SECOND FLOOR	Custom built gaming PC, case is steel case with glass siding from Cyber Power PC, only writing visible on graphics card is AMD;								https://www.cybe	ernowerne eo
	FRONT RIGHT	RAM may be made by Corsair, has 4; model may be								m/system/AMD-l	
1388	BEDROOM SECOND FLOOR	CMK16GX4M242400C16, Photo 8535, 8536	Replace	1	\$1,159.00 \$	1,159.00	6.25%	\$ 72	44 \$	1,231.44 Configurator	1.5 years
	FRONT RIGHT										
1389	BEDROOM SECOND FLOOR	Men's shirt pin or button	Replace	4	\$5.99 \$	23.96	6.25%	\$ 1.	50 \$	25.46	3 years
1390	FRONT RIGHT BEDROOM	Fleece Christmas elf hat	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.	62 \$	10.61	5 +
	SECOND FLOOR		·								
1391	FRONT RIGHT BEDROOM	XBOX 1 wired remote, Photo 8537	Replace	3	\$29.99 \$	89.97	6.25%	\$ 5.	62 \$	95.59	3 years
	SECOND FLOOR		•								•
1392	FRONT RIGHT BEDROOM	XBOX 1 video game	Replace	13	\$59.99 \$	779.87	6.25%	\$ 48	74 \$	828.61	5 +
	SECOND FLOOR				400.00			•			
1393	FRONT RIGHT BEDROOM	XBOX 360 video game	Replace	23	\$49.99 \$	1.149.77	6.25%	\$ 71	86 \$	1,221.63	5 +
1000	SECOND FLOOR	ABOX 600 Hado gamb	rtopiaco		V-10.00 V	.,	0.2070	•	•	.,	•
1394	FRONT RIGHT BEDROOM	XBOX video game	Replace	5	\$39.99 \$	100.05	6.25%	\$ 12	50 \$	212.45	5+
1554	SECOND FLOOR	ABOA video game	Replace	J	φ33.33 φ	133.33	0.2376	Ψ 12.	JU \$	212.40	3 1
1395	FRONT RIGHT BEDROOM	Blu-Ray movie	Replace	5	\$24.99 \$	124 95	6.25%	\$ 7	81 \$	132.76	5+
1393	SECOND FLOOR	Diu-Nay Illovie	Replace	3	\$24.55 \$	124.33	0.25%	J	01 ఫ	132.76	5 +
4200	FRONT RIGHT	Discontinuo 2 vides mans	Danlass	5	\$20.00 £	400.05	C 250/		F0 6	242.45	5+
1396	BEDROOM SECOND FLOOR	PlayStation 2 video game	Replace	5	\$39.99 \$	199.95	6.25%	\$ 12	50 \$	212.45	5+
1397	FRONT RIGHT BEDROOM	DCD vides need	Danlass	3	\$29.99 \$	89.97	6.25%		62 \$	95.59	5+
1397	SECOND FLOOR	PSP video game	Replace	3	\$29.99 \$	09.97	6.25%	\$ 5.	02 ఫ	95.59	5+
1398	FRONT RIGHT BEDROOM	Nintendo 3DS video game	Replace	1	\$39.99 \$	39.99	6.25%		50 \$	42.49	5+
1390	SECOND FLOOR	Niliterido 3D3 video game	Керіасе	Ī	ф35.55 ф	39.99	0.25/6	3 2.	50 Ş	42.43	5 +
1399	FRONT RIGHT BEDROOM	Medium canvas CD case	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	87 \$	31.86	5+
1000	SECOND FLOOR	Wediani Ganvas GB Gase	Replace	•	Ψ23.33 Ψ	20.00	0.2070	•	o. •	51.55	0.
1400	FRONT RIGHT BEDROOM	Small canvas CD case	Replace	1	\$9.99 \$	9.99	6.25%	• 0	62 \$	10.61	5+
1400	SECOND FLOOR	Small carry as GD case	Replace		ψ3.33 ψ	3.33	0.2376	Ψ 0.	02 ¥	10.01	3.
1401	FRONT RIGHT BEDROOM	Music CD, Photo 8539	Replace	121	\$17.99 \$	2,176.79	6.25%	\$ 136	05 \$	2,312.84	5+
1401	SECOND FLOOR	Music CD, Photo 6559	Керіасе	121	ф17.55 ф	2,170.75	0.25/6	ş 130.	U3 \$	2,312.04	5 +
1402	FRONT RIGHT BEDROOM	5 DVD box set, World War II Battlefront	Replace	1	\$19.99 \$	19.99	6.25%	¢ 1	25 \$	21.24	5+
1402	SECOND FLOOR	o by b box set, world war it battlefrom	Replace	•	Ψ10.55 Ψ	10.00	0.2070	•	•	21.24	0.
1403	FRONT RIGHT BEDROOM	Nintendo Game Cube video game	Replace	2	\$29.99 \$	59.98	6.25%	. 3	75 \$	63.73	5+
1403	SECOND FLOOR	Ninterido Game Cube video game	Replace	-	φ23.33 φ	33.30	0.23/6	y 5.	15 ş	00.70	3.
1404	FRONT RIGHT BEDROOM	DVD	Replace	6	\$24.99 \$	149.94	6.25%	• 0	37 \$	159.31	5+
1404	SECOND FLOOR	545	Replace	·	φ24.33 φ	143.34	0.2376	Ψ 3.	J1 \$	133.31	3 1
1405	FRONT RIGHT BEDROOM	4 CD music set, The Jimi Hendrix Experience	Replace	1	\$49.99 \$	49.99	6.25%	¢ 3	12 \$	53.11	5+
	SECOND FLOOR	. OB made oo, me diii nonani Expendice	rtopiaco	•	¥10.00 ¥	10.00	0.2070	•	•	55	•
1406	FRONT RIGHT BEDROOM	Men's generic sunglasses	Replace	3	\$29.99 \$	89.97	6.25%	\$ 5	62 \$	95.59	5 +
1400	SECOND FLOOR	Well's generic surigitasses	Replace	·	Ψ23.33 Ψ	00.01	0.2070	• •	· ·	55.55	0.
1407	FRONT RIGHT BEDROOM	11" tall ceramic piggy bank, Ninja Turtles	Replace	1	\$24.99 \$	24.99	6.25%	¢ 1	56 \$	26.55	3 years
1407	SECOND FLOOR	The tall octamic piggy bank, milja rantes	Replace	•	Ψ24.55 Ψ	24.00	0.2070	•		20.50	o yours
1408	FRONT RIGHT BEDROOM	1" 3-ring binder	Replace	2	\$7.99 \$	15.98	6.25%	\$ 1	00 \$	16.98	5+
	SECOND FLOOR	g Jinau		-	φ1.33 ψ	10.50	JU/J		•		· ·
1409	FRONT RIGHT BEDROOM	Wired gaming keyboard from Cyber Power PC, Photo 8541	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5	00 \$	84.99	1.5 years
1400	SECOND FLOOR	This gaining adjudged from dybor 1 onor 1 O, 1 hold 0041	.topiaco	•	φ13.33 ψ	15.55	J.20/0	- 3.		07.00	1.5 years
1410	FRONT RIGHT BEDROOM	Small picture frame, 3" X 2", magnetic, from Disney World	Replace	2	\$5.99 \$	11 92	6.25%	s n	75 \$	12.73	5+
1-10	DEDITOON	Sinai pistare maine, o 7/2 , magnetic, from Distrey World	replace	-	ф э. ээ ф	11.50	0.20/0	Ų .		12.70	J 1

	SECOND FLOOR									
	FRONT RIGHT									
1411	BEDROOM SECOND FLOOR	Soft cover reference book	Replace	5	\$19.99 \$	99.95	6.25%	6.25	106.20	5 +
4440	FRONT RIGHT	Made to a second of Taxana	B	_	45.00		0.050/			•
1412	BEDROOM SECOND FLOOR	Men's tweezers from Tweezerman	Replace	1	\$5.99 \$	5.99	6.25%	0.37	6.36	3 years
1413	FRONT RIGHT BEDROOM	Large game board	Replace	1	\$49.99 \$	49.99	6.25%	3.12	53.11	+5
1413	SECOND FLOOR		керіасе	'	\$43.33 \$	45.55	0.25%	p 3.12 s	53.11	+5
1414	FRONT RIGHT BEDROOM	NetGear smart WIFI router, The Nighthawk AC1900, Model R7000, Photo 8542	Replace	1	\$149.99 \$	149.99	6.25%	9.37	159.36	4 years
	SECOND FLOOR			•	*******			,		- ,
1415	FRONT RIGHT BEDROOM	8 ounce stainless steel flask from Rick & Morty	Replace	1	\$19.99 \$	19.99	6.25%	1.25	21.24	3 years
	SECOND FLOOR FRONT RIGHT	·	-							•
1416	BEDROOM	New 2 tone Holy Bible	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	42.49	NEW
	SECOND FLOOR FRONT RIGHT									
1417	BEDROOM	Soft cover book	Replace	11	\$9.99 \$	109.89	6.25%	6.87	116.76	5 +
	SECOND FLOOR FRONT RIGHT	Large hard cover Bible, The New American Bible, revised edition,								
1418	BEDROOM SECOND FLOOR	St. Joseph	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	42.49	5 +
	FRONT RIGHT									
1419	BEDROOM SECOND FLOOR	Various size clothing patch	Replace	3	\$1.99 \$	5.97	6.25%	0.37	6.34	5+
1420	FRONT RIGHT BEDROOM	Air freshener from Fallout (video game)	Replace	1	\$4.50 \$	4.50	6.25%	\$ 0.28	4.78	5+
1420	SECOND FLOOR	All liestieller hom railout (video game)	Replace	•	\$4.50 ¥	4.50	0.23/6	0.20	4.70	3.
1421	FRONT RIGHT BEDROOM	Large plastic 3 drawer organizing cart from Sterilite	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	31.86	2 years old
	SECOND FLOOR FRONT RIGHT				,					,
1422	BEDROOM	10 ounce can of spray paint from Citadel, Chaos Black	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.50	8.49	5 +
	SECOND FLOOR FRONT RIGHT	Large model figurine from War Hammer (tabletop dice game), War								
1423	BEDROOM	Hammer 40,000	Replace	2	\$59.99 \$	119.98	6.25%	7.50	127.48	5 +
	SECOND FLOOR FRONT RIGHT									
1424	BEDROOM SECOND FLOOR	Medium boxes of figurine sets for War Hammer 40,000	Replace	5	\$19.99 \$	99.95	6.25%	6.25	106.20	5 +
	FRONT RIGHT									
1425	BEDROOM SECOND FLOOR	Hard cover reference book for War Hammer 40,000 Codex	Replace	1	\$75.00 \$	75.00	6.25%	4.69	79.69	5 +
1426	FRONT RIGHT BEDROOM	27 count poskage of D6 rolling dies	Donland	1	\$17.99 \$	17.99	6.25%	1.12	19.11	5+
1420	SECOND FLOOR	27 count package of D6 rolling dice	Replace	1	\$17.99 \$	17.99	6.25%	1.12	19.11	5 +
1427	FRONT RIGHT BEDROOM	Allowance-various new figurines for War Hammer 40,000; Photo 8543, 8544, 8545	Replace	1	\$500.00 \$	500.00	6.25%	31.25	531.25	5 +
	SECOND FLOOR	33.13, 33.13	rtop.uoo	•	4000.00	000.00	0.2070			•
1428	FRONT RIGHT BEDROOM	Medium War Hammer 40,000 pack of figures; Photo 8545	Replace	3	\$49.99 \$	149.97	6.25%	9.37	159.34	5+
	SECOND FLOOR FRONT RIGHT									
1429	BEDROOM	Large Hammer 40,000 pack of figures; Photo 8545	Replace	2	\$79.99 \$	159.98	6.25%	10.00	169.98	5 +
	SECOND FLOOR FRONT RIGHT									
1430	BEDROOM SECOND FLOOR	Large figurine from War Hammer 40,000 - dragon	Replace	1	\$45.99 \$	45.99	6.25%	2.87	48.86	5 +
	FRONT RIGHT									_
1431	BEDROOM SECOND FLOOR	Tank from War Hammer 40,000	Replace	1	\$119.00 \$	119.00	6.25%	7.44	126.44	5
1432	FRONT RIGHT BEDROOM	Medium figurine from War Hammer 40,000	Replace	2	\$19.99 \$	39.98	6.25%	2.50	42.48	5+
	SECOND FLOOR	modulin ngumo nom via riammo. 10,000	rtop.uoo	-	¥10.00 ¥	33.33	0.2070		,	•
1433	FRONT RIGHT BEDROOM	Various paint brush	Replace	21	\$3.99 \$	83.79	6.25%	5.24	89.03	5+
	SECOND FLOOR FRONT RIGHT		•							
1434	BEDROOM	0.7 ounce bottle of Citadel plastic glue, new	Replace	1	\$6.99 \$	6.99	6.25%	0.44	7.43	NEW
	SECOND FLOOR FRONT RIGHT									
1435	BEDROOM SECOND FLOOR	Pencil sharpener	Replace	2	\$2.99 \$	5.98	6.25%	0.37	6.35	5 +
	FRONT RIGHT	Miniature POP figurine - Pocket POP keychain from Fallout, glow								
1436	BEDROOM SECOND FLOOR	in the dark exclusive Vault Boy, new, never opened	Replace	1	\$29.99 \$	29.99	6.25%	1.87	31.86	NEW
1437	FRONT RIGHT BEDROOM	Air Soft face mask and eye shield	Replace	1	\$9.99 \$	9.99	6.25%	5 0.62	10.61	5+
1437	DEDITOOM	All Contract mask and eye shield	Replace		φσ.σσ φ	3.33	U.23/0 ·	y 0.02 s	, 10.01	3.

	SECOND FLOOR											
1438	FRONT RIGHT BEDROOM SECOND FLOOR	Plastic battery powered LED light up Halloween masks, think they're called Hacker Masks, new	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2	.50 \$	42.48		NEW
1439	FRONT RIGHT BEDROOM SECOND FLOOR	Portable Bluetooth speaker from FederatedCarCare.com, Photo 8546	Replace	1	\$229.99 \$	229.99	6.25%	\$ 14	.37 \$	244.36		3 years
1440	FRONT RIGHT BEDROOM SECOND FLOOR	Game Genie video game enhancer made by Galoob, Model 7359	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2	.50 \$	42.49		5 +
1441	FRONT RIGHT BEDROOM SECOND FLOOR	Small drawing art book, 5-1/2" X 8-1/2"	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0	.37 \$	6.36		5 +
1442	FRONT RIGHT BEDROOM SECOND FLOOR	Stainless steel heavy duty keychain bottle opener	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0	.62 \$	10.61		4 years
1443	FRONT RIGHT BEDROOM SECOND FLOOR	Wooden elastic band pistol from Kablam	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1	.56 \$	26.55		5 +
1444	FRONT RIGHT BEDROOM SECOND FLOOR	2 GB USB flash drive from Attache, U3 Smart	Replace	1	\$11.99 \$	11.99	6.25%	\$ 0	.75 \$	12.74		5 +
1445	FRONT RIGHT BEDROOM SECOND FLOOR	10 piece package of ARP Professional quality fastener, 12 mm to 1.25 - 12 pt nuts	Replace	1	\$26.99 \$	26.99	6.25%	\$ 1	.69 \$	28.68		1 year
1446	FRONT RIGHT BEDROOM SECOND FLOOR	Large hard cover reference book	Replace	14	\$39.99 \$	559.86	6.25%	\$ 34	.99 \$	594.85		5 +
1447	FRONT RIGHT BEDROOM SECOND FLOOR	Large soft cover reference book	Replace	3	\$29.99 \$	89.97	6.25%	\$ 5	.62 \$	95.59		5 +
1448	FRONT RIGHT BEDROOM SECOND FLOOR	Fencing face mask or helmet, Photo 8548	Replace	1	\$65.99 \$	65.99	6.25%	\$ 4	.12 \$	70.11		6 months
1449	FRONT RIGHT BEDROOM SECOND FLOOR	Large canvas backpack from Jansport	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3	.75 \$	63.74		3 years
1450	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	Men's canvas belt	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3	.75 \$	63.72		5 +
1451	BEDROOM SECOND FLOOR FRONT RIGHT	New large wall poster	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2	.50 \$	42.48		NEW
1452	BEDROOM SECOND FLOOR FRONT RIGHT	18 ounce plastic water bottle with lid	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1	.25 \$	21.24		5+
1453	BEDROOM SECOND FLOOR FRONT RIGHT	Men's snowboard or ski goggles from Scott Skateboard long board, one by Sector, one by Landyachtz	Replace	1	\$139.99 \$	139.99	6.25%	\$ 8	.75 \$	148.74		3 years 4 years old 3 years
1454	BEDROOM SECOND FLOOR FRONT RIGHT	Switchblade 40, Photo 8549, 8550	Replace	2	\$269.99 \$	539.98	6.25%	\$ 33	.75 \$	573.73		old
1455	BEDROOM SECOND FLOOR FRONT RIGHT	Baseball cap	Replace	4	\$29.99 \$	119.96	6.25%	\$ 7	.50 \$	127.46		3 years
1456	BEDROOM SECOND FLOOR FRONT RIGHT	Small plush stuffed animal	Replace	6	\$9.99 \$	59.94	6.25%	\$ 3	.75 \$	63.69		5+
1457	BEDROOM SECOND FLOOR FRONT RIGHT	Upholstered metal folding chair, Photo 8551	Replace	1	\$59.99 \$	59.99	6.25%		.75 \$	63.74		5 +
1458	BEDROOM SECOND FLOOR FRONT RIGHT	Wall poster, large, new, Photo 8552	Replace	7	\$19.99 \$	139.93	6.25%		.75 \$			NEW
1459	BEDROOM SECOND FLOOR FRONT RIGHT	Plastic whiffle ball bat	Replace	1	\$5.99 \$	5.99	6.25%		.37 \$			5+
1460	BEDROOM SECOND FLOOR FRONT RIGHT	Hand powered LED flashlight from Smart Products	Replace	1	\$9.99 \$	9.99	6.25%		.62 \$	10.61		5+
1461	BEDROOM SECOND FLOOR FRONT RIGHT	Men's skully winter hat from Adidas	Replace	1	\$19.99 \$	19.99	6.25%	•	.25 \$			5+
1462	BEDROOM	Men's heavy fleece winter hat	Replace	3	\$29.99 \$	89.97	6.25%	> 5	.62 \$	95.59	https://www.wayakaa.com/b-id=	4 years
1463	SECOND FLOOR FRONT RIGHT BEDROOM	Solid wood disassembled bunk bed or desk bed, Photo 8553	Replace	1	\$1,119.99 \$	1,119.99	6.25%	\$ 70	.00 \$	1,189.99	https://www.wyckes.com/twin size-bunk-beds/artemis- collection-460141-youth- workstation-loft-bunk-bed/	5+

	SECOND FLOOR										
	FRONT RIGHT	Set of skateboard elbow pads, knee pads, and wrist pads from		_							
1464	BEDROOM SECOND FLOOR	Bullet	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5	5.00 \$	84.98	3 years
	FRONT RIGHT	Skateboard helmet with attached fold out fleece neck warmer and									
1465	BEDROOM	brim from Bern	Replace	1	\$49.99 \$	49.99	6.25%	s 3	3.12 \$	53.11	5+
	SECOND FLOOR		•								
	FRONT RIGHT										
1466	BEDROOM	Skateboard helmet from Pro-tec	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3	3.12 \$	53.11	4 years
	SECOND FLOOR FRONT RIGHT										
1467	BEDROOM	Children's hard cover book	Replace	9	\$9.99 \$	89.91	6.25%	• .	5.62 \$	95.53	5+
1407	SECOND FLOOR	Critical error fland cover book	Replace	3	ψ3.33 ψ	03.31	0.23/6	•	J.UZ \$	33.33	31
	FRONT RIGHT	Motorcycle dirt bike helmet from HJC Helmets, CL-X4 Fuel, Photo									
1468	BEDROOM	8555	Replace	1	\$89.99 \$	89.99	6.25%	\$ 5	5.62 \$	95.61	5+
	SECOND FLOOR										
	FRONT RIGHT			_							
1469	BEDROOM SECOND FLOOR	Skateboard bearings, set	Replace	2	\$5.95 \$	11.90	6.25%	\$ ().74 \$	12.64	4 years
	FRONT RIGHT										
1470	BEDROOM	Skateboard metal trucks	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1	1.56 \$	26.55	4 years
	SECOND FLOOR		•								•
	FRONT RIGHT	Skateboard long board wheels, new, from OB Five, for Cruiser									
1471	BEDROOM SECOND FLOOR	boards, 65 mm 83A	Replace	4	\$36.00 \$	144.00	6.25%	\$ 9	9.00 \$	153.00	NEW
	FRONT RIGHT	Fresh water fishing rod, 6' long from Sport Fisher, Model SP757,									
1472	BEDROOM	Photo 8557	Replace	1	\$139.99 \$	139.99	6.25%	\$ 8	3.75 \$	148.74	5+
	SECOND FLOOR	Small solid wood keepsake box, shadowbox style, has 3 different		-	********			•			•
	FRONT RIGHT	fishing knots displayed behind glass panel, box is 6" X 6" X 2"									
1473	BEDROOM	deep, Photo 8558	Replace	1	\$34.99 \$	34.99	6.25%	\$ 2	2.19 \$	37.18	5 +
	SECOND FLOOR	Mall									
1474	FRONT RIGHT BEDROOM	Wall mounting solid wood storage shelf with one drawer and mirror, 17" tall X 9" long X 6" deep, Photo 8560	Replace	1	\$69.99 \$	69.99	6.25%	•	1.37 \$	74.36	5 +
14/4	SECOND FLOOR	militor, 17 tall X 9 long X 0 deep, 1 hoto 6560	Replace		φ03.33 φ	03.33	0.23/6	-	r.57 φ	74.30	31
	FRONT RIGHT										
1475	BEDROOM	Men's generic sunglasses	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	1.87 \$	31.86	5 +
	SECOND FLOOR										
1476	FRONT RIGHT BEDROOM	Canvas card lanyard from Adventure Time, Cartoon Network, new	Replace	1	\$5.99 \$	5.99	6.25%).37 \$	6.36	NEW
1476	SECOND FLOOR	Carivas card lanyard from Adventure Time, Cartoon Network, new	керіасе	1	\$5.55	5.99	6.25%	\$	J.31 \$	6.36	NEVV
	FRONT RIGHT										
1477	BEDROOM	Medium fleece storage bag, Craftsman	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	1.87 \$	31.86	5 +
	SECOND FLOOR		•								
	FRONT RIGHT	Men's genuine leather hand crafted in Italy belt from Joseph									_
1478	BEDROOM SECOND ELOOP	Abboud	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3	3.75 \$	63.74	5 +
	SECOND FLOOR FRONT RIGHT	Wooden lockbox from Lane, presented by MCM Furniture, 10" X									
1479	BEDROOM	5"	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5	5.00 \$	84.99	5+
	SECOND FLOOR		•								
	FRONT RIGHT	Wooden tobacco pipe, imported briar, from Lark (balance is									
1480	BEDROOM	illegible)	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3	3.12 \$	53.11	5 +
	SECOND FLOOR FRONT RIGHT										
1481	BEDROOM	Package of Captain Black pipe tobacco, 1-1/2 ounce	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2	2.50 \$	42.48	5+
	SECOND FLOOR	·g			*******			•			
	FRONT RIGHT										
1482	BEDROOM SECOND FLOOR	Cigar cutter	Replace	1	\$2.99 \$	2.99	6.25%	\$ 0).19 \$	3.18	5 +
	FRONT RIGHT										
1483	BEDROOM	Fleece Halloween mask or hat	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1	1.25 \$	21.24	5+
	SECOND FLOOR			-	******			•			-
	FRONT RIGHT	Lionel electric trains no. 020 90 degree O gauge crossing, Photo									
1484	BEDROOM SECOND FLOOR	8563	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1	1.56 \$	26.55	5 +
	FRONT RIGHT	American Flyer lines, train power and speed switch, Model 5B,									
1485	BEDROOM	Photo 8564	Replace	1	\$120.99 \$	120.99	6.25%	\$ 7	7.56 \$	128.55	5+
	SECOND FLOOR				*******			•			
	FRONT RIGHT										
1486	BEDROOM	Lionel train car S-Gauge	Replace	4	\$359.99 \$	1,439.96	6.25%	\$ 90	0.00 \$	1,529.96	5 +
	SECOND FLOOR FRONT RIGHT										
1487	BEDROOM	Pieces of track from Lionel	Replace	18	\$9.99 \$	179 82	6.25%	\$ 11	1.24 \$	191.06	5+
	SECOND FLOOR	Thousand the state of the state	. topiaoo		40.00		0.2070	•			· ·
	FRONT RIGHT										
1488	BEDROOM	8 ounce bottle Victoria's Secret fragrance lotion	Replace	2	\$18.00 \$	36.00	6.25%	\$ 2	2.25 \$	38.25	3 years
	SECOND FLOOR										
1489	FRONT RIGHT BEDROOM	Air Soft batteries from Valken	Replace	2	\$19.99 \$	39.98	6.25%	•	2.50 \$	42.48	1 year
1400	SECOND FLOOR	All COR DURIONGS HOTH VAINCH	Neplace	-	φ13.33 ψ	33.30	J.2J/0	* 4	u ş	42.40	i yeai
	FRONT RIGHT										
1490	BEDROOM	Air Soft rifle magazine, banana clip, from Lancer Tactical	Replace	1	\$16.99 \$	16.99	6.25%	\$ 1	1.06 \$	18.05	2 years old

	SECOND FLOOR FRONT RIGHT	Compound hunting bow from Diamond Archery, Infinite Edge Pro,										
1491	BEDROOM SECOND FLOOR	55", Photo 8567	Replace	1	\$399.99 \$	399.99	6.25%	\$	25.00	\$ 424	1.99	2 years old
1492	FRONT RIGHT BEDROOM	Archery canvas glove trigger from Free Flight	Replace	1	\$54.99 \$	54.99	6.25%	\$	3.44	\$ 58	3.43	5+
1493	SECOND FLOOR FRONT RIGHT BEDROOM	Set of men's snowboard of ski goggles from Smith with microfiber carry bag	Replace	1	\$250.00 \$	250.00	6.25%	•	15.63	\$ 265	: 63	3 years
	SECOND FLOOR FRONT RIGHT		Керійсе									·
1494	BEDROOM SECOND FLOOR	4 gallon stainless steel trash can Complete set of State Series Quarters, 1999 - 2009 collector's map, including The District of Columbia, Puerto Rico, The US	Replace	1	\$77.99 \$	77.99	6.25%	\$	4.87	\$ 82	2.86	5+
1495	FRONT RIGHT BEDROOM	Virgin Islands, Guam, American Samoa, Northern Mariana Islands, Photo 8568	Replace	1	\$54.99 \$	54.99	6.25%	\$	3.44	\$ 58	3.43	5+
1496	SECOND FLOOR FRONT RIGHT BEDROOM	Baseball cap	Replace	4	\$29.99 \$	119.96	6.25%	\$	7.50	\$ 127	.46	5 +
1407	SECOND FLOOR FRONT RIGHT			•								· .
1497	BEDROOM SECOND FLOOR FRONT RIGHT	Men's generic sunglasses Sony wireless digital camera with waterproof mounting case - Sony EXMOR R steady shot, 11.9 megapixels, has WIFI, HDR-	Replace	3	\$29.99 \$	89.97	6.25%	Þ	5.62	\$ 95	5.59	5+
1498	BEDROOM SECOND FLOOR FRONT RIGHT	AS20, Photo 8569	Replace	1	\$198.00 \$	198.00	6.25%	\$	12.38	\$ 210	.38	5+
1499	BEDROOM SECOND FLOOR	Battery powered remote control car from Nikko America	Replace	1	\$34.99 \$	34.99	6.25%	\$	2.19	\$ 37	7.18	5+
1500	FRONT RIGHT BEDROOM SECOND FLOOR	Small Nerf gun	Replace	2	\$9.99 \$	19.98	6.25%	\$	1.25	\$ 21	.23	5 +
1501	FRONT RIGHT BEDROOM SECOND FLOOR	Men's leather trifold wallet	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31	.86	4 years
1502	FRONT RIGHT BEDROOM	Plush stuffed animal from Ty Beanie Babies, small sized	Replace	5	\$9.99 \$	49.95	6.25%	\$	3.12	\$ 53	3.07	5+
1503	SECOND FLOOR FRONT RIGHT BEDROOM	Space brand blanket, new in package	Replace	1	\$16.99 \$	16.99	6.25%	\$	1.06	\$ 18	3.05	NEW
1504	SECOND FLOOR FRONT RIGHT			2		20.00					2.48	5+
	BEDROOM SECOND FLOOR FRONT RIGHT	Zippo lighter	Replace	2	\$19.99 \$		6.25%		2.50			
1505	BEDROOM SECOND FLOOR FRONT RIGHT	Electric guitar from Dean - bass guitar, Photo 8570	Replace	1	\$249.99 \$	249.99	6.25%	\$	15.62	\$ 265	5.61	5+
1506	BEDROOM SECOND FLOOR	Electric guitar from Gio Ibanez, Photo 8571	Replace	1	\$199.99 \$	199.99	6.25%	\$	12.50	\$ 212	2.49	6 months
1507	FRONT RIGHT BEDROOM SECOND FLOOR	Electric guitar from Ibanez, Photo 8572	Replace	1	\$249.99 \$	249.99	6.25%	\$	15.62	\$ 265	5.61	4 years
1508	FRONT RIGHT BEDROOM SECOND FLOOR	Electric guitar from Ibanez, S series, Photo 8573	Replace	1	\$499.99 \$	499.99	6.25%	\$	31.25	\$ 531	.24	5 +
1509	FRONT RIGHT BEDROOM SECOND FLOOR	Metal floor standing guitar mount	Replace	2	\$14.99 \$	29.98	6.25%	\$	1.87	\$ 31	.85	3 years
1510	FRONT RIGHT BEDROOM	GI Joe action figure	Replace	57	\$12.99 \$	740.43	6.25%	\$	46.28	\$ 786	5.71	5+
1511	SECOND FLOOR FRONT RIGHT BEDROOM	Acoustic guitar from Harmony Marquis, Model H570A, Photo 8574, 8575	Replace	1	\$299.99 \$	299.99	6.25%	\$	18.75	\$ 318	3.74	5+
1512	SECOND FLOOR FRONT RIGHT BEDROOM					24.99	6.25%					6 months
	SECOND FLOOR FRONT RIGHT	Battery powered fan cooled Air Soft eye protection goggles	Replace	1	\$24.99 \$	24.99			1.56		5.55	
1513	BEDROOM SECOND FLOOR FRONT RIGHT	Hard cover reference book	Replace	2	\$39.99 \$	79.98	6.25%	\$	5.00	\$ 84	1.98	5 +
1514	BEDROOM SECOND FLOOR	Drumsticks	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10).61	5+
1515	FRONT RIGHT BEDROOM SECOND FLOOR	Medical brace - wrist splint	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94	\$ 15	5.93	5 +
1516	FRONT RIGHT BEDROOM SECOND FLOOR	Model car from AMT Ertl 1995 Toyota Supra 1/25th scale	Replace	1	\$32.99 \$	32.99	6.25%	\$	2.06	\$ 35	5.05	5 +
1517	FRONT RIGHT BEDROOM	Wooden keepsake lockbox from Lane presented by Reliable Furniture Company, 10" X 5"	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$ 53	3.11	5 +

	SECOND FLOOR										
	FRONT RIGHT										
1518	BEDROOM SECOND FLOOR	Prescription medication	Replace	2	\$25.00 \$	50.00	6.25%	\$	3.13 \$	53.13	5 +
	FRONT RIGHT										
1519	BEDROOM SECOND FLOOR	PSP video game	Replace	4	\$29.99 \$	119.96	6.25%	\$	7.50 \$	127.46	5 +
	FRONT RIGHT										
1520	BEDROOM SECOND FLOOR	Game Boy Advance video game	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86	5 +
	FRONT RIGHT										
1521	BEDROOM SECOND FLOOR	Travel toothbrush	Replace	2	\$2.99 \$	5.98	6.25%	\$	0.37 \$	6.35	5 +
	FRONT RIGHT										
1522	BEDROOM SECOND FLOOR	4" stainless steel LED flashlight keychain	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62 \$	10.61	4 years
	FRONT RIGHT										
1523	BEDROOM SECOND FLOOR	8 GB USB flashdrive from Dane-Elec	Replace	2	\$9.99 \$	19.98	6.25%	\$	1.25 \$	21.23	5+
	FRONT RIGHT										
1524	BEDROOM SECOND FLOOR	Metal guitar floor stand	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94 \$	15.93	5+
	FRONT RIGHT										_
1525	BEDROOM SECOND FLOOR	Bamboo back scratcher	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62 \$	10.61	5+
	FRONT RIGHT	Modeling guitar processor from Digitech, Model RP90V-01, Photo									_
1526	BEDROOM SECOND FLOOR	8576	Replace	1	\$119.99 \$	119.99	6.25%	\$	7.50 \$	127.49	5+
4507	FRONT RIGHT BEDROOM	20' guitar auxiliary cord - cords to plug into amplifiers or speakers - from Fender	Builde	2	44500 4	04.00	0.050/			00.00	ē.
1527	SECOND FLOOR	nom render	Replace	2	\$15.99 \$	31.98	6.25%	Þ	2.00 \$	33.98	5+
1528	FRONT RIGHT BEDROOM	Soft cover book	Donland	6	£0.00 £	59.94	6.25%		3.75 \$	63.69	5+
1526	SECOND FLOOR	Soit cover book	Replace	6	\$9.99 \$	59.94	6.25%	Þ	3./5 \$	63.69	5+
1529	FRONT RIGHT BEDROOM	Hard cover book	Replace	9	\$24.99 \$	224.91	6.25%	•	14.06 \$	238.97	5+
1323	SECOND FLOOR	Hard Cover Book	Replace	3	φ24.33 φ	224.51	0.23 /6	Ψ.	14.00 \$	230.31	31
1530	FRONT RIGHT BEDROOM	Golf club from PW Pro Select, NXT One, oversized stainless, Tour Series, 88 G	Replace	1	\$34.99 \$	34.99	6.25%	•	2.19 \$	37.18	5+
1000	SECOND FLOOR	1	поршос	•	\$34.55 V	04.00	0.2070	•	2.15	07.10	5 ·
1531	FRONT RIGHT BEDROOM	Wood or plastic long bow from Stemmler Archery, Model 822, 52", Photo 8577	Replace	1	\$99.99 \$	99.99	6.25%	s	6.25 \$	106.24	5+
	SECOND FLOOR		Поршоо	•	400.00	00.00	0.2070	•	0.20 \$	100.21	5 ·
1532	FRONT RIGHT BEDROOM	Full 4 way bike to bike intercom communication system from Skala Rider Free Com 4, Part No. 210683, Photo 8578	Replace	1	\$219.95 \$	219.95	6.25%	\$	13.75 \$	233.70	2 years old
	SECOND FLOOR										•
1533	FRONT RIGHT BEDROOM	Plastic hardware storage box, 6-1/8" X 9" X 2-1/4"	Replace	2	\$6.99 \$	13.98	6.25%	\$	0.87 \$	14.85	5+
	SECOND FLOOR FRONT RIGHT	Transformers Revenge of the Fallen 2 piece action figure set, comes with Sideswipe and Sideways robot heroes, movie series	•								
1534	BEDROOM	2	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50 \$	42.49	5+
	SECOND FLOOR FRONT RIGHT										
1535	BEDROOM	32" tall action figure of Batman, Photo 8579	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75 \$	63.74	5+
	SECOND FLOOR FRONT RIGHT	Guitar amplifier box by Crate, Elestion equipped, GX Dual Triode									
1536	BEDROOM	100, Photo 8580	Replace	1	\$399.99 \$	399.99	6.25%	\$	25.00 \$	424.99	5+
	SECOND FLOOR FRONT RIGHT										
1537	BEDROOM	Large guitar amplifier, TNT 150, by Peavey, 150 watt	Replace	1	\$349.99 \$	349.99	6.25%	\$	21.87 \$	371.86	5+
	SECOND FLOOR FRONT RIGHT										
1538	BEDROOM SECOND FLOOR	Small throw pillow	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25 \$	21.24	5 +
	FRONT RIGHT	Package of guitar string, nickel wound, heavy gauge, from									
1539	BEDROOM SECOND FLOOR	D'Addario	Replace	2	\$6.99 \$	13.98	6.25%	\$	0.87 \$	14.85	1 year
	FRONT RIGHT	Small collectible silver teaspoon with wood display rack, Photo									
1540	BEDROOM SECOND FLOOR	8582	Replace	8	\$12.99 \$	103.92	6.25%	\$	6.50 \$	110.42	5 +
	FRONT RIGHT										_
1541	BEDROOM SECOND FLOOR	Electrical tape, roll	Replace	2	\$2.99 \$	5.98	6.25%	\$	0.37 \$	6.35	5+
	FRONT RIGHT										
1542	BEDROOM SECOND FLOOR	New Hess emergency truck with rescue vehicle, new	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86	NEW
4540	FRONT RIGHT	New Heat to think and area are st	Danker	,	640.00	40.00	0.050	•	277 2	40.74	NEW
1543	BEDROOM SECOND FLOOR	New Hess toy truck and race car set	Replace	1	\$43.99 \$	43.99	6.25%	\$	2.75 \$	46.74	NEW
1544	FRONT RIGHT BEDROOM	New Hess toy truck and jet set	Replace	1	\$57.99 \$	57.99	6.25%	•	3.62 \$	61.61	NEW
1044	BLDROOM	11017 F1000 toy truck and jet oot	replace	1	φυ1.33 φ	31.38	0.25/6	Ψ	J.02 \$	01.01	IACAA

	SECOND FLOOR											
	FRONT RIGHT											
1545	BEDROOM SECOND FLOOR	Hess tow truck	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$	53.11	NEW
	FRONT RIGHT											
1546	BEDROOM	Hess SUV truck, Photo 8583	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$	42.49	NEW
	SECOND FLOOR FRONT RIGHT											
1547	BEDROOM	Wall poster	Replace	3	\$19.99 \$	59.97	6.25%	\$	3.75	\$	63.72	5+
	SECOND FLOOR		-									
1548	FRONT RIGHT BEDROOM	Cable firearm lock	Replace	2	\$5.99 \$	11.98	6.25%	•	0.75	•	12.73	2 years old
1040	SECOND FLOOR	Sable mean look	Replace	-	ψ0.55 ψ	11.50	0.2070	•	0.70	٠	12.70	2 years old
	FRONT RIGHT											_
1549	BEDROOM SECOND FLOOR	Large canvas single strap backpack	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75	\$	63.74	5 +
	FRONT RIGHT											
1550	BEDROOM	Wired computer mouse from HP, Model M-UV69A	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$	10.61	5 +
	SECOND FLOOR FRONT RIGHT	Radio Shack Safety Alert traffic warning system, radar laser										
1551	BEDROOM	detector, Cat. 22-1696, Photo 8584	Replace	1	\$99.99 \$	99.99	6.25%	\$	6.25	\$	106.24	5 +
	SECOND FLOOR	RC Battle tank, 1/24 radio controlled battle tank, M1A2 ABRAMS,										
1552	FRONT RIGHT BEDROOM	3 frequency 9 band for change equipped with high gripping caterpillar, Photo 8585	Replace	1	\$84.99 \$	84.99	6.25%	\$	5.31	s	90.30	5 +
	SECOND FLOOR			-	*******			•		•		•
4550	FRONT RIGHT	Materials along for a philad for balance	Danlass		£40.00 £	40.00	C 25%	•	2.50		40.50	4
1553	BEDROOM SECOND FLOOR	Motorcycle clear face shield for helmet	Replace	1	\$40.00 \$	40.00	6.25%	Þ	2.50	Þ	42.50	4 years
	FRONT RIGHT											
1554	BEDROOM SECOND FLOOR	Motorcycle helmet tinted face shield, sunglass tint	Replace	1	\$40.00 \$	40.00	6.25%	\$	2.50	\$	42.50	4 years
	FRONT RIGHT											
1555	BEDROOM	16 ounce stainless steel vacuum sealed Thermos brand thermos	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$	31.86	3 years
	SECOND FLOOR FRONT RIGHT											
1556	BEDROOM	12" cast iron frying pan from Lodge	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$	21.24	5 +
	SECOND FLOOR		•									
1557	FRONT RIGHT BEDROOM	Soft cover reference book	Replace	2	\$29.99 \$	59 98	6.25%	\$	3.75	s	63.73	5 +
	SECOND FLOOR			=	,,			•		•		•
1558	FRONT RIGHT BEDROOM	Large convex backmack from Adventurations with Finn & Jake	Bonloos	1	\$59.99 \$	59.99	6.25%	•	3.75		63.74	5 +
1556	SECOND FLOOR	Large canvas backpack from Adventuretime with Finn & Jake	Replace	1	\$59.99 \$	59.99	6.25%	Þ	3./5	Þ	63.74	5+
	FRONT RIGHT											
1559	BEDROOM SECOND FLOOR	Men's generic sunglasses	Replace	2	\$29.99 \$	59.98	6.25%	\$	3.75	\$	63.73	5 +
	FRONT RIGHT											
1560	BEDROOM SECOND FLOOR	40 count box of Snappers from Fireworks Factory, 50 piece box	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94	\$	15.93	5 +
	FRONT RIGHT	Motorola flip phone with front color display from Nextel, 195CL,										
1561	BEDROOM	Photo 8586	Replace	1	\$99.99 \$	99.99	6.25%	\$	6.25	\$	106.24	5 +
	SECOND FLOOR FRONT RIGHT											
1562	BEDROOM	Hot Wheels Batman classic TVC series car, new	Replace	1	\$18.99 \$	18.99	6.25%	\$	1.19	\$	20.18	NEW
	SECOND FLOOR		·									
1563	FRONT RIGHT BEDROOM	Miniature ceramic beer stein with steel or aluminum flip top lid, made in Germany, hand painted, 6" tall X 3" diameter	Replace	1	\$24.99 \$	24.99	6.25%	•	1.56	•	26.55	5 +
1000	SECOND FLOOR	made in dermany, name painted, or tail X or diameter	Першее	•	₩24.55 ₩	24.00	0.2070	•	1.00	٠	20.00	3 .
4504	FRONT RIGHT	Ell to Hart and a Committee	Berter		40.00		0.050/	•	0.50		40.40	.
1564	BEDROOM SECOND FLOOR	5" tall plastic figurine	Replace	4	\$9.99 \$	39.96	6.25%	\$	2.50	>	42.46	5 +
	FRONT RIGHT											
1565	BEDROOM SECOND FLOOR	Men's faux leather stainless steel wrist watch	Replace	2	\$59.99 \$	119.98	6.25%	\$	7.50	\$	127.48	5 +
	FRONT RIGHT	Horner initial 20 harmonica, Marine Band, with plastic hard case										
1566	BEDROOM	carry case	Replace	1	\$47.99 \$	47.99	6.25%	\$	3.00	\$	50.99	5 +
	SECOND FLOOR FRONT RIGHT	Batman, The Motion Picture Anthology, 1989 - 1997, box set on										
1567	BEDROOM	DVD, 4 movies	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$	42.49	5 +
	SECOND FLOOR FRONT RIGHT											
1568	BEDROOM	Men's small costume jewelry necklace	Replace	2	\$29.99 \$	59.98	6.25%	\$	3.75	\$	63.73	5 +
	SECOND FLOOR	•	•									
1569	FRONT RIGHT BEDROOM	Men's pocket watch, generic	Replace	1	\$39.99 \$	39.99	6.25%	•	2.50	•	42.49	5 +
1508	SECOND FLOOR	mons pooket water, generic	rehiace	•	φυσ.33 φ	33.33	0.23/6	Ψ	2.50	÷	74.43	3 T
45=0	FRONT RIGHT	Ollandi anna da Lange Parka anna dia badda	B I		***		0.0=0	•			40.51	_
1570	BEDROOM SECOND FLOOR	6" tall metal tea light candle holder	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$	10.61	5 +
	FRONT RIGHT											
1571	BEDROOM	0.25 liter glass mug	Replace	2	\$7.99 \$	15.98	6.25%	\$	1.00	\$	16.98	5 +

	SECOND FLOOR										
	FRONT RIGHT										
1572	BEDROOM SECOND FLOOR	Plastic batman Halloween bucket	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$	6.36	5 +
1573	FRONT RIGHT BEDROOM	Mark and the state of the state	Benten				6.25%		•	42.49	5.+
15/3	SECOND FLOOR	Men's metal pocket watch from Ablux	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$	42.49	5+
1574	FRONT RIGHT BEDROOM	Solid wood model military tank, 4" tall X 12" long X 5" wide, Photo 8589	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	•	15.93	2
1574	SECOND FLOOR	9299	керіасе	1	\$14.99 \$	14.99	6.25%	\$ 0.94	Þ	15.93	3 years
1575	FRONT RIGHT BEDROOM	Lego figure	Replace	11	\$5.99 \$	65.89	6.25%	\$ 4.12	•	70.01	5 +
1373	SECOND FLOOR	Lego ligure	Replace		φ3.33 φ	03.03	0.2376	4.12	•	70.01	3 '
1576	FRONT RIGHT BEDROOM	Energizer Max C batteries, 2 count package	Replace	2	\$6.99 \$	13.98	6.25%	\$ 0.87	•	14.85	5 +
1070	SECOND FLOOR	Energizer wax o batteries, 2 count package	поршос	-	ψ0.55 ψ	10.50	0.2070	ų 0.0 <i>1</i>	٠	14.00	0 ·
1577	FRONT RIGHT BEDROOM	Soft cover book	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	s	42.46	5 +
	SECOND FLOOR			•	*****				•		-
1578	FRONT RIGHT BEDROOM	Hard cover reference book	Replace	3	\$39.99 \$	119.97	6.25%	\$ 7.50	\$	127.47	5+
	SECOND FLOOR FRONT RIGHT		•								
1579	BEDROOM	Small ceramic plant potter	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$	10.61	5+
	SECOND FLOOR FRONT RIGHT	Very nice quality folding pocket knife with wooden and metal handle made by Tree Brand Classic 2000 440C with leather carry									
1580	BEDROOM	case, Photo 8590	Replace	1	\$54.99 \$	54.99	6.25%	\$ 3.44	\$	58.43	5+
	SECOND FLOOR FRONT RIGHT										
1581	BEDROOM	Large shirt pin from Laconia	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$	10.61	3 years
	SECOND FLOOR FRONT RIGHT										
1582	BEDROOM SECOND FLOOR	Men's canvas seat belt bucket belt from Adventure Time	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$	26.55	5 +
	FRONT RIGHT										
1583	BEDROOM SECOND FLOOR	Men's canvas belt	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.00	\$	84.96	5 +
1584	FRONT RIGHT BEDROOM	Men's leather reversible dress belt from Pierre Cardin	Danisas	1	\$55.00 \$	55.00	6.25%	\$ 3.44		58.44	5.+
1564	SECOND FLOOR	Men's leather reversible dress belt from Pierre Cardin	Replace	1	\$55.00 \$	55.00	6.25%	3.44	Þ	50.44	5 +
1585	FRONT RIGHT BEDROOM	Men's faux grain cowhide leather belt	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	s	31.86	5 +
1000	SECOND FLOOR	Wich's lady grain cowing leadic ben	поршос	•	\$23.33 ¥	20.00	0.2076	ų 1.07	•	01.00	3 .
1586	FRONT RIGHT BEDROOM	Men's costume tie from Batman, fleece	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$	21.24	5+
	SECOND FLOOR FRONT RIGHT	2 piece figurine set from W Britain, the World War I, No. 23073,	•								
1587	BEDROOM	1/30th scale figures, new in box, Photo 8591	Replace	1	\$64.99 \$	64.99	6.25%	\$ 4.06	\$	69.05	NEW
	SECOND FLOOR FRONT RIGHT										
1588	BEDROOM	Small Lego set	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$	21.24	4 years
	SECOND FLOOR FRONT RIGHT										
1589	BEDROOM SECOND FLOOR	Large wall poster	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.00	\$	84.96	5 +
	FRONT RIGHT										
1590	BEDROOM SECOND FLOOR	Knee brace from Mueller	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$	21.24	5 +
	FRONT RIGHT	Pez candy and dispenser from The Justice League, Batman, with									
1591	BEDROOM SECOND FLOOR	3 Pez refills, new in box	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$	6.36	NEW
1592	FRONT RIGHT BEDROOM	Large leather back book	Replace	1	\$35.99 \$	35.99	6.25%	\$ 2.25	•	38.24	5 +
1392	SECOND FLOOR	Large realitier back book	Replace	'	433.93 ф	35.55	0.25%	ş 2.25	•	30.24	5+
1593	FRONT RIGHT BEDROOM	Memento bead from Memento Beads, new in box, Photo 8592	Replace	1	\$24.95 \$	24.95	6.25%	\$ 1.56	s	26.51	NEW
	SECOND FLOOR	, , , , , , , , , , , , , , , , , , , ,			,,						
1594	FRONT RIGHT BEDROOM	3/4" collectible shirt pin or button	Replace	9	\$9.99 \$	89.91	6.25%	\$ 5.62	\$	95.53	5 +
	SECOND FLOOR FRONT RIGHT	Small plastic piggy bank from Whitman's Candies, Snoopy and									
1595	BEDROOM	Santa's Sleigh	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$	10.61	5 +
	SECOND FLOOR FRONT RIGHT	Disney's Pixar Buzz Lightyear of Star Command - some kind of									
1596	BEDROOM SECOND FLOOR	Nerf Gun, small sized, Photo 8593	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$	6.36	5 +
	FRONT RIGHT										
1597	BEDROOM SECOND FLOOR	Large Buzz Lightyear battery powered action figure, Photo 8594	Replace	1	\$34.99 \$	34.99	6.25%	\$ 2.19	\$	37.18	5 +
1500	FRONT RIGHT	Large collectible action figure from POPS rides, The Turtle Van,	Donless	1	\$259.99 \$	259.99	6 250/	e 40.00		276 24	NEW
1598	BEDROOM	No. 05, new in box	Replace	1	\$253.33 \$	259.99	6.25%	\$ 16.25	Þ	276.24	NEVV

	SECOND FLOOR	Medium plastic collectible action figures from POP Games - Dog Meat from Fallout 4, Proto Man from Megaman, Rush from								
1599	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	Megaman, Megaman from Megaman, and Brotherhood of Steel from Fallout, Photo 8595	Replace	5	\$9.99 \$	49.95	6.25%	\$ 3.12 \$	53.07	3 years
1600	BEDROOM SECOND FLOOR	GI Joe action figure	Replace	25	\$9.99 \$	249.75	6.25%	\$ 15.61 \$	265.36	5+
1601	FRONT RIGHT BEDROOM SECOND FLOOR	Corn the Paradigm Shift CD box set includes Paradigm Shift Deluxe Edition plus brand new Corn T shirt, new in box	Replace	1	\$12.99 \$	12.99	6.25%	\$ 0.81 \$	13.80	NEW
1602	FRONT RIGHT BEDROOM SECOND FLOOR	Hard cover book	Replace	4	\$24.99 \$	99.96	6.25%	\$ 6.25 \$	106.21	5+
1603	FRONT RIGHT BEDROOM SECOND FLOOR	2" diameter pin on shirt buttons	Replace	12	\$9.99 \$	119.88	6.25%	\$ 7.49 \$	127.37	5 +
1604	FRONT RIGHT BEDROOM SECOND FLOOR	Black light fluorescent bulb wall mount, holds 17" bulbs, Photo 8597	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25 \$	21.24	5 +
1605	FRONT RIGHT BEDROOM SECOND FLOOR	Small hard cover reference book	Replace	2	\$24.99 \$	49.98	6.25%	\$ 3.12 \$	53.10	5+
1606	FRONT RIGHT BEDROOM SECOND FLOOR	6500 BTU window AC from Frigidaire, Model LRA074AT7, Photo 8598, 8599	Replace	1	\$259.99 \$	259.99	6.25%	\$ 16.25 \$	276.24	5+
1607	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	Men's canvas belt	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.75 \$	63.72	5 +
1608	BEDROOM SECOND FLOOR	Men's canvas suspenders	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25 \$	21.24	5+
1609	FRONT RIGHT BEDROOM SECOND FLOOR	Military style plastic water canteen, 1 quart, with canvas cover, can mount to pants or bag, etc.	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25 \$	21.24	5 +
1610	FRONT RIGHT BEDROOM SECOND FLOOR	3 in 1 rolling workshop from Stanley, plastic tool box set, Photo 8600	Replace	1	\$38.99 \$	38.99	6.25%	\$ 2.44 \$	41.43	5 +
1611	FRONT RIGHT BEDROOM SECOND FLOOR	Bottle of paint from Citadel, model paint	Replace	17	\$3.99 \$	67.83	6.25%	\$ 4.24 \$	72.07	5 +
1612	FRONT RIGHT BEDROOM SECOND FLOOR	Allowance-various tabletop Warhammer 40K figures, Photo 8602, 8603, 8604, 8605	Replace	1	\$400.00 \$	400.00	6.25%	\$ 25.00 \$	425.00	5+
1613	FRONT RIGHT BEDROOM SECOND FLOOR	Small canvas duffle bag from Dove Men + Care	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87 \$	31.86	2 years old
1614	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	5000 count premium 6 mm plastic BBs from Elite Force	Replace	1	\$15.99 \$	15.99	6.25%	\$ 1.00 \$	16.99	6 months
1615	BEDROOM SECOND FLOOR	Air Soft goggles from Lancer Tactical	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56 \$	26.55	6 months
1616	FRONT RIGHT BEDROOM SECOND FLOOR	Canvas and wire mesh mouth and lower face shield from Valken Tactical	Replace	1	\$16.95 \$	16.95	6.25%	\$ 1.06 \$	18.01	6 months
1617	FRONT RIGHT BEDROOM SECOND FLOOR	Large Air Soft banana clip magazine, rolling refill style from companies like GG	Replace	4	\$17.99 \$	71.96	6.25%	\$ 4.50 \$	76.46	6 months
1618	FRONT RIGHT BEDROOM SECOND FLOOR	Large Air Soft magazine, automatic battery powered	Replace	3	\$9.99 \$	29.97	6.25%	\$ 1.87 \$	31.84	5 +
1619	FRONT RIGHT BEDROOM	New in package high power Air Soft battery pack, HPA Olympian Battery, lithium polymer, new	Replace	1	\$36.99 \$	36.99	6.25%	\$ 2.31 \$	39.30	NEW
1620	SECOND FLOOR FRONT RIGHT BEDROOM SECOND FLOOR	Air Soft battery pack from Valken, NIMH rechargeable Air Soft battery set, 9.6 volt, split 1,600 MAH, new in package, look to be better quality than the last ones, no price tag on them, Photo 8609	Replace	1	\$34.99 \$	34.99	6.25%	\$ 2.19 \$	37.18	NEW
1621	FRONT RIGHT BEDROOM SECOND FLOOR	Large Air Soft battery from Tenergy, NIMH rechargeable battery pack, 8.4 volts, 1,600 MAH, Item 11329	Replace	1	\$32.99 \$	32.99	6.25%	\$ 2.06 \$	35.05	2 years old
1622	FRONT RIGHT BEDROOM SECOND FLOOR	Air Soft battery pack from Valken, Lipo 11.1 volts, triple stick, 1,400 MAH	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56 \$	26.55	6 months
1623	FRONT RIGHT BEDROOM SECOND FLOOR	Small battery powered walkie talkie from Cobra, Micro Talk Police with ear piece connector and mic, Photo 8610	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25 \$	106.24	6 months
1624	FRONT RIGHT BEDROOM	Safety goggles from Revision Military with large canvas carry case	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50 \$	212.49	6 months

	SECOND FLOOR	Canvas tactical chest strap from Flyye Industries, cordura brand,									
1625	FRONT RIGHT BEDROOM	canvas elastic or bungee rifle clip so that you can let go of your gun, holds 4 banana clip magazines, Photo 8611	Replace	1	\$180.99 \$	180.99	6.25%	\$ 11	.31 \$	192.30	2 years old
	SECOND FLOOR FRONT RIGHT	Large battery powered Air Soft machine guns, stainless steel, nice quality guns from companies like Combat Machine, KWA,									2 years old g and g
1626	BEDROOM SECOND FLOOR FRONT RIGHT	very heavy, sturdy air soft guns, Photo 8612, 8613	Replace	7	\$266.00 \$	1,862.00	6.25%	\$ 116	.38 \$	1,978.38	6 months
1627	BEDROOM SECOND FLOOR	Air Soft full face mask with visor from Vforce	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	.87	31.86	3 years
1628	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	Air Soft rifle scope	Replace	2	\$240.99 \$	481.98	6.25%	\$ 30	.12	512.10	1 year
1629	BEDROOM SECOND FLOOR	Air Soft canvas shoulder strap for rifle	Replace	3	\$10.99 \$	32.97	6.25%	\$ 2	.06	35.03	2 years old
1630	FRONT RIGHT BEDROOM SECOND FLOOR	Canvas muzzle bag	Replace	2	\$12.99 \$	25.98	6.25%	\$ 1	.62	27.60	3 years
1631	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	Plastic safety goggles	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2	.50	42.46	5+
1632	BEDROOM SECOND FLOOR FRONT RIGHT	Plastic spring powered Air Soft gun, Colt 1911 Target, Photo 8614	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1	.56	26.55	5+
1633	BEDROOM SECOND FLOOR	10" long metal Air Soft banana clip magazine	Replace	3	\$29.99 \$	89.97	6.25%	\$ 5	.62	95.59	2 years old
1634	FRONT RIGHT BEDROOM SECOND FLOOR	Air Soft stainless steel mounting bracket, for rifle or assault gun, new in box, Photo 8615	Replace	1	\$119.99 \$	119.99	6.25%	\$ 7	.50	127.49	NEW
1635	FRONT RIGHT BEDROOM SECOND FLOOR	Small Nerf gun	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1	.25	21.23	5+
1636	FRONT RIGHT BEDROOM SECOND FLOOR	Lancer Tactical laser sight, new in box, Photo 8616	Replace	1	\$64.99 \$	64.99	6.25%	\$ 4	.06	69.05	NEW
1637	FRONT RIGHT BEDROOM SECOND FLOOR	Air Soft battery charger from Team Tenergy, Item 01026, new in box	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	.87	31.86	NEW
1638	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	Air Soft battery	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	.87	31.86	3 years
1639	BEDROOM SECOND FLOOR	Plastic organizing briefcase box, 11-3/8" X 9" X 2-1/4"	Replace	1	\$4.99 \$	4.99	6.25%	\$ 0	.31 \$	5.30	4 years
1640	FRONT RIGHT BEDROOM SECOND FLOOR	Lancer stainless steel Red Dot tactical sight from Lancer Tactical, Photo 8618	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3	.12	53.11	2 years old
1641	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	BB tracer unit from Ace Tech, Model AT1000 BB Tracer Unit, new in box, Photo 8619	Replace	1	\$61.99 \$	61.99	6.25%	\$ 3	.87	65.86	NEW
1642	BEDROOM SECOND FLOOR FRONT RIGHT	G&G Armament Air Soft gun and accessory pack	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0	.62	10.61	NEW
1643	BEDROOM SECOND FLOOR	Mill Spec AEG Spring, new in box, Made by ASG Ultimate	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0	.94	15.93	NEW
1644	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	3300 count bottle of Blaster Tracer BBs, 0.2 high grade 6 mm BBs from Action Sport Games	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2	.50 \$	6 42.48	5+
1645	BEDROOM SECOND FLOOR	Bottle of P Force Silicone oil AC-50S	Replace	1	\$15.99 \$	15.99	6.25%	\$ 1	.00 \$	16.99	3 years
1646	FRONT RIGHT BEDROOM SECOND FLOOR FRONT RIGHT	Package of super charged Mega Banger Lady Finger crackers (fire crackers)	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0	.37 \$	6.36	5+
1647	BEDROOM SECOND FLOOR	Allen keys from Companion	Replace	1	\$8.99 \$	8.99	6.25%	\$ 0	.56	9.55	5+
1648	FRONT RIGHT BEDROOM SECOND FLOOR	3 pound 5 ounce fire extinguisher from Kidde, dry chemical, Model FA110 G	Replace	1	\$12.99 \$	12.99	6.25%	\$ 0	.81 \$	13.80	5+
1649	FRONT RIGHT BEDROOM SECOND FLOOR	Vinyl roll down window blind curtains	Replace	3	\$39.99 \$	119.97	6.25%	\$ 7	.50	127.47	5 +
1650	MIDDLE LEFT BATHROOM SECOND FLOOR	Heavy duty plastic shower curtain	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1	.25	21.24	+5
1651	MIDDLE LEFT BATHROOM	Heavy duty cloth shower curtain	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	.87	31.86	+5

	SECOND FLOOR MIDDLE LEFT									
1652	BATHROOM SECOND FLOOR	Plastic shower curtain rings	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	+5
1653	MIDDLE LEFT BATHROOM SECOND FLOOR	30" X 20" bathroom floor area rug	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+5
1654	MIDDLE LEFT BATHROOM SECOND FLOOR	Men's Gillette Fusion reusable razor	Replace	1	\$11.99 \$	11.99	6.25%	\$ 0.75	\$ 12.74	+5
1655	MIDDLE LEFT BATHROOM SECOND FLOOR	Women's disposable razor from Schick Quattro	Replace	2	\$11.99 \$	23.98	6.25%	\$ 1.50	\$ 25.48	+5
1656	MIDDLE LEFT BATHROOM SECOND FLOOR	16 ounce bottle of men's body wash from Axe	Replace	1	\$4.99 \$	4.99	6.25%	\$ 0.31	\$ 5.30	New
1657	MIDDLE LEFT BATHROOM SECOND FLOOR	28 ounce bottle of Tresemme shampoo	Replace	1	\$3.99 \$	3.99	6.25%	\$ 0.25	\$ 4.24	New
1658	MIDDLE LEFT BATHROOM SECOND FLOOR	28 ounce bottle of Tresemme conditioner	Replace	1	\$3.99 \$	3.99	6.25%	\$ 0.25	\$ 4.24	New
1659	MIDDLE LEFT BATHROOM SECOND FLOOR	Shower loofah	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$ 6.36	+5
1660	MIDDLE LEFT BATHROOM SECOND FLOOR	Heat blower motor and fan for the bathroom light when they have heat/exhaust, new, Broan S69355000 Blower, Photo 8628	Replace	1	\$99.00 \$	99.00	6.25%	\$ 6.19	\$ 105.19	NEW
1661	MIDDLE LEFT BATHROOM SECOND FLOOR	2 gallon plastic trash bin	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+5
1662	MIDDLE LEFT BATHROOM SECOND FLOOR	Analog floor weight scale from Sunbeam Professional Scale, max weight 300 pounds	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+5
1663	MIDDLE LEFT BATHROOM SECOND FLOOR	Box of Scotties tissues, 110 count, 2 ply	Replace	2	\$2.99 \$	5.98	6.25%	\$ 0.37	\$ 6.35	New
1664	MIDDLE LEFT BATHROOM SECOND FLOOR	Large industrial plunger	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+5
1665	MIDDLE LEFT BATHROOM SECOND FLOOR	Scotch Brite disposable toilet scrubber with built in cleaner, includes one handle, 7 disposable scrubbers	Replace	1	\$8.99 \$	8.99	6.25%	\$ 0.56	\$ 9.55	+5
1666	MIDDLE LEFT BATHROOM SECOND FLOOR	22" X 18" beveled wooden picture frame with wall print, double mat, signed by Ava Freeman, Photo 8629	Replace	1	\$49.00 \$	49.00	6.25%	\$ 3.06	\$ 52.06	+5
1667	MIDDLE LEFT BATHROOM SECOND FLOOR	23" long X 6" deep X 7" tall solid wood hanging wall shelf, Photo 8629	Replace	1	\$30.99 \$	30.99	6.25%	\$ 1.94	\$ 32.93	+5
1668	MIDDLE LEFT BATHROOM SECOND FLOOR	8" tall wicker accent arm chair decoration	Replace	2	\$14.99 \$	29.98	6.25%	\$ 1.87	\$ 31.85	+5
1669	MIDDLE LEFT BATHROOM SECOND FLOOR	8" long X 4" tall wicker sofa decoration	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	\$ 15.93	+5
1670	MIDDLE LEFT BATHROOM SECOND FLOOR	3.5 ounce jar candle	Replace	2	\$11.00 \$	22.00	6.25%	\$ 1.38	\$ 23.38	+5
1671	MIDDLE LEFT BATHROOM SECOND FLOOR	Lace tapered window curtain, 3' long, Photo 8630	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74	+5
1672	MIDDLE LEFT BATHROOM SECOND FLOOR	Roll down vinyl window shade / window blind Solid wood tapered candle holder or votive candle holder, 15" long	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	+5
1673	MIDDLE LEFT BATHROOM SECOND FLOOR	X 5" wide with glass shades, 2" tall X 1-1/2" diameter votive candles, Photo 8631	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.23	+5
1674	MIDDLE LEFT BATHROOM SECOND FLOOR	31" X 25" wooden framed hanging wall mirror, decorative, Photo 8631	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	+5
1675	MIDDLE LEFT BATHROOM SECOND FLOOR	11" tall X 9" wide oval easel backed mirror, decorative, Photo 8633	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+5
1676	MIDDLE LEFT BATHROOM SECOND FLOOR	20 ounce jar candle	Replace	2	\$29.50 \$	59.00	6.25%	\$ 3.69	\$ 62.69	+5
1677	MIDDLE LEFT BATHROOM SECOND FLOOR	1-1/2" deep X 5" X 5" wooden keepsake box, hand painted	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	\$ 15.93	+5
1678	MIDDLE LEFT BATHROOM	Double sided beauty magnifying mirror, 6-1/2" diameter	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	+5

	SECOND FLOOR	4401							
1679	MIDDLE LEFT BATHROOM	14" long X 10" wide oval mirrored tabletop storage tray with fleece bottom and 1-1/2" tall railing/trim, Photo 8634	Replace	1	\$29.99 \$	29.99 6.25%	\$ 1.87 \$	31.86	+5
1073	SECOND FLOOR	bottom and 1-1/2 tall railing time, 1 note 6004	Replace	•	Ψ23.33 Ψ	25.55 0.2070		01.00	.0
	MIDDLE LEFT								
1680	BATHROOM SECOND FLOOR	Can of Gillette Fusion 5 ultra sensitive shave gel, 7 ounce	Replace	1	\$3.99 \$	3.99 6.25%	\$ 0.25	4.24	+5
	MIDDLE LEFT								
1681	BATHROOM	11 ounce can of Gillette Foamy Sensitive Skin shave cream	Replace	2	\$1.99 \$	3.98 6.25%	\$ 0.25	4.23	NEW
	SECOND FLOOR								
1682	MIDDLE LEFT BATHROOM	8 ounce can of Glade air freshener spray	Replace	1	\$2.99 \$	2.99 6.25%	\$ 0.19 \$	3.18	+5
1002	SECOND FLOOR	o cance can or clase an nectioner spray	Nopidoo		V2.00 V	2.00 0.2070	• • • • •		••
	MIDDLE LEFT								
1683	BATHROOM SECOND FLOOR	16 ounce bottle of Vitamin E lotion from Fruit of the Earth	Replace	2	\$6.99 \$	13.98 6.25%	\$ 0.87	14.85	+5
	MIDDLE LEFT								
1684	BATHROOM	19 ounce can of Lysol Professional 3 disinfectant spray	Replace	2	\$5.99 \$	11.98 6.25%	\$ 0.75	12.73	+5
	SECOND FLOOR MIDDLE LEFT								
1685	BATHROOM	7-1/2 ounce container of SoftSoap hand soap	Replace	1	\$2.99 \$	2.99 6.25%	\$ 0.19 \$	3.18	1 year
	SECOND FLOOR		-						•
1686	MIDDLE LEFT BATHROOM	Oral B toothbrush	Replace	5	\$3.99 \$	19.95 6.25%	\$ 1.25 \$	21.20	New
1000	SECOND FLOOR	Olai D tootiibiusii	Replace	3	φ3.33 ψ	19.93 0.23/6	ψ 1.25 .	21.20	IACM
	MIDDLE LEFT								
1687	BATHROOM SECOND FLOOR	5-1/2 ounce container of toothpaste from Aim	Replace	2	\$2.99 \$	5.98 6.25%	\$ 0.37 \$	6.35	New
	MIDDLE LEFT								
1688	BATHROOM	Men's Gillette Fusion reusable razor with plastic carry case	Replace	1	\$11.99 \$	11.99 6.25%	\$ 0.75	12.74	+5
	SECOND FLOOR MIDDLE LEFT								
1689	BATHROOM	Countertop plastic bar soap holder	Replace	1	\$9.99 \$	9.99 6.25%	\$ 0.62 \$	10.61	+5
	SECOND FLOOR								
1690	MIDDLE LEFT BATHROOM	Countertop ceramic toothbrush holder, 4 brush capacity	Replace	1	\$29.99 \$	29.99 6.25%	\$ 1.87 \$	31.86	+5
1000	SECOND FLOOR	Countries Continue to Carba and Trongon, The action Capacity	Nopidoo		¥20.00 ¥	20.00 0.2070	•		••
1001	MIDDLE LEFT	Mark O'llate Facility and the	Berter	•	***	00.00 0.050/			.e
1691	BATHROOM SECOND FLOOR	Men's Gillette Fusion reusable razor	Replace	2	\$11.99 \$	23.98 6.25%	\$ 1.50 \$	25.48	+5
	MIDDLE LEFT	Fully programmable compact disc player, AM/FM radio receiver							
1692	BATHROOM SECOND FLOOR	from Lenoxx Sound, Model CD-110, Photo 8635	Replace	1	\$39.99 \$	39.99 6.25%	\$ 2.50	42.49	+5
	MIDDLE LEFT	Men's beard trimmer, rechargeable, from Wahl, Model 9685, with							
1693	BATHROOM	various attachments and canvas storage bag	Replace	1	\$39.99 \$	39.99 6.25%	\$ 2.50	42.49	+5
	SECOND FLOOR MIDDLE LEFT								
1694	BATHROOM	Toenail clippers	Replace	2	\$5.99 \$	11.98 6.25%	\$ 0.75	12.73	+5
	SECOND FLOOR		•						
1695	MIDDLE LEFT BATHROOM	12" X 10" wicker basket	Replace	1	\$19.99 \$	19.99 6.25%	\$ 1.25 \$	21.24	+5
1000	SECOND FLOOR	12 X 10 WIOKEI BUSKEE	Replace	•	ψ15.55 ψ	15.55 0.2070		21.24	.0
	MIDDLE LEFT								_
1696	BATHROOM SECOND FLOOR	30" long deck brush	Replace	1	\$19.99 \$	19.99 6.25%	\$ 1.25	21.24	+5
	MIDDLE LEFT								
1697	BATHROOM SECOND FLOOR	Large wicker picnic basket	Replace	1	\$59.99 \$	59.99 6.25%	\$ 3.75	63.74	+5
	MIDDLE LEFT								
1698	BATHROOM	3.5 liter plastic bucket	Replace	2	\$9.99 \$	19.98 6.25%	\$ 1.25	21.23	+5
	SECOND FLOOR MIDDLE LEFT								
1699	BATHROOM	Bottle of Lysol bleach multi purpose cleaner, 32 ounce	Replace	2	\$5.99 \$	11.98 6.25%	\$ 0.75	12.73	0-6 months
	SECOND FLOOR		·						
1700	MIDDLE LEFT BATHROOM	19 ounce can of Kaboom foam tastic Oxyclean stain fighter	Replace	2	\$4.99 \$	9.98 6.25%	\$ 0.62 \$	10.60	0-6 months
1700	SECOND FLOOR	13 ounce can of Nabooth loam tastic Oxyclean stain lighter	Replace	2	φ4.00 φ	3.30 0.23/6	φ 0.02 ,	10.00	0-0 monus
	MIDDLE LEFT								
1701	BATHROOM SECOND FLOOR	24 ounce bottle of Lysol's Clean & Fresh toilet bowl cleaner	Replace	2	\$3.99 \$	7.98 6.25%	\$ 0.50	8.48	0-6 months
	MIDDLE LEFT								
1702	BATHROOM	28 ounce bottle of CLR	Replace	1	\$5.99 \$	5.99 6.25%	\$ 0.37 \$	6.36	0-6 months
	SECOND FLOOR MIDDLE LEFT								
1703	BATHROOM	Magic Eraser	Replace	3	\$1.99 \$	5.97 6.25%	\$ 0.37 \$	6.34	0-6 months
	SECOND FLOOR MIDDLE LEFT								
1704	BATHROOM	13-1/2 ounce bottle of Dalan Therapy hand soap	Replace	2	\$2.99 \$	5.98 6.25%	\$ 0.37 \$	6.35	0-6 months
-	SECOND FLOOR	1,							
1705	MIDDLE LEFT BATHROOM	11-1/2 ounce bottle of SoftSoap hand soap	Replace	1	\$2.99 \$	2.99 6.25%	\$ 0.19 \$	3.18	0-6 months
	3,	sale of concoup hand coup		•	72.00 7	,			0.011011010

	SECOND FLOOR								
	MIDDLE LEFT								
1706	BATHROOM SECOND FLOOR	Large ceramic hand soap dispenser	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	+5
1707	MIDDLE LEFT BATHROOM SECOND FLOOR	4 pound box of Epsom salt	Replace	1	\$6.99 \$	6.99 6.25% \$	0.44 \$	7.43	+5
1708	MIDDLE LEFT BATHROOM SECOND FLOOR	Colgate toothbrush, new	Replace	3	\$3.99 \$	11.97 6.25% \$	0.75 \$	12.72	NEW
1709	MIDDLE LEFT BATHROOM SECOND FLOOR	Box of Diamond brand matches, 250 count	Replace	2	\$1.99 \$	3.98 6.25% \$	0.25 \$	4.23	+5
1710	MIDDLE LEFT BATHROOM SECOND FLOOR	Large plastic comb from companies like Conair	Replace	3	\$2.99 \$	8.97 6.25% \$	0.56 \$	9.53	+5
1711	MIDDLE LEFT BATHROOM SECOND FLOOR MIDDLE LEFT	Bar of body soap from Lever 2000	Replace	4	\$1.99 \$	7.96 6.25% \$	0.50 \$	8.46	+5
1712	BATHROOM SECOND FLOOR MIDDLE LEFT	3 ounce bottle of Listerine Cool Mint antiseptic mouthwash, new	Replace	2	\$1.99 \$	3.98 6.25% \$	0.25 \$	4.23	NEW
1713	BATHROOM SECOND FLOOR MIDDLE LEFT	Travel Gold Bond medicated body powder	Replace	4	\$2.99 \$	11.96 6.25% \$	0.75 \$	12.71	+5
1714	BATHROOM SECOND FLOOR MIDDLE LEFT	2-1/2 ounce GermX hand sanitizer	Replace	3	\$1.99 \$	5.97 6.25% \$	0.37 \$	6.34	+5
1715	BATHROOM SECOND FLOOR MIDDLE LEFT	4.6 ounce container Colgate Liquid Gel toothpaste 2 in 1	Replace	2	\$3.99 \$	7.98 6.25% \$	0.50 \$	8.48	+5
1716	BATHROOM SECOND FLOOR MIDDLE LEFT	Bottle of Crest Pro Health Listerine, travel size	Replace	4	\$1.99 \$	7.96 6.25% \$	0.50 \$	8.46	+5
1717	BATHROOM SECOND FLOOR MIDDLE LEFT	Box of vinyl synthetic exam gloves from Basic, 100 count box	Replace	2	\$9.99 \$	19.98 6.25% \$	1.25 \$	21.23	NEW
1718	BATHROOM SECOND FLOOR MIDDLE LEFT	Roll of paper towels	Replace	4	\$1.99 \$	7.96 6.25% \$	0.50 \$	8.46	+5
1719	BATHROOM SECOND FLOOR MIDDLE LEFT	Victorian lace 4 piece frame set, new, Photo 8637	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	NEW
1720 1721	BATHROOM SECOND FLOOR MIDDLE LEFT BATHROOM	Plastic shower curtain rings 10 piece Halloween makeup set	Replace Replace	2	\$9.99 \$ \$7.99 \$	19.98 6.25% \$ 7.99 6.25% \$	1.25 \$ 0.50 \$	21.23 8.49	+5 +5
1721	SECOND FLOOR MIDDLE LEFT BATHROOM	Small canvas jewelry box, 1" tall X 6" X 4-1/2"	Replace	1	\$5.99 \$	7.99 6.25% \$ 5.99 6.25% \$	0.37 \$	6.36	+5
1723	SECOND FLOOR MIDDLE LEFT BATHROOM	4 ounce container of Fosom salt	Replace	1	\$0.99 \$	0.99 6.25% \$	0.06 \$	1.05	+5
1724	SECOND FLOOR MIDDLE LEFT BATHROOM	3" wide ace bandage	Replace	2	\$3.99 \$	7.98 6.25% \$	0.50 \$	8.48	+5
1725	SECOND FLOOR MIDDLE LEFT BATHROOM	20 ounce bottle of Jheri Redding styler's mega hold gel	Replace	2	\$3.59 \$	7.18 6.25% \$	0.45 \$	7.63	+5
1726	SECOND FLOOR MIDDLE LEFT BATHROOM	24 ounce bottle of Scott Scrub, all purpose bath and kitchen cleanser	Replace	2	\$2.99 \$	5.98 6.25% \$	0.37 \$	6.35	+6 months
1727	SECOND FLOOR MIDDLE LEFT BATHROOM SECOND FLOOR	Cobra Tools zip it tool - plastic tool used to unclog drains	Replace	1	\$18.99 \$	18.99 6.25% \$	1.19 \$	20.18	+5
1728	MIDDLE LEFT BATHROOM SECOND FLOOR	Canvas arm sling, medical device	Replace	1	\$10.99 \$	10.99 6.25% \$	0.69 \$	11.68	+5
1729	MIDDLE LEFT BATHROOM SECOND FLOOR	6" tall X 3" diameter votive candle, 60 hour burn time, from Old Williamsburg Candle	Replace	2	\$15.99 \$	31.98 6.25% \$	2.00 \$	33.98	+5
1730	MIDDLE LEFT BATHROOM SECOND FLOOR	Large canvas travel bag organizer, Photo 8638	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	+5
1731	MIDDLE LEFT BATHROOM SECOND FLOOR	2" ceramic straightener from CVS, Model CVS15A, new in box, Photo 8639	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	NEW
1732	MIDDLE LEFT BATHROOM	Large acrylic handle with adapter set for either bathroom sink or tubs that have two handles for hot/cold, made by Danco	Replace	1	\$12.99 \$	12.99 6.25% \$	0.81 \$	13.80	+5

	SECOND FLOOR MIDDLE LEFT	4" X 4" plastic storage box or jewelry box with lid, in the shape of								
1733	BATHROOM	a heart	Replace	1	\$4.99 \$	4.99	6.25% \$	0.31 \$	5.30	+5
	SECOND FLOOR									
4704	MIDDLE LEFT	Lance band of a few and form a comment of the County	B	•		47.04	0.050/	4.40	40.00	.e
1734	BATHROOM SECOND FLOOR	Large hard plastic comb from companies like Conair	Replace	6	\$2.99 \$	17.94	6.25% \$	1.12 \$	19.06	+5
	MIDDLE LEFT									
1735	BATHROOM	Plastic bristle brush	Replace	1	\$9.99 \$	9.99	6.25% \$	0.62 \$	10.61	+5
	SECOND FLOOR									
4700	MIDDLE LEFT	Calid ward and I handhald access will a	Danlass		** **	0.00	C 0F0/ 6	0.00 6	40.04	.5
1736	BATHROOM SECOND FLOOR	Solid wood small handheld massage roller	Replace	1	\$9.99 \$	9.99	6.25% \$	0.62 \$	10.61	+5
	MIDDLE LEFT									
1737	BATHROOM	Propane tank torch attachments	Replace	1	\$46.99 \$	46.99	6.25% \$	2.94 \$	49.93	+5
	SECOND FLOOR									
1738	MIDDLE LEFT BATHROOM	Box of A&D ointment, 113 grams, new	Replace	1	\$2.99 \$	2.99	6.25% \$	0.19 \$	3.18	NEW
1730	SECOND FLOOR	DOX OF AGD OFFICIENT, 113 grains, new	Replace		φ2.33 φ	2.33	U.23/6 \$	0.13	3.10	NEW
	MIDDLE LEFT									
1739	BATHROOM	4 ounce container of CVS diaper rash cream	Replace	1	\$2.99 \$	2.99	6.25% \$	0.19 \$	3.18	+5
	SECOND FLOOR MIDDLE LEFT									
1740	BATHROOM	1-1/2 ounce bath cubes, rose scented	Replace	6	\$6.99 \$	41.94	6.25% \$	2.62 \$	44.56	+5
	SECOND FLOOR									
	MIDDLE LEFT	3 fine fragranced soaps, set, net weight 3 X 150 grams from								_
1741	BATHROOM SECOND FLOOR	Asquith & Somerset Mandarin & Bergamot	Replace	1	\$19.99 \$	19.99	6.25% \$	1.25 \$	21.24	+5
	MIDDLE LEFT									
1742	BATHROOM	Small vinyl zip up travel shower bag	Replace	1	\$9.99 \$	9.99	6.25% \$	0.62 \$	10.61	+5
	SECOND FLOOR MIDDLE LEFT									
1743	BATHROOM	Animal hair bristle shaving cream brush	Replace	1	\$15.99 \$	15.99	6.25% \$	1.00 \$	16.99	+5
	SECOND FLOOR	, and a proced on a ving or oarn practi	Портиос		¥10.00 ¥		U.2070 V		10.00	••
	MIDDLE LEFT									
1744	BATHROOM SECOND FLOOR	Roll of medical tape, 1" thick	Replace	2	\$1.99 \$	3.98	6.25% \$	0.25 \$	4.23	+5
	MIDDLE LEFT									
1745	BATHROOM	Women's small canvas zip up makeup bag	Replace	1	\$9.99 \$	9.99	6.25% \$	0.62 \$	10.61	+5
	SECOND FLOOR									
1746	MIDDLE LEFT BATHROOM	Barber style straight razor, men's, stainless steel from Utopia Care	Replace	1	\$18.99 \$	18.99	6.25% \$	1.19 \$	20.18	+5
1740	SECOND FLOOR	Cale	Replace		\$10.55 \$	10.33	U.23/6 \$	1.13	20.10	13
	MIDDLE LEFT									
1747	BATHROOM	Twin comforter set from Linens & Things, new	Replace	1	\$79.99 \$	79.99	6.25% \$	5.00 \$	84.99	NEW
	SECOND FLOOR MIDDLE LEFT	Genuine repair part Temptrol replacement spindle from Symmons,								
1748	BATHROOM	Model TA-10, new in box	Replace	1	\$56.99 \$	56.99	6.25% \$	3.56 \$	60.55	NEW
	SECOND FLOOR	Wahl large hair clipper set, Extreme Grip, Model MC3, with								
1710	MIDDLE LEFT	various attachments, brushes, combs, and hard case storage	Danlass		6F0.00 6	F0 00	C 0F0/ 6	275 6	CO 74	.5
1749	BATHROOM SECOND FLOOR	case, Photo 8640	Replace	1	\$59.99 \$	59.99	6.25% \$	3.75 \$	63.74	+5
	MIDDLE LEFT									
1750	BATHROOM	16" tall X 10" diameter wicker basket with lid	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87 \$	31.86	+5
	SECOND FLOOR MIDDLE LEFT									
1751	BATHROOM	10" X 5" X 5" wicker basket	Replace	1	\$99.90 \$	99.90	6.25% \$	6.24 \$	106.14	+5
	SECOND FLOOR	TO NO NO MONO PUBLICA	Портиос		\$55.50 ¥	00.00	U.2070 V	V.2.	100114	••
	MIDDLE LEFT	Allowance-various bathroom supplies, first aid supplies,								_
1752	BATHROOM SECOND FLOOR	cosmetics, etc., Photo 8641	Replace	1	\$250.00 \$	250.00	6.25% \$	15.63 \$	265.63	+5
	MIDDLE LEFT									
1753	BATHROOM	CVS Pharmacy Extra Care relief kit	Replace	1	\$30.99 \$	30.99	6.25% \$	1.94 \$	32.93	+5
	SECOND FLOOR MIDDLE LEFT									
1754	BATHROOM	Hair trimmers from Andes, Model G	Replace	1	\$84.99 \$	84.99	6.25% \$	5.31 \$	90.30	+5
	SECOND FLOOR				*******					
	MIDDLE LEFT									_
1755	BATHROOM SECOND FLOOR	Barber's cloth apron	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87 \$	31.86	+5
	MIDDLE LEFT	Wooden handled brush to brush off hair when cutting someone's								
1756	BATHROOM	hair	Replace	1	\$19.99 \$	19.99	6.25% \$	1.25 \$	21.24	+5
	SECOND FLOOR									
1757	MIDDLE LEFT BATHROOM	Plastic comb	Replace	2	\$2.99 \$	5.98	6.25% \$	0.37 \$	6.35	+5
	SECOND FLOOR	: :==== ==:::::		-	Ψ=.00 Ψ	0.00	J.=0/0 ¥	J.57 \$	3.00	.0
	MIDDLE LEFT				***					_
1758	BATHROOM SECOND FLOOR	Hair cutting shears from Diane, drop forged	Replace	1	\$39.99 \$	39.99	6.25% \$	2.50 \$	42.49	+5
	MIDDLE LEFT									
1759	BATHROOM	12 pack of Market Basket toilet paper, 1000 sheets/roll	Replace	1	\$9.99 \$	9.99	6.25% \$	0.62 \$	10.61	6 months

	SECOND FLOOR MIDDLE LEFT									
1760	BATHROOM SECOND FLOOR	12 pack of Home Line soft bathroom tissue	Replace	1	\$10.99	\$ 10.99	6.25%	\$ 0.69	\$ 11.68	6 months
1761	MIDDLE LEFT BATHROOM SECOND FLOOR	20 roll package of Scott toilet paper, 1000 sheets/roll	Replace	2	\$13.99	\$ 27.98	6.25%	\$ 1.75	\$ 29.73	6 months
1762	MIDDLE LEFT BATHROOM SECOND FLOOR MIDDLE LEFT	3 shelf metal wire over the shower caddy, Photo 8643	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$ 31.86	+5
1763	BATHROOM SECOND FLOOR MIDDLE LEFT	New 24 ounce jar candle from Village Candle	Replace	2	\$29.99	\$ 59.98	6.25%	\$ 3.75	\$ 63.73	NEW
1764	BATHROOM SECOND FLOOR MIDDLE LEFT	Package of adult diapers from Depends, 20 count	Replace	1	\$11.99	\$ 11.99	6.25%	\$ 0.75	\$ 12.74	+5
1765	BATHROOM SECOND FLOOR MIDDLE LEFT	Package of adult diapers from Fit Right Ultra, 20 count	Replace	1	\$11.99	\$ 11.99	6.25%	\$ 0.75	\$ 12.74	+5
1766	BATHROOM SECOND FLOOR MIDDLE LEFT	Package of adult diapers from Medline, 20 count	Replace	1	\$11.99	\$ 11.99	6.25%	\$ 0.75	\$ 12.74	+5
1767	BATHROOM SECOND FLOOR MIDDLE LEFT	19 count package of adult diapers from Depend	Replace	1	\$11.99	\$ 11.99	6.25%	\$ 0.75	\$ 12.74	+5
1768	BATHROOM SECOND FLOOR MIDDLE LEFT	Plastic shower curtain 54" X 74" X 5" inflatable extra rest air bed, double size, from Extra	Replace	1	\$19.99	\$ 19.99	6.25%	\$ 1.25	\$ 21.24	NEW
1769	BATHROOM SECOND FLOOR MIDDLE LEFT	Rest Package of gauze sponges from McKesson, 3" X 3", 12 ply, 200	Replace	1	\$59.99	\$ 59.99	6.25%	\$ 3.75	\$ 63.74	+5
1770	BATHROOM SECOND FLOOR MIDDLE LEFT	count package	Replace	5	\$5.99	\$ 29.95	6.25%	\$ 1.87	\$ 31.82	+5
1771	BATHROOM SECOND FLOOR MIDDLE LEFT	Healthy Accents adjustable wrist splint, new in box	Replace	1	\$14.99	\$ 14.99	6.25%	\$ 0.94	\$ 15.93	NEW
1772	BATHROOM SECOND FLOOR MIDDLE LEFT	Shower loofah	Replace	5	\$5.99	\$ 29.95	6.25%	\$ 1.87	\$ 31.82	NEW
1773	BATHROOM SECOND FLOOR MIDDLE LEFT	21-1/2 ounce bottle of Miralax	Replace	2	\$11.99	\$ 23.98	6.25%	\$ 1.50	\$ 25.48	+6 monts
1774	BATHROOM SECOND FLOOR	3" X 3" votive candle from Bath & Body Works	Replace	4	\$24.50	\$ 98.00	6.25%	\$ 6.13	\$ 104.13	+5
1775	MIDDLE LEFT BATHROOM SECOND FLOOR	Rotadent 1 step professional powered toothbrush with micro access flossing action, new in box, Photo 8644	Replace	1	\$129.99	\$ 129.99	6.25%	\$ 8.12	\$ 138.11	NEW
1776	MIDDLE LEFT BATHROOM SECOND FLOOR	1 gallon plastic trash bin	Replace	1	\$9.99	\$ 9.99	6.25%	\$ 0.62	\$ 10.61	+5
1777	MIDDLE LEFT BATHROOM SECOND FLOOR	12" plastic baby doll	Replace	1	\$19.99	\$ 19.99	6.25%	\$ 1.25	\$ 21.24	+5
1778	MIDDLE LEFT BATHROOM SECOND FLOOR	Deluxe tub toy pouch from Dalmatian Pups, new	Replace	1	\$19.99	\$ 19.99	6.25%	\$ 1.25	\$ 21.24	NEW
1779	MIDDLE LEFT BATHROOM SECOND FLOOR MIDDLE LEFT	8 ounce bottle of no rinse shampoo	Replace	2	\$2.99	\$ 5.98	6.25%	\$ 0.37	\$ 6.35	+5
1780	BATHROOM	Box of Kleenex hand towels, 60 count, 1 ply	Replace	2	\$2.99	\$ 5.98	6.25%	\$ 0.37	\$ 6.35	+5
1781	FIRST FLOOR FRONT LIVING ROOM	3' long X 8" tall wooden painted wall plaque	Replace	1	\$9.99	\$ 9.99	6.25%	\$ 0.62	\$ 10.61	+5
1782	FIRST FLOOR FRONT LIVING ROOM	24" tall porcelain hand painted desk lamp with shade, Photo 8657	Replace	1	\$79.99	\$ 79.99	6.25%	\$ 5.00	\$ 84.99	+5
1783	LIVING ROOM	16" X 7" hanging wall plaque with large brass key - some kind of award, Photo 8657	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$ 31.86	+5
1784	FIRST FLOOR FRONT LIVING ROOM	4" X 2" stone or marble cross	Replace	1	\$19.99	\$ 19.99	6.25%	\$ 1.25	\$ 21.24	+5
1785	FIRST FLOOR FRONT LIVING ROOM	10" tall Willow Tree ceramic figurine, The Hero	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$ 31.86	+new
1786	FIRST FLOOR FRONT LIVING ROOM	6-1/2" tall porcelain statue or figurine	Replace	2	\$9.99	\$ 19.98	6.25%	\$ 1.25	\$ 21.23	+5

1787	FIRST FLOOR FRONT LIVING ROOM	Small Christmas ornament	Panlaga	3	\$9.99 \$	20.07	6.25%	• 4	87 \$	31.84	+5
	FIRST FLOOR FRONT LIVING ROOM		Replace	1	\$29.99 \$		6.25%		87 \$		NEW
1788	FIRST FLOOR FRONT	Willow Tree Angel of Hope figurine, ceramic, new in box Small portable speaker with AM/FM radio from GPX, Model	Replace	·							
1789	LIVING ROOM FIRST FLOOR FRONT	R602B	Replace	1	\$29.99 \$	29.99	6.25%		87 \$		+5
1790	LIVING ROOM FIRST FLOOR FRONT	Solid steel metal hanging wall décor, American flag, 22" X 13-1/2"	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.	87 \$	31.86	+5
1791	LIVING ROOM FIRST FLOOR FRONT	16" long hanging ornament tassel, Asian or Oriental Large cast iron framed and solid wood storage desktop sewing machine, antique, from Singer, Model G22824, with five storage	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.	25 \$	21.24	+5
1792	LIVING ROOM	drawers, Photo 8659, 8660, 8661	Replace	1	\$459.00 \$	459.00	6.25%	\$ 28.	69 \$	487.69	+5
1793	FIRST FLOOR FRONT LIVING ROOM	10" long tapered candle	Replace	10	\$1.99 \$	19.90	6.25%	\$ 1.	24 \$	21.14	+5
1794	FIRST FLOOR FRONT LIVING ROOM	Allowance-various sewing supplies such as scissors, needles, thread, rulers, pins, etc., Photo 8662	Replace	1	\$50.00 \$	50.00	6.25%	\$ 3.	13 \$	53.13	+5
1795	FIRST FLOOR FRONT LIVING ROOM	Small silver teaspoon, collectible	Replace	3	\$9.99 \$	29.97	6.25%	\$ 1.	87 \$	31.84	+5
1796	FIRST FLOOR FRONT LIVING ROOM	7" tall ceramic statue	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.	25 \$	21.23	+5
1797	FIRST FLOOR FRONT LIVING ROOM	Personalized memorial solid wood walking cane, Photo 8663, hand carved and painted	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.	50 \$	42.49	+5
1798	FIRST FLOOR FRONT LIVING ROOM	19-1/2" tall X 13" wide plastic framed oval hanging wall mirror	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.	00 \$	84.99	+5
1799	FIRST FLOOR FRONT LIVING ROOM	Vinyl pull down window shade	Replace	5	\$39.99 \$	199.95	6.25%	\$ 12.	50 \$	212.45	+5
1800	FIRST FLOOR FRONT LIVING ROOM	Large floor standing solid wood grandfather clock, 76" tall X 19-1/4" long X 11" deep, Photo 8664	Replace	1	\$259.99 \$	259.99	6.25%	\$ 16.	25 \$	276.24	+5
1801	FIRST FLOOR FRONT LIVING ROOM	4' X 2' carpet runner, Photo 8665	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.	87 \$	31.86	+5
1802	FIRST FLOOR FRONT LIVING ROOM	24" tall metal wire plant stand	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.	87 \$	31.86	+5
1803	FIRST FLOOR FRONT LIVING ROOM	10" diameter clay plant plate or tray (things you put plant pot inside of)	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.	37 \$	6.36	+5
1804	FIRST FLOOR FRONT LIVING ROOM	Large wicker basket	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.	87 \$	31.86	+5
1805	FIRST FLOOR FRONT LIVING ROOM	3' tall ceramic or clay statue, Photo 8666	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.	62 \$	10.61	+5
1806	FIRST FLOOR FRONT LIVING ROOM	Large plastic laundry basket	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.	94 \$	15.93	+5
1807	FIRST FLOOR FRONT LIVING ROOM	Men's ski boots from Atomic, Hawx 95S Ultra, Photo 8667	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.	25 \$	106.24	1 year
1808	FIRST FLOOR FRONT LIVING ROOM	Men's canvas snowboard boots from ThirtyTwo, no shoelaces, they have a ratcheting tightening system, Photo 8668	Replace	1	\$189.99 \$	189.99	6.25%	\$ 11.	87 \$	201.86	4 years
1809	FIRST FLOOR FRONT LIVING ROOM	Women's canvas low top sneakers, boat shoe style, from companies like Sperry's	Replace	4	\$69.00 \$	276.00	6.25%	\$ 17.	25 \$	293.25	1 year
1810	FIRST FLOOR FRONT LIVING ROOM	Women's sandals from Crocs	Replace	3	\$39.99 \$	119.97	6.25%	\$ 7.	50 \$	127.47	2 years old
1811	FIRST FLOOR FRONT LIVING ROOM	Women's flip flops from Old Navy	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.	00 \$	84.96	+5
1812	FIRST FLOOR FRONT LIVING ROOM	Women's running shoes from Nike	Replace	2	\$99.99 \$	199.98	6.25%	\$ 12.	50 \$	212.48	+5
1813	FIRST FLOOR FRONT LIVING ROOM	Women's rubber rain boots	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.	50 \$	42.49	+5

	FIRST FLOOR FRONT									
1814	LIVING ROOM FIRST FLOOR FRONT	Women's leather strap back sandals	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11	+5
1815	LIVING ROOM	Women's flats	Replace	3	\$39.99 \$	119.97	6.25%	\$ 7.50	\$ 127.47	+5
1816	FIRST FLOOR FRONT LIVING ROOM	Large pop out umbrella	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+5
1817	FIRST FLOOR FRONT LIVING ROOM	Women's rubber rain boots	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	+5
1818	FIRST FLOOR FRONT LIVING ROOM	Men's motorcycle or dirt bike helmet from Fox, Model V1(ST-1585) with canvas carry bag, Photo 8670, 8671	Replace	1	\$169.95 \$	169.95	6.25%	\$ 10.62	\$ 180.57	6 months
1819	FIRST FLOOR FRONT LIVING ROOM	Motorcycle goggles from Fox, Photo 8671	Replace	1	\$37.99 \$	37.99	6.25%	\$ 2.37	\$ 40.36	6 months
1820	FIRST FLOOR FRONT LIVING ROOM	12" X 9" metal picture frame	Replace	4	\$24.99 \$	99.96	6.25%	\$ 6.25	\$ 106.21	+5
1821	FIRST FLOOR FRONT LIVING ROOM	12" X 9" wooden picture frame	Replace	6	\$24.99 \$	149.94	6.25%	\$ 9.37	\$ 159.31	+5
1822	FIRST FLOOR FRONT LIVING ROOM	5" X 3" metal picture frame	Replace	4	\$4.99 \$	19.96	6.25%	\$ 1.25	\$ 21.21	+5
1823		Large solid wood piano with solid wood storage bench made by Wurlitzer, Photo 8672, 8673	Replace	1	\$74.99 \$	74.99	6.25%	\$ 4.69	\$ 79.68	+5
1824	FIRST FLOOR FRONT LIVING ROOM	Sheet music book	Replace	11	\$29.99 \$	329.89	6.25%	\$ 20.62	\$ 350.51	+5
1825		60 piece variety pack of Tupperware from Rubbermaid, new in box, Photo 8674	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11	NEW
1826	FIRST FLOOR FRONT LIVING ROOM	1-1/2" 3-ring binder	Replace	2	\$8.99 \$	17.98	6.25%	\$ 1.12	\$ 19.10	+5
1827	FIRST FLOOR FRONT LIVING ROOM	Texas Hold 'Em poker set, includes chips, 2 decks of cards, and metal briefcase storage/carry box - large set, Photo 8675	Replace	1	\$64.99 \$	64.99	6.25%	\$ 4.06	\$ 69.05	+5
1828	FIRST FLOOR FRONT LIVING ROOM	Flickering light wall hanging canvas from Radiance Lighted Canvas, 12" X 12", new	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	NEW
1829	FIRST FLOOR FRONT LIVING ROOM	12' outdoor heavy duty extension cord	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.50	\$ 8.49	+5
1830	FIRST FLOOR FRONT LIVING ROOM	Soft cover book	Replace	9	\$9.99 \$	89.91	6.25%	\$ 5.62	\$ 95.53	+5
1831	FIRST FLOOR FRONT LIVING ROOM	DVD recorder VCR from Magnavox, Model MWR 20V6	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.24	+5
1832	FIRST FLOOR FRONT LIVING ROOM	14" X 12" wooden picture frame with wall print, double mat	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.73	+5
1833	FIRST FLOOR FRONT LIVING ROOM	30" X 25" plastic hanging wall mirror	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	+5
1834		18" long X 4-1/2" wide metal wire votive or tapered candle holder with mirrored back and glass lamp shade, Photo 8676	Replace	1	\$37.99 \$	37.99	6.25%	\$ 2.37	\$ 40.36	+5
1835	FIRST FLOOR FRONT LIVING ROOM	Solid wood 2 door 7 shelf storage hutch, measures 6' tall X 29" wide X 2' deep, Photo 8677, 8678, 8679	Replace	1	\$489.99 \$	489.99	6.25%	\$ 30.62	\$ 520.61	+5
1836	FIRST FLOOR FRONT LIVING ROOM	Movie projector from Polaroid, Model XGA338, Photo 8681	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	+5
1837	FIRST FLOOR FRONT LIVING ROOM	Small metal curtain rod	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	+5
1838	FIRST FLOOR FRONT LIVING ROOM	24" X 24" quilted tapestry, Photo 8682	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74	+5
1839	FIRST FLOOR FRONT LIVING ROOM	RG6 video cable, 6', new in box, from General Electric	Replace	1	\$4.99 \$	4.99	6.25%	\$ 0.31	\$ 5.30	+5
1840	FIRST FLOOR FRONT LIVING ROOM	DVD	Replace	12	\$24.99 \$	299.88	6.25%	\$ 18.74	\$ 318.62	+5

1841	FIRST FLOOR FRONT LIVING ROOM	Adult DVD	Replace	6	\$29.99 \$	179.94	6.25%	11.25	\$ 191.19		+5
1842	FIRST FLOOR FRONT LIVING ROOM	12" X 9" personalized metal photo frame with double mat print	Replace	1	\$24.99 \$	24.99	6.25%	1.56	\$ 26.55	ı	+5
1843	FIRST FLOOR FRONT LIVING ROOM	Framed military valor medal award, Photo 8683	Replace	1	\$200.00 \$	200.00	6.25%	12.50	\$ 212.50	1	+5
1844	FIRST FLOOR FRONT LIVING ROOM	Assorted patch to be put on clothes, hats, bags, etc.	Replace	6	\$2.99 \$	17.94	6.25%	1.12	\$ 19.06		+5
1845	FIRST FLOOR FRONT LIVING ROOM	Panasonic Blu-ray disc player, Model DMP-BDT220	Replace	1	\$79.99 \$	79.99	6.25%	5.00	\$ 84.99		+5
1846	FIRST FLOOR FRONT LIVING ROOM	6 outlet surge protector	Replace	2	\$14.99 \$	29.98	6.25%	1.87	\$ 31.85	;	+5
1847	FIRST FLOOR FRONT LIVING ROOM	AV surround receiver from Denon, Model AVR-1513, Photo 8684	Replace	1	\$699.99 \$	699.99	6.25%	\$ 43.7 5	\$ 743.74	https://www.bestbuy.com/site /denon-avr-s960h-8k-ultra-hd- 7-2-channel-90-watt-x-7-av- receiver-2020-model-built-for- gaming-music-streaming- black/6423488.p?skuld=6423	+5
1848	FIRST FLOOR FRONT LIVING ROOM	DVD, Photo 8678, 8679	Replace	102	\$24.99 \$	2,548.98	6.25%	159.31	\$ 2,708.29		+5
1849	FIRST FLOOR FRONT LIVING ROOM	Music CD, Photo 8678, 8679	Replace	219	\$17.99 \$		6.25%				+5
1850	FIRST FLOOR FRONT LIVING ROOM	VHS movie tape	Replace	13	\$9.99 \$	129.87	6.25%				+5
	FIRST FLOOR FRONT	·									
1851	LIVING ROOM FIRST FLOOR FRONT	Music cassette tape	Replace	2	\$7.99 \$	15.98	6.25%				+5
1852	FIRST FLOOR FRONT	50 pack of DVD-R recordable disc from Nexxtech Music record player from JVC, fully automatic direct drive system,	Replace	1	\$23.99 \$	23.99	6.25%				+5
1853	LIVING ROOM FIRST FLOOR FRONT	Model L-F41, Photo 8685	Replace	1	\$149.99 \$	149.99	6.25%				+5
1854	LIVING ROOM FIRST FLOOR FRONT	9" tall mosaic glass Christmas statue	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$ 42.48	ı	+5
1855	LIVING ROOM FIRST FLOOR FRONT	Component video audio cables, 6' long, from General Electric	Replace	12	\$29.99 \$	359.88	6.25%	22.49	\$ 382.37	•	+5
1856	LIVING ROOM FIRST FLOOR FRONT	Blu-ray disc	Replace	3	\$24.99 \$	74.97	6.25%	\$ 4.69	\$ 79.66	;	+5
1857	LIVING ROOM	14" X 12" wooden picture frame	Replace	2	\$29.99 \$	59.98	6.25%	3.75	\$ 63.73	ı	+5
1858	FIRST FLOOR FRONT LIVING ROOM	1 subject notebook	Replace	4	\$1.99 \$	7.96	6.25%	0.50	\$ 8.46		+5
1859	LIVING ROOM	Wireless over the ear stereo headphones from Dvent, 900 Mhz, Model AW770	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4.37	\$ 74.36	i .	+5
1860	FIRST FLOOR FRONT LIVING ROOM	Memorial DVD for son	Replace	8	\$49.99 \$	399.92	6.25%	25.00	\$ 424.92		+5
1861	FIRST FLOOR FRONT LIVING ROOM	8" tall X 6" long glass dish with lid, in the shape of a rooster	Replace	1	\$14.99 \$	14.99	6.25%	0.94	\$ 15.93		+5
1862	FIRST FLOOR FRONT LIVING ROOM	Ceramic appetizer plates from Bia with 2 matching mugs	Replace	2	\$9.99 \$	19.98	6.25%	1.25	\$ 21.23	1	+5
1863	FIRST FLOOR FRONT LIVING ROOM	2 pack holiday canister with lids, new	Replace	1	\$1.50 \$	1.50	6.25%	\$ 0.09	\$ 1.59	•	NEW
1864	FIRST FLOOR FRONT LIVING ROOM	Music record Solid wood upholstered removable cushion rocking chair from	Replace	21	\$19.99 \$	419.79	6.25%	\$ 26.24	\$ 446.03		+5
1865	FIRST FLOOR FRONT LIVING ROOM	Dutailier, with small ottoman; rocking chair has a locking mechanism, Photo 8688, 8689	Replace	1	\$459.99 \$	459.99	6.25%	28.75	\$ 488.74	ı	+5
1866	FIRST FLOOR FRONT LIVING ROOM	4" Christmas statue	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	\$ 42.46		+5

1867	FIRST FLOOR FRONT LIVING ROOM	8 piece set of glass coasters with caddy	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50 \$	42.49		+5
1868	FIRST FLOOR FRONT LIVING ROOM	9.7 ounce jar candle from WW Trilogy	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94 \$	15.93	nups://www.pestpuy.com/site	+5
										/c p h	definitive-technology- rrocinema-6d-5-1-channel- iome-theater-speaker- system-gloss-	
1869	FIRST FLOOR FRONT LIVING ROOM	6 speaker surround sound set from Boston, includes 4 satellite speakers, 1 center speaker, 1 subwoofer, Model NCS160, Photo 8690 through 8695	Replace	1	\$899.99 \$	899.99	6.25%	\$ 5	6.25 \$	b	lack/6338678.p?skuld=6338 i78&ref=212&loc=1&extStor	+5
1870	FIRST FLOOR FRONT LIVING ROOM	Xfinity cable box, Model XG2V2-P	Replace	1	\$99.99 \$	99.99	6.25%	\$	5.25 \$	106.24		NEW
1871	FIRST FLOOR FRONT LIVING ROOM	Amazon Firestick, Model E9L29Y	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86		1 year
1872	FIRST FLOOR FRONT LIVING ROOM	50" flat screen LED TV from Toshiba, Model 50L1400U, Photo 8696, 8697, 8698	Replace	1	\$429.99 \$	429.99	6.25%	\$ 2	5.87 \$	456.86		+5
1873	FIRST FLOOR FRONT LIVING ROOM	Solid wood 2 door 2 shelf storage accent table / media unit, 2' tall X 34" long X 2' deep, Photo 8699	Replace	1	\$429.99 \$	429.99	6.25%	\$ 2	5.87 \$	456.86		+5
1874	FIRST FLOOR FRONT LIVING ROOM	Cordless electric massager, Mighty Bliss, Item MB-201, Photo 8700	Replace	1	\$69.99 \$	69.99	6.25%	\$	1.37 \$	74.36		+5
1875	FIRST FLOOR FRONT LIVING ROOM	Cricut Easy Press 2, Model CHP180B2 with large canvas carry case with foam pad, Photo 8701	Replace	1	\$199.00 \$	199.00	6.25%	\$ 1	2.44 \$	211.44		6 months
1876	FIRST FLOOR FRONT LIVING ROOM	VHS movie tape, Photo 8699	Replace	172	\$9.99 \$	1,718.28	6.25%	\$ 10	7.39 \$	1,825.67		+5
1877	FIRST FLOOR FRONT LIVING ROOM	Video game remote control toy gun, not sure what console	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86		+5
1878	FIRST FLOOR FRONT LIVING ROOM	Wired game control, Start Power Player	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86		+5
1879	FIRST FLOOR FRONT LIVING ROOM	Small game board	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86		+5
1880	FIRST FLOOR FRONT LIVING ROOM	Ball of yarn	Replace	4	\$3.99 \$	15.96	6.25%	\$	1.00 \$	16.96		+5
1881	FIRST FLOOR FRONT LIVING ROOM	Package of card stock paper, 50 sheets, 8-1/2" X 11"	Replace	3	\$13.99 \$	41.97	6.25%	\$	2.62 \$	44.59		1 year
1882	FIRST FLOOR FRONT LIVING ROOM	64 pack of Crayola crayons	Replace	1	\$2.99 \$	2.99	6.25%	\$	0.19 \$	3.18		1 year
1883	FIRST FLOOR FRONT LIVING ROOM	30 count package of Crayola Twistables colored pencils	Replace	1	\$6.99 \$	6.99	6.25%	\$	0.44 \$	7.43		3 years
1884	FIRST FLOOR FRONT LIVING ROOM	9" X 9" shadow box, solid wood, new, from Studio Décor	Replace	2	\$19.99 \$	39.98	6.25%	\$	2.50 \$	42.48		NEW
1885	FIRST FLOOR FRONT LIVING ROOM	12" X 12" Cricut cutting board, light grip	Replace	1	\$8.99 \$	8.99	6.25%	\$	0.56 \$	9.55		1 year
1886	FIRST FLOOR FRONT LIVING ROOM	Soft cover book	Replace	6	\$9.99 \$	59.94	6.25%	\$	3.75 \$	63.69		+5
1887	FIRST FLOOR FRONT LIVING ROOM	Cricut heavy clipboard, 2.0 mm, 5 11" X 11" boards in package	Replace	2	\$8.99 \$	17.98	6.25%	\$	1.12 \$	19.10		NEW
1888	FIRST FLOOR FRONT LIVING ROOM	12" X 12" Cricut cutting board, light grip	Replace	2	\$8.99 \$	17.98	6.25%	\$	1.12 \$	19.10		1 year
1889	FIRST FLOOR FRONT LIVING ROOM	Package of Cricut clear acetate sheet	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62 \$	10.61		1 year
1890	FIRST FLOOR FRONT LIVING ROOM	6 outlet surge protector	Replace	2	\$14.99 \$	29.98	6.25%	\$	1.87 \$	31.85		5+
1891	FIRST FLOOR FRONT LIVING ROOM	Outlet adapter, 3 way splitter	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62 \$	10.61		+5
1892	FIRST FLOOR FRONT LIVING ROOM	Cricut Maker ultimate smart cutting machine, new in box, Photo 8702	Replace	1	\$329.99 \$	329.99	6.25%	\$ 2	0.62 \$	350.61		NEW

1893	FIRST FLOOR FRONT LIVING ROOM	8 ounce bottle of Aleene's original tacky glue	Replace	2	\$3.99 \$	7.98	6.25%	\$ 0.50	\$ 8.4	48	1year
1894	FIRST FLOOR FRONT LIVING ROOM	Upholstered swivel rocking chair / accent arm chair, Photo 8703	Replace	1	\$399.99 \$	399.99	6.25%	\$ 25.00	\$ 424.9	99	+5
1895	FIRST FLOOR FRONT LIVING ROOM	Medium throw pillow	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.8	36	+5
1896	FIRST FLOOR FRONT LIVING ROOM	Large crochet needles	Replace	6	\$4.99 \$	29.94	6.25%	\$ 1.87	\$ 31.8	31	+5
1897	FIRST FLOOR FRONT LIVING ROOM	6 piece set of crochet hooks	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.6	51	+5
1898	FIRST FLOOR FRONT LIVING ROOM	Ball of yarn	Replace	8	\$3.99 \$	31.92	6.25%	\$ 2.00	\$ 33.9	92	+5
1899	FIRST FLOOR FRONT LIVING ROOM	Large canvas reusable tote bag	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.00	\$ 84.9	98	+5
1900	FIRST FLOOR FRONT LIVING ROOM	Heavy throw blanket	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.8	36	+5
1901	FIRST FLOOR FRONT LIVING ROOM	Cotton oven mitten	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.2	23	+5
1902	FIRST FLOOR FRONT LIVING ROOM	4" diameter metal desk fan from Westpoint, Model 1002WP	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.2	24	+5
1903	FIRST FLOOR FRONT LIVING ROOM	Wood and leather manual powered fireplace blower, Photo 8704	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.9	99	+5
1904	FIRST FLOOR FRONT LIVING ROOM	$25^{\rm m}$ tall X 8" diameter ceramic beer stein, hand crafted and hand painted, Photo 8705, 8706	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.9	99	+5
1905	FIRST FLOOR FRONT LIVING ROOM	Large cast iron tea kettle	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.	11	+5
1906	FIRST FLOOR FRONT LIVING ROOM	9" tall ceramic beer stein with metal attached lid	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.	11	+5
1907	FIRST FLOOR FRONT LIVING ROOM	11" tall ceramic beer mug with metal attached flip top lid	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.7	74	+5
1908	FIRST FLOOR FRONT LIVING ROOM	Fisher Price Rainforest Melodies and Lights Deluxe gym, battery powered, Photo 8707	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.	11	+5
1909	FIRST FLOOR FRONT LIVING ROOM	Medium stuffed animal	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.2	24	+5
1910	FIRST FLOOR FRONT LIVING ROOM	Baby quilted book	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.50	\$ 8.4	19	1 year
1911	FIRST FLOOR FRONT LIVING ROOM	Baby's teething toy	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0.75	\$ 12.7	73	1 year
1912	FIRST FLOOR FRONT LIVING ROOM	Baby's rattle	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.6	51	1 year
1913	FIRST FLOOR FRONT LIVING ROOM	Small baby toy	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	\$ 42.4		1 year
	FIRST EL OOR ERONT	Large 2 tier 2 door solid wood cocktail table, 1 door on either side, storage cocktail table, 18" tall X 64" long X 23" wide, Photo								https://colemanfurniture.com/ black-cocktail- table.htm?utm_source=googl e&utm_medium=organic&utm _campaign=surfaces-across- google&utm_term=SND-	
1914	LIVING ROOM	8708	Replace	1	\$1,025.00 \$	1,025.00	6.25%	\$ 64.06	\$ 1,089.0	google&utm_term=SND- 06 3261B-C	+5
1915	LIVING ROOM	Package of women's replacement razor cartridges for Gillette Venus, 6 count	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.2	24	1 year
1916	FIRST FLOOR FRONT LIVING ROOM	Folding pocket knife, 3" blade, from National Park	Replace	1	\$22.99 \$	22.99	6.25%	\$ 1.44	\$ 24.4	13	+5
1917		7" X 5" ceramic tray	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.2	24	+5
1918	FIRST FLOOR FRONT LIVING ROOM	32 GB SanDisk Ultra USB 3.0	Replace	1	\$16.99 \$	16.99	6.25%	\$ 1.06	\$ 18.0	05	+5

1919	FIRST FLOOR FRONT LIVING ROOM	16 GB SanDisk SD HC card	Replace	1	\$13.99 \$	13.99	6.25%	\$ 0.87	\$ 14.86	+5	
1920	FIRST FLOOR FRONT LIVING ROOM	6' X 14" linen and lace table runner	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+5	
1921	FIRST FLOOR FRONT LIVING ROOM	14" tall X 6" diameter glass flower vase	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+5	
1922	FIRST FLOOR FRONT LIVING ROOM	8" tall stuffed animal Christmas statue	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.23	+5	
1923		16" X 12" wooden picture frame with double mat wall print, Christmas décor	Replace	1	\$34.99 \$	34.99	6.25%	\$ 2.19	\$ 37.18	+5	
1924	FIRST FLOOR FRONT LIVING ROOM	5" X 7" wooden picture frame	Replace	2	\$14.99 \$	29.98	6.25%	\$ 1.87	\$ 31.85	+5	
1925	FIRST FLOOR FRONT LIVING ROOM	3" deep X 6" diameter crystal bowl	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+5	
1926	FIRST FLOOR FRONT LIVING ROOM	10" diameter X 4" deep wooden Christmas bowl, hand painted	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55	+5	
1927	FIRST FLOOR FRONT LIVING ROOM	6' X 30" carpet, Photo 8710	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50	\$ 212.49	+5	
1928	FIRST FLOOR FRONT LIVING ROOM	12" tall X 8" diameter crystal flower vase, Photo 8711	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	+5	
1929	FIRST FLOOR FRONT LIVING ROOM	Large bouquet of faux flowers	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74	+5	
1930	FIRST FLOOR FRONT LIVING ROOM	10" tall ceramic flower vase	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	+5	
1931		24" tall metal standing desk lamp with lamp shade, Photo 8712, 8713	Replace	2	\$79.99 \$	159.98	6.25%	\$ 10.00	\$ 169.98	+5	
1932		Large 1 door solid wood storage accent table, 24" X 24" X 24", Photo 8712, 8713, 8714, 8715, has two shelves	Replace	2	\$429.99 \$	859.98	6.25%	\$ 53.75	\$ 913.73	+5	
1933	FIRST FLOOR FRONT LIVING ROOM	Shoebox sized tin storage box	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	\$ 15.93	+5	
1934	FIRST FLOOR FRONT LIVING ROOM	Magnetic memo pad with 50 sheets from Legacy	Replace	4	\$3.99 \$	15.96	6.25%	\$ 1.00	\$ 16.96	+5	
1935	FIRST FLOOR FRONT LIVING ROOM	5" X 7" wooden picture frame	Replace	8	\$14.99 \$	119.92	6.25%	\$ 7.50	\$ 127.42	+5	
1936	FIRST FLOOR FRONT LIVING ROOM	5" X 7" metal picture frame	Replace	3	\$14.99 \$	44.97	6.25%	\$ 2.81	\$ 47.78	+5	
1937	FIRST FLOOR FRONT LIVING ROOM	12" X 9" wooden picture frame	Replace	2	\$24.99 \$	49.98	6.25%	\$ 3.12	\$ 53.10	+5	
1938	FIRST FLOOR FRONT LIVING ROOM	12" X 9" metal picture frame	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55	+5	
1939	FIRST FLOOR FRONT LIVING ROOM	7 piece assorted size votive candle set	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+5	
1940		12" long wooden handheld massager, Photo 8716	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+5	
1941		Children's hard cover book	Replace	48	\$9.99 \$	479.52	6.25%	\$ 29.97	\$ 509.49	+5	
1942	FIRST FLOOR FRONT LIVING ROOM	Children's soft cover book	Replace	11	\$79.90 \$	878.90	6.25%	\$ 54.93	\$ 933.83	+5	
1943		Large hard cover reference book, Photo 8714	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	+5	
1944	FIRST FLOOR FRONT LIVING ROOM	10" tall candle, 3" diameter	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55	+5	
1945	FIRST FLOOR FRONT LIVING ROOM	VHS movie tape	Replace	29	\$9.99 \$	289.71	6.25%	\$ 18.11	\$ 307.82	+5	

1946	FIRST FLOOR FRONT LIVING ROOM	Ceramic tea light candle wax melter	Replace	1	\$15.99 \$	15.99	6.25%	\$ 1.00	\$ 16.99		+5
1947	FIRST FLOOR FRONT LIVING ROOM	6" tall X 3" diameter votive candle	Replace	2	\$14.99 \$	29.98	6.25%	\$ 1.87	\$ 31.85		+5
1948	FIRST FLOOR FRONT LIVING ROOM	Disney VHS movie tape	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.00	\$ 84.96		+5
1949	FIRST FLOOR FRONT LIVING ROOM	10" X 4" personalized desk plaque for a wedding anniversary	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55		+5
1950	FIRST FLOOR FRONT LIVING ROOM	Personalized standing glass and steel desk clock from Danbury by Things Remembered	Replace	1	\$80.00 \$	80.00	6.25%	\$ 5.00	\$ 85.00		+5
1951	FIRST FLOOR FRONT LIVING ROOM	Digital photo frame set from Digital Labs, Model K101	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.37	\$ 159.36		+5
1952	FIRST FLOOR FRONT LIVING ROOM	Small electric heating pad	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86		+5
1953	FIRST FLOOR FRONT LIVING ROOM	12" diameter glass mirror from Mirror Image	Replace	1	\$6.99 \$	6.99	6.25%	\$ 0.44	\$ 7.43		+5
1954	FIRST FLOOR FRONT LIVING ROOM	Electric heating pad	Replace	1	\$399.90 \$	399.90	6.25%	\$ 24.99	\$ 424.89		+5
1955	FIRST FLOOR FRONT LIVING ROOM	7" tall crystal single flower vase	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24		+5
1956	FIRST FLOOR FRONT LIVING ROOM	Cordless house phone from Vtech	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86		+5
1957	FIRST FLOOR FRONT LIVING ROOM	6" tall X 6" diameter glass storage jar	Replace	1	\$4.99 \$	4.99	6.25%	\$ 0.31	\$ 5.30		+5
1958	FIRST FLOOR FRONT LIVING ROOM	Women's prescription glasses with hard case carry case	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50	\$ 212.49		+3 years
1959	FIRST FLOOR FRONT LIVING ROOM	HP laptop, Pro Book 5430S, Photo 8717	Replace	1	\$1,675.00 \$	1,675.00	6.25%	\$ 104.69	\$ 1,779.69	https://www.hp.com/us- en/shop/pdp/hp-probook-450- g8-1a890av- mb?jumpid=cs_com_nc_ns&u tm_medium=cs&utm_source= ga&utm_campaign=HP- Store_US_BRA_PS_BPS_Hg M_OPEX_Google_DO_PLA& utm_content=sp&adid=28949 2574138&addisttype=gpla&1 4890AV_MB&cq_src=google ads&cq_cmp=1625806474 &cq_con=58365196255&cq_ term=&cq_med=pla&cq_plac= &cq_cn=58365196255&cq_ term=&cq_med=pla&cq_plac= &cq_cn=fs&cq_plos=&cq_plt= gp&cpld=Cj0KCQjwsqmEBhD iARIsANV8H3aNHem7nii_sQi Tpj4kr- Kxm31wtpTCXFUKjIRsLvZA hhb[_thzrMaAn21EALw_wcB &gclsrc=aw.ds	+5
1960	FIRST FLOOR FRONT LIVING ROOM	Large upholstered sofa, Photo 8718	Replace	1	\$1,999.00 \$	1,999.00	6.25%	\$ 124.94	\$	A&cm_cat=Google&cm_pla= Furniture%20%3E%20Sofas %20%26%20Loveseats®i on_id=658780	4 months
1961	FIRST FLOOR FRONT LIVING ROOM	3' tall teddy bear, Photo 8718	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$ 6.36		+5
1962	FIRST FLOOR FRONT LIVING ROOM	Medium throw pillow	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.73		4months
1963	FIRST FLOOR FRONT LIVING ROOM	XL throw pillow	Replace	6	\$49.99 \$	299.94	6.25%	\$ 18.75	\$ 318.69		4 months

1964	FIRST FLOOR FRONT LIVING ROOM	Memory foam seat cushion, 19" X 19"	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.3	86	+5
1965	FIRST FLOOR FRONT LIVING ROOM	Pressed wood CD case, holds 40 CDs	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.	49	+5
1966	FIRST FLOOR FRONT LIVING ROOM	Antique solid wood upholstered seat and back dining room chair or accent chair, very nice quality, has engraving and nail head, claw foot, Photo 8720	Replace	1	\$249.99 \$	249.99	6.25%	\$ 15.62	\$ 265.	61	+5
1967	FIRST FLOOR FRONT LIVING ROOM	Medium canvas money bag with keyed entry	Replace	1	\$24.99 \$	3 24.99	6.25%	\$ 1.56	\$ 26.	55	+5
1968	FIRST FLOOR FRONT LIVING ROOM	14" diameter appetizer partitioned tray, 5 compartments, ceramic and hand painted	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.	49	+5
1969	FIRST FLOOR FRONT LIVING ROOM	14" diameter X 3" deep ceramic serving bowl	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.	49	+5
1970	FIRST FLOOR FRONT LIVING ROOM	16" X 10" ceramic serving platter from Crown Ming	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.	74	+5
1971	FIRST FLOOR FRONT LIVING ROOM	Large upholstered rocker recliner, Photo 8721	Replace	1	\$399.99 \$	399.99	6.25%	\$ 25.00	\$ 424.	99	+5
1972	FIRST FLOOR FRONT LIVING ROOM	24" X 16" wooden picture frame with wall print, double mat	Replace	2	\$99.99 \$	199.98	6.25%	\$ 12.50	\$ 212.	48	+5
1973	FIRST FLOOR FRONT LIVING ROOM	14" tall ceramic beer stein with ceramic lid, Photo 8722	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.	74	+5
1974	FIRST FLOOR FRONT LIVING ROOM	7" tall X 10" diameter stemmed serving dish, crystal glass	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.	99	+5
1975	FIRST FLOOR FRONT LIVING ROOM	6" X 7" X 3" deep glass serving dish	Replace	1	\$24.99 \$	3 24.99	6.25%	\$ 1.56	\$ 26.	55	+5
1976	FIRST FLOOR FRONT LIVING ROOM	Small ceramic cookie jar or dried good storage jar, hand painted, may be porcelain, made by Seltmann Weiden, 7-1/2" tall X 6" diameter	Replace	1	\$36.99 \$	36.99	6.25%	\$ 2.31	\$ 39.	30	+5
1977	FIRST FLOOR FRONT LIVING ROOM	4" deep X 13" diameter ceramic serving bowl	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.	74	+5
1978	FIRST FLOOR FRONT LIVING ROOM	3" deep X 15" diameter ceramic serving bowl made in Italy by Dipinti Amano Stoviglierie, Photo 8724, 8725	Replace	1	\$149.99	149.99	6.25%	\$ 9.37	\$ 159.	36	+5
1979	FIRST FLOOR FRONT LIVING ROOM	13" diameter ceramic serving plate from companies like Highland Florals Collection Stoneware, Mountain Floral	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.00	\$ 84.	98	+5
1980	FIRST FLOOR FRONT LIVING ROOM	6" X 7" glass serving dish	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.	24	+5
1981	FIRST FLOOR FRONT LIVING ROOM	Hand painted, hand crafted small ceramic barrel with 4 ceramic cups and wooden rack, Photo 8727	Replace	1	\$119.99 \$	119.99	6.25%	\$ 7.50	\$ 127.	49	+5
1982	FIRST FLOOR FRONT LIVING ROOM	Bag of polyfill snow cover, 16 ounces	Replace	8	\$2.97 \$	23.76	6.25%	\$ 1.49	\$ 25.	25	+5
1983	FIRST FLOOR FRONT LIVING ROOM	XL Christmas gift bag	Replace	4	\$7.99 \$	31.96	6.25%	\$ 2.00	\$ 333	96	+5
1984	FIRST FLOOR FRONT LIVING ROOM	Large Christmas gift bag	Replace	6	\$5.99 \$	35.94	6.25%	\$ 2.25	\$ 38.	19	+5
1985	FIRST FLOOR FRONT LIVING ROOM	Medium Christmas gift bag	Replace	22	\$3.99 \$	87.78	6.25%	\$ 5.49	\$ 93.	27	+5
1986	FIRST FLOOR FRONT LIVING ROOM	Small Christmas gift bag	Replace	35	\$1.99 \$	69.65	6.25%	\$ 4.35	\$ 74.	00	+5
1987	FIRST FLOOR FRONT LIVING ROOM	Allowance-various Christmas decorations such as wicker storage baskets, glass jars, metal wire baskets, faux Christmas wreaths, wall décor, faux Christmas tree 3', etc., Photo 8728, 8729, 8730	Replace	1	\$300.00 \$	300.00	6.25%	\$ 18.75	\$ 318.	75	+5
1988	FIRST FLOOR FRONT LIVING ROOM	3' X 2' wooden beveled picture frame	Replace	1	\$179.99 \$	179.99	6.25%	\$ 11.25	\$ 191.	24	+5
1989	FIRST FLOOR FRONT LIVING ROOM	Steam Fast electric mop, Photo 8731	Replace	1	\$149.99	149.99	6.25%	\$ 9.37	\$ 159.	36	+5
1990	FIRST FLOOR FRONT LIVING ROOM	10 pound fire extinguisher from Badger	Replace	1	\$121.99 \$	121.99	6.25%	\$ 7.62	\$ 129.	61	+5

1991	FIRST FLOOR FRONT LIVING ROOM	18" X 10" wooden mirror with small framed wall print, Photo 8732	Replace	2	\$79.99 \$	159.98	6.25%	\$ 10.00	\$ 169.98	+5
1992	FIRST FLOOR FRONT LIVING ROOM	24" X 14" wooden picture frame with double mat wall print, Photo 8733	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.24	+5
1993	FIRST FLOOR FRONT LIVING ROOM	24" X 10" hanging wall plaque, solid wood, hand painted, Photo 8734	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	+5
1994	FIRST FLOOR FRONT LIVING ROOM	Music record, Photo 8735	Replace	79	\$19.99 \$	1,579.21	6.25%	\$ 98.70	\$ 1,677.91	+5
1995	FIRST FLOOR FRONT LIVING ROOM	Stereo remote speaker switch from Realistic, Cat. 40-125A	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	\$ 15.93	+5
1996	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Baby's stationary floor standing large plastic jumper from Fisher Price, Photo 8747	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.24	+5
1997		Plastic and metal folding chair, new, from Lifetime, Model 80281, Photo 8748	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	NEW
1998	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Five piece tapered in size wooden storage box set, Photo 8749	Replace	1	\$137.99 \$	137.99	6.25%	\$ 8.62	\$ 146.61	+5
1999	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	30" long bouquet of faux flowers	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74	+5
2000		3' X 30" plastic photo frame with wall print, double mat, by Charles C. Curran, Photo 8750	Replace	1	\$139.99 \$	139.99	6.25%	\$ 8.75	\$ 148.74	+5
2001	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Medium canvas reusable tote bag	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.73	+5
2002	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	24 pack of bottled water from Signature Select	Replace	1	\$3.99 \$	3.99	6.25%	\$ 0.25	\$ 4.24	6 months
2003	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	30" X 25" oval or oblong wooden hanging wall mirror, Photo 8751	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.24	+5
2004	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Buzz Lightyear Mickey Mouse hat from Disney	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	2 years old
2005	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Small faux plant with ceramic pot	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	\$ 15.93	+5
2006	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	22 ounce Yankee Candle jar candle	Replace	4	\$29.50 \$	118.00	6.25%	\$ 7.38	\$ 125.38	+5
2007	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	3.7 ounce Yankee Candle jar candle	Replace	4	\$11.00 \$	44.00	6.25%	\$ 2.75	\$ 46.75	+5
2008	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	First Alert battery powered smoke detector	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	+5
2009	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	11" tall X 7" diameter porcelain vase, hand painted	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	+5
2010	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	4" tall X 3-1/2" diameter crystal votive candle holder	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	+5
2011	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	10" tall metal standing desk lamp with mosaic glass lamp shade, Photo 8752	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	+5
2012		14" tall metal standing desk lamp with mosaic glass lamp shade, Photo 8753	Replace	1	\$124.99 \$	124.99	6.25%	\$ 7.81	\$ 132.80	+5

2013	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Large faux pumpkin	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.2	4 +5
2014	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" diameter porcelain china plate from Brunswick Germany	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.8	6 +5
2015	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	30" X 20" woven area rug	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.7	3 +5
2016	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Baseball cap	Replace	4	\$29.99 \$	119.96	6.25%	\$ 7.50	\$ 127.4	6 +5
2017	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	30" tall X 20" diameter wooden accent table, Photo 8752, 8756	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.00	\$ 84.9	8 +5
2018	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	14" tall X 8" diameter glass flower vase	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.2	4 +5
2019	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Large bouquet of faux flowers with flower pot	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.7	4 +5
2020	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Miniature porcelain tea pot	Replace	1	\$1.99 \$	1.99	6.25%	\$ 0.12	\$ 2.1	1 +5
2021	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Metal tea light candle lantern, 9" tall	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.5	5 +5
2022	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	6" diameter wicker woven wreath	Replace	2	\$14.99 \$	29.98	6.25%	\$ 1.87	\$ 31.8	5 +5
2023	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	24" X 16" beveled wooden picture frame with double mat wall print	Replace	1	\$109.99 \$	109.99	6.25%	\$ 6.87	\$ 116.8	6 +5
2024	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	24" long X 12" high metal wire wall décor with faux flowers, Photo	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4.37	\$ 74.3	6 +5
2025	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	16" X 12" beveled wooden picture frame with double mat wall print, Photo 8758	Replace	2	\$49.99 \$	99.98	6.25%	\$ 6.25	\$ 106.2	3 +5
2026	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Large metal curtain rod with glass ends, 6' long	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.8	6 +5
2027	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY		Replace	1	\$12.00 \$	12.00	6.25%	\$ 0.75	\$ 12.7	5 NEW
2028	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Metal and opal glass hand painted electric desk lamp, 18" tall, Photo 8759	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.9	9 +5
2029	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12 pack of Canada Dry Ginger Ale	Replace	2	\$3.99 \$	7.98	6.25%	\$ 0.50	\$ 8.4	8 6 months
2030	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Allowance-various dried goods and snacks, Photo 8760, 8761	Replace	1	\$100.00 \$	100.00	6.25%	\$ 6.25	\$ 106.2	5 0-6 months
2031	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	3 piece cake stand, lazy Susan style, with rotating metal base, glass plate, and metal lid, 10" tall X 13" diameter	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.7	4 1 year
2032	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Plastic lazy Susan style cake tray, 7" tall X 13" diameter	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.8	6 2 years old

	FIRST FLOOR MIDDLE										
2033		Small ceramic basket	Replace	1	\$4.99 \$	4.99	6.25%	\$ 0.3	1 \$	5.30	+5
2034	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Scalloped glass serving tray, new	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.50	6 \$	26.55	NEW
2035	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Medium scalloped glass serving tray, new	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.50	6 S	26.55	NEW
	FIRST FLOOR MIDDLE				V			•			
2036		Large scalloped glass serving tray, new	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.50	6 \$	26.55	NEW
2037	LEFT DINING ROOM	Canvas drawstring backpack	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.00	0 \$	84.98	+5
2038	LEFT DINING ROOM	Large floral ceramic serving bowl, 4 piece set, with tray for it to sit on, the serving bowl itself, a serving spoon, and a lid, all ceramic, Photo 8763	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	0 \$	84.99	+5
2039	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	5" tall X 3-1/2" diameter opal glass tapered candle holder	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.79	5 \$	63.73	+5
2040	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	10" tapered candle	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0.79	5 \$	12.73	+5
2041		Garmin GPS, but no model number, 7-1/2" X 4-1/2", comes with flexible neck, suction cup stand, Photo 8764	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	2 \$	138.11	+5
2042	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Magellan Road Mate 700, digital GPS, with suction cup car mount, Photo 8765	Replace	1	\$229.99 \$	229.99	6.25%	\$ 14.3	7 \$	244.36	+5
2043	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	CD/TV boom box, 5", black and white TV, compact disc player, AM/FM radio from GPX, Model TVP75, new in box	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.79	5 \$	63.74	NEW
2044	LEFT DINING ROOM	Deluxe stainless serviceware for 8 from Oneida with wooden storage box, fleece lined, large forks, small forks, large spoons, small spoons, butter knives, serving spoons (2), Photo 8767	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	2 \$	138.11	+5
2045	LEFT DINING ROOM	Serviceware for 8 - silverware from Oneida, anti-tarnish includes large spoons, small spoons, large forks, small forks, butter knives, serving fork and serving spoon, spreader, Photo 8769	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	0 \$	84.99	+5
2046		8" chef's knife from HSI, surgical stainless steel - half of the blade is serrated, half is straight edge, new in package	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	0 \$	42.49	+5
2047		660 count of Berkley Jensen premium luncheon 2 ply napkins, 13" X 13"	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.50	0 \$	8.49	+2 years
2048	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Blueprints to the house, Photo 8770	Replace	1	\$300.00 \$	300.00	6.25%	\$ 18.79	5 \$	318.75	+5
2049	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	3' long X 12" metal wire hanging wall plate rack, Photo 8771	Replace	2	\$32.99 \$	65.98	6.25%	\$ 4.12	2 \$	70.10	+5
2050	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Porcelain hand painted dinner plate made in China	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.29	5 \$	21.23	+5
2051	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	52" X 70" vinyl tablecloth	Replace	5	\$29.99 \$	149.95	6.25%	\$ 9.3	7 \$	159.32	+5
2052	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	4' table runner	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	2 \$	53.11	+5

FIRST FLOOR MIDDLE	
LEFT DINING ROOM	

2053	LEFT DINING ROOM AND HALLWAY	Small adult battery powered massage toy	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	7 \$	31.86		+5
											https://www.dutchcrafters.co m/Amish-Bradford-Solid- Wood-China- Cabinet/p/1056?so=1&utm_s ource=google&utm_medium= organic_shopping&utm_term= 1056&utm_content=739&utm _campaign=Amish%20Bradfo	
2054	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Large solid wood high quality china hutch with 4 doors and 1 drawer, Photo 8772, 8773, 78" tall X 52" long X 18" deep	Replace	1	\$3,105.00 \$	3,105.00	6.25%	\$ 194.06	5 \$	3,299.06	rd%20Solid%20Wood%20Ch ina%20Cabinet%20- %20Lifetime%20Warranty	+5
2055	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Porcelain china set, dinnerware for 8 includes 8 large dinner plates, 1 large oval serving platter, 1 large tea pot, 1 sugar holder with lid, 1 cream holder, 8 tea cups, 8 tea plates, 8 appetizer or dessert plates, 8 soup bowls, made by Crown Ming fine china Christina, made in China, Photo 8774, 8775	Replace	1	\$429.99 \$	429.99	6.25%	\$ 26.87	7 \$	456.86		+5
	FIRST FLOOR MIDDLE											
2056	AND HALLWAY	Porcelain cream pitcher	Replace	1	\$34.99 \$	34.99	6.25%	\$ 2.19	\$	37.18		+5
2057	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Assorted crystal wine glasses	Replace	22	\$20.00 \$	440.00	6.25%	\$ 27.50) \$	467.50		+5
2058	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Crystal butter tray with lid, one actually has the Star of David engraved, Photo 8776	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	5 \$	63.73		+5
2059	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12 ounce drinking glass	Replace	4	\$8.99 \$	35.96	6.25%	\$ 22	5 \$	38.21		+5
	FIRST FLOOR MIDDLE											
2060	AND HALLWAY FIRST FLOOR MIDDLE	Stemmed wine glass	Replace	8	\$7.99 \$	63.92	6.25%	\$ 4.00	\$	67.92		+5
2061	LEFT DINING ROOM AND HALLWAY	Ceramic appetizer plate	Replace	12	\$4.99 \$	59.88	6.25%	\$ 3.74	1 \$	63.62		+5
2062	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	18" X 14" ceramic serving platter	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50) \$	42.49		+5
2063	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	16" diameter crystal tray	Replace	1	\$50.00 \$	50.00	6.25%	\$ 3.13	3 \$	53.13		+5
2064	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Porcelain serving bowl, hand painted, gold trim, made in Germany, Weim, Photo 8777, 8778	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	2 \$	53.11		+5
	FIRST FLOOR MIDDLE				, , , , , , , , , , , , , , , , , , ,			•	•			-
2065	AND HALLWAY	Set of salt and pepper shakers	Replace	2	\$12.99 \$	25.98	6.25%	\$ 1.62	2 \$	27.60		+5
2066	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" tall glass single flower flower vase	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	5 \$	21.23		+5
2067	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	16" diameter glass cake pan with glass lid, Photo 8779	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	5 \$	21.24		+5
2068	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	16" diameter glass serving tray	Replace	7	\$29.99 \$	209.93	6.25%	\$ 13.12	2 \$	223.05		+5
	FIRST FLOOR MIDDLE	0 0.	·									
2069	AND HALLWAY FIRST FLOOR MIDDLE	Set of salt and pepper shakers, glass	Replace	3	\$12.99 \$	38.97	6.25%	\$ 2.44	1 \$	41.41		+5
2070	LEFT DINING ROOM AND HALLWAY	3" tall X 2" diameter votive candle	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	\$	42.46		+5

2071	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	11" tapered candle	Replace	12	\$5.99 \$	71.88	6.25% \$	4.49	\$ 76.37	+5
2072	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY		Replace	1	\$9.99 \$	9.99	6.25% \$	0.62	\$ 10.61	+5
2073	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	16 ounce coffee to go cup, disposable, with lid	Replace	12	\$0.25 \$	3.00	6.25% \$	0.19	\$ 3.19	+5
2074	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Cloth pot holder	Replace	4	\$9.99 \$	39.96	6.25% \$	2.50	\$ 42.46	+5
2075	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Cloth oven mitten	Replace	4	\$9.99 \$	39.96	6.25% \$	2.50	\$ 42.46	+5
2076	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	48 count box of premium forks, spoons, and knives from Up & Up	Replace	2	\$2.99 \$	5.98	6.25% \$	0.37	\$ 6.35	+5
2077	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	52" X 70" vinyl tablecloth	Replace	10	\$29.99 \$	299.90	6.25% \$	18.74	\$ 318.64	+5
2078	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Table placemat	Replace	20	\$5.99 \$	119.80	6.25% \$	7.49	\$ 127.29	+5
2079	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY		Replace	8	\$5.99 \$	47.92	6.25% \$	3.00	\$ 50.92	+5
2080	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	60" X 120" oblong vinyl tablecloth	Replace	2	\$14.99 \$	29.98	6.25% \$	1.87	\$ 31.85	+5
2081	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" X 12" paper plates, Christmas themed	Replace	50	\$0.10 \$	5.00	6.25% \$	0.31	\$ 5.31	+5
2082	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	6" tall opal single flower flower vase	Replace	2	\$9.99 \$	19.98	6.25% \$	1.25	\$ 21.23	+5
2083	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Glass single flower flower vase, 6" tall	Replace	2	\$9.99 \$	19.98	6.25% \$	1.25	\$ 21.23	+5
2084	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	8" diameter dessert plate, Christmas themed	Replace	4	\$6.99 \$	27.96	6.25% \$	1.75	\$ 29.71	+5
2085	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Large recipe index card containers from Card Mark, Photo 8780	Replace	2	\$7.99 \$	15.98	6.25% \$	1.00	\$ 16.98	+5
2086	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	6" tall glass maple syrup container with metal lid attached	Replace	1	\$9.99 \$	9.99	6.25% \$	0.62	\$ 10.61	+5
2087	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Oven mitt and potholder set	Replace	4	\$14.99 \$	59.96	6.25% \$	3.75	\$ 63.71	+5
2088	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Kitchen hand towel	Replace	12	\$9.99 \$	119.88	6.25% \$	7.49	\$ 127.37	+5
2089	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	24 count package of paper plates, 10.25", from Big Lots	Replace	4	\$3.00 \$	12.00	6.25% \$	0.75	\$ 12.75	+5
2090	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	16" diameter cardboard cake tray	Replace	1	\$5.99 \$	5.99	6.25% \$	0.37	\$ 6.36	+5

2091	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" diameter plastic Christmas themed serving plate	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.2	5 \$	21.23	+5
2092	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	16" diameter metal Christmas themed serving tray	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.5	6 \$	26.55	+5
2093	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	8-1/2" diameter porcelain dinner plate from Salad Master Estate Wedding Band, Photo 8782	Replace	5	\$8.99 \$	44.95	6.25%	\$ 2.8	1 \$	47.76	+5
2094	FIRST FLOOR MIDDLE		Replace	1	\$14.99 \$		6.25%		4 \$	15.93	+5
	FIRST FLOOR MIDDLE LEFT DINING ROOM										
2095	FIRST FLOOR MIDDLE	4" tall X 6" long X 4" wide porcelain storage dish	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.6	2 \$	10.61	+5
2096		2" tall X 2" X 2" glass votive candle holder	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.5	0 \$	42.46	+5
2097	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Package of scented votive candles, 12 count	Replace	2	\$1.00 \$	2.00	6.25%	\$ 0.1	3 \$	2.13	+5
2098	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	50 count package of unscented tea lights	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.3	7 \$	6.36	+5
2099	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Children's soft cover book	Replace	2	\$7.99 \$	15.98	6.25%	\$ 1.0	0 \$	16.98	+5
2100	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	8 piece set of Carvel Hall stainless steel steak knives, made in the USA, Photo 8783, new	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.0	0 \$	84.99	NEW
2101	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Small crystal tea cup	Replace	1	\$12.99 \$	12.99	6.25%	\$ 0.8	1 \$	13.80	+5
2102	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Crystal whiskey glass, stemmed, Photo 8784	Replace	1	\$22.99 \$	22.99	6.25%	\$ 1.4	4 \$	24.43	+5
2103	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	6 piece chef's set from Wm. A. Rogers Cutlery from Oneida with wooden handles, Photo 8785	Replace	1	\$32.99 \$	32.99	6.25%	\$ 2.0	6 \$	35.05	+5
2104	FIRST FLOOR MIDDLE LEFT DINING ROOM		Replace	1	\$139.99 \$	139.99	6.25%	\$ 87	5 \$	148.74	+5
	FIRST FLOOR MIDDLE LEFT DINING ROOM	Women's large stainless steel personalized bracelet, Awesome									
2105	AND HALLWAY FIRST FLOOR MIDDLE	Jewelry	Replace	1	\$34.99 \$	34.99	6.25%	\$ 2.1	9 \$	37.18	+5
2106	LEFT DINING ROOM AND HALLWAY	3" diameter glass Christmas ornament	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.2	5 \$	21.23	+5
2107	LEFT DINING ROOM	37 piece Crown Ming vintage Christmas china set with holly print, service for 8, includes 8 10-1/2" dinner plates, 8 7-1/2" salad plates, 8 cups, 8 saucers, 1 creamer, 1 covered sugar bowl, 1 9" vegetable bowl, 1 14" family size platter, with holly pattern and gold trim, Photo 8787, 8788	Replace	1	\$449.99 \$	449.99	6.25%	\$ 28.1:	2 \$	478.11	+5
2108	FIRST FLOOR MIDDLE LEFT DINING ROOM	11 piece porcelain china tea set from Royal Sealy Japan, includes tea pot with lid, creamer, sugar container with lid, 4 tea cups, 4 tea plates, Photo 8791	Replace	1	\$89.99 \$		6.25%		2 \$	95.61	+5
	FIRST FLOOR MIDDLE LEFT DINING ROOM		-								
2109	AND HALLWAY FIRST FLOOR MIDDLE	8" tall X 4" diameter votive candle	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.6	2 \$	10.61	+5
2110	LEFT DINING ROOM AND HALLWAY	Porcelain appetizer plate, decorative, with plastic easel	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.6	2 \$	10.61	+5

2111	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Shot glass	Replace	4	\$2.99 \$	11.96 6.25% \$	0.75 \$	12.71	+5
2112		Large porcelain soup mug from Classic Ceramics California Pantry	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
2113	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Ceramic handheld bell	Replace	1	\$18.99 \$	18.99 6.25% \$	1.19 \$	20.18	+5
2114		Ceramic decorative plate, 9-1/2" from Stone Mountain Park with large wooden easel	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5
2115	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Porcelain tea pot from Betallic, Inc., Photo 8792	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
2116		Fine bone china tea cup with tea plate, 22 carat gold, made by Sandford, made in England, Photo 8793	Replace	1	\$54.99 \$	54.99 6.25% \$	3.44 \$	58.43	+5
2117	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Fine bone china made in Japan, tea cup with tea plate, Photo 8794	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	+5
2118		Fine bone china from Crownford, made in England, tea cup and tea plate, Photo 8795	Replace	1	\$23.99 \$	23.99 6.25% \$	1.50 \$	25.49	+5
2119	LEFT DINING ROOM	Large porcelain dinner plate from Imperial Service by Service Plates Sealing China Company, made in the USA, warranted 22 kara[last letter indistinguishable] with easel, Photo 8796, 8797	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5
2120	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	10" tall glass flower vase	Replace	2	\$9.99 \$	19.98 6.25% \$	1.25 \$	21.23	+5
2121	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Stemmed crystal glass whiskey glass, Photo 8798	Replace	2	\$22.99 \$	45.98 6.25% \$	2.87 \$	48.85	+5
2122	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	8" tall porcelain vase	Replace	1	\$3.00 \$	3.00 6.25% \$	0.19 \$	3.19	+5
2123		Silver plated tea cup from illegible, may be Lesrari, made in Hong Kong	Replace	1	\$29.99 \$	29.99 6.25% \$	1.87 \$	31.86	+5
2124	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	8" tall porcelain stein	Replace	1	\$49.99 \$	49.99 6.25% \$	3.12 \$	53.11	+5
2125	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	8-1/2" hand painted ceramic appetizer plate, decorative	Replace	2	\$7.99 \$	15.98 6.25% \$	1.00 \$	16.98	+5
2126	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" tall glass flower vase	Replace	2	\$19.99 \$	39.98 6.25% \$	2.50 \$	42.48	+5
2127	LEFT DINING ROOM	2 full size dinner plates and 1 appetizer plate made by Memory Lane, Royal Iron Stone under glaze, made in USA, 1965, Royal China, Inc., Sebring, Ohio, Photo 8800, 8801	Replace	1	\$59.99 \$	59.99 6.25% \$	3.75 \$	63.74	+5
2128	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Bone china sugar container with lid made by Old Country Roses Royal Albert Bone China, England, 1962	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
2129	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	18" X 10" plastic serving tray, 4" deep	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
2130	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Quality hand made small wine glass, WS	Replace	4	\$14.99 \$	59.96 6.25% \$	3.75 \$	63.71	+5

2131	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	10" tall X 8" diameter glass cookie jar with lid	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4) +5	
2132	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	10" diameter porcelain cake tray with stem	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.1	1 +5	
2133		Small decorative hand made 4" diameter ceramic plate with cover in the shape of a woman	Replace	2	\$15.99 \$	31.98	6.25%	\$ 2.00	\$ 33.9	3 +5	
2134	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	8-1/2" diameter plate with cover, Photo 8804, 8805, 8806, 8807	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4) +5	
2135	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Large board game, Photo 8808	Replace	43	\$39.99 \$	1,719.57	6.25%	\$ 107.47	\$ 1,827.0	4 +5	
2136	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" tall crystal flower vase	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.8	5 +5	
2137	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	10" tall crystal flower vase	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.5	5 +5	
2138	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" tall glass flower vase	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.00	\$ 84.9	5 +5	
2139	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	14" tall glass flower vase	Replace	1	\$22.99 \$	22.99	6.25%	\$ 1.44	\$ 24.4	3 +5	
2140	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	6" X 4" votive candle with metal stand	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.7	3 +5	
2141		Assorted porcelain and ceramic statues, ranging from 4" to 9", Photo 8809, 8810	Replace	19	\$9.99 \$	189.81	6.25%	\$ 11.86	\$ 201.6	7 +5	
2142	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	16" X 12" stoneware serving platter from American Hearthside	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	+5	
2143	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Oneida china tea pot, hand painted, cherries	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.80	6 +5	
2144		Pretti-Pak music box Memories Cats	Replace	1	\$28.99 \$	28.99	6.25%	\$ 1.81	\$ 30.8	+5	
2145		3" X 3" X 3" votive candle	Replace	4	\$7.99 \$	31.96	6.25%	\$ 2.00	\$ 33.9	5 +5	
2146		7" tall X 7" diameter candle in the shape of a ball	Replace	1	\$15.99 \$	15.99	6.25%	\$ 1.00	\$ 16.99	+5	
2147		5" tall X 5" diameter candle in the shape of a ball	Replace	1	\$12.99 \$	12.99	6.25%	\$ 0.81	\$ 13.80	+5	
2148		6" diameter crystal plate with cover, Photo 8811	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.4	+5	
2149		4" X 6" metal picture frame from Disney	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.6	1 +5	
2150	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Pretti-Pak music box Memories Cats	Replace	2	\$28.99 \$	57.98	6.25%	\$ 3.62	\$ 61.6) +5	

2151	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" X 4-1/2" ceramic serving tray	Replace	1	\$24.99 \$	24.99 6.25% \$	1.56 \$	26.55	+5
2152	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" X 12" ceramic serving tray	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
2153	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	2" X 3" porcelain standing photo frame from Gifts from Heaven	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
2154	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" diameter X 5" tall plastic serving bowl	Replace	1	\$7.99 \$	7.99 6.25% \$	0.50 \$	8.49	+5
2155	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Vintage depression glass punchbowl set, or crystal, comes with large punch bowl, 8 tea cups, 1 plastic serving spoon, Photo 8812	Replace	1	\$79.99 \$	79.99 6.25% \$	5.00 \$	84.99	+5
2156	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	16" diameter glass serving tray	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
2157	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	10" diameter X 5" deep crystal bowl	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
2158	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" diameter X 6" deep crystal bowl	Replace	1	\$49.99 \$	49.99 6.25% \$	3.12 \$	53.11	+5
2159	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	12" diameter crystal serving platter	Replace	1	\$49.99 \$	49.99 6.25% \$	3.12 \$	53.11	+5
2160	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	10" diameter crystal serving platter	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
2161	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Large ceramic coffee mug	Replace	4	\$9.99 \$	39.96 6.25% \$	2.50 \$	42.46	+5
2162	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	7" tall ceramic flower vase	Replace	2	\$9.99 \$	19.98 6.25% \$	1.25 \$	21.23	+5
2163		12" diameter X 4" deep glass bowl	Replace	1	\$19.99 \$	19.99 6.25% \$	1.25 \$	21.24	+5
2164		Ceramic basket in the shape of an Easter bunny, 8" tall X 10" long	Replace	1	\$39.99 \$	39.99 6.25% \$	2.50 \$	42.49	+5
2165	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Single flower crystal flower vase, 6" tall	Replace	2	\$19.99 \$	39.98 6.25% \$	2.50 \$	42.48	+5
2166		10" tall single flower glass flower vase	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
2167		10" tall red glass flower vase	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
2168	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	8" tall blue glass flower vase	Replace	1	\$9.99 \$	9.99 6.25% \$	0.62 \$	10.61	+5
2169		6" diameter X 8" tall porcelain vase	Replace	1	\$14.99 \$	14.99 6.25% \$	0.94 \$	15.93	+5
2170	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY		Replace	3	\$7.99 \$	23.97 6.25% \$	1.50 \$	25.47	+5

2171	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Large canvas 3-ring binder	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$ 42.48	+5
2172	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Hard cover book	Replace	32	\$24.99 \$	799.68	6.25%	\$ 49.98	\$ 849.66	+5
2173	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Children's hard cover book	Replace	83	\$9.99 \$	829.17	6.25%	\$ 51.82	\$ 880.99	+5
2174	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Children's soft cover book	Replace	113	\$7.99 \$	902.87	6.25%	\$ 56.43	\$ 959.30	+5
2175	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Large hard cover reference book, Photo 8814	Replace	9	\$39.99 \$	359.91	6.25%	\$ 22.49	\$ 382.40	+5
2176	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Leather back Bible, medium	Replace	3	\$59.99 \$	179.97	6.25%	\$ 11.25	\$ 191.22	+5
2177	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	3' long X 9" wide canvas wall tapestry, Photo 8815	Replace	1	\$199.90 \$	199.90	6.25%	\$ 12.49	\$ 212.39	+5
2178		16" X 14" decorative table top serving plate - think it's just for decoration, only thing on the back is MR	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	+5
2179		12" diameter X 5" deep glass serving bowl in the shape of a pumpkin	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55	+5
2180	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	22 ounce jar candle	Replace	2	\$29.50 \$	59.00	6.25%	\$ 3.69	\$ 62.69	+5
2181	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	7" tall X 7" diameter glass bowl, opal	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	. +5 https://www.sierralivingconce
2182	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	31" tall X 8' long X 42" wide solid wood dining room table, Photo 8826	Replace	1	\$3,449.00 \$	3,449.00	6.25%	\$ 215.56	\$ 3,664.56	pts.com/product/6903/tuscan- trestle-solid-wood-104-oval- dining-table +5
2183	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Solid wood spindle back dining room arm chair, Photo 8827	Replace	2	\$199.99 \$	399.98	6.25%	\$ 25.00	\$ 424.98	+5
2184	FIRST FLOOR MIDDLE LEFT DINING ROOM AND HALLWAY	Solid wood spindle back dining room side chair, Photo 8828	Replace	8	\$179.99 \$	1,439.92	6.25%	\$ 90.00	\$ 1,529.92	+5
2185	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM	Portable pop up canvas Pack & Play from Graco, Photo 8822	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	\$ 138.11	5 years
2186	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM	Baby quilt	Replace	2	\$79.99 \$	159.98	6.25%	\$ 10.00	\$ 169.98	1year
2187	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM	Baby quilted learning book	Replace	3	\$7.99 \$	23.97	6.25%	\$ 1.50	\$ 25.47	NEW
2188		Baby's Magic Moments learning seat from Leap Frog, battery powered, vibration and music, Photo 8823	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	+6 monts
2189		Trend-E Nursery Center, looks like Pack & Play, made by Baby Trend, Item 2861, new in box, Photo 8824	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	\$ 138.11	NEW
2190	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM		Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	\$ 138.11	+5
2191	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM	Disassembled baby battery powered rocking bassinette from Graco, Photo 8825	Replace	1	\$249.99 \$	249.99	6.25%	\$ 15.62	\$ 265.61	2 years old
2192	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM	9" tall X 3" diameter glass flower vase	Replace	8	\$9.99 \$	79.92	6.25%	\$ 5.00	\$ 84.92	+5
2193	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM	Faux flower rose	Replace	8	\$5.99 \$	47.92	6.25%	\$ 3.00	\$ 50.92	+5

2194	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Roll of raffle ticket coupons, Photo 8829	Replace	1	\$5.99 \$	5.99 6	6.25%	\$ 0.37	\$ 6.36	+5
2195	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Solid wood spindle back dining room side chair, Photo 8830	Replace	1	\$149.99 \$	149.99 6	6.25%	\$ 9.37	\$ 159.36	+5
2196	FIRST FLOOR MIDDLE Secure grip changing pad from Munchkin, full size, 16" X 31", new RIGHT FAMILY ROOM in package, Photo 8831	Replace	1	\$29.99 \$	29.99 6	6.25%	\$ 1.87	\$ 31.86	NEW
2197	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Crib mattress, Photo 8832	Replace	1	\$59.99 \$	59.99 6	6.25%	\$ 3.75	\$ 63.74	3 years
2198	FIRST FLOOR MIDDLE Full mattress from Dream Well Mattress Collection, Photo 8833, RIGHT FAMILY ROOM 8834	Replace	1	\$729.99 \$	729.99 6	6.25%	\$ 45.62	\$ 775.61	https://futonland.com/product/ 571004-mattress +5
2199	FIRST FLOOR MIDDLE Queen foundation or box spring from Tempurpedic, Photo 8835, RIGHT FAMILY ROOM 8836	Replace	1	\$225.00 \$	225.00 6	6.25%	\$ 14.06	\$ 239.06	+5
2200	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large hard cover cookbook	Replace	2	\$39.99 \$	79.98 6	6.25%	\$ 5.00	\$ 84.98	+5
2201	FIRST FLOOR MIDDLE Sit Right high chair bobbleheads from Baby Trend, new in box, RIGHT FAMILY ROOM Item HC05760, Photo 8837	Replace	1	\$89.99 \$	89.99 6	6.25%	\$ 5.62	\$ 95.61	NEW
2202	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 22 count package of diapers from Pampers Swaddlers	Replace	1	\$8.99 \$	8.99 6	6.25%	\$ 0.56	\$ 9.55	NEW
2203	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 16 count package of Pampers Swaddlers Diapers	Replace	1	\$6.99 \$	6.99 6	6.25%	\$ 0.44	\$ 7.43	NEW
2204	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 18 count package of diapers from Pampers Baby Dry	Replace	1	\$7.99 \$	7.99 6	6.25%	\$ 0.50	\$ 8.49	NEW
2205	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 96 count box of diapers from Pampers Swaddlers	Replace	1	\$49.99 \$	49.99 6	6.25%	\$ 3.12	\$ 53.11	NEW
2206	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 84 count pack of diapers from Pampers Swaddlers	Replace	1	\$34.99 \$	34.99 6	6.25%	\$ 2.19	\$ 37.18	NEW
2207	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 96 count pack of diapers from Huggies Lil Snugglers	Replace	1	\$24.99 \$	24.99 6	6.25%	\$ 1.56	\$ 26.55	NEW
2208	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 82 count pack of diapers from Pampers Pure Protection	Replace	1	\$24.99 \$	24.99 6	6.25%	\$ 1.56	\$ 26.55	NEW
2209	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 10 pack of Gerber organic cotton cloth diapers	Replace	1	\$16.99 \$	16.99 6	6.25%	\$ 1.06	\$ 18.05	NEW
2210	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 35 pack of baby diapers from Honest	Replace	1	\$10.99 \$	10.99 6	6.25%	\$ 0.69	\$ 11.68	NEW
2211	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 28 pack of diapers from Up & Up	Replace	1	\$4.99 \$	4.99 6	6.25%	\$ 0.31	\$ 5.30	NEW
2212	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 2 pack of changing pad covers from Brolex	Replace	1	\$19.99 \$	19.99 6	6.25%	\$ 1.25	\$ 21.24	NEW
2213	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 35 count package of diapers from Honest	Replace	1	\$10.99 \$	10.99 6	6.25%	\$ 0.69	\$ 11.68	NEW
2214	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 32 count package of diapers from Huggies Lil Snugglers	Replace	1	\$14.99 \$	14.99 6	6.25%	\$ 0.94	\$ 15.93	NEW
2215	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 37 count package of diapers from Luvs, Triple Leak Guards	Replace	1	\$4.99 \$	4.99 6	6.25%	\$ 0.31	\$ 5.30	NEW
2216	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Medium stuffed animal	Replace	2	\$19.99 \$	39.98 6	6.25%	\$ 2.50	\$ 42.48	NEW
2217	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Foam high chair from Bumbo, Photo 8838	Replace	1	\$39.99 \$	39.99 6	6.25%	\$ 2.50	\$ 42.49	1 year
2218	FIRST FLOOR MIDDLE Healthy Care booster seat from Fisher Price, new in box, Photo RIGHT FAMILY ROOM 8839	Replace	1	\$24.99 \$	24.99 6	6.25%	\$ 1.56	\$ 26.55	NEW
2219	FIRST FLOOR MIDDLE 252 count package of diapers from Luvs, Triple Leak Guards, RIGHT FAMILY ROOM Photo 8840	Replace	1	\$28.99 \$	28.99 6	6.25%	\$ 1.81	\$ 30.80	NEW
2220	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Plastic plates, 5 multiplates from Munchkin, new	Replace	2	\$5.99 \$	11.98 6	6.25%	\$ 0.75	\$ 12.73	NEW

2221	FIRST FLOOR MIDDLE Package of snack catcher Tupperware, baby feeding, from RIGHT FAMILY ROOM Munchkin, each package has 2 snack dispenser and 2 distributors	Replace	2	\$4.99 \$	9.98	6.25%	\$	0.62	\$ 10.60	NEW
2222	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Rubber ducky from Fun Time Duck, new	Replace	6	\$2.99 \$	17.94	6.25%	\$	1.12	\$ 19.06	NEW
2223	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 3 piece baby bib set from Child of Mine by Carter's	Replace	2	\$9.99 \$	19.98	6.25%	\$	1.25	\$ 21.23	NEW
2224	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Plastic baby spoons from Noobie, 6 count package, new	Replace	1	\$4.99 \$	4.99	6.25%	\$	0.31	\$ 5.30	NEW
2225	FIRST FLOOR MIDDLE Metal baby spoons with rubber ends from First Essentials by Nuk, RIGHT FAMILY ROOM 4 count, new	Replace	1	\$4.99 \$	4.99	6.25%	\$	0.31	\$ 5.30	NEW
2226	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Fabric door draft guard	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94	\$ 15.93	5+
2227	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 6' X 3' vinyl banner	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61	+5
2228	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Hockey stick from CCM Vector, fiberglass technology, NHL	Replace	1	\$99.99 \$	99.99	6.25%	\$	6.25	\$ 106.24	+5
2229	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 12 pack of Scott's toilet paper, new	Replace	2	\$9.99 \$	19.98	6.25%	\$	1.25	\$ 21.23	NEW
2230	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large patio chair cushion, Photo 8842 Safety First 46 piece child proof set, includes 4 grip and twist	Replace	3	\$49.99 \$	149.97	6.25%	\$	9.37	\$ 159.34	+5
2231	FIRST FLOOR MIDDLE door knob covers, 12 cabinet and drawer latches, 30 plug RIGHT FAMILY ROOM protectors	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61	NEW
2232	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Box of Pampers wipes, sensitive skin	Replace	3	\$2.99 \$	8.97	6.25%	\$	0.56	\$ 9.53	NEW
2233	FIRST FLOOR MIDDLE New box of clear adhesive dots from Zots, Thermoweb, contains RIGHT FAMILY ROOM 300 dots	Replace	2	\$5.99 \$	11.98	6.25%	\$	0.75	\$ 12.73	NEW
2234	FIRST FLOOR MIDDLE 3 pack of baby's rubber 8-1/2" partitioned food plate, 3 way RIGHT FAMILY ROOM divided, new	Replace	1	\$3.99 \$	3.99	6.25%	\$	0.25	\$ 4.24	NEW
2235	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Cricut 12" X 6" cutting board with ruler and razor, Photo 8844	Replace	1	\$8.99 \$	8.99	6.25%	\$	0.56	\$ 9.55	6 months
2236	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 30 count package of Cricut Ultimate Fine Point Pen Set, new	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.49	NEW
2237	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Cricut Premium Vinyl, 1 roll, 12" X 360", new	Replace	2	\$16.99 \$	33.98	6.25%	\$	2.12	\$ 36.10	NEW
2238	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Ream of Recollections card stock paper, 8-1/2" X 11", 50 sheets	Replace	5	\$5.99 \$	29.95	6.25%	\$	1.87	\$ 31.82	6 months
2239	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 12" X 12" Cricut cutting mat, 2 count package, new	Replace	3	\$11.99 \$	35.97	6.25%	\$	2.25	\$ 38.22	NEW
2240	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 24" X 12" solid wood serving tray, Photo 8845	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$ 53.11	6 months
2241	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM New roll of Cricut Premium Vinyl, 12" X 48"	Replace	39	\$7.99 \$	311.61	6.25%	\$ 1	9.48	\$ 331.09	NEW
2242	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Roll of Cricut transfer tape, 12" X 120"	Replace	4	\$7.99 \$	31.96	6.25%	\$	2.00	\$ 33.96	NEW
2243	FIRST FLOOR MIDDLE Air Soft battery, Venom Power, 7.2 volt high power NIMH battery, RIGHT FAMILY ROOM rechargeable	Replace	1	\$47.99 \$	47.99	6.25%	\$	3.00	\$ 50.99	5 +
2244	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 12" plastic ruler, shape of triangle	Replace	1	\$2.99 \$	2.99	6.25%	\$	0.19	\$ 3.18	5 +
2245	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 5" tall Barbie doll	Replace	4	\$14.99 \$	59.96	6.25%	\$	3.75	\$ 63.71	+5
2246	FIRST FLOOR MIDDLE 5000 piece 6 mm plastic BB set, Air Soft BBs from Elite Force, RIGHT FAMILY ROOM new	Replace	1	\$17.99 \$	17.99	6.25%	\$	1.12	\$ 19.11	NEW

https://www.potterybarn.com/ products/biq-sur-square-armupholstered-sofacollection/?catalogid=84&sku =43746278cm ven=FreePL A&cm cat=Google&cm pla= Furniture%20%35E%20Sofa-%20%2682010 usesate&raci

2247	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large upholstered sofa, Photo 8847	Replace	1	\$1,999.00 \$	1,999.00	6.25%	\$ 124.94	\$ 2,123.9	<u>Furniture%20%3E%20Sofas</u> <u>%20%26%20Loveseats&reqi</u> on id=658780 +5
2248	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large throw pillow	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.00	\$ 84.9	*5 **5
2249	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Medium throw pillow	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.8	6 +5
2250	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 16" X 12" metal plaque, Photo 8848	Replace	1	\$29.99 \$	29.99	6.25%			
2251	FIRST FLOOR MIDDLE 33" X 27-1/2" beveled wooden picture frame with wall print, Photo RIGHT FAMILY ROOM 8849	Replace	1	\$149.99 \$	149.99	6.25%			•
2252	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 39" X 32" beveled wooden picture frame, Photo 8850	Replace	1	\$49.99 \$		6.25%			
2253	FIRST FLOOR MIDDLE 12-1/2" tall X 20" X 14" wicker storage basket with flip top lid, RIGHT FAMILY ROOM Photo 8851	Replace	1	\$49.99 \$	49.99	6.25%			
2254	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM New children's cloth learning book	Replace	4	\$7.99 \$	31.96	6.25%		•	
2255	FIRST FLOOR MIDDLE Children's Little Machines 5 pack from Cat - all different heavy RIGHT FAMILY ROOM machinery toy figurines	Replace	1	\$6.99 \$	6.99	6.25%		•	
2256	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Medium plush stuffed animal	Replace	1	\$19.99 \$	19.99	6.25%			
2257	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 26 piece wooden alphabet blocks, new	Replace	1	\$14.99 \$	14.99	6.25%			
2258	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 6 piece take out and toss baby tub [inaudible 13:40] with lids	Replace	1	\$5.99 \$	5.99	6.25%			
2259	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 16.9 ounce bottle of baby lotion from Johnson's	Replace	2	\$7.99 \$	15.98	6.25%			
2260	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 14 ounce bottle of Johnson's baby oil	Replace	1	\$5.99 \$	5.99	6.25%			
2261	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 22 ounce bottle of Johnson's baby powder	Replace	1	\$3.99 \$	3.99	6.25%			
2262	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 13.6 ounce bottle of Johnson's baby shampoo	Replace	1	\$2.99 \$	2.99	6.25%			
2263	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 2 pack of Gerber baby food	Replace	4	\$1.99 \$	7.96	6.25%	\$ 0.50	\$ 8.4	6 NEW
2264	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Medium wicker basket	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.2	4 NEW
2265	FIRST FLOOR MIDDLE Woven cotton medium basket, 13-1/2" X 8.9" X 7.75", made by RIGHT FAMILY ROOM Heritage, new	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.5	5 NEW
2266	FIRST FLOOR MIDDLE Large Air Soft sniper rifle with scope, scope is from NCSTAR, 3-9 RIGHT FAMILY ROOM X 40, Photo 8852	Replace	1	\$189.99 \$	189.99	6.25%	\$ 11.87	\$ 201.8	6 5+
2267	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Full quilt	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.2	4 5+
2268	FIRST FLOOR MIDDLE 4' X 2' electric heating blanket from Bruder - electric under RIGHT FAMILY ROOM blanket, Model BR-126	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74	4 5+
2269	FIRST FLOOR MIDDLE Electric humidifier from Bionaire Arm & Hammer, Model BCM7204, RIGHT FAMILY ROOM Photo 8853	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4.37	\$ 74.3	6 5+
2270	FIRST FLOOR MIDDLE 23" X 18-1/2" beveled wooden picture frame with double mat wall RIGHT FAMILY ROOM print, new, from Home Interiors and Gifts	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.2	4 NEW
2271	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Xfinity cable box, Model XID-P	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	\$ 106.2	4 6 months

2272	FIRST FLOOR MIDDLE 16" X 16" X 16" wooden toy box from Teenage Mutant Ninja RIGHT FAMILY ROOM Turtles, Photo 8855	Replace	1	\$39.99 \$	39.99	6.25% \$	2.50	\$ 42.49	5+
2273	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Allowance-various Legos, Photo 8856	Replace	1	\$450.00 \$	450.00	6.25% \$	28.13	\$ 478.13	5+
2274	FIRST FLOOR MIDDLE Large stainless steel Air Soft rifle or assault rifle from companies RIGHT FAMILY ROOM like Matrix Tactical Systems, Photo 8857	Replace	2	\$189.99 \$	379.98	6.25% \$	23.75	\$ 403.73	4years
2275	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 8" double mag banana clip for Air Soft gun	Replace	2	\$39.99 \$	79.98	6.25% \$	5.00	\$ 84.98	5+
2276	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 9" magazine for Air Soft rifles, stainless steel	Replace	6	\$30.00 \$	180.00	6.25% \$	11.25	\$ 191.25	4years
2277	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Air Soft rifle battery back	Replace	2	\$39.99 \$	79.98	6.25% \$	5.00	\$ 84.98	4years
2278	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Air Soft gun ramming rod, to clear the barrel if you get any jams	Replace	1	\$14.99 \$	14.99	6.25% \$	0.94	\$ 15.93	4 years
2279	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Air Soft rechargeable battery	Replace	2	\$34.99 \$	69.98	6.25% \$	4.37	\$ 74.35	4years
2280	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Full quilt, new	Replace	1	\$99.99 \$	99.99	6.25% \$	6.25	\$ 106.24	NEW
2281	FIRST FLOOR MIDDLE Full face motorcycle helmet with visor from Icon Airmada, Photo RIGHT FAMILY ROOM 8858	Replace	1	\$180.00 \$	180.00	6.25% \$	11.25	\$ 191.25	5+
2282	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Air Soft assault rifle from Pulse R73, Photo 8859	Replace	2	\$189.99 \$	379.98	6.25% \$	23.75	\$ 403.73	5 +
2283	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Plastic submachine gun, Air Soft gun, Photo 8860	Replace	1	\$169.99 \$	169.99	6.25% \$	10.62	\$ 180.61	5 +
2284	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 20 gallon Sterilite plastic storage container with lid	Replace	3	\$9.97 \$	29.91	6.25% \$	1.87	\$ 31.78	5+
2285	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Medium Nerf gun	Replace	8	\$29.99 \$	239.92	6.25% \$	15.00	\$ 254.92	5 +
2286	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Small Nerf gun	Replace	13	\$19.99 \$	259.87	6.25% \$	16.24	\$ 276.11	5 +
2287	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large Nerf gun, Photo 8861, 8862	Replace	5	\$39.99 \$	199.95	6.25% \$	12.50	\$ 212.45	5 +
2288	FIRST FLOOR MIDDLE Large Air Soft assault rifle, M4A1 Carbine replica, 6 mm BBs, RIGHT FAMILY ROOM Photo 8863	Replace	1	\$189.99 \$	189.99	6.25% \$	11.87	\$ 201.86	4 years
2289	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Canvas drawstring backpack	Replace	2	\$39.99 \$	79.98	6.25% \$	5.00	\$ 84.98	5+
2290	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Small handheld bicycle or ball pump from Nike	Replace	1	\$29.99 \$	29.99	6.25% \$	1.87	\$ 31.86	5+
2291	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Hockey ball	Replace	4	\$2.99 \$	11.96	6.25% \$	0.75	\$ 12.71	5+
2292	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Over the ear headphones from Turtle Beach, wired, Photo 8864	Replace	1	\$49.99 \$	49.99	6.25% \$	3.12	\$ 53.11	4 years
2293	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large children's toy fire truck	Replace	2	\$39.99 \$	79.98	6.25% \$	5.00	\$ 84.98	5+
2294	FIRST FLOOR MIDDLE AC input balance charger, discharger from Hitec, X1 Mini, Model RIGHT FAMILY ROOM 44241, Photo 8865	Replace	1	\$42.99 \$	42.99	6.25% \$	2.69	\$ 45.68	5+
2295	FIRST FLOOR MIDDLE Air Soft or paint ball face mask, one from US Army, one from JT RIGHT FAMILY ROOM Air Soft, Photo 8866	Replace	3	\$149.99 \$	449.97	6.25% \$	28.12	\$ 478.09	5 +
2296	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 500 count bag of paint balls, 68 caliber	Replace	2	\$14.99 \$	29.98	6.25% \$	1.87	\$ 31.85	5 +
2297	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Canvas utility belt from Tippmann, Paintball brand	Replace	1	\$39.99 \$	39.99	6.25% \$	2.50	\$ 42.49	5 +
2298	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Padded chest protector and back protector from Paintball	Replace	1	\$34.99 \$	34.99	6.25% \$	2.19	\$ 37.18	5+

2299	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 500 count bag of paint balls	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94 \$	15.93	1 year
2300	FIRST FLOOR MIDDLE Tippmann 98 custom paintball gun with after market 16" sniper RIGHT FAMILY ROOM barrel from Tippmann, Photo 8867	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.37 \$	159.36	4 years
2301	FIRST FLOOR MIDDLE Spider brand paintball gun with aftermarket barrel from Armson RIGHT FAMILY ROOM Paintball, Photo 8868	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12 \$	138.11	5+
2302	FIRST FLOOR MIDDLE Piranha Evo paintball gun, Model HZD 02163, has a digital screen RIGHT FAMILY ROOM on the grip, Photo 8869	Replace	1	\$179.99 \$	179.99	6.25%	\$ 11.25 \$	191.24	5+
2303	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 10" paintball barrel	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00 \$	84.99	5+
2304	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Men's cup	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94 \$	15.93	5+
2305	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Canvas muzzle guard	Replace	3	\$14.99 \$	44.97	6.25%	\$ 2.81 \$	47.78	5+
2306	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large canvas backpack from Jansport	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75 \$	63.74	5+
2307	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large paintball hopper Large paintball carbon fiber and steel CO2 or gas can from	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.75 \$	63.72	5+
2308	FIRST FLOOR MIDDLE Empire Speedball Woodsball & Recreation, 4500 psi, with canvas RIGHT FAMILY ROOM storage case, Photo 8870	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50 \$	212.49	4 years
2309	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Plastic paintball refill tube, 140 round size from Empire	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.75 \$	63.72	5+
2310	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Safety goggles	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25 \$	21.23	5+
2311	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Paintball laser sight	Replace	2	\$79.99 \$	159.98	6.25%	\$ 10.00 \$	169.98	5+
2312	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Paintball barrel cleaning brush	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50 \$	42.46	5+
2313	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 20 ounce can of Maximum CO2 capacity from Pure Energy	Replace	2	\$54.99 \$	109.98	6.25%	\$ 6.87 \$	116.85	5+
2314	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 10 ounce can CO2 paintball can	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56 \$	26.55	5+
2315	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Leather baseball glove from Wilson	Replace	1	\$279.99 \$	279.99	6.25%	\$ 17.50 \$	297.49	5+
2316	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Men's canvas work gloves from STX	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25 \$	21.24	5+
2317	FIRST FLOOR MIDDLE Large electric remote control car from The Boss Snow Plow, RIGHT FAMILY ROOM Amsoil, Photo 8871	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50 \$	42.49	3 years
2318	FIRST FLOOR MIDDLE Air Soft or paintball mask from V Force, full face, battery powered RIGHT FAMILY ROOM with cooling fans	Replace	1	\$84.99 \$	84.99	6.25%	\$ 5.31 \$	90.30	5+
2319	FIRST FLOOR MIDDLE Guitar Hero, maybe Rock Band, remote control guitar - Fender RIGHT FAMILY ROOM Stratocaster edition, Photo 8872	Replace	1	\$299.99 \$	299.99	6.25%	\$ 18.75 \$	318.74	5+
2320	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Rock Band drum set for XBOX made by Harmonics	Replace	1	\$139.99 \$	139.99	6.25%	\$ 8.75 \$	148.74	5+
2321	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Super Nintendo game cartridge	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75 \$	63.73	5+
2322	FIRST FLOOR MIDDLE Super Game Boy Nintendo cartridge adapter with Nintendo Game RIGHT FAMILY ROOM Boy Game, Super Mario Land	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12 \$	53.11	5+
2323	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Men's prescription glasses	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50 \$	212.49	5+
2324	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Golf swing improver set from Pride Sports, new	Replace	2	\$149.99 \$	299.98	6.25%	\$ 18.75 \$	318.73	5+
2325	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Skateboard, reads Dark Star, Photo 8875	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87 \$	31.86	5+

2326	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Aluminum baseball bat	Replace	3	\$199.99 \$	599.97	6.25%	\$ 37.50	\$ 637.47	5 +
2327	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large canvas CD case from Case Logic	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	5+
2328	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM PS video game	Replace	62	\$29.99 \$	1,859.38	6.25%	\$ 116.21	\$ 1,975.59	5 +
2329	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM DVD	Replace	35	\$24.99 \$	874.65	6.25%	\$ 54.67	\$ 929.32	5 +
2330	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM XBOX 360	Replace	1	\$179.99 \$	179.99	6.25%	\$ 11.25	\$ 191.24	5 +
2331	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM XBOX 360 wireless remote, Photo 8876	Replace	2	\$49.99 \$	99.98	6.25%	\$ 6.25	\$ 106.23	5 +
2332	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Nintendo Wii balance board, Model RVL-021, Photo 8877	Replace	1	\$129.99 \$	129.99	6.25%	\$ 8.12	\$ 138.11	5+
2333	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Shoebox sized canvas storage box	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.37	\$ 6.36	5+
2334	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Game Boy Pocket with one game cartridge	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	5+
2335	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Wired mouse	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$ 21.23	5+
2336	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Nintendo rechargeable battery pack	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11	5+
2337	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM PlayStation 2 wired remote	Replace	6	\$29.99 \$	179.94	6.25%	\$ 11.25	\$ 191.19	5+
2338	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Super Nintendo wired remote	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.73	5 +
2339	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Battery powered Spy Gear goggles	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55	5 +
2340	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Nintendo Game Boy, Model DMG-01	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	5 +
2341	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Rock Band microphone	Replace	1	\$22.99 \$	22.99	6.25%	\$ 1.44	\$ 24.43	5 +
2342	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Microsoft webcam for XBOX Live Vision	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55	5 +
2343	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Microsoft webcam, Lite Cam Model VX-5000	Replace	1	\$61.99 \$	61.99	6.25%	\$ 3.87	\$ 65.86	5 +
2344	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM DVD	Replace	4	\$24.99 \$	99.96	6.25%	\$ 6.25	\$ 106.21	5+
2345	FIRST FLOOR MIDDLE 39" LED flat screen TV from Element, Model ELSW3917BF, RIGHT FAMILY ROOM Photo 8878, 8879	Replace	1	\$259.99 \$	259.99	6.25%	\$ 16.25	\$ 276.24	4 years
2346	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 20" tube TV with built in VHS player from Symphonic	Replace	1	\$175.99 \$	175.99	6.25%	\$ 11.00	\$ 186.99	5+
2347	FIRST FLOOR MIDDLE 37" X 20" hand made personalized wall plaque memorial, Photo RIGHT FAMILY ROOM 8880	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	5+
2348	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Pack of J2 marbles	Replace	1	\$10.00 \$	10.00	6.25%	\$ 0.63	\$ 10.63	5+
2349	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM XBOX One Console, Model 150, Photo 8881 Super Nintendo entertainment system with plastic hard case	Replace	1	\$299.99 \$	299.99	6.25%	\$ 18.75	\$ 318.74	5 +
2350	FIRST FLOOR MIDDLE storage case for console and games, Photo 8882, 8883, case up RIGHT FAMILY ROOM flips up from top and has a pull our drawer	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50	\$ 212.49	5+
2351	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Super Nintendo video game	Replace	43	\$29.99 \$	1,289.57	6.25%	\$ 80.60	\$ 1,370.17	5+
2352	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Nintendo DS video game	Replace	3	\$29.99 \$	89.97	6.25%	\$ 5.62	\$ 95.59	5+

2353	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Nintendo DS, Model USG-001	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	5+
2354	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Game Boy Advance video game, Photo 8884	Replace	2	\$79.99 \$	159.98	6.25%	\$ 10.00	\$ 169.98	5+
2355	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Nintendo Game Boy video game cartridge	Replace	8	\$29.99 \$	239.92	6.25%	\$ 15.00	\$ 254.92	5+
2356	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Super Nintendo wired remote	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.73	5+
2357	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Performance style Super Nintendo wired remote control	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	5+
2358	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM XBOX 1 wireless remote	Replace	2	\$59.99 \$	119.98	6.25%	\$ 7.50	\$ 127.48	5+
2359	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM PlayStation 2 video game console, Photo 8886	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	5+
2360	FIRST FLOOR MIDDLE HD System Selector, says XBOX 360, PS3, Wii, Other, made by RIGHT FAMILY ROOM Pelican, Photo 8887	Replace	1	\$89.99 \$	89.99	6.25%	\$ 5.62	\$ 95.61	5+
2361	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 24" X 18" wooden picture frame	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	5+
2362	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Medium wicker basket	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	5+
2363	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large plastic storage basket	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	5+
2364	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Children's soft cover book	Replace	48	\$7.99 \$	383.52	6.25%	\$ 23.97	\$ 407.49	5+
2365	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Children's hard cover book, Photo 8888	Replace	34	\$9.99 \$	339.66	6.25%	\$ 21.23	\$ 360.89	5+
2366	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 650 piece Lego set, Lego System Freestyle	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	5+
2367	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 1200 piece Lego system set, No. 3033, Photo 8889, 8890	Replace	1	\$45.99 \$	45.99	6.25%	\$ 2.87	\$ 48.86	5+
2368	FIRST FLOOR MIDDLE Model car, 1/24th scale, diecast stock car replica, Thunder Bat, RIGHT FAMILY ROOM 1995 edition from Recent Champions, new in box	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$ 53.11	5+
2369	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Large colored pencil set, Photo 8891	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.55	5+
2370	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Box of Crayola crayons, 24 count	Replace	4	\$1.99 \$	7.96	6.25%	\$ 0.50	\$ 8.46	5+
2371	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Rose Art classic markers, 10 count	Replace	4	\$2.99 \$	11.96	6.25%	\$ 0.75	\$ 12.71	5+
2372	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Mr. Sketch premium scented markers, 12 count	Replace	2	\$2.99 \$	5.98	6.25%	\$ 0.37	\$ 6.35	5+
2373	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 40 watt AC to DC converter power supply from Traxxas	Replace	1	\$26.99 \$	26.99	6.25%	\$ 1.69	\$ 28.68	3 years
2374	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 3000 MAH rechargeable battery from Traxxas	Replace	1	\$34.99 \$	34.99	6.25%	\$ 2.19	\$ 37.18	3 years
2375	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 7400 MAH rechargeable battery from SMC True Spec Premium	Replace	1	\$94.99 \$	94.99	6.25%	\$ 5.94	\$ 100.93	2 years old
2376	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM 10" tall X 5" X 5" metal storage basket	Replace	1	\$25.99 \$	25.99	6.25%	\$ 1.62	\$ 27.61	5+
2377	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Small battery powered remote control car	Replace	8	\$19.99 \$	159.92	6.25%	\$ 10.00	\$ 169.92	5+
2378	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Small plastic storage basket, 14" tall X 14" long X 7"	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	5+
2379	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM Little gir's plastic Barbie doll house, 16" tall - expands	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	5+

2380	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM		Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	15.93	5+
2381	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM	New military Beanie Baby, 10 year anniversary	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	5 10.61	NEW
2382		New model tank from Tamiya, 1/35th military miniature series, No. 269, M1A2 Abrams Operation Iraqi Freedom, new in box	Replace	1	\$73.99 \$	73.99	6.25%	\$ 4.62	78.61	NEW
2383	FIRST FLOOR MIDDLE RIGHT FAMILY ROOM	Children's small inflatable pool toy	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	5 10.61	5+
2384	FIRST FLOOR MIDDLE	Disney Pirates Megablox - 3 sets all packed into plastic toy chest, Photo 8894	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	63.74	5+
2385	FIRST FLOOR MIDDLE	Large container full of hard case briefcase full, Photo 8895	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	31.86	5+
2386	RIGHT FAMILY ROOM FIRST FLOOR REAR	Train car set from Santa Fe express with tracks, Photo 8896, 8897	Replace	1	\$179.99 \$	179.99	6.25%	\$ 11.25	5 191.24	5+
2387	GALLEY FIRST FLOOR REAR	Olympus film camera, Model OM10, Photo 8904	Replace	1	\$219.99 \$	219.99	6.25%	\$ 13.75	233.74	5+
2388	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Disposable camera	Replace	4	\$12.99 \$	51.96	6.25%	\$ 3.25	55.21	5 +
2389	GALLEY FIRST FLOOR REAR	Rubber wrist band	Replace	24	\$0.99 \$	23.76	6.25%	\$ 1.49	25.25	5+
2390	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Large Zippo lighter, wickless	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	21.24	5 +
2391	GALLEY FIRST FLOOR REAR	50 count box of assorted thank you cards, 10 each of 5 designs with envelopes	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50 \$	42.48	5 +
2392	GALLEY	Men's sport style sunglasses, nickel free	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	31.86	5+
2393	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Allowance-various office supplies such as desktop staplers, 3 hole punches, desktop tape holders, scientific calculators, index cards notebooks, reams of notebook paper, 3 ring binders, pens, pencils, staples, glue, etc., Photo 8905	Replace	1	\$400.00 \$	400.00	6.25%	\$ 25.00 \$	3 425.00	5+
2394	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	12 pack Energizer batteries, D batteries	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	21.24	5+
2395	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	16 pack Panasonic Alkaline Plus Power AAA batteries	Replace	1	\$6.99 \$	6.99	6.25%	\$ 0.44 \$	7.43	5+
2396	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	6 pack of D batteries from Endurance	Replace	1	\$6.99 \$	6.99	6.25%	\$ 0.44 \$	7.43	5+
2397	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Panasonic digital messaging system	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	53.11	5+
2398	GALLEY FIRST FLOOR REAR	6 pack of D batteries from Duracell	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	21.23	5 +
2399	GALLEY FIRST FLOOR REAR	D6 dice	Replace	14	\$1.99 \$	27.86	6.25%	\$ 1.74	29.60	5+
2400	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	12" X 9" metal picture frame with wall print	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	5 53.11	5+
2401	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Assorted birthday cards, Christmas cards, Easter cards, Mother's cards, Father's cards, etc., new, from companies like Gibson	Replace	53	\$2.99 \$	158.47	6.25%	\$ 9.90	168.37	5+
2402	GALLEY FIRST FLOOR REAR	18 count package of Christmas cards and envelopes	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	21.23	5+
2403	GALLEY FIRST FLOOR REAR	Do It Light Stick, bright white LED from Sylvania	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	10.61	5+
2404	GALLEY FIRST FLOOR REAR	Letter size envelopes	Replace	20	\$0.03 \$	0.60	6.25%	\$ 0.04	0.64	5+
2405	GALLEY FIRST FLOOR REAR	Business size envelopes	Replace	20	\$0.05 \$	1.00	6.25%	\$ 0.06	1.06	5+
2406	LEFT KITCHEN AND GALLEY	Cordless house phone from Vtech	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	31.86	5+

	FIRST FLOOR REAR	40" 4-11										
2407	LEFT KITCHEN AND GALLEY	18" tall paper organizer / to go menu holder with one storage drawer, solid wood, Photo 8906	Replace	1	\$34.99 \$	34.99	6.25%	\$ 21	9 \$	37.18		5+
2407	FIRST FLOOR REAR	drawer, solid wood, i noto 0500	Replace	•	φ34.33 φ	34.33	0.23/6	Ψ 2.1	<i>3</i>	37.10		3 1
	LEFT KITCHEN AND											
2408	GALLEY	3" X 2" metal picture frame	Replace	2	\$4.99 \$	9.98	6.25%	\$ 0.6	2 \$	10.60		5 +
	FIRST FLOOR REAR											
0.400	LEFT KITCHEN AND	50 It - 6 - Pro It It -	B		***		0.050/			40.04		4
2409	GALLEY FIRST FLOOR REAR	50 pack of disposable masks	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.6	2 \$	10.61		1 year
	LEFT KITCHEN AND											
2410	GALLEY	Reusable cloth face mask	Replace	4	\$5.99 \$	23.96	6.25%	\$ 1.5	0 \$	25.46		1 year
20	FIRST FLOOR REAR	Troubable dell'idee madic	. top.uoo	•	40.00	20.00	0.2070	•	• •	200		. you
	LEFT KITCHEN AND	18" metal ruler, specialty type, Finest Engine Divided Quality										
2411	GALLEY	W&G, Model WG/K18	Replace	1	\$8.99 \$	8.99	6.25%	\$ 0.5	6 \$	9.55		5 +
	FIRST FLOOR REAR											
	LEFT KITCHEN AND	League Baseball - Ricoh Industries, in the shape of a license										
2412	GALLEY	plate, new	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24		NEW
	FIRST FLOOR REAR LEFT KITCHEN AND											
2413	GALLEY	50 count package of disposable ear loop preventative masks	Replace	2	\$9.99 \$	19.98	6.25%	\$ 12	5 \$	21.23		1 year
2410	FIRST FLOOR REAR	of count package of disposable car loop preventative masks	Replace	-	ψ3.33 ψ	10.00	0.2070	Ψ 1.2	• •	21.20		i you
	LEFT KITCHEN AND											
2414	GALLEY	Women's large beaded costume jewelry necklace	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86		5 +
	FIRST FLOOR REAR											
	LEFT KITCHEN AND											_
2415	GALLEY FIRST FLOOR REAR	Pocket sized travel alarm clock from Seiko, Model 892595	Replace	1	\$38.99 \$	38.99	6.25%	\$ 2.4	4 \$	41.43		5 +
	LEFT KITCHEN AND	Box of multi color solar outdoor décor string lights, 100 bright										
2416	GALLEY	LED/string	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.5	0 \$	42.48		5 +
	FIRST FLOOR REAR	. 3										
	LEFT KITCHEN AND											
2417	GALLEY	Small key chain multi tool, 4 uses	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.6	2 \$	10.61		5 +
	FIRST FLOOR REAR											
2418	LEFT KITCHEN AND GALLEY	Rosary bead necklace, new	Replace	1	\$14.99 \$	14.99	6.25%	• 00	4 \$	15.93		NEW
2410	FIRST FLOOR REAR	Nosary beau necklace, new	Replace	•	ψ14.33 ψ	14.55	0.23/6	φ 0.3		13.33		INLVV
	LEFT KITCHEN AND											
2419	GALLEY	4 ounce bag of assorted buttons	Replace	1	\$2.99 \$	2.99	6.25%	\$ 0.1	9 \$	3.18		5 +
	FIRST FLOOR REAR											
	LEFT KITCHEN AND			_								
2420	GALLEY FIRST FLOOR REAR	New deck of playing cards	Replace	3	\$5.99 \$	17.97	6.25%	\$ 1.1	2 \$	19.09		5 +
	LEFT KITCHEN AND											
2421	GALLEY	Large flat screwdriver from Craftsman	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.6	2 \$	10.61		5 +
	FIRST FLOOR REAR	ÿ .										
	LEFT KITCHEN AND											
2422	GALLEY	Flat screwdriver	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.6	2 \$	10.61		5 +
	FIRST FLOOR REAR LEFT KITCHEN AND											
2423	GALLEY	Small Philips screwdriver	Replace	1	\$7.99 \$	7.99	6.25%	¢ 0.5	0 \$	8.49		5+
2423	FIRST FLOOR REAR	Small i milips screwdriver	Replace		Ψ1.55 Ψ	1.55	0.23/6	φ 0.5	U Ş	0.43		3 1
	LEFT KITCHEN AND											
2424	GALLEY	Disposable camera	Replace	2	\$12.99 \$	25.98	6.25%	\$ 1.6	2 \$	27.60		5 +
	FIRST FLOOR REAR											
2425	LEFT KITCHEN AND GALLEY	Oli diamatan nin	Daniess	6	\$9.99 \$	59.94	6.25%		5 \$	63.69		5 +
2425	FIRST FLOOR REAR	2" diameter pin	Replace	0	\$9.99 \$	59.94	6.25%	\$ 3.7	5 \$	63.69		5 +
	LEFT KITCHEN AND											
2426	GALLEY	Large hard cover pocket size memo book, mole skin	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.9	4 \$	15.93		5 +
	FIRST FLOOR REAR		-									
	LEFT KITCHEN AND											_
2427	GALLEY FIRST FLOOR REAR	3" diameter magnifying glass	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.6	2 \$	10.61		5 +
	LEFT KITCHEN AND											
2428	GALLEY	Tap tool, stainless steel	Replace	1	\$18.99 \$	18.99	6.25%	\$ 1.1	9 \$	20.18		5 +
	FIRST FLOOR REAR		.,						•			
	LEFT KITCHEN AND	Kyocera smart phone, Model E6560, with silicone case, from Pro										
2429	GALLEY	Tech, Photo 8908	Replace	1	\$239.99 \$	239.99	6.25%	\$ 15.0	0 \$	254.99		5 +
	FIRST FLOOR REAR LEFT KITCHEN AND											
2430	GALLEY	Kyocera smart phone with hard case from Pro Tech, Photo 8908	Replace	1	\$239.99 \$	239.99	6.25%	\$ 150	0 \$	254.99		5+
2700				•	Ψ=00.00 ψ	_00.00	5.2570		- 4	204.33	https://www.verizon.com/sma	.
	FIRST FLOOR REAR										rtphones/samsung-galaxy-	
	LEFT KITCHEN AND										s21-ultra-	
2431	GALLEY	Samsung Galaxy S5 smart phone, Photo 8910	Replace	1	\$1,199.99 \$	1,199.99	6.25%	\$ 75.0	0 \$	1,274.99	5g/?sku=sku4250047	5 +

FIRST FLOOR REAR

rtphones/lgving/?sku=sku4110108&cmp =CSE-C-HQ-NON-R-NB-NONE-NONE-2K0VZ0-COE-GAW-7170000007067389&gclid= Cj0KCQjwsqmEBhDiARIsANV 8H3Y-L HRyJcISdwxjM10PhQuagGVkuvZldb.htbNci_wLsTm6

	FIRST FLOOR REAR LEFT KITCHEN AND										I_HRyJctSdwxjM10PhQu- qaGVkuvZldbJtbNci_wUsTm6 NpeqaAaAsiDEALw_wcB&gcl	
2432	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	LG smart phone with slide up keyboard, Photo 8911	Replace	2	\$999.99	\$ 1,999.98	6.25%	\$ 125.00	\$ 2	2,124.98	src=aw.ds	5+
2433	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Nokia phone from Cingular, Photo 8912	Replace	1	\$168.00	\$ 168.00	6.25%	\$ 10.50	\$	178.50		5+
2434	GALLEY FIRST FLOOR REAR	35' measuring tape from Stanley, Fat Max blade armor	Replace	1	\$9.99	\$ 9.99	6.25%	\$ 0.62	\$	10.61		5 +
2435	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Drawing set, compass, divider, lead refiller from XDD, No. 503, new	Replace	1	\$18.99	\$ 18.99	6.25%	\$ 1.19	\$	20.18		5+
2436	GALLEY FIRST FLOOR REAR	Protractor and compass set from Helix, new	Replace	1	\$4.99	\$ 4.99	6.25%	\$ 0.31	\$	5.30		5+
2437	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	1 subject notebook	Replace	2	\$1.99	\$ 3.98	6.25%	\$ 0.25	\$	4.23		5+
2438	GALLEY FIRST FLOOR REAR	5 piece pencil box set from Garfield	Replace	1	\$7.99	\$ 7.99	6.25%	\$ 0.50	\$	8.49		5+
2439	GALLEY FIRST FLOOR REAR	Pencil top eraser, new	Replace	40	\$0.02	\$ 0.80	6.25%	\$ 0.05	\$	0.85		NEW
2440	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Package of 9 volt batteries from Alkaline	Replace	2	\$15.99	\$ 31.98	6.25%	\$ 2.00	\$	33.98		5 +
2441	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Philips screwdriver	Replace	2	\$9.99	\$ 19.98	6.25%	\$ 1.25	\$	21.23		5 +
2442	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Deck of playing cards	Replace	3	\$5.99	\$ 17.97	6.25%	\$ 1.12	\$	19.09		5 +
2443	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Small memo pad	Replace	4	\$0.99	\$ 3.96	6.25%	\$ 0.25	\$	4.21		5+
2444	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Small first aid kit from Walgreens	Replace	1	\$9.99	\$ 9.99	6.25%	\$ 0.62	\$	10.61		5 +
2445	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	12 pack of 12 ounce cans from Wachusett Country - beer	Replace	1	\$14.99	\$ 14.99	6.25%	\$ 0.94	\$	15.93		6 months
2446	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	12 pack of Canadian Lager, 12 ounce bottles, from Moosehead	Replace	1	\$12.99	\$ 12.99	6.25%	\$ 0.81	\$	13.80		6 months
2447	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	4 KG box of Mona Lisa Blossoms Open dark chocolate	Replace	1	\$9.99	\$ 9.99	6.25%	\$ 0.62	\$	10.61		1 year
2448	GALLEY FIRST FLOOR REAR	1 gallon bottle of Arizona Iced Tea	Replace	1	\$2.99	\$ 2.99	6.25%	\$ 0.19	\$	3.18		6 months
2449	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	17-1/2 pound container of Pop All Liquid Popping Oil	Replace	1	\$15.99	\$ 15.99	6.25%	\$ 1.00	\$	16.99		6 months
2450	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Original Apple baker baking dish from Christian Ridge Pottery, Inc., new in box	Replace	1	\$29.99	\$ 29.99	6.25%	\$ 1.87	\$	31.86		NEW
2451	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	200 count box of vinyl disposable gloves from Berkley Jensen	Replace	1	\$14.99	\$ 14.99	6.25%	\$ 0.94	\$	15.93		6 months
2452	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	2 pound container of Flavacol (for popcorn)	Replace	1	\$2.99	\$ 2.99	6.25%	\$ 0.19	\$	3.18		1 year
2453	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Large popcorn machine from Sunbeam, Great Traditional Popcorn Maker, Photo 8914	Replace	1	\$199.99	\$ 199.99	6.25%	\$ 12.50	\$	212.49		5 +
2454	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Hanging wall calendar	Replace	1	\$19.99	\$ 19.99	6.25%	\$ 1.25	\$	21.24		5 +
2455	LEFT KITCHEN AND GALLEY	Bolo (cowboy tie)	Replace	1	\$17.99	\$ 17.99	6.25%	\$ 1.12	\$	19.11		5 +

	FIRST FLOOR REAR											
2456	GALLEY FIRST FLOOR REAR	Plastic collapsible single step step stool	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	2 \$	10.61		5+
2457	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	20" X 16" plastic serving platter	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	\$	15.93		5 +
2458	LEFT KITCHEN AND GALLEY	18" X 16" ceramic serving platter	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	5 \$	63.74		5 +
											https://www.homedepot.com/ p/GE-21-9-cu-ft-Top-Freezer-	
	FIRST FLOOR REAR LEFT KITCHEN AND										Refrigerator-in-White- GTS22KGNRWW/31242951 2?source=shoppingads&local	
2459	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Large refrigerator from General Electric, Profile, Photo 8915	Replace	1	\$909.00 \$	909.00	6.25%	\$ 56.81	\$	965.81	e=en-US	5+
2460	GALLEY FIRST FLOOR REAR	Allowance-freezer food	Replace	1	\$300.00 \$	300.00	6.25%	\$ 18.75	5 \$	318.75		5+
2461	GALLEY FIRST FLOOR REAR	Allowance-refrigerator food	Replace	1	\$350.00 \$	350.00	6.25%	\$ 21.88	3 \$	371.88		5 +
2462	GALLEY FIRST FLOOR REAR	Hand mixer from Hamilton Beach, Model 62682RZ	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$	42.49		5 +
2463	GALLEY FIRST FLOOR REAR	Food chopper from Pampered Chef, new in box, Model 2585, Photo 8917	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$	42.49		6 months
2464	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	XL hard cover cookbook	Replace	2	\$59.99 \$	119.98	6.25%	\$ 7.50	\$	127.48		5 +
2465	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	14" diameter glass replacement microwave carousel tray	Replace	1	\$18.99 \$	18.99	6.25%	\$ 1.19	\$	20.18		5 +
2466	GALLEY FIRST FLOOR REAR	Small soft covered photo album	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	5 \$	21.23		5 +
2467	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Hard cover cookbook	Replace	3	\$39.99 \$	119.97	6.25%	\$ 7.50	\$	127.47		5 +
2468	GALLEY FIRST FLOOR REAR	16" X 12" plastic storage basket	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	2 \$	10.61		5+
2469	GALLEY FIRST FLOOR REAR	6 piece mixing bowl set from Mainstays, 3 bowls with 3 lids, 140 ounce, 58 ounce, 22 ounce capacity	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	5 \$	21.24		5 +
2470	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	24 opening silicone melted chocolate lollipop mold	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	2 \$	10.61		5 +
2471	GALLEY FIRST FLOOR REAR	1 gallon dried good storage container	Replace	3	\$7.99 \$	23.97	6.25%	\$ 1.50	\$	25.47		5 +
2472	GALLEY FIRST FLOOR REAR	2 quart plastic ice pitcher from Lipton Iced Tea	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	2 \$	10.61		5 +
2473	GALLEY FIRST FLOOR REAR	Plastic ice cube tray	Replace	6	\$0.99 \$	5.94	6.25%	\$ 0.37	\$	6.31		5 +
2474	GALLEY FIRST FLOOR REAR	16 ounce drinking mug	Replace	3	\$9.99 \$	29.97	6.25%	\$ 1.87	\$	31.84		5 +
2475	GALLEY FIRST FLOOR REAR	Beer can koozie	Replace	5	\$5.99 \$	29.95	6.25%	\$ 1.87	\$	31.82		5 +
2476	GALLEY FIRST FLOOR REAR	Set of 3 large ceramic dried good storage containers, tapered in size, with lids, Photo 8918	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$	42.49		5 +
2477	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Cuisinart coffee machine, Model PG-20045	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	5 \$	106.24		5 +
2478	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Allowance-dried goods and canned goods, Photo 8920, 8921, 8922, 8923	Replace	1	\$400.00 \$	400.00	6.25%	\$ 25.00	\$	425.00		1 year
2479	GALLEY FIRST FLOOR REAR	1 gallon plastic air tight storage container, dried goods	Replace	2	\$14.99 \$	29.98	6.25%	\$ 1.87	\$	31.85		5 +
2480	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	6" tall X 5" diameter ceramic vase	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	2 \$	10.61		5 +
2481	LEFT KITCHEN AND GALLEY	375 ml bottle of Crown Royal liquor	Replace	1	\$16.99 \$	16.99	6.25%	\$ 1.06	\$	18.05		1 year

	FIRST FLOOR REAR LEFT KITCHEN AND									_
2482	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Large crystal water pitcher, Photo 8924	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4.37	\$ 74.36	5+
2483	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	1.6 pound container of Beach Body Performance Recover	Replace	1	\$59.99 \$	59.99	6.25%	\$ 3.75	\$ 63.74	6 months
2484	GALLEY FIRST FLOOR REAR	Pampered Chef marble rolling pin, No. 1607, new in box	Replace	1	\$53.00 \$	53.00	6.25%	\$ 3.31	\$ 56.31	NEW
2485	GALLEY FIRST FLOOR REAR	1.75 liter bottle of alcohol or liquor	Replace	9	\$23.99 \$	215.91	6.25%	\$ 13.49	\$ 229.40	6 months
2486	GALLEY FIRST FLOOR REAR	750 ml bottle of alcohol or liquor	Replace	15	\$23.99 \$	359.85	6.25%	\$ 22.49	\$ 382.34	1 year
2487	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	1 liter bottle of liquor, Photo 8926	Replace	4	\$23.99 \$	95.96	6.25%	\$ 6.00	\$ 101.96	1 year
	LEFT KITCHEN AND									
2488	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	12" diameter crystal serving bowl with claw feet	Replace	1	\$79.99 \$	79.99	6.25%	\$ 5.00	\$ 84.99	5+
2489	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	16" X 9" plastic serving tray	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	5 +
2490	GALLEY FIRST FLOOR REAR	16" X 12" plastic serving tray	Replace	5	\$14.99 \$	74.95	6.25%	\$ 4.68	\$ 79.63	5 +
2491	GALLEY FIRST FLOOR REAR	16" diameter plastic serving tray	Replace	4	\$14.99 \$	59.96	6.25%	\$ 3.75	\$ 63.71	5+
2492	GALLEY FIRST FLOOR REAR	12" diameter plastic serving tray	Replace	3	\$9.99 \$	29.97	6.25%	\$ 1.87	\$ 31.84	5 +
2493	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	12" diameter metal serving tray	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$ 42.48	5+
2494	LEFT KITCHEN AND GALLEY	12" diameter ceramic serving tray	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.86	5 +
	FIRST FLOOR REAR LEFT KITCHEN AND									
2495	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	18" diameter plastic serving tray	Replace	2	\$14.99 \$	29.98	6.25%	\$ 1.87	\$ 31.85	5 +
2496	GALLEY FIRST FLOOR REAR	Allowance-various Tupperware and plastic storage containers	Replace	1	\$200.00 \$	200.00	6.25%	\$ 12.50	\$ 212.50	5+
2497	GALLEY FIRST FLOOR REAR	18" X 14" turkey roasting pan with lid	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4.37	\$ 74.36	5+
2498	CALLEY FIRST FLOOR REAR	16" X 10" glass casserole dish	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$ 42.48	5+
2499	LEFT KITCHEN AND GALLEY	Allowance-various chips, popcorn, snacks, Photo 8925	Replace	1	\$100.00 \$	100.00	6.25%	\$ 6.25	\$ 106.25	6 months
	FIRST FLOOR REAR LEFT KITCHEN AND	10" knife, may be carving knife, from Royal Showcase, with								
2500	GALLEY FIRST FLOOR REAR	wooden handle, new	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.49	NEW
2501	GALLEY FIRST FLOOR REAR	Large kitchen utensil such as spatulas, serving spoons, meat tenderizers, etc.	Replace	21	\$9.99 \$	209.79	6.25%	\$ 13.11	\$ 222.90	5 +
2502	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Small kitchen utensils such as can openers, potato peelers, wine bottle openers, thermometers, scoopers, etc., Photo 8928	Replace	34	\$5.99 \$	203.66	6.25%	\$ 12.73	\$ 216.39	5 +
2503	GALLEY FIRST FLOOR REAR	Large protein shaker from Beach Body	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$ 42.48	1 year
2504	GALLEY FIRST FLOOR REAR	Medium house plant with ceramic potter, Photo 8929	Replace	4	\$39.99 \$	159.96	6.25%	\$ 10.00	\$ 169.96	5+
2505	GALLEY FIRST FLOOR REAR	Large metal wire dish drying rack	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.24	5+
2506	GALLEY FIRST FLOOR REAR	Kitchen hand towel	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	\$ 42.46	5+
2507	GALLEY FIRST FLOOR REAR	Allowance-various cleaning supplies, Photo 8930	Replace	1	\$300.00 \$	300.00	6.25%	\$ 18.75	\$ 318.75	5+
2508	LEFT KITCHEN AND GALLEY	Large bottle of hand sanitizer from One Ethanol	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.61	1 year

	5100T 51 000 0540										
2509	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	Large ceramic coffee mug	Replace	2	\$9.99 \$	19.98	6.25%	•	1.25	\$ 21.23	5+
2509	FIRST FLOOR REAR LEFT KITCHEN AND	Large ceramic conee mug	керіасе	2	ఫ 5.55 ఫ	13.30	0.25/6	Ą	1.25	\$ 21.23	3+
2510	GALLEY FIRST FLOOR REAR	Kitchen Aid Tilt Head flex edge beater, Model KFE5T, new in box	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.86	NEW
2511	GALLEY FIRST FLOOR REAR	Electric air fryer from GoWise USA, Item GWAC981, Photo 8931	Replace	1	\$81.99 \$	81.99	6.25%	\$	5.12	\$ 87.11	1 year
2512	LEFT KITCHEN AND GALLEY	Kitchen Aid countertop mixer, Model K5SS with quilted cover and five attachments, Photo 8932	Replace	1	\$399.99 \$	399.99	6.25%	\$	25.00	\$ 424.99	5+
2513	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	Prescription medication	Replace	3	\$25.00 \$	75.00	6.25%	\$	4.69	\$ 79.69	1 year
	FIRST FLOOR REAR LEFT KITCHEN AND		-								·
2514	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Various over the counter medications, vitamins, Photo 8933	Replace	17	\$12.99 \$	220.83	6.25%	\$	13.80	\$ 234.63	1 year
2515	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	4 slice toaster from Proctor Silex, Photo 8934	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.86	5+
2516	GALLEY FIRST FLOOR REAR	10" tall X 4" diameter large glass mug	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61	5+
2517	GALLEY FIRST FLOOR REAR	Glass loaf pan / casserole pan	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61	5 +
2518	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	10" tall large glass mug	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.61	5+
2519	LEFT KITCHEN AND GALLEY	24 ounce stainless steel vacuum sealed tumbler from Contigo	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.86	5 +
2520	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	XL ceramic coffee mug, 8" tall X 6" diameter	Replace	1	\$9.99 \$	9.99	6.25%	s	0.62	\$ 10.61	5+
	FIRST FLOOR REAR LEFT KITCHEN AND	-									
2521	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Metal wire tabletop décor, 8" tall X 11", in the shape of a tea kettle	Replace	1	\$19.99 \$	19.99	6.25%	•	1.25	\$ 21.24	5+
2522	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	24 ounce stainless steel vacuum sealed tumbler	Replace	6	\$29.99 \$	179.94	6.25%	\$	11.25	\$ 191.19	5 +
2523	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	24 ounce plastic reusable water bottle with lid from Camelbak	Replace	5	\$19.99 \$	99.95	6.25%	\$	6.25	\$ 106.20	1 year
2524	GALLEY FIRST FLOOR REAR	18 ounce stainless steel vacuum sealed drink tumbler	Replace	3	\$29.99 \$	89.97	6.25%	\$	5.62	\$ 95.59	5 +
2525	GALLEY FIRST FLOOR REAR	Large ceramic coffee mug	Replace	4	\$9.99 \$	39.96	6.25%	\$	2.50	\$ 42.46	5 +
2526	LEFT KITCHEN AND GALLEY	Stainless steel coffee mug	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.24	5 +
2527	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	Coffee mug	Replace	13	\$5.99 \$	77.87	6.25%	\$	4.87	\$ 82.74	5+
2528	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	Large plastic coffee mug	Replace	2	\$5.99 \$	11.98	6.25%	•	0.75	\$ 12.73	5+
	FIRST FLOOR REAR LEFT KITCHEN AND	12 ounce VI tumbler from Miir, new, double wall vacuum insulation	керіасе	2							
2529	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	stainless steel	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.86	NEW
2530	GALLEY FIRST FLOOR REAR	6 ounce drinking glass	Replace	8	\$4.99 \$	39.92	6.25%	\$	2.50	\$ 42.42	5 +
2531	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	18 ounce plastic reusable water bottle, Photo 8935	Replace	6	\$19.99 \$	119.94	6.25%	\$	7.50	\$ 127.44	5 +
2532	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Allowance-various spices, baking supplies, dried goods, Photo 8936, 8937	Replace	1	\$400.00 \$	400.00	6.25%	\$	25.00	\$ 425.00	1-2 years
2533	LEFT KITCHEN AND GALLEY	Shot glass	Replace	6	\$2.99 \$	17.94	6.25%	\$	1.12	\$ 19.06	5+
2534	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	Glass tea cup	Replace	2	\$4.99 \$	9.98	6.25%	\$	0.62	\$ 10.60	5+
	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY			4	\$5.99 \$		6.25%				5+
2535	GALLEY	Coffee mug	Replace	4	\$ 88.6¢	∠3.96	ნ.∠5%	Þ	1.50	ə 25.46	5+

	FIRST FLOOR REAR										
	LEFT KITCHEN AND										
2536	GALLEY FIRST FLOOR REAR	Alcohol measurer (like bartenders use)	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.3	7 \$	6.36	5+
2537	LEFT KITCHEN AND GALLEY	Plastic honey squeeze bottle	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.3	7 \$	6.36	5+
	FIRST FLOOR REAR LEFT KITCHEN AND										
2538	GALLEY	Proctor Silex coffee grinder, Model E160B	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	1 \$	15.93	5 +
	FIRST FLOOR REAR LEFT KITCHEN AND										
2539	GALLEY FIRST FLOOR REAR	125 ml baby bottle	Replace	3	\$7.99 \$	23.97	6.25%	\$ 1.50	\$	25.47	1 year
	LEFT KITCHEN AND										
2540	GALLEY FIRST FLOOR REAR	5" diameter metal funnel	Replace	2	\$1.99 \$	3.98	6.25%	\$ 0.2	5 \$	4.23	5 +
2541	LEFT KITCHEN AND	150 ml glass measuring cup	Replace	1	\$6.99 \$	6.99	6.25%	\$ 0.4	1 S	7.43	5+
2541	FIRST FLOOR REAR	150 ml glass measuring cup	Replace	•	φυ.33 φ	0.33	0.23/6	ŷ 0.4-	• •	7.45	3.
2542	LEFT KITCHEN AND GALLEY	Ceramic soup bowl from Genuine Stoneware Japan with ceramic appetizer plate	Replace	8	\$9.99 \$	79.92	6.25%	\$ 5.00) \$	84.92	5+
	FIRST FLOOR REAR LEFT KITCHEN AND										
2543	GALLEY	1.75 liter bottle of liquor	Replace	9	\$32.99 \$	296.91	6.25%	\$ 18.50	\$	315.47	1-2 years
	FIRST FLOOR REAR LEFT KITCHEN AND										
2544	GALLEY FIRST FLOOR REAR	1 liter bottle of liquor	Replace	2	\$23.99 \$	47.98	6.25%	\$ 3.00	\$	50.98	1-2 years
2545	LEFT KITCHEN AND GALLEY	750 I I W 6 I	Bl.	15	\$23.99 \$	252.05	6.25%	\$ 22.49		382.34	40
2545	FIRST FLOOR REAR	750 ml bottle of liquor, Photo 8938	Replace	15	\$23.99 \$	359.05	6.25%	\$ 22.49	, ,	302.34	1-2 years
2546	GALLEY	Allowance-various office supplies such as staples, rulers, pens, pencils, scissors, hole punchers, etc., Photo 8939	Replace	1	\$100.00 \$	100.00	6.25%	\$ 6.2	5 \$	106.25	5+
	FIRST FLOOR REAR LEFT KITCHEN AND										
2547	GALLEY	Large cookie sheet, stainless steel	Replace	6	\$19.99 \$	119.94	6.25%	\$ 7.50	\$	127.44	5 +
	FIRST FLOOR REAR LEFT KITCHEN AND										
2548	GALLEY FIRST FLOOR REAR	Large meat resting rack	Replace	4	\$4.99 \$	19.96	6.25%	\$ 1.25	5 \$	21.21	1 year
	LEFT KITCHEN AND	- H - H - H - H - H - H - H - H - H - H									_
2549	GALLEY FIRST FLOOR REAR	Small cutting board, 10" X 7"	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.63	2 \$	10.61	5 +
2550	LEFT KITCHEN AND GALLEY	Cupcake pan but they're square and it does 12	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24	5+
	FIRST FLOOR REAR LEFT KITCHEN AND				, ,			·	•		
2551	GALLEY	12" diameter pizza pan	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$	42.48	5 +
	FIRST FLOOR REAR LEFT KITCHEN AND										
2552	GALLEY FIRST FLOOR REAR	Medium metal wire meat resting rack	Replace	3	\$5.99 \$	17.97	6.25%	\$ 1.12	2 \$	19.09	5 +
0550	LEFT KITCHEN AND	Lance Addition to 16 feet and	Bl.	•	****	50.00	0.050/			20.70	
2553	GALLEY FIRST FLOOR REAR	Large stainless steel frying pan	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.7	5 \$	63.73	5 +
2554	LEFT KITCHEN AND GALLEY	Large stainless steel boiling pan with lid	Replace	3	\$29.99 \$	89.97	6.25%	\$ 5.62	2 \$	95.59	5+
	FIRST FLOOR REAR LEFT KITCHEN AND	3									
2555	GALLEY	Large stainless steel sauce pan with lid	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.79	5 \$	63.73	5 +
	FIRST FLOOR REAR LEFT KITCHEN AND										
2556	GALLEY FIRST FLOOR REAR	Medium stainless steel sauce pan with lid	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$	42.48	5 +
2557	LEFT KITCHEN AND GALLEY	Constitution of the last constitution of the l	Danisas	2	\$9.99 \$	19.98	6.25%		5 S	21.23	5 +
2557	FIRST FLOOR REAR	Small stainless steel sauce pan with lid	Replace	2	\$9.99 \$	19.90	6.25%	\$ 1.2	, ,	21.23	5+
2558	LEFT KITCHEN AND GALLEY	Stainless steel vegetable steamer tray	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.2	5 \$	21.24	5+
	FIRST FLOOR REAR LEFT KITCHEN AND	,			, ,			·	•		
2559	GALLEY	Large cookie sheet, stainless steel	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.29	5 \$	21.24	5 +
	FIRST FLOOR REAR LEFT KITCHEN AND										
2560	GALLEY FIRST FLOOR REAR	Medium stainless steel boiling pan with lid	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2.50	\$	42.48	5 +
0564	LEFT KITCHEN AND GALLEY	Laura viialiaa kaaliak	Damlasa		* 20.00	440.00	C 050'			407.40	5 +
2561	FIRST FLOOR REAR	Large wicker basket	Replace	4	\$29.99 \$	119.96	6.25%	φ /.5l) \$	127.46	5+
2562	LEFT KITCHEN AND GALLEY	Medium wicker basket	Replace	3	\$19.99 \$	59.97	6.25%	\$ 3.79	5 \$	63.72	5+

	FIRST FLOOR REAR									
	LEFT KITCHEN AND									
2563	GALLEY FIRST FLOOR REAR	30 ounce Thermos brand thermos, vacuum sealed	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$ 63.	73 5+
	LEFT KITCHEN AND									
2564	GALLEY FIRST FLOOR REAR	Large stainless steel sauté pan with lid	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$ 31.	5 +
	LEFT KITCHEN AND									_
2565	GALLEY FIRST FLOOR REAR	10" diameter cast iron frying pan	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.	24 5+
2500	LEFT KITCHEN AND	40" diameter steinless steel south son with lid	Danlass		£40.00 £	40.00	C 050/	£ 4.05		5.
2566	GALLEY FIRST FLOOR REAR	12" diameter stainless steel sauté pan with lid	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.	24 5+
2567	LEFT KITCHEN AND GALLEY	3 piece stainless steel mixing bowl set with rings and cover from Farberware, tapered in size, 1 quart, 2 quart, and 3 quart	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.56	\$ 26.	55 5 +
2507	FIRST FLOOR REAR	raiberware, tapered in size, 1 quart, 2 quart, and 3 quart	Replace	•	φ24.33 φ	24.55	0.23/6	ų 1.50	3 20.	31
2568	LEFT KITCHEN AND GALLEY	12" diameter cake pan	Replace	4	\$14.99 \$	59.96	6.25%	\$ 3.75	\$ 63.	71 5+
	FIRST FLOOR REAR				******			,	•	
2569	GALLEY	Electric skillet from West Bend with lid, Photo 8941	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$ 42.	19 5 +
	FIRST FLOOR REAR LEFT KITCHEN AND	12" X 12" card stock paper, double sided, from Kay & Company								
2570	GALLEY	Army Paper	Replace	2	\$14.99 \$	29.98	6.25%	\$ 1.87	\$ 31.	3 5 5 +
	FIRST FLOOR REAR LEFT KITCHEN AND									
2571	GALLEY	Large hard cover cookbook	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.00	\$ 84.	3 years
	FIRST FLOOR REAR LEFT KITCHEN AND									
2572	GALLEY FIRST FLOOR REAR	62 piece piping tip set from Wilton XL countertop mixer from Kitchen Aid, Professional 600, very	Replace	1	\$14.99 \$	14.99	6.25%	\$ 0.94	\$ 15.	93 4 years
	LEFT KITCHEN AND	nice, with splash guard attachments and 4 metal attachments,								
2573	GALLEY FIRST FLOOR REAR	Photo 8942, also has quilted cover	Replace	1	\$399.99 \$	399.99	6.25%	\$ 25.00	\$ 424.	99 4years
2574	LEFT KITCHEN AND	Withham Aid maste rellar attachment Dhate 0042	Danlass		£400.00 £	400.00	C 050/	6 40.50	6 242	40
2574	GALLEY FIRST FLOOR REAR	Kitchen Aid pasta roller attachment, Photo 8943	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.50	\$ 212.	4 years
2575	LEFT KITCHEN AND GALLEY	Box of decorating bags from Celebrate It, 100 count	Replace	2	\$59.99 \$	119.98	6.25%	\$ 7.50	\$ 127.	48 6 months
	FIRST FLOOR REAR				*******			•		
2576	GALLEY	Chop and Scoop kitchen tool from Wilton	Replace	1	\$8.99 \$	8.99	6.25%	\$ 0.56	\$ 9.	55 4 years
	FIRST FLOOR REAR LEFT KITCHEN AND									
2577	GALLEY	Large cupcake stainless steel pan (12 cupcakes)	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.00	\$ 84.	2 years old
	FIRST FLOOR REAR LEFT KITCHEN AND									
2578	GALLEY FIRST FLOOR REAR	200 piece cupcake standard baking cup from Celebrate It	Replace	4	\$1.99 \$	7.96	6.25%	\$ 0.50	\$ 8.	1 year
	LEFT KITCHEN AND									
2579	GALLEY FIRST FLOOR REAR	2 quart plastic mixing bowl with lid	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$ 10.	61 2 years old
2580	LEFT KITCHEN AND GALLEY	Small kitchen tools such as choppers, measuring cups, measuring spoons, etc.	Replace	9	\$5.99 \$	53.91	6.25%	\$ 3.37	\$ 57.	28 2 years old
2360	FIRST FLOOR REAR	spoons, etc.	Replace	9	\$5.55 \$	55.51	0.25/6	\$ 3.37	φ 5/.	2 years old
2581	LEFT KITCHEN AND GALLEY	Package of 6" cake circles from Wilton, 10 count	Replace	3	\$4.99 \$	14.97	6.25%	\$ 0.94	\$ 15.	91 1 year
	FIRST FLOOR REAR LEFT KITCHEN AND		•							•
2582	GALLEY	Package of 12" cake circles from Wilton, 8 count	Replace	2	\$5.99 \$	11.98	6.25%	\$ 0.75	\$ 12.	73 1 year
	FIRST FLOOR REAR LEFT KITCHEN AND									
2583	GALLEY FIRST FLOOR REAR	Soft cover cookbook	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	\$ 42.	16 5 +
	LEFT KITCHEN AND									
2584	GALLEY FIRST FLOOR REAR	Hard cover cookbook	Replace	2	\$24.99 \$	49.98	6.25%	\$ 3.12	\$ 53.	5 +
0505	LEFT KITCHEN AND	New 2 stage 2 direction ravioli maker, makes 12 ravioli from	Benten		****	40.00	0.050/			
2585	GALLEY FIRST FLOOR REAR	Bellemaine	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	\$ 21.	24 4years
2586	LEFT KITCHEN AND GALLEY	Allowance-various baking supplies, dried goods, canned goods, etc Photo 8944	Replace	1	\$150.00 \$	150.00	6.25%	\$ 9.38	\$ 159.	38 1 year
2000	FIRST FLOOR REAR	, · · · · ·		•	7.55.55			- 0.00	. 100.	. , , , , ,
2587	GALLEY	Kitchen hand towel	Replace	16	\$9.99 \$	159.84	6.25%	\$ 9.99	\$ 169.	33 5+
	FIRST FLOOR REAR LEFT KITCHEN AND	Close and cut kitchen tool from Pampered Chef, new in box,	•							
2588	GALLEY	Model 1118	Replace	1	\$40.00 \$	40.00	6.25%	\$ 2.50	\$ 42.	50 NEW
	FIRST FLOOR REAR LEFT KITCHEN AND	Medium bar pan, stoneware, from Pampered Chef, new, Model								
2589	GALLEY	1449	Replace	1	\$35.00 \$	35.00	6.25%	\$ 2.19	\$ 37.	19 NEW

	FIRST FLOOR REAR LEFT KITCHEN AND										
2590	GALLEY FIRST FLOOR REAR	11 cup glass baking pan or casserole dish from Pyrex	Replace	1	\$15.99 \$	15.99	6.25%	\$ 1.00	0 \$	16.99	5 +
2591	GALLEY FIRST FLOOR REAR	Hamilton Beach breakfast sandwich maker Type ST29, Model 25475, Photo 8945	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1.50	6 \$	26.55	5 +
2592	LEFT KITCHEN AND GALLEY	Large counter clamping manual powered meat grinder	Replace	1	\$44.99 \$	44.99	6.25%	\$ 2.8	1 \$	47.80	5 +
2593	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	Hamilton Beach Scovill electric knife, Model 275 3	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.29	5 \$	21.24	5+
	FIRST FLOOR REAR LEFT KITCHEN AND										
2594	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	12 speed blender from Hamilton Beach, Model 52282R, Type B30 Classic round stone from Pampered Chef, new in box, Model	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86	5 +
2595	GALLEY FIRST FLOOR REAR	1340	Replace	1	\$45.00 \$	45.00	6.25%	\$ 2.8	1 \$	47.81	5 +
2596	GALLEY FIRST FLOOR REAR	Easy onion chopper or tomato dicer	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	2 \$	10.61	5 +
2597	GALLEY FIRST FLOOR REAR	Large stainless steel cupcake pan (12 cupcakes)	Replace	4	\$19.99 \$	79.96	6.25%	\$ 5.00	0 \$	84.96	5 +
2598	LEFT KITCHEN AND GALLEY	Small stainless steel cupcake pan (6 cupcake)	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	0 \$	42.46	5 +
2599	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	Multi grater - like cheese graters they use at Olive Garden, from B&P Marketing, Model ART. 2538-2	Replace	1	\$19.99 \$	19.99	6.25%	\$ 12	5 \$	21.24	5 +
	FIRST FLOOR REAR LEFT KITCHEN AND	Electric toaster oven from Oster, Model TSSTTVSM9L, 1000									
2600	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	watt, Photo 8947 Apple peeler, corer, and slicer from The Pampered Chef, new in	Replace	1	\$44.99 \$	44.99	6.25%	\$ 2.8	1 \$	47.80	5 +
2601	GALLEY FIRST FLOOR REAR	box, Model 2430	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	2 \$	53.11	NEW
2602	GALLEY FIRST FLOOR REAR	Half gallon plastic water cooler from Igloo	Replace	2	\$7.99 \$	15.98	6.25%	\$ 1.00	0 \$	16.98	5 +
2603	GALLEY FIRST FLOOR REAR	16" X 12" metal serving tray with wooden base tray underneath - set, Photo 8948	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	0 \$	42.49	5 +
2604	LEFT KITCHEN AND GALLEY	34 liter plastic trash can from Rubbermaid	Replace	1	\$12.99 \$	12.99	6.25%	\$ 0.8	1 \$	13.80	5 +
2605	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	10.5 gallon plastic trash can	Replace	1	\$10.99 \$	10.99	6.25%	\$ 0.69	9 \$	11.68	5 +
0000	FIRST FLOOR REAR LEFT KITCHEN AND		Bustan		4400.00	400.00	0.050/			504.04	5 +
2606	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Solid wood kitchen table, 76" X 38", Photo 8949	Replace	1	\$499.99 \$	499.99	6.25%	\$ 31.2	>	531.24	5+
2607	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Solid wood spindle back dining room arm chair, Photo 8950	Replace	2	\$149.99 \$	299.98	6.25%	\$ 18.79	5 \$	318.73	5 +
2608	GALLEY FIRST FLOOR REAR	Solid wood spindle back dining room side chair, Photo 8951	Replace	4	\$149.99 \$	599.96	6.25%	\$ 37.50	0 \$	637.46	5 +
2609	GALLEY FIRST FLOOR REAR	10" long metal religious cross with Jesus on it	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	5 \$	21.24	5 +
2610	LEFT KITCHEN AND GALLEY	Large ream of construction paper	Replace	1	\$5.99 \$	5.99	6.25%	\$ 0.3	7 \$	6.36	5 +
2611	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	Clipboard	Replace	2	\$2.99 \$	5.98	6.25%	\$ 0.3	7 \$	6.35	5 +
2612	FIRST FLOOR REAR LEFT KITCHEN AND GALLEY	Glass salt and pepper shaker	Replace	2	\$4.99 \$	9.98	6.25%	\$ 0.6	2 \$	10.60	5+
	FIRST FLOOR REAR LEFT KITCHEN AND	Ultimate hand warmer gift set from Zippo, includes 4 ounce bottle							·		
2613	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	of hand warmer fuel, and a Zippo hand warmer lighter	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86	5 +
2614	GALLEY FIRST FLOOR REAR	10" diameter X 6" deep ceramic fruit bowl	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.29	5 \$	21.24	5 +
2615	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	First Alert smoke alarm	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.8	7 \$	31.86	5 +
2616	LEFT KITCHEN AND GALLEY	Small 3 drawer Sterilite organizing container	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.50	0 \$	8.49	5 +

	FIRST FLOOR REAR												
2617	GALLEY FIRST FLOOR REAR	12" X 14" beveled wooden picture frame with wall print	Replace	1	\$59.99	\$ 59	9.99	6.25%	\$	3.75	\$ 63.7	4	5 +
2618	LEFT KITCHEN AND GALLEY	16 CP iDed touch with hard ages protector. Photo 9052	Bonloos	1	\$189.99	¢ 100	.99	6.25%	•	11.87	\$ 201.8	•	5+
2010	GALLET	16 GB iPod touch with hard case protector, Photo 8952	Replace	,	\$109.99	\$ 103	.55	0.23 /6	*	11.07	\$ 201.0	https://www.dell.com/en- us/work/shop/dell-laptops-and notebooks/latitude-5420- rugged-laptop/spd/latitude-14- 5420- laptop/ss001l5420us?gacd=9	3 +
	FIRST FLOOR REAR LEFT KITCHEN AND											684689-1038-5761040- 265942859- 08dgc=st&gcilid=Cj0KCQjwsq mEBhDiARIsANV8H3aLybdCl 1Mg44cmcyYKJYOnOToGCti StZwv29JaUll_4aKw53vxy MaAlpjEALw_wcB&gclsrc=aw	
2619	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Dell Ultra Book laptop, Latitude E7440, Photo 8953	Replace	1	\$3,146.72	\$ 3,146	5.72	6.25%	\$	196.67	\$ 3,343.3		5+
2620	GALLEY FIRST FLOOR REAR	Removable seat cushion/pad	Replace	4	\$29.99	\$ 119	9.96	6.25%	\$	7.50	\$ 127.4	6	5+
2621	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR	Solid wood TV tray, Photo 8954	Replace	3	\$39.99	\$ 119	9.97	6.25%	\$	7.50	\$ 127.4	7	5 +
2622	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Solid wood bench, 40" tall X 4' long X 17-1/2"	Replace	1	\$179.99	\$ 179	.99	6.25%	\$	11.25	\$ 191.2	4	5 +
2623	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Material estimator calculator, Model 4019	Replace	1	\$41.99	\$ 41	.99	6.25%	\$	2.62	\$ 44.6	1	5 +
2624	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Plastic ammo storage box	Replace	1	\$19.99	\$ 19	9.99	6.25%	\$	1.25	\$ 21.2	4	5 +
2625	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Stem mount photo control from Tork, new in box, Model RKP221	Replace	1	\$13.99	\$ 13	3.99	6.25%	\$	0.87	\$ 14.8	6	NEW
2626	GALLEY FIRST FLOOR REAR	Battery powered LED hanging, magnetic shop light 25 count package of winged wire connectors from Commercial	Replace	2	\$25.99	\$ 51	.98	6.25%	\$	3.25	\$ 55.2	3	5 +
2627	LEFT KITCHEN AND GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Electric	Replace	2	\$3.99	\$ 7	7.98	6.25%	\$	0.50	\$ 8.4	8	5 +
2628	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	4" battery powered LED flashlight	Replace	1	\$9.99	\$ 9	9.99	6.25%	\$	0.62	\$ 10.6	1	5 +
2629	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Reusable razor blade from Stanley	Replace	2	\$5.99	\$ 11	.98	6.25%	\$	0.75	\$ 12.7	3	5 +
2630	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	23" X 19" wooden picture frame with wall print	Replace	1	\$59.99	\$ 59	.99	6.25%	\$	3.75	\$ 63.7	4	5 +
2631	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	12" X 9" wooden picture frame with wall print	Replace	2	\$49.99	\$ 99	9.98	6.25%	\$	6.25	\$ 106.2	3	5 +
2632	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	3' long hanging wall bouquet of flowers, Photo 8956	Replace	1	\$59.99	\$ 59	9.99	6.25%	\$	3.75	\$ 63.7	4	5 +
2633	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Large plastic laundry basket	Replace	3	\$19.99	\$ 59	9.97	6.25%	\$	3.75	\$ 63.7	2	5 +
2634	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	4" X 6" metal picture frame from Malden, new	Replace	1	\$5.99	\$	5.99	6.25%	\$	0.37	\$ 6.3	6	NEW
2635	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Baseball cap, Photo 8957, new	Replace	47	\$29.99	\$ 1,409	.53	6.25%	\$	88.10	\$ 1,497.6	3	NEW
2636	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Military beret Allowance-various canned food, dried food, baking goods, etc.,	Replace	1	\$13.99	\$ 13	8.99	6.25%	\$	0.87	\$ 14.8	6	5+
2637	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Photo 8958 3 quart electric slow cooker from Sears Counter Craft, Crock	Replace	1	\$450.00	\$ 450	0.00	6.25%	\$	28.13	\$ 478.1	3	1-2 years
2638	GALLEY FIRST FLOOR REAR LEFT KITCHEN AND	Watcher, Photo 8959	Replace	1	\$39.99	\$ 39	9.99	6.25%	\$	2.50	\$ 42.4	9	5 +
2639	GALLEY	10 pound fire extinguisher from Kidde	Replace	1	\$114.99	\$ 114	1.99	6.25%	\$	7.19	\$ 122.1	8	5 +

	FIRST FLOOR REAR											
2640	LEFT KITCHEN AND GALLEY	2 minut along holder dish from Direct	Damlana		£0.00 £	0.00	6.25%	•	0.62	. 40.0		5+
2040	FIRST FLOOR REAR	2 quart glass baking dish from Pyrex	Replace	1	\$9.99 \$	9.99	6.25%	Þ	0.62	\$ 10.6	ı	5+
	LEFT KITCHEN AND	Buffet Par Excellence, 1 to 8 square baking dish and 1 through 5"									_	
2641	GALLEY FIRST FLOOR REAR	X 9" loaf dish, new in box, Photo 8960	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.4	9	NEW
	LEFT KITCHEN AND											
2642	GALLEY	Box of Ziploc gallon freezer bags, 28 count	Replace	2	\$4.99 \$	9.98	6.25%	\$	0.62	\$ 10.6)	1 year
	FIRST FLOOR REAR LEFT KITCHEN AND											
2643	GALLEY	Box of Ziploc quart freezer bags, 34 count	Replace	2	\$4.99 \$	9.98	6.25%	\$	0.62	\$ 10.6	1	1 year
	FIRST FLOOR REAR			=	******			•		*		. ,
2644	LEFT KITCHEN AND GALLEY	05	Bertere		***		0.050/	•				4
2644	FIRST FLOOR REAR	25 count box of Stop & Shop gallon slider freezer bags	Replace	1	\$3.99 \$	3.99	6.25%	\$	0.25	\$ 4.2	•	1 year
	LEFT KITCHEN AND											
2645	GALLEY	40 count box of Ziploc gallon storage bags	Replace	1	\$5.99 \$	5.99	6.25%	\$	0.37	\$ 6.3	6	1 year
	FIRST FLOOR REAR LEFT KITCHEN AND											
2646	GALLEY	12 count box of Hefty 2-1/2 gallon sliding storage bags	Replace	1	\$3.99 \$	3.99	6.25%	\$	0.25	\$ 4.2	1	1 year
	FIRST FLOOR REAR											
2647	LEFT KITCHEN AND GALLEY	Bottle of Barefoot Bubbly, 750 ml	Replace	2	\$14.99 \$	29.98	6.25%	\$	1.87	\$ 31.8	5	6 months
2011	FIRST FLOOR REAR	Bottle of Burleton Bubbly, 100 IIII	порисо	-	V.1.00 V	20.00	0.2070	•		• • • • • • • • • • • • • • • • • • • •		o monato
	LEFT KITCHEN AND										_	_
2648	GALLEY FIRST FLOOR REAR	18" X 12" wooden religious cross with Jesus hanging	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.8	i .	5 +
	LEFT KITCHEN AND											
2649	GALLEY FIRST FLOOR REAR	Stone and metal beaded rosary beads, Photo 8961	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.4	9	5 +
	RIGHT LAUNDRY ROOF	и										
2650	CLOSET	Large plastic laundry basket	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94	\$ 15.9	3	5 +
	FIRST FLOOR REAR RIGHT LAUNDRY ROOF											
2651	CLOSET	Straw bristle broom	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.2	1	5 +
2001	FIRST FLOOR REAR		11001.000	•	V.0.00 V		0.2070	•		*	•	
2652	RIGHT LAUNDRY ROOF	M Swiffer Wet Jet	Danlass	2	\$29.99 \$	59.98	6.25%	•	3.75	s 63.7		5 ÷
2002	FIRST FLOOR REAR	Swiller vvei Jei	Replace	2	\$29.99 \$	59.96	6.25%	Þ	3./5	\$ 63.7	•	5+
	RIGHT LAUNDRY ROOF											
2653	CLOSET FIRST FLOOR REAR	Ironing board	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$ 53.1	1	5 +
	RIGHT LAUNDRY ROOF	И										
2654	CLOSET	12" X 12" shadow box style wall art, Photo 8965	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.4	•	5 +
	FIRST FLOOR REAR RIGHT LAUNDRY ROOF	и										
2655	CLOSET	3' long duster	Replace	2	\$9.99 \$	19.98	6.25%	\$	1.25	\$ 21.2	3	5 +
		-									https://www.homedepot.com/	
											p/Whirlpool-4-3-cu-ft-High-	
											Efficiency-White-Top-Load-	
											Washing-Machine-with-Quick- Wash-	
	FIRST FLOOR REAR										WTW5000DW/205538993?s	
		MTop loading washing machine from Whirlpool, Model									ource=shoppingads&locale=e	_
2656	CLOSET	WTW4955HW0 Type 588-20, Photo 8966	Replace	1	\$749.00 \$	749.00	6.25%	\$	46.81	\$ 795.8	1 n-US https://www.bestbuy.com/site	5 +
											/whirlpool-7-4-cu-ft-36-cycle-	
	FIRST FLOOR REAR	WE continued in the form Whitehall At 11 AVED 1000 BAID									electric-dryer-	
2657	CLOSET	MFront loading dryer from Whirlpool, Model WED4950HW0, Type DWSR-ELE-2406026-FM54, Photo 8967	Replace	1	\$899.99 \$	899.99	6.25%	\$	56.25	\$ 956.2	white/6313770.p?skuld=6313 770&ref=212&loc=1	5+
	FIRST FLOOR REAR				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			•				
0050	RIGHT LAUNDRY ROOF		Bertere		***		0.050/	•				5+
2658	FIRST FLOOR REAR	Large plastic dust pan	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.6	1	5+
	RIGHT LAUNDRY ROOF											
2659	CLOSET FIRST FLOOR REAR	Swiffer wet/dry mop	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25	\$ 21.2	1	5 +
	RIGHT LAUNDRY ROOF	И										
2660	CLOSET	Large canvas reusable tote bag	Replace	4	\$39.99 \$	159.96	6.25%	\$	10.00	\$ 169.9	3	5 +
	FIRST FLOOR REAR	MAllowance-various cleaning supplies and laundry supplies, Photo										
2661	CLOSET	8968	Replace	1	\$300.00 \$	300.00	6.25%	\$	18.75	\$ 318.7	5	5 +
	FIRST FLOOR REAR											
2662	RIGHT LAUNDRY ROOF CLOSET	M Steam iron from Proctor Silex, Type 174, Model 17291K	Replace	1	\$49.99 \$	49.99	6.25%	•	3.12	\$ 53.1	i	5+
2002	FIRST FLOOR REAR	otean non-non-notion ones, type 174, would 1729 IN	repiace	•	φ + 3.33 ֆ	43.39	0.25/6	Ψ	3.12	y 53.1	•	J 1
0000	RIGHT LAUNDRY ROOF		B1				0.5=0.	•				NEW
2663	CLOSET FIRST FLOOR REAR	Proctor Silex durable steam iron, new in box, Model 17291K	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75	\$ 63.7	•	NEW
		MBlack & Decker large steam iron with retractable cord, Model										
2664	CLOSET	ICR505	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$ 53.1	1	5 +

	FIRST FLOOR REAR RIGHT LAUNDRY ROOF	м									
2665	CLOSET	Baseball cap	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3.75	\$	63.73	5 +
	FIRST FLOOR REAR RIGHT LAUNDRY ROOF	м									
2666	CLOSET FIRST FLOOR REAR	Microfiber cloth	Replace	4	\$5.99 \$	23.96	6.25%	\$ 1.50	\$	25.46	5 +
	RIGHT LAUNDRY ROOF										
2667	CLOSET FIRST FLOOR REAR	Lint roller	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	\$	42.46	5 +
2668	RIGHT LAUNDRY ROOF	MLED battery powered shop light, hanging and magnetic, from Harbor Freight	Replace	3	\$34.99 \$	104.97	6.25%	\$ 6.56	•	111.53	5.4
2000	FIRST FLOOR REAR	· ·	Replace	3	\$34.55 \$	104.57	0.25%	\$ 0.50	•	111.55	3+
2669	RIGHT LAUNDRY ROOF CLOSET	M Large plastic mop bucket	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	s	21.24	5+
	FIRST FLOOR REAR RIGHT LAUNDRY ROOF										
2670	CLOSET	10" stainless steel LED flashlight, battery powered	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$	31.86	5 +
	FIRST FLOOR REAR RIGHT LAUNDRY ROOF	м									
2671	CLOSET FIRST FLOOR REAR	6" battery powered flashlight from companies like Garrity	Replace	4	\$9.99 \$	39.96	6.25%	\$ 2.50	\$	42.46	5 +
	RIGHT LAUNDRY ROOF										
2672	CLOSET FIRST FLOOR REAR	Handheld rechargeable spotlight from Dorcy	Replace	1	\$41.99 \$	41.99	6.25%	\$ 2.62	\$	44.61	5 +
2673	RIGHT LAUNDRY ROOF CLOSET	M 10" plastic flashlight	Ponloco	3	\$9.99 \$	29.97	6.25%	\$ 1.87	•	31.84	F.+
2073	FIRST FLOOR REAR	· -	Replace	3	фэ.ээ ф	29.91	0.25%	3 1.07	•	31.04	3+
2674	RIGHT LAUNDRY ROOF CLOSET	12" hanging battery powered flashlight from Eveready	Replace	1	\$4.99 \$	4.99	6.25%	\$ 0.31	\$	5.30	5+
	FIRST FLOOR REAR RIGHT LAUNDRY ROOF		·								
2675	CLOSET	12" plastic flashlight	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$	10.61	5 +
	FIRST FLOOR REAR RIGHT LAUNDRY ROOF	м									
2676	CLOSET FIRST FLOOR REAR	Box of Swiffer duster replacements	Replace	1	\$12.99 \$	12.99	6.25%	\$ 0.81	\$	13.80	1 year
	RIGHT LAUNDRY ROOF										
2677	CLOSET FIRST FLOOR REAR	Progressive onion chopper, new in box	Replace	1	\$20.99 \$	20.99	6.25%	\$ 1.31	\$	22.30	NEW
2678	RIGHT LAUNDRY ROOF CLOSET	V Cuisinart large waffle maker, Model WAF-F20, Photo 8970	Replace	1	\$99.99 \$	99.99	6.25%	\$ 6.25	•	106.24	5+
2076	FIRST FLOOR REAR	-	Replace	•	ф39.33 ф	33.33	0.25%	\$ 6.25	•	100.24	3+
2679	RIGHT LAUNDRY ROOF	MXL electric skillet from General Electric, Model STC-3, Photo 8971	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12	\$	53.11	5+
		XXL Jumbo sized electric George Foreman Lean, Mean, Fat MReducing Grilling Machine, Model GR36CB, new in box, Photo	•								
2680	CLOSET	8972	Replace	1	\$109.99 \$	109.99	6.25%	\$ 6.87	\$	116.86	NEW
	FIRST FLOOR REAR RIGHT LAUNDRY ROOF	м									
2681	CLOSET FIRST FLOOR REAR	Box of General Electric soft white lightbulbs, A19, 4 count	Replace	4	\$8.99 \$	35.96	6.25%	\$ 2.25	\$	38.21	5+ but never used
	RIGHT LAUNDRY ROOF	MBox of Sylvania Double Life 40 watt lightbulbs with small base,									
2682	CLOSET FIRST FLOOR REAR	B10 bulbs	Replace	4	\$3.99 \$	15.96	6.25%	\$ 1.00	\$	16.96	5+ but never used
2683	RIGHT LAUNDRY ROOF	Package of General Electric G16 lightbulb replacement, 4 count	Replace	4	\$3.99 \$	15.96	6.25%	\$ 1.00	•	16.96	5+ but never used
2000	FIRST FLOOR REAR		Replace	•	φ3.33 φ	15.50	0.2376	ų 1.00	•	10.30	31 but never used
2684	RIGHT LAUNDRY ROOF CLOSET	M Allowance-various lightbulbs, Photo 8973	Replace	1	\$250.00 \$	250.00	6.25%	\$ 15.63	\$	265.63	5+
2685	FIRST FLOOR REAR RIGHT BATHROOM	1 gallon plastic trash bin with flip top lid	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.25	•	21.24	5.+
	FIRST FLOOR REAR				\$9.99 \$			•	•		-
2686	FIRST FLOOR REAR	Plastic toilet bowl brush with caddy	Replace	1	V 0.00 V	9.99	6.25%	,		10.61	5 +
2687	RIGHT BATHROOM FIRST FLOOR REAR	Wooden solid wood magazine rack	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$	42.49	5 +
2688	RIGHT BATHROOM FIRST FLOOR REAR	Roll of toilet paper	Replace	3	\$0.99 \$	2.97	6.25%	\$ 0.19	\$	3.16	1 year
2689	RIGHT BATHROOM	Small metal basket	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0.62	\$	10.61	5 +
2690	FIRST FLOOR REAR RIGHT BATHROOM	9" tall faux Christmas tree with plant potter	Replace	2	\$129.99 \$	259.98	6.25%	\$ 16.25	s	276.23	5+
2691	FIRST FLOOR REAR RIGHT BATHROOM		-	3	\$9.99 \$	29.97	6 25%	\$ 1.87	•	31 84	5 +
	FIRST FLOOR REAR	4" tall ceramic statue	Replace		,,,,,		6.25%			31.84	•
2692	RIGHT BATHROOM FIRST FLOOR REAR	2" tall votive candle	Replace	2	\$1.99 \$	3.98	6.25%	\$ 0.25	\$	4.23	5+
2693	RIGHT BATHROOM FIRST FLOOR REAR	12" X 6" ceramic tray	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1.87	\$	31.86	5 +
2694	RIGHT BATHROOM	2" X 2" glass votive candle holder	Replace	2	\$9.99 \$	19.98	6.25%	\$ 1.25	\$	21.23	5+
2695	FIRST FLOOR REAR RIGHT BATHROOM	Small ceramic water pitcher with basin, decorative, Photo 8976	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2.50	\$	42.49	5+

2696	FIRST FLOOR REAR RIGHT BATHROOM FIRST FLOOR REAR	8" tall metal wire hanging tapered candle holder or votive candle holder, with glass lamp shade, Photo 8977	Replace	2	\$19.99 \$	39.98	6.25%	\$	2.50 \$	42.48	5+
2697		Prescription medication	Replace	11	\$25.00 \$	275.00	6.25%	\$	17.19 \$	292.19	1 year
2698	RIGHT BATHROOM	Over the counter medication such as Mucinex, cough syrup, liquid antacid, Dayquil, Nyquil, anti-diarrheal, etc., Photo 8978	Replace	37	\$7.99 \$	295.63	6.25%	\$	18.48 \$	314.11	1 year
2699	FIRST FLOOR REAR RIGHT BATHROOM	Digital thermometer	Replace	2	\$9.99 \$	19.98	6.25%	\$	1.25 \$	21.23	5 +
2700	FIRST FLOOR REAR RIGHT BATHROOM FIRST FLOOR REAR	950 ml bottle of hand sanitizer from HP Puerto Rico, new	Replace	1	\$12.99 \$	12.99	6.25%	\$	0.81 \$	13.80	NEW
2701	RIGHT BATHROOM FIRST FLOOR REAR	19 ounce can of Lysol disinfectant spray	Replace	2	\$5.99 \$	11.98	6.25%	\$	0.75 \$	12.73	1 year
2702	RIGHT BATHROOM FIRST FLOOR REAR	15 ounce bottle of hand sanitizer from Berkley Jensen	Replace	1	\$2.99 \$	2.99	6.25%	\$	0.19 \$	3.18	1 year
2703	RIGHT BATHROOM FIRST FLOOR REAR	8 ounce container of Glade spray	Replace	2	\$2.99 \$	5.98	6.25%	\$	0.37 \$	6.35	1 year
2704	RIGHT BATHROOM FIRST FLOOR REAR	12 ounce container of Purell healthy hand soap	Replace	1	\$2.99 \$	2.99	6.25%	\$	0.19 \$	3.18	5+
2705	RIGHT BATHROOM FIRST FLOOR REAR	1.7 ounce bottle of women's perfume from Celine Dion	Replace	1	\$28.99 \$	28.99	6.25%		1.81 \$	30.80	5+
2706	RIGHT BATHROOM FIRST FLOOR REAR	Women's large bristle brush, plastic, from companies like Conair	Replace	2	\$9.99 \$	19.98	6.25%	*	1.25 \$	21.23	5+
2707	RIGHT BATHROOM FIRST FLOOR REAR	Women's plastic comb from companies like Conair Women's 1" diameter hot twirler brush with wooden handle, boar	Replace	4	\$2.99 \$		6.25%		0.75 \$	12.71	5+
2708	RIGHT BATHROOM FIRST FLOOR REAR	bristle	Replace	1	\$18.99 \$		6.25%		1.19 \$	20.18	5+
2709 2710	RIGHT BATHROOM FIRST FLOOR REAR RIGHT BATHROOM	4" diameter handheld beauty mirror from Vidal Sassoon 24 piece emery board set	Replace	1	\$9.99 \$ \$12.99 \$	9.99	6.25% 6.25%		0.62 \$ 0.81 \$	10.61 13.80	5 + 5 +
2710	FIRST FLOOR REAR RIGHT BATHROOM	Metal beard comb	Replace Replace	1	\$12.99 \$	4.99	6.25%		0.31 \$	5.30	5+
2712	FIRST FLOOR REAR RIGHT BATHROOM	1.7 ounce container of L'Oréal Paris Revitalift Sunscreen	Replace	1	\$13.99 \$		6.25%		0.87 \$	14.86	5+
2713	FIRST FLOOR REAR RIGHT BATHROOM	1.8 ounce container of Paul Mitchell's dry wax finish	Replace	1	\$13.00 \$		6.25%	*	0.81 \$	13.81	5+
2714	FIRST FLOOR REAR RIGHT BATHROOM	2.5 ounce container of Mary Kay extra emollient night cream	Replace	1	\$18.99 \$	18.99	6.25%	\$	1.19 \$	20.18	5+
2715	FIRST FLOOR REAR RIGHT BATHROOM	1 ounce container of Laura Mercier warm ivory cream smooth foundation	Replace	1	\$48.00 \$	48.00	6.25%		3.00 \$	51.00	5+
2716	FIRST FLOOR REAR RIGHT BATHROOM	Women's eye shadow palette from Victoria's Secret, 4 color	Replace	4	\$30.00 \$	120.00	6.25%	\$	7.50 \$	127.50	5+
2717	FIRST FLOOR REAR RIGHT BATHROOM	Women's blush palette, Duo, from Victoria's Secret	Replace	2	\$28.00 \$	56.00	6.25%	\$	3.50 \$	59.50	5+
2718	FIRST FLOOR REAR RIGHT BATHROOM	Women's liquid foundation from Maybelline New York, 1 ounce	Replace	1	\$5.99 \$	5.99	6.25%	\$	0.37 \$	6.36	5+
2719	FIRST FLOOR REAR RIGHT BATHROOM	Assorted makeup brush	Replace	6	\$7.99 \$	47.94	6.25%	\$	3.00 \$	50.94	5+
2720	FIRST FLOOR REAR RIGHT BATHROOM FIRST FLOOR REAR	Women's mascara from Sephora	Replace	2	\$14.00 \$	28.00	6.25%	\$	1.75 \$	29.75	5+
2721	RIGHT BATHROOM FIRST FLOOR REAR	Women's lipstick from Lancôme	Replace	3	\$8.99 \$	26.97	6.25%	\$	1.69 \$	28.66	5+
2722	RIGHT BATHROOM FIRST FLOOR REAR	Ceramic countertop bar soap holder	Replace	1	\$19.99 \$	19.99	6.25%	\$	1.25 \$	21.24	5+
2723	RIGHT BATHROOM FIRST FLOOR REAR	18" X 14" wooden picture frame with wall print	Replace	1	\$59.99 \$	59.99	6.25%	\$	3.75 \$	63.74	5+
2724	RIGHT BATHROOM FIRST FLOOR REAR	4' long X 1-1/2' sheer lace linen curtain runner	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87 \$	31.86	5+
2725	RIGHT BATHROOM	2' long sheer lace window panel curtains	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50 \$	42.49	5+
		Allowance-various bathroom cleaning supplies, hair maintenance supplies such as mouse, hairspray, conditioners, masks, etc., air									
2726	RIGHT BATHROOM FIRST FLOOR REAR	fresheners, bathroom toiletries, etc., Photo 8981	Replace	1	\$400.00 \$	400.00	6.25%	*	25.00 \$	425.00	5 +
2727	RIGHT BATHROOM FIRST FLOOR REAR	Large plastic storage box	Replace	1	\$9.99 \$	9.99	6.25%		0.62 \$	10.61	5+
2728	RIGHT BATHROOM FIRST FLOOR REAR	Women's electric blow dryer from Conair, Model 146BL Women's 1" diameter electric curling iron from Windmere, Model	Replace	1	\$29.99 \$		6.25%		1.87 \$	31.86	5+
2729	RIGHT BATHROOM FIRST FLOOR REAR	C5-I-6X	Replace	1	\$29.99 \$	29.99	6.25%		1.87 \$	31.86	5+
2730 2731	RIGHT FOYER FIRST FLOOR REAR RIGHT FOYER	Hand painted wood saw wall art, 32" long, Photo 8989 3' long solid wood coat rack with 6 hooks, Photo 8989	Replace Replace	1	\$29.99 \$ \$24.99 \$	29.99	6.25% 6.25%		1.87 \$ 1.56 \$	31.86 26.55	5 + 5 +
2731	FIRST FLOOR REAR RIGHT FOYER	3' long solid wood coat rack with 6 nooks, Photo 8989 6' X 3' area ruq, Photo 8990	Replace	1	\$24.99 \$ \$69.99 \$		6.25%		1.56 \$ 4.37 \$	74.36	5+ 5+
2733	FIRST FLOOR REAR RIGHT FOYER	Baby stroller from Graco with removable car seat. Photo 8991	Replace	1	\$199.99 \$		6.25%	*	4.37 \$ 12.50 \$	212.49	3 years
2734		Baby car seat with quick connect base, Snug Ride 30 Quick Connect. Photo 8992	Replace	1	\$139.99 \$		6.25%	*	8.75 \$	148.74	4 years
2735	FIRST FLOOR REAR RIGHT FOYER	12" Panoramic rear view mirror attachments	Replace	1	\$133.33 \$		6.25%	*	0.73 \$	13.80	5 +
			.,		+						-

2736	FIRST FLOOR REAR RIGHT FOYER	12" diameter wicker and Hot Wheels car wreath, Photo 8993	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$	31.86		5 +
2737	FIRST FLOOR REAR RIGHT FOYER FIRST FLOOR REAR	Crack barrel pellet rifle, Photo 8994 Crack barrel pellet rifle with scope from Crosman, reads 3-9X32,	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$	53.11		5 +
2738	RIGHT FOYER FIRST FLOOR REAR	Photo 8995	Replace	1	\$79.99 \$	79.99	6.25%	\$	5.00	\$	84.99		5 +
2739	RIGHT FOYER FIRST FLOOR REAR	Large ceramic plant potter	Replace	2	\$59.99 \$	119.98	6.25%	\$	7.50	\$	127.48		5 +
2740	RIGHT FOYER FIRST FLOOR REAR	Large house plant	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$	42.49		5 +
2741	RIGHT FOYER FIRST FLOOR REAR	Medium house plant, Photo 8996	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$	31.86		5 +
2742	RIGHT FOYER FIRST FLOOR REAR	4' X 30" woven area rug, Photo 8997	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$	42.49		5 +
2743	RIGHT FOYER FIRST FLOOR REAR	6' X 2' carpet runner, Photo 8998	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$	42.49		5 +
2744	RIGHT FOYER FIRST FLOOR REAR	Full face motorcycle helmet from Grant, Photo 8999	Replace	1	\$180.00 \$	180.00	6.25%	\$	11.25	\$	191.25		5+
2745	RIGHT FOYER FIRST FLOOR REAR	1 gallon plastic water pitcher	Replace	1	\$4.99 \$	4.99	6.25%	\$	0.31	\$	5.30		5+
2746	RIGHT FOYER FIRST FLOOR REAR	3' X 2' poster board wall art	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$	42.49		5 +
2747	RIGHT FOYER FIRST FLOOR REAR	XL solid wood storage bench, 5' tall X 51" X 24", Photo 9000 2' X 18" street sign for Jonathan Roberg Memorial Bridge (their	Replace	1	\$899.99 \$	899.99	6.25%	\$	56.25	\$	956.24		5 +
2748	RIGHT FOYER FIRST FLOOR REAR	son that passed away in the military), Photo 9001	Replace	2	\$200.00 \$	400.00	6.25%		25.00		425.00		5 +
2749	RIGHT FOYER FIRST FLOOR REAR	Men's heavy winter ski gloves	Replace	6	\$59.99 \$	359.94	6.25%	\$	22.50	\$	382.44		5 +
2750	RIGHT FOYER FIRST FLOOR REAR	Men's leather winter gloves	Replace	2	\$49.99 \$	99.98	6.25%		6.25		106.23		5 +
2751	RIGHT FOYER FIRST FLOOR REAR	Baseball cap	Replace	9	\$29.99 \$	269.91	6.25%	•	16.87		286.78		5 +
2752	RIGHT FOYER FIRST FLOOR REAR	Heavy knit winter hat, Photo 9002	Replace	27	\$29.99 \$	809.73	6.25%		50.61		860.34		5 +
2753	RIGHT FOYER FIRST FLOOR REAR	Large buffet style disposable tin pan	Replace	50	\$7.99 \$	399.50	6.25%		24.97		424.47		5+
2754	RIGHT FOYER FIRST FLOOR REAR	Plastic medical boot from Air Cast Large metal wire storage rack, 6' tall X 3' long X 20" wide, Photo	Replace	1	\$86.99 \$	86.99		\$	5.44		92.43	1	year old
2755	RIGHT FOYER FIRST FLOOR REAR	9003	Replace	1	\$59.99 \$	59.99	6.25%		3.75		63.74		5+
2756	RIGHT FOYER FIRST FLOOR REAR	Baseball cap	Replace	12	\$29.99 \$	359.88	6.25%		22.49		382.37		5+
2757	RIGHT FOYER FIRST FLOOR REAR	Women's ear muff ear warmers from Michael Kors, Photo 9004	Replace	1	\$41.99 \$	41.99	6.25%		2.62		44.61		5+
2758 2759	RIGHT FOYER FIRST FLOOR REAR RIGHT FOYER	Large stainless steel shoehorn, 3' long	Replace	1	\$12.99 \$ \$29.99 \$	12.99 29.99	6.25% 6.25%		0.81 1.87		13.80 31.86		5 + NEW
2760		Large pop out umbrella [inaudible 4:33], new American storm flag with wooden pole, like the flags you put on the side of your house	Replace	1	\$39.99 \$	39.99	6.25%		2.50		42.49		5 +
2761	FIRST FLOOR REAR RIGHT FOYER	Weighted vest from Fitness Gear, Photo 9005	Replace Replace	1	\$79.99 \$	79.99	6.25%		5.00	•	84.99		5+
2762	FIRST FLOOR REAR RIGHT FOYER	Women's slippers	Replace	5	\$39.99 \$	199.95	6.25%		12.50		212.45		5+
2763	FIRST FLOOR REAR RIGHT FOYER	Women's flip flops from Under Armour	Replace	1	\$29.99 \$	29.99	6.25%	•	1.87	•	31.86		5+
2764	FIRST FLOOR REAR RIGHT FOYER	Women's flip flops from companies like Old Navy	Replace	4	\$19.99 \$	79.96	6.25%		5.00	•	84.96		5+
2765	FIRST FLOOR REAR RIGHT FOYER	Women's canvas shoes	Replace	5	\$59.99 \$	299.95	6.25%		18.75		318.70		5+
2766	FIRST FLOOR REAR RIGHT FOYER	Women's crocs	Replace	1	\$39.99 \$	39.99	6.25%		2.50		42.49		5+
2767	FIRST FLOOR REAR RIGHT FOYER	Women's running shoes from companies like Merrill	Replace	2	\$119.99 \$	239.98	6.25%		15.00		254.98		5+
2768	FIRST FLOOR REAR RIGHT FOYER	Women's leather dress shoes	Replace	8	\$59.99 \$	479.92	6.25%	\$	30.00	\$	509.92		5+
2769	FIRST FLOOR REAR RIGHT FOYER	Women's knee high leather boots, heeled, from White Mountain	Replace	1	\$79.99 \$	79.99	6.25%	\$	5.00	\$	84.99		5 +
2770	FIRST FLOOR REAR RIGHT FOYER	Women's high heels	Replace	2	\$59.99 \$	119.98	6.25%	\$	7.50	\$	127.48		5+
2771	FIRST FLOOR REAR RIGHT FOYER	Men's canvas running shoes	Replace	2	\$79.99 \$	159.98	6.25%	\$	10.00	\$	169.98		5+
2772	FIRST FLOOR REAR RIGHT FOYER	Women's mid top leather boots	Replace	1	\$129.99 \$	129.99	6.25%	\$	8.12	\$	138.11		5 +
2773	FIRST FLOOR REAR RIGHT FOYER	Men's leather dress shoes	Replace	1	\$99.99 \$	99.99	6.25%	\$	6.25	\$	106.24		5 +
2774	FIRST FLOOR REAR RIGHT FOYER	Men's combat boots, steel toe, from Chippewa waterproof leather, Photo 9006	Replace	1	\$349.99 \$	349.99	6.25%	\$	21.87	\$	371.86		
2775	FIRST FLOOR REAR RIGHT FOYER	Flat tire plugging kit	Replace	1	\$47.99 \$	47.99	6.25%	\$	3.00	\$	50.99		5 +
2776	RIGHT FOYER	Men's high top leather work boots from Chippewa, steel toe, Photo 9007	Replace	2	\$349.99 \$	699.98	6.25%	\$	43.75	\$	743.73		
2777	FIRST FLOOR REAR RIGHT FOYER	Ski poles or walking poles, aluminum, from Rossignol Saphir	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$	42.49		5 +

	FIRST FLOOR REAR										
2778	RIGHT FOYER FIRST FLOOR REAR	Women's leather strap back sandals	Replace	3	\$49.99 \$	149.97	6.25%	\$ 9	.37 \$	159.34	5 +
2779	RIGHT FOYER FIRST FLOOR REAR	2 gallon metal trash can	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	.87 \$	31.86	5 +
2780	RIGHT FOYER FIRST FLOOR REAR	American flag with wooden pole	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2	.50 \$	42.49	5 +
2781	RIGHT FOYER FIRST FLOOR REAR	Box of trash bags from HDX, 50 gallon, 50 count	Replace	1	\$16.99 \$	16.99	6.25%	\$ 1	.06 \$	18.05	5 +
2782	RIGHT FOYER	Electric boot dryer from Peet Dryer, the original, Photo 9008	Replace	1	\$44.99 \$	44.99	6.25%	\$ 2	.81 \$	47.80	6 months
2783	FIRST FLOOR REAR RIGHT FOYER	3' long lace linen tapered window curtains	Replace	3	\$49.99 \$	149.97	6.25%	\$ 9	.37 \$	159.34	5 +
2784	FIRST FLOOR REAR RIGHT FOYER	Small curtain rod	Replace	3	\$9.99 \$	29.97	6.25%	\$ 1	.87 \$	31.84	5+
2785	FIRST FLOOR REAR RIGHT FOYER	2000' X 18" box of plastic wrap from Berkley Jensen	Replace	1	\$16.99 \$	16.99	6.25%	\$ 1	.06 \$	18.05	2 years old
2786	FIRST FLOOR REAR RIGHT FOYER	Package of vacuum seal plastic rolls, comes with 2 11" X 16' rolls	Replace	1	\$17.99 \$	17.99	6.25%	\$ 1	.12 \$	19.11	5+
2787	FIRST FLOOR REAR RIGHT FOYER	Large digital slow cooker from Crockpot, Model SCCPBC600-S, Photo 9009	Replace	1	\$99.99 \$	99.99	6.25%		.25 \$	106.24	5+
2788	FIRST FLOOR REAR RIGHT FOYER	Electric food saver vacuum sealer, stainless steel, Model V3840, Photo 9010	-	1	\$199.99 \$	199.99	6.25%		.50 \$	212.49	5+
	FIRST FLOOR REAR		Replace			24.99					5+
2789	RIGHT FOYER FIRST FLOOR REAR	Insulated market tote, large, from California Innovations, new	Replace	1	\$24.99 \$		6.25%		.56 \$	26.55	-
2790	RIGHT FOYER FIRST FLOOR REAR	Industrial roll of shrink wrap Large canvas lunchbox from companies like EZ Zipperless by	Replace	1	\$52.99 \$	52.99	6.25%		.31 \$	56.30	5 +
2791	RIGHT FOYER FIRST FLOOR REAR	Arctic Zone Black & Decker 10 speed blender, 550 watt, Model BL2010BG,	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3	.75 \$	63.73	5+
2792	RIGHT FOYER FIRST FLOOR REAR	Photo 9011 Electric panini maker, Salton Pizzelle Master, Model WM-6A,	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	.87 \$	31.86	5 +
2793	RIGHT FOYER FIRST FLOOR REAR	Photo 9012	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2	.50 \$	42.49	5 +
2794	RIGHT FOYER FIRST FLOOR REAR	Kitchen Aid salad and fruit spinner, new in box, Photo 9013	Replace	1	\$24.99 \$	24.99	6.25%	\$ 1	.56 \$	26.55	NEW
2795	RIGHT FOYER	New solid wood flag pole	Replace	1	\$9.99 \$	9.99	6.25%	\$ 0	.62 \$	10.61	NEW
2796	FIRST FLOOR REAR RIGHT FOYER	Large umbrella	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3	.75 \$	63.73	5 +
2797	FIRST FLOOR REAR RIGHT FOYER	Large canvas lunchbox	Replace	2	\$29.99 \$	59.98	6.25%	\$ 3	.75 \$	63.73	5 +
2798	FIRST FLOOR REAR RIGHT FOYER	Large canvas folding chair with canvas carry bag	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2	.50 \$	42.49	5 +
2799	FIRST FLOOR REAR RIGHT FOYER	Medium canvas lunch bag	Replace	2	\$24.99 \$	49.98	6.25%	\$ 3	.12 \$	53.10	5+
2800	FIRST FLOOR REAR RIGHT FOYER	Medium canvas backpack from Winnie the Pooh, Disney	Replace	1	\$39.99 \$	39.99	6.25%	\$ 2	.50 \$	42.49	5+
2801	FIRST FLOOR REAR RIGHT FOYER	12 pack of soda from companies like Coke	Replace	3	\$3.99 \$	11.97	6.25%	\$ 0	.75 \$	12.72	6 months
2802	FIRST FLOOR REAR RIGHT FOYER	Stainless steel insulated ice bucket, champagne ice bucket with lid	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3	.12 \$	53.11	5+
2803	FIRST FLOOR REAR RIGHT FOYER	Large pop out storm umbrella	Replace	2	\$39.99 \$	79.98	6.25%		.00 \$	84.98	5+
2804	FIRST FLOOR REAR RIGHT FOYER	Small fold out shopping basket, canvas, with metal frame	Replace	3	\$89.00 \$	267.00	6.25%		.69 \$	283.69	5 ±
2805	FIRST FLOOR REAR RIGHT FOYER	Large canvas lunchbox	-	3	\$29.99 \$	89.97	6.25%		.62 \$	95.59	5+
	FIRST FLOOR REAR	· ·	Replace		, ,						•
2806	RIGHT FOYER FIRST FLOOR REAR	Packable fleece throw blanket	Replace	2	\$19.99 \$	39.98	6.25%	-	.50 \$	42.48	5 +
2807	RIGHT FOYER FIRST FLOOR REAR	Large storm umbrella	Replace	2	\$39.99 \$	79.98	6.25%		.00 \$	84.98	5 +
2808	RIGHT FOYER FIRST FLOOR REAR	Large canvas tote bag	Replace	3	\$39.99 \$	119.97	6.25%	\$ 7	.50 \$	127.47	5 +
2809	RIGHT FOYER FIRST FLOOR REAR	Swiffer Wet Jet, new in box	Replace	1	\$29.99 \$	29.99	6.25%	\$ 1	.87 \$	31.86	NEW
2810	RIGHT FOYER FIRST FLOOR REAR	Small pop out umbrella	Replace	3	\$14.99 \$	44.97	6.25%	\$ 2	.81 \$	47.78	5 +
2811	RIGHT FOYER FIRST FLOOR REAR	Medium canvas lunchbox	Replace	2	\$19.99 \$	39.98	6.25%	\$ 2	.50 \$	42.48	5 +
2812	RIGHT FOYER	24 ounce plastic water thermos from Igloo Large stoneware onnerware set for 8, includes 8 dinner plates, 8	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1	.25 \$	21.24	5 +
		appetizer plates, 8 coffee mugs, 8 soup bowls, one large tea pot, one salt and pepper shaker set, one cream pourer, one sugar									
	FIRST FLOOR REAR	holder with lid, four mini Dutch oven with lid, and large serving platter, and coffee plates. It says "Genuine Stoneware Japan",									
2813	RIGHT FOYER	Photo 9015 7' long roller - used to help unload trucks, made by Lamson, Photo	Replace	1	\$249.99 \$	249.99	6.25%		.62 \$	265.61	5 +
2814 2815	BASEMENT BASEMENT	9238 5 pound fire extinguisher from Kidde	Replace Replace	2	\$148.99 \$ \$42.99 \$	297.98 85.98			.62 \$.37 \$	316.60 91.35	5 + 5 +
2816	BASEMENT	Hammer drill made by Makita, Model HR5000, Photo 9239, 9240	Replace	1	\$119.99 \$	119.99	6.25%		.50 \$	127.49	5+
2817	BASEMENT	3-1/2 gallon bucket of ceramic tile adhesive from Custom Building Products	Replace	1	\$143.00 \$	143.00			.94 \$	151.94	5+
2818	BASEMENT	Hydraulic jack, Photo 9241	Replace	i	\$33.99 \$	33.99			.12 \$	36.11	5+

2819	BASEMENT	Hand carved walking stick, solid wood	Replace	1	\$39.99 \$	39.99	6.25%		2.50 \$	42.49		5 +	
2820	BASEMENT	Antique manual powered dril	Replace	2	\$32.99 \$	65.98		\$	4.12 \$	70.10		5 +	
2821	BASEMENT	6 piece XL chisel set, 18" long	Replace	1	\$109.99 \$	109.99	6.25%	\$	6.87 \$	116.86		5 +	
2822	BASEMENT	10" long monkey wrench	Replace	1	\$99.90 \$	99.90	6.25%	\$	6.24 \$	106.14		5 +	
			-										
2823	BASEMENT	Craftsman rotary tool, like a Dremel, Model 61000, Photo 9242	Replace	1	\$69.99 \$	69.99	6.25%	\$	4.37 \$	74.36		5+	
		Large electric power tool with dust collector made by Reliant,											
2824	BASEMENT	Photo 9243, 9244	Replace	1	\$303.99 \$	303.99	6.25%	\$	19.00 \$	322.99		5+	
202	D/102	Large medical IV bag caddy with handlebars on caster wheels,	rtopiaoo	•	4000.00	000.00	0.2070	*		022.00		•	
2825	BASEMENT	Photo 9245	Replace	1	\$109.99 \$	109.99	6.25%	•	6.87 \$	116.86		5+	
2023	DASEINENI		Replace		\$105.55 \$	105.55	0.25%	P	0.01	110.00		3+	
		6 shelf large metal wire storage rack on caster wheels, 5'9" tall X		_								5+	
2826	BASEMENT	3' X 20", Photo 9246	Replace	1	\$119.99 \$	119.99	6.25%	\$	7.50 \$	127.49		5+	
											https://www.banaadanataana/		
											https://www.homedepot.com/		
											p/Milwaukee-15-Amp-8-1-4-in	·	
											Panel-Saw-6480-		
		Large woodworkers specialty tool, some kind of saw set up, has a									20/100077431?source=shop		
2827	BASEMENT	circular saw built in, 6' tall X 12' long, Photo 9249, 9250	Replace	1	\$1,399.00 \$	1,399.00	6.25%	\$	87.44 \$	1,486.44	pingads&locale=en-US	5+	
2828	BASEMENT	Large stainless steel boiling pot	Replace	2	\$29.99 \$	59.98	6.25%	\$	3.75 \$	63.73		5+	
2829	BASEMENT	XL metal caulk gun	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50 \$	42.49		5+	
2830	BASEMENT	31" long drill bit	Replace	6	\$34.99 \$	209.94		\$	13.12 \$	223.06		5+	
2831	BASEMENT	4' long 1/2" diameter metal pipe	Replace	6	\$8.99 \$	53.94		\$	3.37 \$	57.31		5+	
		9=		-	******			*				-	
2832	BASEMENT	Large rotary bench, tool you use to round off corners, Photo 9251	Replace	1	\$129.00 \$	129.00	6.25%	•	8.06 \$	137.06		5+	
2002	DAOLINEITI	Earge rotary benon, tool you use to round on conners, I note 5251	Replace	•	ψ123.00 ψ	120.00	0.2070	•	0.00	107.00		0.	
		Calid ward and an interest to be done and the ward an anaton											
0000	BASEMENT	Solid wood cooler with 3 cup holders, could be used as seat or	Bertere		050.00	59.99	6.25%	•	3.75 \$	63.74		5+	
2833	BASEMENI	step stool, Photo 9252, 9253, 14" tall X 22" long X 13" wide	Replace	1	\$59.99 \$	59.99	6.25%	\$	3./5 \$	63.74		5+	
		2 tier metal storage workbench on caster wheels, 32" tall X 2' X											
2834	BASEMENT	2', Photo 9254	Replace	1	\$379.99 \$	379.99	6.25%	\$	23.75 \$	403.74		5+	
											https://kofflersales.com/p/floo		
											Г-		
											sander.asp?itemid=83263&ut		
											m_source=google&utm_medi		
		Large industrial sanding machine made by Clarke, Model MV-8,									um=organic&utm_campaign=		
2835	BASEMENT	Photo 9255, 9256	Replace	1	\$2.157.62 \$	2.157.62	6 25%	\$	134.85 \$	2 292 47	surfaces-across-google	5+	
2836	BASEMENT	2 drawer metal filing cabinet	Replace	i	\$129.99 \$	129.99	6.25%	\$	8.12 \$	138.11	carraces across geogre	5+	
2837	BASEMENT	20 gallon storage chest, plastic, Photo 9258	Replace	i	\$9.97 \$	9.97		Š	0.62 \$	10.59		5+	
2838	BASEMENT	6' A frame ladder by Werner, Photo 9259	Replace	i	\$79.99 \$	79.99		\$	5.00 \$	84.99		5+	
2839	BASEMENT		Replace	57	\$33.99 \$	1.937.43		\$		2,058.52		5+	
		1 gallon can of paint, stain, polyurethane, etc.								781.51			
2840	BASEMENT	1 quart can of stain, polyurethane, paint	Replace	46	\$15.99 \$	735.54		\$				5+	
2841	BASEMENT	1 pint can of stain, latex enamel, etc.	Replace	29	\$7.99 \$	231.71	6.25%	\$	14.48 \$	246.19		5+	
		Can of spray paint, spray on polyurethane, marking paint, carbon											
2842	BASEMENT	[inaudible 06:10] cleaner, etc.	Replace	96	\$7.99 \$	767.04		\$	47.94 \$	814.98		5+	
2843	BASEMENT	1 gallon can of Clean Strip paint stripper	Replace	6	\$42.99 \$	257.94	6.25%	\$	16.12 \$	274.06		5+	
2844	BASEMENT	1 quart can of Clean Strip paint stripper	Replace	6	\$15.99 \$	95.94	6.25%	\$	6.00 \$	101.94		5+	
												Some were new	
												and some were	
2845	BASEMENT	10 ounce can, assorted caulk, silicone, latex, etc.	Replace	34	\$7.99 \$	271.66	6.25%	\$	16.98 \$	288.64		older than 5 years	
2846	BASEMENT	Large metal caulk gun, Photo 9260, 9261	Replace	2	\$39.99 \$	79.98	6.25%		5.00 \$	84.98		5+	
2040	DAOLINEITI	Earge metal dadik gan, i noto 3250, 3201	Replace	-	ψου.υυ ψ	75.50	0.2070	•	0.00 ¢	04.50		0.	
												Some were new	
												and some were	
20.47	BASEMENT	Asserted weight househes	Daniese	27	\$8.99 \$	040.70	C 050/	•	45 47 6	257.90			
2847	DASEMENI	Assorted paint brushes	Replace	21	\$0.99 \$	242.73	6.25%	Þ	15.17 \$	257.90		older than 5 years	
		7' tall X 5' long X 2' wide solid wood storage rack, has five										_	
2848	BASEMENT	shelves	Replace	1	\$1,799.90 \$	1,799.90	6.25%	\$	112.49 \$	1,912.39		5+	
											D		
											Powermatic PM2014 14 in. x		
		Woodworker's large specialty lathe tool made by Delta. Photo									4 in. Wood Lathe-1792014 -		
2849	BASEMENT	9264, 9265	Replace	1	\$1,999.00 \$	1,999.00	6.25%	\$	124.94 \$	2,123.94	The Home Depot	5+	
2850	BASEMENT	AC motor from Westinghouse, 1/4 HP, 1725 RPM, Photo 9266	Replace	1	\$84.99 \$	84.99	6.25%	\$	5.31 \$	90.30		5+	
2851	BASEMENT	Protective face shield	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94 \$	15.93		5+	
2852	BASEMENT	XL wood carving chisel, 18"	Replace	8	\$24.99 \$	199.92	6.25%	s	12.50 \$	212.42		5+	
					*			*					
2853													
2000	BASEMENT	Craftsman dual motion sander, Model 315 11640, Photo 9267	Renlace	1	\$79.99 \$	79 99	6 25%	\$	5 00 S	84 99		5+	
	BASEMENT	Craftsman dual motion sander, Model 315.11640, Photo 9267	Replace	1	\$79.99 \$	79.99	6.25%	\$	5.00 \$	84.99		5+	
2854		Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo	-										
2854	BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269	Replace Replace	1 1	\$79.99 \$ \$369.99 \$	79.99 369.99	6.25% 6.25%		5.00 \$ 23.12 \$	84.99 393.11		5+ 5+	
	BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X	Replace	1	\$369.99 \$	369.99	6.25%	\$	23.12 \$	393.11		5+	
2855	BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270	Replace Replace	1	\$369.99 \$ \$499.00 \$	369.99 499.00	6.25% 6.25%	\$	23.12 \$ 31.19 \$	393.11 530.19		5+ 5+	
2855 2856	BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder	Replace Replace Replace	1 1 1	\$369.99 \$ \$499.00 \$ \$139.00 \$	369.99 499.00 139.00	6.25% 6.25% 6.25%	\$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$	393.11 530.19 147.69		5+ 5+ 5+	
2855	BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270	Replace Replace	1	\$369.99 \$ \$499.00 \$	369.99 499.00	6.25% 6.25% 6.25%	\$	23.12 \$ 31.19 \$	393.11 530.19		5+ 5+	Oldanhar
2855 2856 2857	BASEMENT BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder 3' fishing net, aluminum	Replace Replace Replace Replace	1 1 1	\$369.99 \$ \$499.00 \$ \$139.00 \$ \$64.99 \$	369.99 499.00 139.00 64.99	6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$ 4.06 \$	393.11 530.19 147.69 69.05		5+ 5+ 5+ 5+	Older than 5 years but
2855 2856	BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder	Replace Replace Replace	1 1 1	\$369.99 \$ \$499.00 \$ \$139.00 \$	369.99 499.00 139.00 64.99	6.25% 6.25% 6.25%	\$ \$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$	393.11 530.19 147.69		5+ 5+ 5+	unused material
2855 2856 2857 2858	BASEMENT BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder 3' fishing net, aluminum Box of solid wood flooring from Bruce, new	Replace Replace Replace Replace	1 1 1 1	\$369.99 \$ \$499.00 \$ \$139.00 \$ \$64.99 \$	369.99 499.00 139.00 64.99 85.99	6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$ 4.06 \$ 5.37 \$	393.11 530.19 147.69 69.05 91.36		5+ 5+ 5+ 5+ 5+	unused material Older than 5 years but
2855 2856 2857	BASEMENT BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder 3' fishing net, aluminum	Replace Replace Replace Replace	1 1 1	\$369.99 \$ \$499.00 \$ \$139.00 \$ \$64.99 \$	369.99 499.00 139.00 64.99 85.99	6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$ 4.06 \$	393.11 530.19 147.69 69.05		5+ 5+ 5+ 5+	unused material Older than 5 years but unused material
2855 2856 2857 2858	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder 3' fishing net, aluminum Box of solid wood flooring from Bruce, new	Replace Replace Replace Replace	1 1 1 1 1 9	\$369.99 \$ \$499.00 \$ \$139.00 \$ \$64.99 \$	369.99 499.00 139.00 64.99 85.99	6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$ 4.06 \$ 5.37 \$	393.11 530.19 147.69 69.05 91.36 66.84		5+ 5+ 5+ 5+ 5+	unused material Older than 5 years but
2855 2856 2857 2858	BASEMENT BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder 3' fishing net, aluminum Box of solid wood flooring from Bruce, new	Replace Replace Replace Replace	1 1 1 1	\$369.99 \$ \$499.00 \$ \$139.00 \$ \$64.99 \$	369.99 499.00 139.00 64.99 85.99	6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$ 4.06 \$ 5.37 \$	393.11 530.19 147.69 69.05 91.36		5+ 5+ 5+ 5+ 5+	unused material Older than 5 years but unused material
2855 2856 2857 2858 2859	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder 3' fishing net, aluminum Box of solid wood flooring from Bruce, new 8' long X 24" wide X 1" pieces of wood	Replace Replace Replace Replace Replace	1 1 1 1 1 9	\$369.99 \$ \$499.00 \$ \$139.00 \$ \$64.99 \$ \$85.99 \$	369.99 499.00 139.00 64.99 85.99 62.91	6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$ 4.06 \$ 5.37 \$ 3.93 \$	393.11 530.19 147.69 69.05 91.36 66.84		5+ 5+ 5+ 5+ 5+	unused material Older than 5 years but unused material Older than 5 years but
2855 2856 2857 2858 2859	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder 3' fishing net, aluminum Box of solid wood flooring from Bruce, new 8' long X 24" wide X 1" pieces of wood	Replace Replace Replace Replace Replace	1 1 1 1 1 9	\$369.99 \$ \$499.00 \$ \$139.00 \$ \$64.99 \$ \$85.99 \$	369.99 499.00 139.00 64.99 85.99 62.91	6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$ 4.06 \$ 5.37 \$ 3.93 \$	393.11 530.19 147.69 69.05 91.36 66.84		5+ 5+ 5+ 5+ 5+	unused material Older than 5 years but unused material Older than 5 years but unused material
2855 2856 2857 2858 2859 2860	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder 3' fishing net, aluminur Box of solid wood flooring from Bruce, new 8' long X 24" wide X 1" pieces of wood 2X6, 16' long	Replace Replace Replace Replace Replace Replace Replace	1 1 1 1 1 9	\$369.99 \$ \$499.00 \$ \$139.00 \$ \$64.99 \$ \$85.99 \$ \$6.99 \$	369.99 499.00 139.00 64.99 85.99 62.91 419.80	6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$ 4.06 \$ 5.37 \$ 3.93 \$ 26.24 \$	393.11 530.19 147.69 69.05 91.36 66.84 446.04		5+ 5+ 5+ 5+ 5+ 5+	unused material Older than 5 years but unused material Older than 5 years but unused material Older than 5 years but
2855 2856 2857 2858 2859 2860	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	Large 2 drawer tool box, 28" tall X 42" long X 18" wide, Photo 9268, 9269 Large 3 drawer tool box or organizer, metal, 36" tall X 47" long X 22" wide, Photo 9270 8' ladder 3' fishing net, aluminur Box of solid wood flooring from Bruce, new 8' long X 24" wide X 1" pieces of wood 2X6, 16' long	Replace Replace Replace Replace Replace Replace Replace	1 1 1 1 1 9	\$369.99 \$ \$499.00 \$ \$139.00 \$ \$64.99 \$ \$85.99 \$ \$6.99 \$	369.99 499.00 139.00 64.99 85.99 62.91 419.80	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	23.12 \$ 31.19 \$ 8.69 \$ 4.06 \$ 5.37 \$ 3.93 \$ 26.24 \$	393.11 530.19 147.69 69.05 91.36 66.84 446.04		5+ 5+ 5+ 5+ 5+ 5+	unused material Older than 5 years but unused material Older than 5 years but unused material Older than 5 years but unused material

2863	BASEMENT	4X4, 8' long wood	Replace	6	\$23.99	143.94	6.25%	\$	9.00	\$ 152.	94	5+
2864	BASEMENT	10' 1X6 wood plank	Replace	10	\$15.99	159.90	6.25%	\$	9.99	\$ 169.	89	5+
2865	BASEMENT	Wood molding, 8' long	Replace	30	\$13.99	\$ 419.70	6.25%	\$:	26.23	\$ 445.	93	5+
2000	DACEMENT	4" V 40" V 40! I Db-st- 0070 0070 fee- II the	Danlass	40	£20.00 (C 250/		9.37	\$ 329.	27	F.
2866 2867	BASEMENT BASEMENT	1" X 10" X 10' long wood plank, Photo 9272, 9273 for all the wood Eye protection or face shield	Replace Replace	10 2	\$30.99 \$8.99		6.25% 6.25%	\$ ·	1.12			5+ 5+
2868	BASEMENT	Large shears, 10" long	Replace	3	\$29.99		6.25%	\$	5.62			5+ 5+
2000	DAGLINLINI	12" long unsure what it is, carpenter's angling tool, maybe similar	Replace	3	φ23.33	9 03.31	0.23/6	Ψ	3.02	, 55.	33	31
2869	BASEMENT	to a carpenter's square	Replace	1	\$7.99	\$ 7.99	6.25%	\$	0.50	\$ 8.	49	5+
2870	BASEMENT	Large pair of needle nose pliers	Replace	2	\$14.99		6.25%	Š		\$ 31.		5+
2871	BASEMENT	Small shears	Replace	1	\$9.99		6.25%	\$		\$ 10.		5+
2872	BASEMENT	Large stainless steel ladle - looks like forging ladle	Replace	1	\$29.99	29.99	6.25%	\$	1.87	\$ 31.	86	5+
2873	BASEMENT	35 piece rotary bit set	Replace	1	\$14.99	\$ 14.99	6.25%	\$	0.94	\$ 15.	93	5+
2874	BASEMENT	Large stainless steel boiling pot	Replace	1	\$29.99		6.25%	\$		\$ 31.		5+
2875	BASEMENT	2' long pry bar	Replace	1	\$19.99		6.25%	\$		\$ 21.		5+
2876	BASEMENT	Solid wood hockey stick	Replace	2	\$39.99		6.25%	\$		\$ 84.		5+
2877	BASEMENT	24" forging ladle	Replace	1	\$29.99	\$ 29.99	6.25%	\$	1.87	\$ 31.	86	5+
2878	BASEMENT	Package of Polaroid film, Polaroid 600 instant film, 2 count per	Danisas	42	\$34.99	1,469.58	6.25%		1.85	. 4 504	40	5+
20/0	DASEWENI	pack Package of Polaroid film, Polaroid 600 instant film, 1 count	Replace	42	\$34.99	1,469.56	6.25%	a	71.05	\$ 1,561.	43	5+
2879	BASEMENT	package	Replace	10	\$18.99	189.90	6.25%	•	1.87	\$ 201.	77	5+
2013	DAGLINEITI	Polaroid Job Pro, new in box, with hard plastic carry case, Photo	replace		ψ10.55	100.00	0.2070	•	1.07	201.		٥.
2880	BASEMENT	9275	Replace	1	\$99.00	99.00	6.25%	\$	6.19	\$ 105.	19	NEW
2881	BASEMENT	Ear protection ear muffs	Replace	4	\$24.99		6.25%	Š		\$ 106.		5+
2882	BASEMENT	4' long level, aluminum	Replace	2	\$38.99		6.25%	\$		\$ 82.		5+
2883	BASEMENT	4' long wooden level	Replace	1	\$58.99		6.25%	\$		\$ 62.		5+
2884	BASEMENT	50' long roll of braided twine, 1/4"	Replace	1	\$6.99	6.99	6.25%	\$	0.44	\$ 7.	43	5+
		-	-									
2885	BASEMENT	Paint gun from Cobalt by Sharp, Model HVLP, Photo 9276	Replace	1	\$244.99		6.25%		5.31			5+
2886	BASEMENT	Tool to bend pipe or may be big table vise, Photo 9277	Replace	1	\$159.99		6.25%			\$ 169.		5+
2887	BASEMENT	Wire strippers	Replace	1	\$9.99		6.25%	\$		\$ 10.	61	5+
2888	BASEMENT	Carpenter's pencil	Replace	50	\$0.19		6.25%	\$		\$ 10.		5+
2889	BASEMENT	4" C clamp, metal	Replace	8	\$3.99	\$ 31.92	6.25%	\$		\$ 33.	92	5+
2890	BASEMENT	Needle nose pliers	Replace	2	\$9.99		6.25%	\$		\$ 21.		5+
2891	BASEMENT	XL screwdriver from Craftsman	Replace	1	\$19.99		6.25%	\$		\$ 21.		5+
2892	BASEMENT	Heavy duty Milwaukee hole saw kit, 17 piece, Photo 9278	Replace	1	\$84.99	\$ 84.99	6.25%	\$	5.31	\$ 90.	30	5+
											om/p/8576-210-sensitive-drill- press-series-16-116-hp-	
2893 2894 2895 2896	BASEMENT BASEMENT BASEMENT BASEMENT	Electric high speed sensitive drill from Dumore, Cat. 16-021, table mounted drill, Photo 9280 14* long shears 18* long shears Welder's mask	Replace Replace Replace Replace	1 1 1	\$877.00 \$ \$19.99 \$ \$29.99 \$	19.99 29.99	6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$	1.87	\$ 931. \$ 21. \$ 31. \$ 53.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm _medium=organie&utm_camp aign=shopping_feed&utm_co ntent=free_google_shopping_ dicks 24	5+ 5+ 5+ 5+
2894 2895	BASEMENT BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp	Replace	1	\$19.99 \$29.99	19.99 29.99 49.99	6.25% 6.25%	\$ \$ \$	1.25 1.87 3.12	\$ 21. \$ 31.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm _medium=organic&utm_camp aign=shopping_feed&utm_co nent=free_google_shopping_ 81 clicks 24 86	5+ 5+
2894 2895 2896 2897	BASEMENT BASEMENT BASEMENT BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by	Replace Replace Replace Replace	1 1 1 8	\$19.99 \$ \$29.99 \$ \$49.99 \$ \$24.00 \$	19.99 29.99 49.99 192.00	6.25% 6.25% 6.25% 6.25%	\$ \$ \$	1.25 1.87 3.12 2.00	\$ 21. \$ 31. \$ 53. \$ 204.	press-series-16-116-hp- universal-15500-18700- rpm?InfoParam.campaignId=T 9F&utm_source=google&utm _medium=organic&utm_camp aign=shopping_feed&utm_co _ntent=free_google_shopping_ clicks 24 86 111	5+ 5+ 5+ 5+
2894 2895 2896 2897	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216	Replace Replace Replace Replace	1 1 1 8	\$19.99 \$ \$29.99 \$ \$49.99 \$ \$24.00 \$	19.99 29.99 49.99 192.00	6.25% 6.25% 6.25% 6.25%	\$ \$ \$	1.25 1.87 3.12 2.00	\$ 21. \$ 31. \$ 53. \$ 204.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm _medium=organic&utm_camp aign=shopping_feed&utm_co nent=free_google_shopping_ 81 clicks 24 86 81 clicks	5+ 5+ 5+ 5+
2894 2895 2896 2897 2898 2899	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun	Replace Replace Replace Replace Replace Replace	1 1 1 8 8	\$19.99 \$29.99 \$49.99 \$24.00 \$	19.99 29.99 49.99 192.00 14.99 49.99	6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53.	press-series-16-116-hp- universal-15500-18700- rpm?InfoParam.campaignId=T 9F&utm_source=google&utm _medium=organie&utm_cam _aign=shopping_feed&utm_co _ntent=free_google_shopping_ _clicks 24 86 111 00	5+ 5+ 5+ 5+ 5+
2894 2895 2896 2897 2898 2899 2900	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight	Replace Replace Replace Replace Replace Replace Replace Replace	1 1 1 8 1 1 20	\$19.99 \$29.99 \$49.99 \$24.00 \$14.99 \$44.99 \$44.99 \$	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 49.99 \$ 99.80	6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12 6.24	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53. \$ 106.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm _medium=organic&utm_camp aign=shopping_feed&utm_co nent=free_google_shopping_ 81 clicks 84 86 81 93 93 93 94	5+ 5+ 5+ 5+ 5+ 5+ 5+
2894 2895 2896 2897 2898 2899 2900 2901	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight	Replace	1 1 1 8 1 1 20	\$19.99 \$29.99 \$49.99 \$24.00 \$14.99 \$44.99 \$44.99 \$34.90 \$3	19.99 29.99 49.99 192.00 192.00 14.99 49.99 99.80 39.90	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53. \$ 106. \$ 42.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm_medium=organic&utm_camp aign=shopping_feed&utm_co_ ntent=free_google_shopping_ t clicks 24 86 81 93 93 11 04	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+
2894 2895 2896 2897 2898 2899 2900 2901 2902	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	mounted drill, Photo 9280 14* long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer	Replace	1 1 1 8 1 1 20 10	\$19.99 \$29.99 \$49.99 \$24.00 \$14.99 \$49.99 \$4.99 \$13.99 \$19.90 \$19	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 49.99 \$ 99.80 \$ 39.90 \$ 19.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53. \$ 42. \$ 21.	press-series-16-116-hp- universal-15500-18700- rpm?InfoParam.campaignId=T 9F&utm_source=google&utm _medium=organio&utm_camp aign=shopping_feed&utm_co ntent=free_google_shopping_ clicks 111 100 101 101 101 101 101 101 101 10	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer	Replace Replace Replace Replace Replace Replace Replace Replace Replace	1 1 1 8 1 1 20 10 1	\$19.99 \$29.99 \$49.99 \$49.99 \$4.99 \$3.99 \$19.99 \$24.99 \$24.99 \$24.99 \$24.99 \$24.99 \$	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 99.80 \$ 39.90 \$ 19.99 \$ 24.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25 1.56	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53. \$ 106. \$ 42. \$ 21. \$ 26.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm _medium=organic&utm_camp aign=shopping_feed&utm_co ntent=free_google_shopping_ 1	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer	Replace	1 1 1 8 1 1 20 10	\$19.99 \$29.99 \$49.99 \$24.00 \$49.99 \$49.99 \$3.99 \$24.99 \$24.99 \$22.99 \$	19.99 5 29.99 5 49.99 5 192.00 5 14.99 5 99.80 5 39.90 5 19.99 5 24.99 5 59.98	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25 1.56 3.75	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 106. \$ 42. \$ 21. \$ 26. \$ 63.	press-series-16-116-hp- universal-15500-18700- rpm?InfoParam.campaignId=T 9F&utm_source=google&utm _medium=organic&utm_cam _aign=shopping_feed&utm_co _ntent=free_google_shopping_ clicks 11 00 93 111 04 39 22 555	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ NEW
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905	BASEMENT	mounted drill, Photo 9280 14* long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammel Wooden chisel hammer Claw tooth hammer Claw tooth hammer	Replace Replace Replace Replace Replace Replace Replace Replace Replace Replace Replace	1 1 1 1 8 1 1 20 10 1 1 1 2	\$19.99 \$29.99 \$49.99 \$24.00 \$14.99 \$49.99 \$3.99 \$19.99 \$24.99 \$29.99 \$9.99	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 99.80 \$ 39.90 \$ 19.99 \$ 24.99 \$ 59.98	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25 1.56 3.75 0.62	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53. \$ 106. \$ 42. \$ 26. \$ 26. \$ 63.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm _medium=organic&utm_camp aign=shopping_feed&utm_co tent=free_google_shopping_ 81 clicks 84 866 861 893 993 994 995 995 997 997 998 998 9999 9999 9999	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ NEW 5+
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2906	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer 8" drop forged monkey wrench 14" drop forged monkey wrench	Replace	1 1 1 1 8 1 1 20 10 1 1 1 2	\$19.99 \$29.99 \$49.99 \$24.00 \$14.99 \$49.99 \$49.99 \$24.09 \$24.99 \$29.99 \$29.99 \$19.90 \$1	\$ 19.99 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 99.80 \$ 39.90 \$ 19.99 \$ 24.99 \$ 9.99 \$ 9.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25 1.56 3.75 0.62 1.25	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53. \$ 106. \$ 22. \$ 26. \$ 63. \$ 100. \$ 21.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm medium=organie&utm_camp aign=shopping_feed&utm_co ntent=free_google_shopping_ clicks clicks 11 00 93 111 04 39 24 55 57 73 661	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ NEW 5+
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905	BASEMENT	mounted drill, Photo 9280 14* long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer Claw tooth hammer 8" drop forged monkey wrench 14" drop forged monkey wrench 18" drop forged monkey wrench	Replace Replace Replace Replace Replace Replace Replace Replace Replace Replace Replace Replace Replace Replace	1 1 1 8 1 1 20 10 1 1 1 2 2	\$19.99 \$29.99 \$49.99 \$24.00 \$14.99 \$49.99 \$3.99 \$19.99 \$24.99 \$29.99 \$9.99	\$ 19.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 49.99 \$ 49.99 \$ 39.90 \$ 39.90 \$ 24.99 \$ 9.99 \$ 59.98 \$ 9.99 \$ 24.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25 1.56 3.75 0.62 1.25 1.56	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53. \$ 106. \$ 22. \$ 26. \$ 63. \$ 100. \$ 21.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ NEW 5+
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2906 2907 2908 2909	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer 8" drop forged monkey wrench 14" drop forged monkey wrench 18" stainless steel chisel 18" stainless steel chisel	Replace	1 1 1 8 1 1 20 10 1 1 1 2 2	\$19.99 \$29.99 \$49.99 \$24.00 \$14.99 \$49.99 \$3.99 \$3.99 \$24.99 \$29.99 \$19.99 \$24.99 \$3.90 \$3	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 49.99 \$ 99.80 \$ 19.99 \$ 24.99 \$ 19.99 \$ 24.99 \$ 39.90 \$ 19.99 \$ 49.90 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25 1.56 3.75 0.62 1.25 1.56 2.50 0.94	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53. \$ 106. \$ 21. \$ 26. \$ 26. \$ 25. \$ 21. \$ 26. \$ 42. \$ 26. \$ 42.	press-series-16-116-hp- universal-15500-18700- rpm?InfoParam.campaignId=T 9F&utm_source=google&utmmedium=organic&utm_camaign=shopping_feed&utm_content=free_google_shopping_ clicks 11 00 93 11 104 32 24 55 73 61 124 55 49 93	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ NEW 5+ 5+ 5+ 5+
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2906 2907 2908 2909 2910	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer 8" drop forged monkey wrench 14" drop forged monkey wrench 18" stainless steel chisel 18" flat screwdriver from Craftsman Allen wrench set from Coball	Replace	1 1 1 8 1 1 20 10 1 1 1 2 1 1 1	\$19.99 \$29.99 \$44.99 \$24.00 \$44.99 \$44.99 \$44.99 \$54.90 \$5	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 99.80 \$ 99.80 \$ 19.99 \$ 59.98 \$ 9.99 \$ 19.99 \$ 19.99 \$ 14.99 \$ 14.99 \$ 19.99 \$ 14.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	****	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25 1.56 3.75 0.62 1.25 1.56 2.50 0.94 1.25	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 106. \$ 42. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm _medium=organic&utm_camp aign=shopping_feed&utm_co nent=free_google_shopping_ 81 clicks 84 861 81 clicks 83 clicks 84 clicks 85 clicks 86 clicks 86 clicks 87 clicks 88 clicks 89 clicks 80	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2907 2906 2907 2908 2909 2910 2911	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer 8" drop forged monkey wrench 18" drop forged monkey wrench 18" drop forged monkey wrench 18" stainless steel chisel 16" flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer	Replace Replace	1 1 1 8 1 1 20 10 1 1 2 1 1 1 1 1 1	\$19.99 \$24.99 \$24.99 \$44.99 \$44.99 \$44.99 \$54.90 \$5	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 49.99 \$ 39.90 \$ 19.99 \$ 59.80 \$ 24.99 \$ 19.99 \$ 24.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 24.99 \$ 19.99 \$ 24.99 \$ 19.99 \$ 19.90 \$ 19.	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1.25 1.87 3.12 12.00 0.94 3.12 6.24 2.49 1.25 1.56 3.75 0.62 1.25 1.56 2.50 0.94 1.25	\$ 21. \$ 31. \$ 53. 204. \$ 15. \$ 53. \$ 106. \$ 42. \$ 26. \$ 26. \$ 28. \$ 21. \$ 26. \$ 22. \$ 21. \$ 26. \$ 32. \$ 33.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm _medium=organic&utm_cam _aign=shopping_feed&utm_co _nicks 24 86 811 000 93 911 104 93 924 555 73 661 224 955 93 93 93 93 93 93 93 93 93 93 93 93 93	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2906 2907 2908 2909 2910 2911 2912	BASEMENT	mounted drill, Photo 9280 14* long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Claw tooth hammer Claw tooth hammer 8" drop forged monkey wrench 14" drop forged monkey wrench 18" stainless steel chisel 16" flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer Some kind of spray gun, Photo 9281	Replace	1 1 1 8 1 1 20 10 1 1 1 2 1 1 1 1 2 1 1 2 1 1 2 1 1 1 1	\$19.99 \$29.99 \$44.99 \$24.00 \$44.99 \$44.90 \$4	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 99.80 \$ 99.80 \$ 19.99 \$ 59.98 \$ 9.99 \$ 24.99 \$ 19.99 \$ 24.99 \$ 19.99 \$ 24.99 \$ 29.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$\$\$\$ \$	1.25 1.87 3.12 12.00 0.94 3.12 6.24 2.49 1.25 1.56 3.75 0.62 1.25 1.56 2.50 0.94 1.25	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53. \$ 106. \$ 21. \$ 26. \$ 26. \$ 23. \$ 21. \$ 24. \$ 25. \$ 21. \$ 25. \$ 21. \$ 25. \$ 33. \$ 10. \$ 27. \$ 27. \$ 28. \$ 28. \$ 29. \$ 29.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ NEW 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+
2894 2895 2896 2897 2898 2890 2900 2901 2902 2903 2904 2905 2906 2907 2908 2909 2911 2911 2912 2913	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer 8" drop forged monkey wrench 14" drop forged monkey wrench 18" drop forged monkey wrench 18" stainless steel chisel 16" flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer Some kind of spray gun, Photo 9281 Stilts, Photo 9282	Replace	1 1 1 8 1 1 20 10 1 1 1 2 1 1 1 1 2 1 1 2 1 1 2 1 1 1 1	\$19.99 \$ \$49.99 \$ \$49.99 \$ \$24.00 \$ \$14.99 \$ \$49.99 \$ \$49.99 \$ \$4.99 \$ \$2.999 \$ \$19.99 \$ \$24.99 \$ \$24.99 \$ \$24.99 \$ \$24.99 \$ \$24.99 \$ \$24.99 \$ \$39.99 \$ \$11.99 \$ \$39.99 \$ \$11.99 \$ \$21.79 \$ \$21.79 \$	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 99.80 \$ 39.90 \$ 19.99 \$ 24.99 \$ 24.99 \$ 19.99 \$ 14.99 \$ 24.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	1.25 1.87 3.12 12.00 0.94 3.12 6.24 2.49 1.25 1.56 3.75 0.62 1.25 1.56 2.50 0.94 1.25 1.56 2.50	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 106. \$ 42. \$ 21. \$ 26. \$ 21. \$ 26. \$ 15. \$ 3. \$ 3. \$ 3. \$ 3. \$ 10. \$ 21. \$ 21. \$ 22. \$ 21. \$ 23. \$ 32. \$ 33. \$ 33. \$ 33. \$ 34. \$ 35. \$ 35. \$ 35. \$ 35. \$ 35. \$ 35. \$ 35. \$ 35. \$ 35. \$ 36. \$ 36. \$ 36. \$ 37. \$ 37	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm medium=organie&utm_camp aign=shopping_feed&utm_co ntent=free_google_shopping_ clicks clicks 11 00 93 111 04 39 24 55 73 661 24 89 93 32 386 89 96 97 98	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2907 2908 2909 2910 2911 2912 2913 2914	BASEMENT	mounted drill, Photo 9280 14* long shears 18* long shears Welder's mask 10* long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer 8* drop forged monkey wrench 18* stainless steel chisel 16* flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer Some kind of spray gun, Photo 9281 Stilts, Photo 9282 4* long carpenter's square or T	Replace	1 1 1 8 1 20 10 1 1 1 2 1 1 1 1 2 1 1 1 1 1 2 1 1 1 1	\$19.99 \$29.99 \$44.99 \$24.99 \$44.99 \$3.99 \$24.99 \$24.99 \$3.99 \$24.99 \$3.90 \$3.9	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 49.99 \$ 99.80 \$ 99.80 \$ 19.99 \$ 59.98 \$ 9.99 \$ 19.99 \$ 14.99 \$ 19.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$\$\$\$ \$\$\$\$\$\$\$\$\$\$\$\$\$\$	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25 1.56 0.62 1.25 1.56 2.50 0.94 1.25 1.87 7.50 0.94	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 53. \$ 106. \$ 21. \$ 26. \$ 63. \$ 10. \$ 25. \$ 21. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26. \$ 31. \$ 21. \$ 27. \$ 28. \$ 21. \$ 28. \$ 31. \$ 31.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2890 2900 2901 2902 2903 2904 2905 2906 2907 2908 2909 2911 2911 2912 2913	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer 8" drop forged monkey wrench 14" drop forged monkey wrench 18" drop forged monkey wrench 18" stainless steel chisel 16" flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer Some kind of spray gun, Photo 9281 Stilts, Photo 9282	Replace	1 1 1 8 8 1 1 1 20 10 11 1 1 1 1 1 1 1 1 1 1 1 1	\$19.99 \$ \$49.99 \$ \$49.99 \$ \$24.00 \$ \$14.99 \$ \$49.99 \$ \$49.99 \$ \$4.99 \$ \$2.999 \$ \$19.99 \$ \$24.99 \$ \$24.99 \$ \$24.99 \$ \$24.99 \$ \$24.99 \$ \$24.99 \$ \$39.99 \$ \$11.99 \$ \$39.99 \$ \$11.99 \$ \$21.79 \$ \$21.79 \$	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 49.99 \$ 99.80 \$ 99.80 \$ 19.99 \$ 59.98 \$ 9.99 \$ 19.99 \$ 14.99 \$ 19.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99 \$ 11.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25 1.56 0.62 1.25 1.56 2.50 0.94 1.25 1.87 7.50 0.94	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 106. \$ 42. \$ 21. \$ 26. \$ 21. \$ 26. \$ 15. \$ 3. \$ 3. \$ 3. \$ 3. \$ 10. \$ 21. \$ 21. \$ 22. \$ 21. \$ 23. \$ 32. \$ 33. \$ 33. \$ 33. \$ 34. \$ 35. \$ 35. \$ 35. \$ 35. \$ 35. \$ 35. \$ 35. \$ 35. \$ 35. \$ 36. \$ 36. \$ 36. \$ 37. \$ 37	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2907 2908 2909 2910 2911 2912 2913 2914	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer Claw tooth hammer 8" drop forged monkey wrench 18" drop forged monkey wrench 18" drop forged monkey wrench 18" stainless steel chisel 16" flat screwdriver from Craftsman Allen wrench set from Cobal Claw tooth hammer Some kind of spray gun, Photo 9281 Stilts, Photo 9282 4" long carpenter's square or T 2" long carpenter's square Pneumatic or air powered tool made by Bostitch, Photo 9283 Large hot glue gun from Craftsman	Replace	1 1 1 8 1 20 10 1 1 1 2 1 1 1 1 2 1 1 1 1 1 2 1 1 1 1	\$19.99 \$29.99 \$44.99 \$24.99 \$44.99 \$3.99 \$24.99 \$24.99 \$3.99 \$24.99 \$3.90 \$3.9	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 99.80 \$ 39.90 \$ 19.99 \$ 59.98 \$ 9.99 \$ 19.99 \$ 14.99 \$ 19.99 \$ 14.99 \$ 14.99 \$ 14.99 \$ 17.99 \$ 17.99 \$ 17.99 \$ 17.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1.25 1.87 3.12 2.00 0.94 3.12 6.24 2.49 1.25 1.56 0.62 1.25 1.56 2.50 0.94 1.25 1.87 7.50 0.94	\$ 21. \$ 31. \$ 5204. \$ 15. \$ 15. \$ 204. \$ 15. \$ 204. \$ 22. \$ 22. \$ 26. \$ 63. \$ 10. \$ 21. \$ 24. \$ 22. \$ 22. \$ 23. \$ 15. \$ 63. \$ 15. \$ 63. \$ 15. \$ 63. \$ 15. \$ 63. \$ 16. \$ 21. \$ 22. \$ 22. \$ 23. \$ 24. \$ 24. \$ 25. \$ 25. \$ 26. \$ 27. \$ 27. \$ 28. \$ 28.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2907 2908 2907 2909 2910 2911 2912 2913 2914 2915	BASEMENT	mounted drill, Photo 9280 14* long shears 18* long shears Welder's mask 10* long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer 8* drop forged monkey wrench 18* drop forged monkey wrench 18* drop forged monkey wrench 18* stainless steel chisel 16* flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer Some kind of spray gun, Photo 9281 Stilts, Photo 9282 4* long carpenter's square or T 2* long carpenter's square Pneumatic or air powered tool made by Bostitch, Photo 9283 Large framing hammer, one of the ones you can set the nail into	Replace	1 1 1 1 8 1 1 20 10 1 1 1 2 1 1 1 1 1 1 2 1 1 1 1	\$19.99 \$29.99 \$44.99 \$24.00 \$44.99 \$44.90 \$4	\$ 19.99 \$ 29.99 \$ 49.99 \$ 149.90 \$ 149.99 \$ 49.99 \$ 99.80 \$ 19.99 \$ 59.88 \$ 19.99 \$ 24.99 \$ 19.99 \$ 24.99 \$ 24.99 \$ 119.99 \$ 27.99 \$ 119.98 \$ 29.99 \$ 119.98 \$ 27.799 \$ 27.799 \$ 269.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$\$\$\$ \$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$	1.25 1.87 2.00 0.94 3.12 2.00 0.94 3.12 2.49 1.25 1.56 3.75 1.56 2.94 1.25 1.56 2.94 1.25 1.56 2.94 1.25 1.56 2.94 1.25 1.56 2.94 1.25 1.86 2.94 1.95 1.95 1.95 1.95 1.95 1.95 1.95 1.95	\$ 21. \$ 31. \$ 204. \$ 15. \$ 53. \$ 106. \$ 22. \$ 26. \$ 26. \$ 26. \$ 42. \$ 42. \$ 42. \$ 15. \$ 13. \$ 127. \$ 231. \$ 231. \$ 231. \$ 231.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2906 2907 2908 2910 2911 2911 2913 2914 2915 2917 2918	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer Claw tooth hammer 8" drop forged monkey wrench 14" drop forged monkey wrench 18" drop forged monkey wrench 18" stainless steel chisel 16" flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer Some kind of spray gun, Photo 9281 Stilts, Photo 9282 4" long carpenter's square or T 2" long carpenter's square Pneumatic or air powered tool made by Bostitch, Photo 9283 Large hot glue gun from Craftsmar Large framing hammer, one of the ones you can set the nail into it, 19 ounce, from Est Wing	Replace	1 1 1 8 1 20 10 1 1 1 2 1 1 1 1 1 2 1 1 1 1 1 1	\$19.99 \$24.99 \$24.99 \$44.99 \$2	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 99.80 \$ 99.80 \$ 19.99 \$ 59.98 \$ 9.99 \$ 14.99 \$ 14.99 \$ 14.99 \$ 14.99 \$ 17.99 \$ 17.99 \$ 17.99 \$ 17.99 \$ 24.99 \$ 24.99 \$ 24.99 \$ 24.99 \$ 39.90 \$ 39.90 \$ 39.90 \$ 39.90 \$ 44.99 \$ 44.99 \$ 50.99 \$ 50.9	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1.25 1.37 2.00 0.94 3.12 2.00 0.94 1.25 1.56 0.62 1.25 0.62 1.25 0.62 1.25 1.26 0.94 1.25 1.56 2.50 0.94 1.25 1.25 0.94 1.25 1.25 0.94 1.25 1.25 0.94 1.25 1.25 1.25 1.25 1.25 1.25 1.25 1.25	\$ 21. \$ 31. \$ 53. \$ 204. \$ 15. \$ 106. \$ 42. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26. \$ 31. \$ 31. \$ 31. \$ 33. \$ 31.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm medium=organie&utm_camp aign=shopping_feed&utm_co ntent=free_google_shopping_ clicks	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2906 2907 2908 2909 2910 2911 2912 2913 2914 2915 2917 2917 2918 2917	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer 8" drop forged monkey wrench 18" drop forged monkey wrench 18" stainless steel chisel 16" flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer Some kind of spray gun, Photo 9281 Stilts, Photo 9282 4" long carpenter's square or T 2" long carpenter's square Pneumatic or air powered tool made by Bostitch, Photo 9283 Large hot glue gun from Craftsmar Large framing hammer, one of the ones you can set the nail into it, 19 ounce, from Est Wing Hammer style staple gun	Replace	1 1 1 1 8 1 1 20 10 1 1 1 2 1 1 1 1 1 1 2 1 1 1 1	\$19.99 \$24.99 \$44.99 \$44.99 \$44.99 \$524.90 \$524.90 \$524.90 \$524.90 \$524.90 \$524.90 \$524.90 \$524.90 \$524.90 \$524.90 \$524.90 \$524.90 \$52	\$ 19.99 \$ 29.99 \$ 49.99 \$ 149.99 \$ 149.99 \$ 149.99 \$ 192.00 \$ 14.99 \$ 59.80 \$ 19.99 \$ 24.99 \$ 19.98 \$ 24.99 \$ 19.98 \$ 217.99 \$ 119.98 \$ 29.99 \$ 29.99	6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$\$\$\$ \$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$ \$\$	1.25 1.87 2.00 0.94 3.12 2.00 0.94 3.12 6.24 1.25 1.56 0.62 1.25 1.50 0.94 1.25 1.50 0.62 1.25 0.94 1.25 1.50 0.94 1.25 1.50 0.94 1.25 1.50 0.94 1.25 1.50 0.94 1.25 1.50 0.94 1.25 1.50 0.87 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	\$ 21. \$ 31. \$ 35. \$ 15. \$ 15. \$ 5. \$ 106. \$ 22. \$ 26. \$ 26. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26. \$ 21. \$ 28. \$ 31. \$ 31. \$ 31. \$ 33.	press-series-16-116-hp- universal-1500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utmmedium=organic&utm_camp aign=shopping_feed&utm_co nt ent=free_google_shopping_ clicks 24 86 811 00 933 111 04 339 224 555 73 661 244 555 699 993 903 111 104 105 105 105 105 105 105 105 105 105 105	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2906 2907 2908 2909 2910 2911 2912 2913 2914 2915 2917 2918 2917	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight 18 lall peen hammer Wooden chisel hammer Claw tooth hammer Claw tooth hammer 8" drop forged monkey wrench 14" drop forged monkey wrench 18" drop forged monkey wrench 18" stainless steel chisel 16" flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer Some kind of spray gun, Photo 9281 Stilts, Photo 9282 4" long carpenter's square or T 2' long carpenter's square Pneumatic or air powered tool made by Bostitch, Photo 9283 Large hot glue gun from Craftsmar Large framing hammer, one of the ones you can set the nail into it, 19 ounce, from Est Wing Hammer style staple gun 8" long ratchet	Replace	1 1 1 1 8 1 1 20 10 1 1 1 2 1 1 1 1 1 2 1 1 1 1 1	\$19.99 \$24.99 \$24.99 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$4	\$ 19.99 \$ 29.99 \$ 49.99 \$ 192.00 \$ 14.99 \$ 99.80 \$ 19.99 \$ 99.80 \$ 19.99 \$ 19.99 \$ 19.99 \$ 19.99 \$ 119.99 \$ 119.99 \$ 24.99 \$ 119.99 \$ 119.99 \$ 29.99 \$ 217.99 \$ 217.99 \$ 217.99 \$ 217.99 \$ 29.99 \$ 29.99 \$ 9.99	6.25% 6.25%	\$\$\$\$ \$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$	1.25 1.87 2.00 0.94 3.12 2.00 0.94 3.12 6.24 9.1.25 1.56 0.62 1.56 0.1.25 1.56 0.10 0.10 0.10 0.10 0.10 0.10 0.10 0.1	\$ 21. \$ 31. \$ 5204. \$ 15. \$ 15. \$ 204. \$ 15. \$ 204. \$ 22. \$ 22. \$ 26. \$ 63. \$ 10. \$ 21. \$ 22. \$ 22. \$ 22. \$ 23. \$ 42. \$ 23. \$ 42. \$ 25. \$ 42. \$ 25. \$ 42. \$ 25. \$ 42. \$ 26. \$ 53. \$ 31. \$ 31. \$ 33. \$ 34. \$ 35. \$ 35.	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm medium=organie&utm_camp aign=shopping_feed&utm_co ntent=free_google_shopping_ dicks dicks 11 100 93 3111 04 39 24 55 57 36 61 224 55 59 49 93 323 86 86 86 86 86 86 86 86	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2907 2908 2909 2910 2911 2912 2913 2914 2915 2917 2917 2918 2919 2916 2917	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight Ball peen hammer Wooden chisel hammer Claw tooth hammer 18" drop forged monkey wrench 18" drop forged monkey wrench 18" drop forged monkey wrench 18" stainless steel chisel 16" flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer Some kind of spray gun, Photo 9281 Stilts, Photo 9282 4" long carpenter's square or T 2" long carpenter's square Pneumatic or air powered tool made by Bostitch, Photo 9283 Large hot glue gun from Craftsmar Large framing hammer, one of the ones you can set the nail into it, 19 ounce, from Est Wing Hammer style staple gun 6" long ratchet 6" long ratchet	Replace	1 1 1 1 8 1 1 20 10 1 1 1 2 1 1 1 1 1 2 1 1 1 1 1	\$19.99 \$24.99 \$4.99 \$4.99 \$4.99 \$52.99 \$52.99 \$119.99	\$ 19.99 \$ 49.99 \$ 149.99 \$ 149.99 \$ 149.99 \$ 149.99 \$ 149.99 \$ 19.80 \$ 19.99 \$ 24.99 \$ 19.99	6.25% 6.25%	\$\$\$\$ \$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$\$ \$\$	1.25 1.87 2.00 0.94 3.12 2.49 1.25 0.62 2.49 1.25 1.56 2.50 4.25 1.56 2.50 3.75 0.62 1.25 1.25 1.25 1.25 1.25 1.25 1.25 1.2	\$ 21. \$ 31. \$ 35. \$ 15. \$ 15. \$ 15. \$ 106. \$ 42. \$ 26. \$ 26. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26. \$ 31. \$	press-series-16-116-hp- universal-1500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm _medium=organic&utm_cam _aign=shopping_feed&utm_co _nitent=free_google_shopping_ clicks 11 00 93 111 04 39 24 55 73 661 24 55 59 93 32 38 68 49 96 111 86 86 86 86 86 86 86 86 86 86 86 86 86	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5
2894 2895 2896 2897 2898 2899 2900 2901 2902 2903 2904 2905 2906 2907 2908 2909 2910 2911 2912 2913 2914 2915 2917 2918 2917	BASEMENT	mounted drill, Photo 9280 14" long shears 18" long shears Welder's mask 10" long C clamp Electric wood burning tool you use to write on wood, made by Radio Shack, Cat. 6400216 Large electric hot glue gun 20 ounce fishing weight 16 ounce fishing weight 18 lall peen hammer Wooden chisel hammer Claw tooth hammer Claw tooth hammer 8" drop forged monkey wrench 14" drop forged monkey wrench 18" drop forged monkey wrench 18" stainless steel chisel 16" flat screwdriver from Craftsman Allen wrench set from Coball Claw tooth hammer Some kind of spray gun, Photo 9281 Stilts, Photo 9282 4" long carpenter's square or T 2' long carpenter's square Pneumatic or air powered tool made by Bostitch, Photo 9283 Large hot glue gun from Craftsmar Large framing hammer, one of the ones you can set the nail into it, 19 ounce, from Est Wing Hammer style staple gun 8" long ratchet	Replace	1 1 1 1 8 1 1 20 10 1 1 1 2 1 1 1 1 1 1 1 1 1 1 1	\$19.99 \$24.99 \$24.99 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$44.90 \$4	\$ 19.99 \$ 29.99 \$ 49.99 \$ 149.90 \$ 149.99 \$ 149.99 \$ 99.80 \$ 19.99 \$ 59.88 \$ 99.80 \$ 19.99 \$ 127.99 \$ 119.99 \$ 24.99 \$ 149.99 \$ 24.99 \$ 19.99 \$ 24.99 \$ 24.99 \$ 19.99 \$ 24.99 \$ 24.99 \$ 19.99 \$ 24.99 \$ 29.99 \$ 19.98 \$ 29.99 \$ 39.99 \$ 39.99 \$ 39.99 \$ 39.99 \$ 39.99 \$ 39.99 \$ 39.99 \$ 39.99 \$ 39.99 \$ 39.99	6.25% 6.25%	5555 5555555555555555 55 5555	1.25 1.87 2.00 0.94 3.12 2.20 0.94 3.12 2.49 1.25 1.56 2.50 0.94 1.25 1.56 3.75 0.62 2.50 0.94 1.25 1.87 1.87 1.87 1.87 1.87 1.87 1.87 1.87	\$ 21. \$ 31. \$ 35. \$ 15. \$ 15. \$ 15. \$ 106. \$ 42. \$ 26. \$ 26. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26. \$ 21. \$ 26. \$ 31. \$	press-series-16-116-hp- universal-15500-18700- rpm?infoParam.campaignId=T 9F&utm_source=google&utm	5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5+ 5

Older than 5 years but unused material Older than 5 years but unused material Older than 5 years but unused material Older than 5 years but unused material

2924	BASEMENT	Drill Doctor XP2 drill bit sharpener, new in box, Photo 9284	Replace	1	\$94.99 \$	94.99	6.25%	\$	5.94	\$ 100.9	13	NEW
2925	BASEMENT	38 piece drill bit set	Replace	1	\$19.99 \$	19.99		Š	1.25			5+
		•••								•		
2926	BASEMENT	16 piece Forstner bit set, made by Task Force, Photo 9285	Replace	1	\$129.99 \$	129.99	6.25%	\$	8.12	\$ 138.	1	5+
		··· p····· · · · · · · · · · · · · · ·		-	*******			*		•	· -	-
2927 2928	BASEMENT BASEMENT	Large tabletop belt sander from Delta, Motor 1342608, Photo 9286 Wagner Power Steamer, Model 705, Photo 9287	Replace Replace	1 1	\$649.00 \$ \$129.00 \$	649.00 129.00		\$ \$		\$ 689. \$ 137.	https://www.homedepot.com/ pi/Delta-1-2-HP-Heavy-Duty- Bench-Oscillating-Spindle- Sander-with-Tilt-Table-31- 483/205112106?source=sho ppingads&locale=en-US	5+ 5+
								_			_	_
2929	BASEMENT	Joiner from Porter Cable, can't identify model, Photo 9288	Replace	1	\$244.99 \$	244.99			15.31			5+
2930	BASEMENT	14" pry bar	Replace	1	\$9.99 \$	9.99	6.25%	\$		\$ 10.0	•	5+
2931	BASEMENT	18" pry bar Heavy duty bench grinder from Test Right, Model 119, Photo	Replace	1	\$14.99 \$	14.99	6.25%	\$	0.94	\$ 15.9	13	5+
2932	BASEMENT	9289	Replace	1	\$289.00 \$	289.00	6.25%	\$	18.06	\$ 307.0	ne.	5+
2933	BASEMENT	New in package grinder wheel dresser	Replace	i	\$31.00 \$	31.00	6.25%	\$		\$ 307.1		NEW
2934	BASEMENT	Large roll of shrink wrap		3	\$31.99 \$	95.97	6.25%	\$		\$ 101.9		5+
2934	DASEMENT	Some kind of specialty woodworking (dovetail jig) made by Leigh	Replace	3	\$31.33 \$	33.31	0.25%	ð	6.00	3 101.	· ·	5+
2935	BASEMENT	D4 Jig, Photo 9290	Replace	1	\$299.00 \$	299.00	6.25%	\$	18.69	\$ 317.0	ea .	5+
2936	BASEMENT	35 piece rotary bit set	Replace	i	\$14.99 \$	14.99		\$	0.94			5+
2550	DAGLINENT	Plastic organizer from Stanley, Organizer 166, 14.4" X 11.5" X	Replace	•	ψ14.33 ψ	14.55	0.2376	Ψ	0.54	ų 15		51
2937	BASEMENT	2.5"	Replace	1	\$9.99 \$	9.99	6.25%	¢	0.62	\$ 10.0	:1	5+
2938	BASEMENT	Voltage tester	Replace	i	\$19.99 \$	19.99		\$	1.25			5+
2930	DASENIENI	Voltage tester	Replace		\$15.55 \$	15.55	0.25/6	ð	1.25	3 21	.4	3+
2939	BASEMENT	Allowance-Assorted electrical wire connectors, Photo 9291	Replace	1	\$50.00 \$	50.00	6.25%	\$	3.13	\$ 53.·	3	5+
2940	BASEMENT	Large stainless steel grease gun	Replace	i	\$209.00 \$	209.00	6.25%			\$ 222.0		5+
2940	DASEMENT	Motion detector light from Defiant, motion security light, new in	Replace		\$205.00 \$	209.00	0.25%	ð	13.00	\$ 222.1	10	5+
2941	BASEMENT	box	Replace	1	\$44.99 \$	44.99	6.25%	\$	2.81	\$ 47.8	10	NEW
2942	BASEMENT	14" flat screwdriver	Replace	i	\$9.99 \$	9.99	6.25%	\$		\$ 10.0		5+
2943	BASEMENT	520 piece electric terminal set from Store House, new	Replace	i	\$12.99 \$	12.99	6.25%	\$		\$ 13.8		NEW
2944	BASEMENT	14" long snips	Replace	i	\$9.99 \$	9.99	6.25%	\$		\$ 10.0		5+
2945	BASEMENT	25 pack of Cobalt Philips 1" screwdriver bits, #2	Replace	i	\$14.99 \$	14.99	6.25%	\$		\$ 15.9		5+
2946	BASEMENT	Package of 5" sanding discs from Diablo	Replace	4	\$7.99 \$	31.96	6.25%	\$		\$ 33.		5+
2010	D/102	Package of assorted styles of sandpaper from companies like	rtopiaco	•	¥1.00 ¥	01.00	0.2070	*		•	.•	0.
2947	BASEMENT	Norton, 25 count, full sheets, Photo 9292	Replace	21	\$23.99 \$	503.79	6.25%	\$	31.49	\$ 535.3	18	5+
2948	BASEMENT	Hitachi 4-1/2" disc grinder, Model G12SR3	Replace	1	\$49.00 \$	49.00	6.25%	Š	3.06	\$ 52.0		4 years
2010	D/102	XL drill bit set, easily 200 piece set, most likely a lot more, Photo	rtopiaco	•	¥10.00 ¥	-10.00	0.2070	*	0.00	·	.•	. youro
2949	BASEMENT	9294	Replace	1	\$29.99 \$	29.99	6.25%	\$	1.87	\$ 31.8	16	5+
2950	BASEMENT	Replacement belt for belt sander	Replace	2	\$9.99 \$	19.98	6.25%	Š		\$ 21.3		0.
2951	BASEMENT	Tabletop swivel vacu-vise	Replace	1	\$39.99 \$	39.99	6.25%	\$		\$ 42.4		5+
2952	BASEMENT	Jigsaw from Porter Cable, Model PCE345, Photo 9295	Replace	i	\$58.99 \$	58.99	6.25%	\$		\$ 62.0		4 years
		XL hot glue gun made by Pam, Model HB220 with storage case,		-	*******			*			-	. ,
2953	BASEMENT	hard plastic, Photo 9296	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$ 53.	1	5+
2954	BASEMENT	Large Makita belt sander, Model 9401, Photo 9297	Replace	1	\$279.00 \$	279.00	6.25%			\$ 296.4		5+
2955	BASEMENT	80 piece ratchet set	Replace	1	\$79.99 \$	79.99	6.25%	\$		\$ 84.9		5+
		2 tier solid wood workbench, measures 32" tall X 47" wide X 7'		-	*******			*		•	-	-
2956	BASEMENT	long, Photo 9298	Replace	1	\$94.99 \$	94.99	6.25%	\$	5.94	\$ 100.9	13	5+
2957	BASEMENT	Solid wood flooring, Photo 9299	Replace	1	\$74.99 \$	74.99	6.25%	\$		\$ 79.0		5+
2958	BASEMENT	Over the ear ear protection	Replace	2	\$24.99 \$	49.98	6.25%	\$	3.12	\$ 53.	0	5+
2959	BASEMENT	16" carpenter's square	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62			5+
		Assorted screwdrivers, flat and Philips, from companies like	-									
2960	BASEMENT	Craftsman	Replace	57	\$9.99 \$	569.43	6.25%	\$	35.59	\$ 605.0	2	5+
2961	BASEMENT	6" pry bar	Replace	1	\$4.99 \$	4.99	6.25%	\$	0.31	\$ 5.3	80	5+
2962	BASEMENT	12" pry bar	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.0	i1	5+
2963	BASEMENT	8" carpenter's square	Replace	2	\$9.99 \$	19.98	6.25%	\$	1.25	\$ 21.3	13	5+
2964	BASEMENT	8" metal level	Replace	1	\$29.99 \$	29.99	6.25%	\$		\$ 31.5		5+
2965	BASEMENT	Hack saw	Replace	1	\$9.99 \$	9.99	6.25%	\$		\$ 10.0		5+
2966	BASEMENT	12" C clamp	Replace	2	\$52.99 \$	105.98	6.25%	\$	6.62	\$ 112.0		5+
2967	BASEMENT	14 piece socket set	Replace	1	\$28.99 \$	28.99	6.25%	\$		\$ 30.8		5+
2968	BASEMENT	12" crowbar	Replace	1	\$9.99 \$	9.99	6.25%	\$		\$ 10.0		5+
2969	BASEMENT	12" ratchet adapter, 1/2"	Replace	1	\$9.99 \$	9.99	6.25%	\$		\$ 10.0		5+
2970	BASEMENT	12" adjustable wrench	Replace	1	\$9.99 \$	9.99	6.25%	\$		\$ 10.0		5+
2971	BASEMENT	10" adjustable wrench	Replace	1	\$9.99 \$	9.99	6.25%	\$	0.62	\$ 10.0	51	5+
		Open face box wrench from companies like Craftsman, Photo										
2972	BASEMENT	9300, 9301	Replace	58	\$9.99 \$	579.42	6.25%	\$	36.21	\$ 615.0		5+
2973	BASEMENT	XL woodwork burning tool, Photo 9302	Replace	1	\$26.99 \$	26.99	6.25%	\$		\$ 28.0		_
2974	BASEMENT	Large channel locks	Replace	2	\$19.99 \$	39.98	6.25%	\$		\$ 42.4		5+
2975	BASEMENT	4' shop light	Replace	1	\$23.99 \$	23.99	6.25%	\$		\$ 25.4		5+
2976	BASEMENT	4' C clamp	Replace	2	\$8.99 \$	17.98	6.25%	\$		\$ 19.		5+
2977	BASEMENT	25' long garden hose	Replace	1	\$22.99 \$	22.99	6.25%	\$	1.44	\$ 24.4	13	5+
		XL belt sander / polisher, on the right hand side in the photo,										
0070	DAGEMENT	there's a little wheel that spins, off the side, made by Delta, Cat.	B		0450.00	450.00	0.050	•				
2978 2979	BASEMENT BASEMENT	31-250, Photo 9303	Replace	1	\$159.00 \$ \$42.99 \$	159.00 85.98	6.25% 6.25%	\$ \$		\$ 168.9 \$ 91.5		5+
2979	BASEMENT	5 pound Kidde fire extinguisher 4' fluorescent shop light	Replace Replace	2 2	\$42.99 \$ \$249.90 \$	85.98 499.80	6.25% 6.25%			\$ 91.3 \$ 531.0		5+ 5+
2980	BASEMENT		Replace Replace	1	\$249.90 \$ \$14.99 \$	499.80 14.99	6.25%	\$				
2982	BASEMENT	24" monkey wrench Caulk gun	Replace	2	\$14.99 \$ \$19.99 \$	39.98	6.25%	\$ \$		\$ 15.9 \$ 42.4		5+ 5+
2983	BASEMENT	Large push broom	Replace	1	\$19.99 \$	19.99	6.25%	\$		\$ 42.4 \$ 21.3		5+ 5+
2984	BASEMENT	18" wooden statue	Replace	1	\$19.99 \$	49.99	6.25%	\$	3.12			5+ 5+
2304	PASEMIEMI	10 Woodell statue	replace	•	φ -1 3.33 φ	43.33	0.25/6	•	J. 12	y 55.	•	J+

2985	BASEMENT	2" wide ratchet strap	Replace	4	\$8.99	•	35.96	6.25%	\$ 2.25		38.21	5+
2300	DAGLINENT	Pneumatic pin nailer from Porter Cable, Model PIN138, or finish	Replace	-	φ0.33	Ψ ,	33.30	0.23/6	Ψ 2.23	, ,	30.21	31
												_
2986	BASEMENT	nailer, Photo 9304	Replace	1	\$119.00	\$ 1	19.00	6.25%	\$ 7.44	\$	126.44	5+
2987	BASEMENT	Black & Decker heat gun, Model 9756, Type 300, Photo 9306	Replace	2	\$29.99	\$	59.98	6.25%	\$ 3.75	\$	63.73	5+
2988	BASEMENT	XL disc grinder from Porter Cable, Photo 9307	Replace	1	\$29.99		29.99	6.25%	\$ 1.87		31.86	5+
2989	BASEMENT	Pneumatic nail gun, Photo 9308	Replace	i	\$199.00		99.00	6.25%	\$ 12.44		211.44	5+
2990	BASEMENT	Pneumatic tool made by Bostitch, Photo 9309	Replace	1	\$269.99		69.99	6.25%	\$ 16.87	-	286.86	5+
2991	BASEMENT	Pneumatic nail gun, Photo 9310	Replace	1	\$99.99	\$ 9	99.99	6.25%	\$ 6.25	\$	106.24	5+
2992	BASEMENT	Pneumatic nail gun, Photo 9311	Replace	1	\$99.99	\$ 9	99.99	6.25%	\$ 6.25	5	106.24	5+
		Cordless impact drill from Porter Cable, 12 volt lithium, Model		-	******	•			,			-
2993	BASEMENT	PCC641. Photo 9312	Danies	1	\$159.99		59.99	6.25%	\$ 10.00		169.99	5+
2993	BASEMENI		Replace	1	\$159.99	\$ 10	59.99	6.25%	\$ 10.00	, ,	169.99	5+
		Battery powered heavy duty XRP 1/2" cordless drill driver hammer										
2994	BASEMENT	drill from DeWalt, Model DC988, Photo 9313	Replace	1	\$159.00	\$ 15	59.00	6.25%	\$ 9.94	\$	168.94	5+
2995	BASEMENT	Porter Cable, Model PC1800SS, Photo 9314	Replace	1	\$149.99	\$ 14	49.99	6.25%	\$ 9.37	Ś	159.36	5+
2996	BASEMENT	DeWalt 18 volt XR-NiCd battery	Replace	3	\$99.99		99.97	6.25%	\$ 18.75		318.72	5+
												2*
2997	BASEMENT	DeWalt battery charger	Replace	2	\$89.00		78.00	6.25%	\$ 11.13		189.13	5+
2998	BASEMENT	Porter Cable battery charger	Replace	1	\$40.99	\$ 4	40.99	6.25%	\$ 2.56	\$	43.55	5+
2999	BASEMENT	5 pound fire extinguisher from Badger	Replace	1	\$42.99	\$ 4	42.99	6.25%	\$ 2.69	\$	45.68	5+
			-									
3000	BASEMENT	Makita 180 mm sander polisher, Model 9207SPB, Photo 9315	Replace	1	\$224.00	\$ 23	24.00	6.25%	\$ 14.00	· s	238.00	5+
0000	D/102	manda 100 mm canaci pononci, model 0201 ci 2, i neto co te	rtopiaco	•	422	-		0.2070		•	200.00	0.
2004	BASEMENT	Laura and ann francillitanti O 4/08 finish and an Dhata 0246	Replace	1	6400.00		~ ~	C 050/	\$ 10.56		179.56	F -
3001	DASEMENI	Large nail gun from Hitachi, 2-1/2" finish nailer, Photo 9316	Replace	1	\$169.00	\$ 10	69.00	6.25%	\$ 10.50	, ,	179.56	5+
3002	BASEMENT	Hitachi 2-1/2" strip nailer, pneumatic or air powered, Photo 9317	Replace	1	\$229.99	\$ 22	29.99	6.25%	\$ 14.37	\$	244.36	5+
		Electric 4" joiner machine made by Freud, Model JS 102, Photo										
3003	BASEMENT	9318	Replace	1	\$119.00	\$ 1	19.00	6.25%	\$ 7.44		126.44	5+
0000	D/102	0010	rtopiaco	•	Ų. 10.00	•		0.2070	•	•		0.
0004	BASEMENT	Heavy duty sander from Porter Cable, Model 505, Photo 9319	B I		***	•	40.00	0.050/	\$ 3.12		53.11	5+
3004	BASEMENI		Replace	1	\$49.99	>	49.99	6.25%	\$ 3.12	. >	53.11	5+
		Dremel multipro, variable speed, double insulated, Type 5, Photo										
3005	BASEMENT	9320	Replace	1	\$89.99	\$ 8	89.99	6.25%	\$ 5.62	: \$	95.61	5+
3006	BASEMENT	Router, power tool, from Bosch, Model 1613EVS, Photo 9321	Replace	1	\$169.00	\$ 16	69.00	6.25%	\$ 10.56	S	179.56	5+
		DeWalt 1/2" XL impact wrench power tool, Model DW293, Type		=	*******				,			·
3007	BASEMENT	1. Photo 9322	Replace	1	\$319.00		19.00	6.25%	\$ 19.94		338.94	5+
3007	DASEWENI	1, F11010 9322	Replace		\$315.00	3	15.00	0.25/6	ş 15.54		330.94	5+
3008	BASEMENT	DeWalt heavy duty polyurethane air hose, 50' X 1/4", new	Replace	1	\$54.99	\$	54.99	6.25%	\$ 3.44	\$	58.43	NEW
3009	BASEMENT	Hitachi pneumatic 1-3/4" coil nailer, Model NV45AB, Photo 9323	Replace	1	\$292.00	\$ 29	92.00	6.25%	\$ 18.25	5	310.25	5+
		Specialty circular saw made by Makita, 7-1/4" diameter blade										
		size, can move the angle at which you cut with this, so if you need										
		to cut something at an angle, you can; Model 5277NB, Photo										
3010	BASEMENT	9324	Replace	1	\$199.00	\$ 19	99.00	6.25%	\$ 12.44	\$	211.44	5+
		DeWalt cordless variable speed reciprocating saw, Model										
3011	BASEMENT	DW938, Photo 9325	Replace	1	\$129.00	\$ 13	29.00	6.25%	\$ 8.06	s	137.06	5+
3012	BASEMENT		Replace	i	\$29.99			6.25%	\$ 1.87		31.86	5+
		Specialty tool, The Hinge Mate 350, Photo 9326		•								
3013	BASEMENT	Military style ammo can storage box	Replace	1	\$16.99		16.99	6.25%	\$ 1.06		18.05	5+
3014	BASEMENT	Slim Jim (tool used to pop a lock on a car)	Replace	1	\$10.99	\$	10.99	6.25%	\$ 0.69	\$	11.68	5+
		Box of galvanized 15 gauge angle bradz, 4000 per box, made by										
3015	BASEMENT	Spot Nails	Replace	2	\$44.99	\$ 8	89.98	6.25%	\$ 5.62	S	95.60	5+
3016	BASEMENT	8" diameter plastic funnel	Replace	1	\$1.99	Š	1.99	6.25%	\$ 0.12	\$	2.11	5+
0010	DAOLINEITI	Pneumatic nail gun made by Hitachi, 3-1/4" strip nailer, Model	rtopiace	•	Ψ1.55	•	1.00	0.2070	ų 0.1 <u>2</u>		2	0,
0047	DAGEMENT		B I		***		~= ~~	0.050/			40.00	F.
3017	BASEMENT	NR83A, Photo 9327	Replace	1	\$37.99	\$	37.99	6.25%	\$ 2.37	\$	40.36	5+
		DeWalt pneumatic strip nailer, 1-1/2" fastener length, Model										
3018	BASEMENT	DWMC150, Photo 9328	Replace	1	\$249.99	\$ 24	49.99	6.25%	\$ 15.62	: \$	265.61	5+
		Pneumatic 2-1/2" coil nailer made by Hitachi, Model NV65AH,										
3019	BASEMENT	Photo 9329	Replace	1	\$384.00	\$ 31	84.00	6.25%	\$ 24.00	•	408.00	5+
3020	BASEMENT	6 outlet surge protector	Replace	2	\$14.99		29.98	6.25%	\$ 1.87		31.85	5+
												5+
3021	BASEMENT	3' X 2' wood framed cork board	Replace	1	\$29.99	\$	29.99	6.25%	\$ 1.87	\$	31.86	5+
3022	BASEMENT	Box of window caps, 42" long, aluminum, 24 count package, new	Replace	1	\$25.99	\$ 2	25.99	6.25%	\$ 1.62	\$	27.61	NEW
3023	BASEMENT	Solid wood 47" statue, hand painted and carved, Photo 9453	Replace	1	\$119.99	\$ 1	19.99	6.25%	\$ 7.50	S	127.49	5+
3024	BASEMENT	3 quart glass baking dish / casserole dish with plastic lid	Replace	i	\$29.99		29.99	6.25%	\$ 1.87		31.86	5+
3025	BASEMENT	Magazine from Woodsmith		16	\$4.99		79.84	6.25%	\$ 4.99		84.83	5+
			Replace	1							12.74	
3026	BASEMENT	3" 3-ring binder	Replace	1	\$11.99	•	11.99	6.25%	\$ 0.75	, ,	12.74	5+
		Tabletop decoration, log cabin measures 10" tall X 14" long X 10"										
3027	BASEMENT	wide	Replace	1	\$49.99		49.99		\$ 3.12		53.11	5+
3028	BASEMENT	50' long air hose	Replace	1	\$22.99	\$:	22.99	6.25%	\$ 1.44	\$	24.43	5+
		Electric power tool from Spectra Physics, Laser Plane 350,	•									
3029	BASEMENT	battery powered, wireless, Photo 9454	Replace	1	\$424.99	\$ 4	24.99	6.25%	\$ 26.56	S	451.55	5+
3030	BASEMENT	Shoebox sized plastic storage box		i	\$2.99		2.99	6.25%	\$ 0.19		3.18	5+
3030	BASEMENT		Replace	2	\$2.99 \$19.99		39.98	6.25%	\$ 0.19		3.16 42.48	5+ 5+
		Lawn sprinkler	Replace	_								
3032	BASEMENT	Box of some kind of wood chips	Replace	1	\$24.99	\$	24.99	6.25%	\$ 1.56	\$	26.55	5+
		Large box of flooring staples from Stanley Bostitch, 1/2" X 2",										
3033	BASEMENT	7720 count box	Replace	1	\$69.99	\$ (69.99	6.25%	\$ 4.37	\$	74.36	5+
3034	BASEMENT	Deluxe seaming iron from Roberts, Photo 9455	Replace	1	\$99.99		99.99	6.25%	\$ 6.25		106.24	5+
3035	BASEMENT	Box of household paraffin wax from Gulf Wax, 16 ounce	Replace	4	\$6.99		27.96	6.25%	\$ 1.75		29.71	5+
3036	BASEMENT	Rifle scope		1	\$191.99		91.99	6.25%	\$ 12.00		203.99	5+
3030	DAJENIENI		Replace		\$191.99	ψ 13	J 1.33	0.45%	φ 1∠.00	Þ	203.99	5+
		Speaker set from Polk Audio, 6-1/2" coaxial, Model DB650,				_						
3037	BASEMENT	contains 2 speakers, new, Photo 9456	Replace	1	\$169.00	\$ 10	69.00	6.25%	\$ 10.56	\$	179.56	NEW
		Assorted grinder bits for disc grinder, electric power tool, new, 4-										
3038	BASEMENT	1/2" diameter from companies like Hitachi	Replace	30	\$4.99	\$ 14	49.70	6.25%	\$ 9.36	\$	159.06	NEW
-		•		-		•	-					

		Bag of can liners from Inteplast Group, 32 gallon, 6 rolls totaling									
3039	BASEMENT	150 bags	Replace	1	\$24.99 \$	24.99	6.25%		1.56		
3040	BASEMENT	Shoebox sized wicker storage basket with flip top lid	Replace	1	\$29.99 \$	29.99	6.25%			\$ 31.8	
3041	BASEMENT	Ping pong paddle set with net and 4 paddles	Replace	1	\$16.99 \$	16.99	6.25%			\$ 18.0	
3042	BASEMENT	8 piece set of 16 ounce drinking glasses	Replace	1	\$23.99 \$	23.99	6.25%			\$ 25.4	
3043	BASEMENT	750 ml bottle of liquor	Replace	1	\$23.99 \$	23.99	6.25%			\$ 25.4	
3044	BASEMENT	liter bottle of liquor Large 8 shelf double sided solid wood storage rack, Photo 9457,	Replace	2	\$23.99 \$	47.98	6.25%	\$	3.00	\$ 50.9	8 5+
2045	DACEMENT		Daniese	1	e000 00 e	220.00	C 0F0/	•	14.94	6 052.0	3 5+
3045	BASEMENT	measures 4' tall X 5' long X 2' wide 6 shelf solid wood book shelf / storage shelf, 6' tall X 3' long X 15"	Replace	1	\$238.99 \$	238.99	6.25%	Þ	14.94	\$ 253.9	3 5+
3046	BASEMENT	wide Photo 9458	Replace	1	\$299.99 \$	299.99	6.25%	•	18.75	\$ 318.7	4 5+
3040	DASEIVIENT	Wide Filoto 9436	Replace	'	\$233.33 \$	255.55	0.25/6	Ą	10.75	\$ 310.7	• 57
		Allowance-various paper plates, Styrofoam plates, napkins,									
3047	BASEMENT	disposable cups, plastic silverware, etc., Photo 9458	Replace	1	\$200.00 \$	200.00	6.25%	¢	12.50	\$ 212.5	0 NEW
3047	BASEMENT	Men's ice skates from Bauer by Nike - Supreme 1DS	Replace	i	\$419.99 \$	419.99	6.25%			\$ 446.2	
3049	BASEMENT	Men's ski boots from Rossignol Axium, Photo 9459	Replace	i	\$499.95 \$	499.95	6.25%			\$ 531.2	
3050	BASEMENT			i	\$65.99 \$		6.25%			\$ 70.1	
3051	BASEMENT	Ski poles from Scott Wooden hockey stick	Replace Replace	3	\$39.99 \$	65.99 119.97	6.25%			\$ 127.4	
3052	BASEMENT		Replace	1	\$19.99 \$	19.99	6.25%			\$ 21.2	
3053	BASEMENT	Large bolt cutters		6	\$4.99 \$	29.94	6.25%			\$ 31.8	
3054	BASEMENT	Roll of gift wrapping paper	Replace Replace	1	\$4.99 \$ \$149.99 \$	149.99	6.25%			\$ 159.3	
3055	BASEMENT	Wooden bow, may be composite or recurve, Photo 9460 Wader boots, overalls		1	\$149.99 \$ \$139.99 \$	139.99	6.25%		9.37 8.75		
3056	BASEMENT	XL equipment duffle bac	Replace	2	\$139.99 \$	139.99	6.25%		8.75		
3030	DASEIVIENI	Street hockey or Street Extreme 15" shin and knee pads from	Replace	2	\$09.99 \$	139.90	6.25%	Þ	0./5	\$ 140.7	3 5+
3057	BASEMENT	Franklin	Replace	1	\$49.99 \$	49.99	6.25%	\$	3.12	\$ 53.1	1 5+
						49.99 39.99	6.25%				
3058	BASEMENT	Street hockey gloves	Replace	1	\$39.99 \$		6.25%			\$ 42.4 \$ 212.4	
3059	BASEMENT	Men's heavy canvas work jacket from Carhartt	Replace	2	\$99.99 \$	199.98					
3060	BASEMENT	Children's large Tonka truck	Replace	1	\$39.99 \$	39.99	6.25%	\$	2.50	\$ 42.4	9 5+
3061	BASEMENT	Adult snow board from Burton with bindings from Burton, Rome	Dauleer		\$379.99 \$	379.99	6.25%	•	23.75	\$ 403.7	4 5+
		Reverb Rocker Series 153 Mid Wide, Photo 9461	Replace	1							
3062	BASEMENT	Large canvas snowboard carry bag	Replace	1	\$95.00 \$	95.00	6.25%			\$ 100.9	
3063	BASEMENT	Respirator from MSA	Replace	1	\$24.99 \$	24.99	6.25%			\$ 26.5	
3064	BASEMENT	Wooden folding chair	Replace	2	\$29.99 \$	59.98	6.25%			\$ 63.7	3 5+
3065	BASEMENT	Metal folding chair	Replace	1	\$39.99 \$	39.99	6.25%			\$ 42.4	
3066	BASEMENT	Boy's ice skates from Externo-Shel	Replace	1	\$44.99 \$	44.99	6.25%			\$ 47.8	
3067	BASEMENT	Skateboard helmet or snowboard helmet	Replace	1	\$70.00 \$	70.00	6.25%	\$	4.38	\$ 74.3	8 5+
		Adult cross country skis, not sure of brand, may be Fischer									
3068	BASEMENT	Imperator	Replace	1	\$299.95 \$	299.95	6.25%	\$	18.75	\$ 318.7	0 5+
3069	BASEMENT	Adult skis, not sure what type, by Atomic C Series, Photo 9462	Replace	1	\$499.99 \$	499.99	6.25%		31.25		
3070	BASEMENT	Golf ball	Replace	137	\$2.00 \$	274.00	6.25%			\$ 291.1	
3071	BASEMENT	8' long X 6" wide solid wood molding	Replace	12	\$58.99 \$	707.88	6.25%			\$ 752.1	
3072	BASEMENT	Wooden work horse	Replace	2	\$44.99 \$	89.98	6.25%		5.62		
3073	BASEMENT	Cloth drop cloth	Replace	1	\$10.99 \$	10.99	6.25%		0.69		
3074	BASEMENT	Shin and knee guards for street hockey from Koho	Replace	1	\$39.99 \$	39.99	6.25%			\$ 42.4	
3075	BASEMENT	4' long shop light with 2 fluorescent bulbs	Replace	1	\$22.99 \$	22.99	6.25%	\$	1.44	\$ 24.4	3 5+
3076	BASEMENT	Aluminum baseball bat from Easton, official baseball, B-12	Replace	1	\$69.99 \$	69.99	6.25%			\$ 74.3	
3077	BASEMENT	Golf iron clubs	Replace	2	\$229.99 \$	459.98	6.25%			\$ 488.7	
3078	BASEMENT	Golf driver club	Replace	1	\$399.99 \$	399.99	6.25%		25.00		
3079	BASEMENT	5 pound fire extinguisher from Badger	Replace	1	\$42.99 \$	42.99	6.25%		2.69		
3080	BASEMENT	4 gallon paint bucket from Paint Solutions Plastic	Replace	2	\$33.99 \$	67.98	6.25%	\$	4.25	\$ 72.2	3 5+
3081	BASEMENT	12" tall X 18" long X 14" wide solid wood storage box or crate	Replace	4	\$20.99 \$	83.96	6.25%	\$	5.25	\$ 89.2	1 5+
											011
				_							Older than 5 years
3082	BASEMENT	750 ml bottle of wine	Replace	8	\$14.99 \$	119.92	6.25%		7.50		
3083	BASEMENT	Restaurant style quarter pan, stainless steel	Replace	4	\$7.99 \$	31.96	6.25%			\$ 33.9	
3084	BASEMENT	New baseball cap	Replace	16	\$29.99 \$	479.84	6.25%	\$	29.99	\$ 509.8	3 NEW
		Large electric Atomic Percolator urn from Regal, Model 7001NF									
3085	BASEMENT	(3 gallon electric coffee brewer, stainless steel), Photo 9467	Replace	1	\$44.99 \$	44.99	6.25%	\$	2.81	\$ 47.8	0 5+
3086	BASEMENT	Hunting chair, one that would mount on a tree made from plastic	Replace	1	\$49.99 \$	49.99	6.25%		3.12		
3087	BASEMENT	35" X 20" X 1-1/2" thick marble or slate, Photo 9468	Replace	1	\$89.99 \$	89.99	6.25%		5.62		
3088	BASEMENT	Large aluminum disposable buffet tray	Replace	14	\$2.99 \$	41.86	6.25%	\$	2.62	\$ 44.4	8 5+
		Box of Styrofoam serving tray from Genpak, 5 compartment, 500									
3089	BASEMENT	count	Replace	1	\$42.99 \$	42.99	6.25%	\$	2.69	\$ 45.6	
3090	BASEMENT	10 pound fire extinguisher from Badger	Replace	1	\$121.99 \$	121.99	6.25%	\$	7.62	\$ 129.6	1 5+
											https://www.aramsco.com/va
											cuums-wetdry/mastercraft-
		Large industrial vacuum from Master Craft, Model P41515W,									wet-dry-vacuum-poly-tank-
3091	BASEMENT	Photo 9469	Replace	1	\$1,080.89 \$	1,080.89	6.25%	\$	67.56	\$ 1,148.4	5 wet-dry-vacuum.html 5+
		300 psi air compressor from Porter Cable, Item PCFP02040,									
3092	BASEMENT	Photo 9470	Replace	1	\$219.99 \$	219.99	6.25%		13.75		
3093	BASEMENT	2 step aluminum step ladder from Coscc	Replace	1	\$24.99 \$	24.99	6.25%			\$ 26.5	5 5+
3094	BASEMENT	XL stainless steel stock pot or boiling pot with lid	Replace	1	\$69.99 \$	69.99	6.25%			\$ 74.3	
3095	BASEMENT	Hockey helmet from companies like Bauer, Itech	Replace	2	\$299.99 \$	599.98	6.25%		37.50	\$ 637.4	
3096	BASEMENT	Men's ice skates from Pearl 500 CCM	Replace	1	\$99.99 \$	99.99	6.25%		6.25		
3097	BASEMENT	Large universal tire iron or wrench, 4 way	Replace	3	\$12.99 \$	38.97	6.25%	\$	2.44	\$ 41.4	1 5+
3098	BASEMENT	Large fishing reel, Photo 9472	Replace	1	\$379.99 \$	379.99	6.25%	\$		\$ 403.7	
		74" long wood saw - like old style saw 2 guys would use to cut									
3099	BASEMENT	down giant trees, Photo 9473	Replace	1	\$189.99 \$	189.99	6.25%	\$	11.87	\$ 201.8	6 5+

3100 3101	BASEMENT BASEMENT	Pneumatic paint gun 24" tall brass weather vane	Replace Replace	1 1	\$84.99 \$ \$199.00 \$	84.99 199.00	6.25% 6.25%	\$ 5.3 \$ 12.4		90.30 211.44		5+ 5+
3102	BASEMENT	Large wooden toolbox, 18" tall X 42" long X 13" wide, Photo 9474	Replace	1	\$169.99 \$ \$9.97 \$	169.99	6.25%	\$ 10.0		180.61		5+
3103	BASEMENT	20 gallon Sterilite plastic storage container with lid	Replace	4	\$9.97 \$	39.88	6.25%	\$ 2.	19 \$	42.37		5+
		Microscope kit in wooden storage box with nice dovetail;										
3104	BASEMENT	microscope is made by Cole Parmer, Model 3890, Photo 9475	Replace	1	\$321.99 \$	321.99	6.25%		12 \$	342.11		5+
3105	BASEMENT	XL plastic cooler from Rubbermaid	Replace	1	\$34.99 \$	34.99	6.25%	\$ 2.	19 \$	37.18		5+
3106	BASEMENT	6' tall X 3' wide solid steel cross by 1/2" thick, Photo 9476	Replace	1	\$374.99 \$	374.99	6.25%	\$ 23.4		398.43		5+
3107	BASEMENT	100' air hose, Photo 9477	Replace	i	\$39.99 \$	39.99	6.25%	\$ 2.		42.49		5+
3107	DASEMENT	Package of tubing from Everbilt, 20' clear vinyl, 50 psi, 7/16" X	Replace		\$35.55 \$	35.55	0.25/6	φ 2.	ου φ	42.49		3+
												_
3108	BASEMENT	5/16" Very small mini fridge from Coca Cola, holds a 6 pack of bottles,	Replace	4	\$5.99 \$	23.96	6.25%			25.46		5+
3109	BASEMENT	Photo 9478	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.	12 \$	53.11		5+
3110	BASEMENT	Locking doorknob kit, new	Replace	1	\$12.99 \$	12.99	6.25%	\$ 0.5	31 \$	13.80		NEW
3111	BASEMENT	Partitioned storage basket, plastic	Replace	1	\$7.99 \$	7.99	6.25%	\$ 0.	50 S	8.49		5+
3112	BASEMENT	7 outlet power strip, 4' long, uninstalled	Replace	1	\$19.99 \$	19.99	6.25%	\$ 1.3	25 \$	21.24		5+
3113	BASEMENT		Replace	i	\$129.99 \$	129.99	6.25%	\$ 8.		138.11		5+
		Cracker Barrel BB rifle or pellet rifle, Photo 9479										
3114	BASEMENT	Locking doorknob, keyed entry, Photo 9480	Replace	18	\$15.99 \$	287.82	6.25%	\$ 17.5		305.81		5+
3115	BASEMENT	3 gallon plastic bucket	Replace	2	\$2.99 \$	5.98	6.25%	\$ 0.3	37 \$	6.35		5+
		Solid wood collapsible workbench table, 6' long X 2' wide X 33"										
3116	BASEMENT	tall, Photo 9481	Replace	1	\$259.99 \$	259.99	6.25%	\$ 16.3	25 \$	276.24		5+
		,		-	,			*			https://www.grizzly.com/produ	-
0447	D.4.0E	Mallanda Malauro Bura area area	B1		40.47.55		0.0==:				cts/grizzly-13-planer-	-
3117	BASEMENT	Molder planer, Model W7S, Photo 9482, 9483	Replace	1	\$945.00 \$	945.00			06 \$		moulder/g1037z	5+
3118	BASEMENT	Hockey stick	Replace	2	\$39.99 \$	79.98	6.25%	\$ 5.		84.98		5+
3119	BASEMENT	Large canvas luggage bag from American Tourister	Replace	1	\$249.99 \$	249.99	6.25%	\$ 15.0	32 \$	265.61		5+
3120	BASEMENT	Large afghan throw blanket	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.		53.11		5+
0120	DAOLIILI	Eage agrantinow blanker	Першее	•	ψ43.33 ψ	45.55	0.2070	v 0.	- 4	00.11	Power Planers & Joiners - Routers, Planers & Joiners -	0.
											MSC Industrial Supply	
3121	BASEMENT	Surface Planer specialty tool, Photo 9484	Replace	1	\$1,045.29 \$	1,045.29	6.25%	\$ 65.3	33 \$	1,110.62		5+
3122	BASEMENT	Men's ski boots from Rival X5 Technica	Replace	1	\$239.99 \$	239.99	6.25%	\$ 15.0	00 \$	254.99		5+
3123	BASEMENT	Canvas carry on size luggage bag from American Tourister	Replace	1	\$149.99 \$	149.99	6.25%	\$ 9.3	37 \$	159.36		5+
3124	BASEMENT	Large aluminum dustpan, 18" wide	Replace	1	\$11.99 \$	11.99	6.25%	\$ 0.	75 \$	12.74		5+
3125	BASEMENT	18" tall hanging wall décor	Replace	1	\$47.99 \$	47.99	6.25%	\$ 3.0		50.99		5+
		Industrial floor drill, 14", 16 speed floor drill press from Tradesman,		-	*******							-
3126	BASEMENT	Model 8100, Photo 9486	Replace	1	\$495.00 \$	495.00	6.25%	\$ 30.9	94 \$	525.94		5+
3127	BASEMENT	Large table vise, Photo 9487	Replace	1	\$89.99 \$	89.99	6.25%	\$ 5.0		95.61		5+
3128	BASEMENT	Men's high top work boots from Chippewa	Replace	1	\$339.95 \$	339.95	6.25%	\$ 21.3		361.20		5+
3129	BASEMENT	Bull horns on wooden mantle, 18" across, Photo 9488	Replace	1	\$119.99 \$	119.99	6.25%	\$ 7.	50 \$	127.49		5+
		Industrial heavy duty drill press, 5 speed, made by CI Industrial										
3130	BASEMENT	Tool Company, Model K-13F-5, Photo 9489	Replace	1	\$410.00 \$	410.00	6.25%	\$ 25	3 \$	435.63		5+
0100	DAGEMENT	Allowance-misc. tools such as channel locks, hacksaws, hammer	replace	•	ψ+10.00 ψ	410.00	0.2070	Ψ 20.	,, ,	400.00		٥.
		style staplers, shears, flat screwdrivers, Philips screwdrivers,										
3131	BASEMENT	torch flint strikers, etc., Photo 9490	Replace	1	\$150.00 \$	150.00	6.25%	\$ 9.3	38 \$	159.38		5+
3132	BASEMENT	XL stainless steel stock pot or boiling pot, 16" diameter, 14" tall	Replace	1	\$69.99 \$	69.99	6.25%	\$ 4	37 \$	74.36		5+
0102	DAOLINLIN	Large Dremel attachment head set from Dremel brand, Photo	replace	•	ψ00.00 ψ	05.55	0.2070	Ψ	,, ų	74.00		٥.
												_
3133	BASEMENT	9491	Replace	1	\$44.99 \$	44.99	6.25%	\$ 2.5	31 \$	47.80		5+
											Steff 2068 230V 3 Phase 6-	
											Roller 8 Speed Automatic	
		Automatic power feeder made by Steff, Model 2034, also says									Power Feeder	
3134	BASEMENT	Maggi Engineering Photo 9492, 9493	Replace	1	\$1,990.00 \$	1,990.00	6.25%	6 124	88 \$	2 444 20	(wurthmachinery.com)	5+
3134	DASEMENT	Maggi Engineening Photo 9492, 9493	Replace		\$1,550.00 \$	1,550.00	0.25/6	φ 124.·	90 ş	2,114.30	(wurtimachinery.com)	3+
		Some kind of air compressor or some kind of motor, Photo 9494,										
3135	BASEMENT	burnt too much to identify further	Replace	1	\$149.00 \$	149.00	6.25%	\$ 9.3	31 \$	158.31		5+
3136	BASEMENT	3' long X 10" wide solid wood tool box	Replace	1	\$179.99 \$	179.99	6.25%	\$ 11.3		191.24		5+
3137	BASEMENT	Simmer pump, Model 2305, like a sump pum	Replace	i	\$89.99 \$	89.99	6.25%	\$ 5.0		95.61		5+
3131	DASEMENT	Similier pump, woder 2505, like a sump pum	Replace		ф03.33 ф	05.55	0.25/6	a 5.)2 ş	33.01		3+
											https://www.homedepot.com/	
											p/Delta-15-Amp-10-in-Table-	
											Saw-with-30-in-Rip-Capacity-	
											Cast-Iron-Table-and-	
											Extension-Wings-36-	
											5100T2/312714776?source=	
3138	BASEMENT	Contractor's saw from Delta, Model 10, Photo 9495	Replace	1	\$1,245.99 \$	1,245.99	6.25%	\$ 77.5	37 \$	1,323.86	shoppingads&locale=en-US	5+
											https://www.homedepot.com/	
											p/Grundfos-SCALA2-208-230-	
											Volt-Booster-Pump-	
											98562817/300479706?sourc	
											e=shoppingads&locale=en-	
3139	BASEMENT	Some kind of pump made by Grundfos, Photo 9497	Replace	1	\$678.48 \$	678.48	6.25%	\$ 42.	11 \$	720.89		2 years old
2.30				•		3.00	2.20,0			0.00	-	_ ,
											https://www.rei.com/product/1	
											81624/rossignol-blackops-	
											sender-skis-mens-	
											20202021?CAWELAID=1202	
3140	BASEMENT	Adult skis from Rossignol, Photo 9498	Replace	1	\$699.95 \$	699.95	6.25%	\$ 43	75 \$	743 70	17890010815485	5+
0.70				•	ψ ψ	355.55	JU/0	,	- ¥	1 40.10		٠.
2444	DACEMENT	Total band band with anti-out of the Care	Danter		6460.00.0	400.00	C 0 = 0/			212 49		.
3141	BASEMENT	Twin head board with caster wheels, solid wood, Photo 9499	Replace	1	\$199.99 \$	199.99	6.25%	\$ 12.	50 \$	212.49		5+

pretty sure this is the pool pump, brand name Hayward

https://www.homedepot.com/ p/Grizzly-Industrial-7-x-12-Metal-Cutting-Bandsaw-G0561/310065189?source=s hoppingads&locale=en-US

3142	BASEMENT	XL band saw, 6' tall, Photo 9500	Replace	1	\$1,228.95 \$	1,228.95	6.25%	\$	76.81	\$	1,305.76	hoppingads&locale=en-US	5+	
24.42	DACEMENT	Adult skis, very badly burned, unable to determine brand, Photo	Daniesa	•	\$499.00 \$	000.00	6.25%	•	62.38		4 000 20		5+	
3143	BASEMENT	9501 Waadan wark barra Phata 0502	Replace	2		998.00					1,060.38		5+	
3144	BASEMENT	Wooden work horse, Photo 9502	Replace	2	\$44.99 \$	89.98	6.25% 6.25%		5.62		95.60 76.46		5+	
3145	BASEMENT	100' heavy duty outdoor extension cord	Replace	4	\$17.99 \$	71.96	6.25%	>	4.50	\$	/6.46		5+	
		Disco of 16' long V 6" wide V 1 1/2" colid wood. Dhote 0502												this is the trim from Megs
3146	BASEMENT	Piece of 16' long X 6" wide X 1-1/2" solid wood, Photo 9503, 9504	Replace	25	\$54.99 \$	1,374.75	6.25%	•	85.92	•	1,460.67		new	house (I have receipt)
3147	BASEMENT	Plastic snow shovel		2	\$29.99 \$	59.98	6.25%	\$			63.73		5+	riouse (i riave receipt)
3148	BASEMENT		Replace	2			6.25%		6.25	\$ \$	106.23		5+	
		Medium cooler from Colemar	Replace		\$49.99 \$	99.98		\$					5+	
3149	BASEMENT	Large cooler from Coleman	Replace	1	\$159.99 \$	159.99	6.25%		10.00	\$	169.99			
3150	BASEMENT	3 gallon water cooler from Coleman	Replace	1	\$14.99 \$	14.99					15.93		5+	
3151	BASEMENT	Large hard plastic lunchbox from Colemar	Replace	1	\$12.99 \$	12.99	6.25%			\$	13.80		5+	
3152	BASEMENT	Caulk gun	Replace	3	\$19.99 \$	59.97	6.25%		3.75		63.72		5+	
3153	BASEMENT	Industrial tape gun	Replace	1	\$10.99 \$	10.99	6.25%	\$	0.69	\$	11.68		5+	
3154	BASEMENT	Tube of caulk, silicone, 10 ounce	Replace	9	\$5.99 \$	53.91	6.25%	\$	3.37	s	57.28		??	Some of this is brand new, may be a few years old but never opened
0.01	2,102211	14" X 14" putty tray that you hold in your hand - you put a bunch	Topiaco	·	¥0.00 ¥		0.2070	*	0.0.	*	020		••	ola bat hovor opolica
2455	BASEMENT	of putty on it and then use your putty knife to take it off, Photo	Daniesa	•	\$3.99 \$	7.00	C 050/	•	0.50		0.40		5+	
3155		9505	Replace	2		7.98	6.25%				8.48			
3156	BASEMENT	Window screen replacement roll, new	Replace	2	\$21.99 \$	43.98	6.25%	\$		\$ \$	46.73		NEW	
3157	BASEMENT	20 ounce XL fishing weight for recreational pole fishing	Replace	8	\$5.99 \$	47.92	6.25%	\$	3.00		50.92		5+	
3158	BASEMENT	Small plastic tackle box	Replace	1	\$9.99 \$	9.99	6.25%				10.61		5+	
3159	BASEMENT	Allowance-various tackle, Photo 9506	Replace	1	\$50.00 \$	50.00	6.25%		3.13		53.13		5+	
3160	BASEMENT	14" X 8" wide solid metal tackle box	Replace	1	\$115.00 \$	115.00	6.25%				122.19		5+	
3161	BASEMENT	Large plastic tackle boxes	Replace	2	\$29.99 \$	59.98	6.25%	\$			63.73		5+	
3162	BASEMENT	Allowance-various tackle, Photo 9507, 9508	Replace	1	\$100.00 \$	100.00	6.25%	\$	6.25	\$	106.25		5+	
3163	BASEMENT	Mini bowling ball with leather carry bag / storage bag, Photo 9509	Replace	4	\$129.99 \$	519.96	6.25%	\$	32.50	\$	552.46		5+	
3164	BASEMENT	Brush for floor polisher, 16" diameter, Photo 9510	Replace	1	\$100.99 \$	100.99	6.25%	\$	6.31	\$	107.30		5+	
3165	BASEMENT	Allowance-various electrical outlets, industrial type, Photo 9511	Replace	1	\$75.00 \$	75.00	6.25%	\$	4.69	s	79.69		5+	
3166	BASEMENT	3 gallon plastic bucket	Replace	2	\$2.99 \$	5.98	6.25%	\$			6.35		5+	
3167	BASEMENT	Brush for floor polisher, 16" diameter	Replace	1	\$100.99 \$	100.99	6.25%	\$	6.31	Š	107.30		5+	
3168	BASEMENT	15 piece router bit set from Carb Tech	Replace	1	\$64.99 \$	64.99	6.25%		4.06		69.05		5+	
		Black & Decker Professional 1/2" magnetic drill press, tabletop,												
3169	BASEMENT	Model 1557, Photo 9512	Replace	1	\$139.99 \$	139.99	6.25%	\$	8.75	\$	148.74		5+	
3170	BASEMENT	Metal folding chair	Replace	2	\$39.99 \$	79.98	6.25%	\$	5.00	\$	84.98		5+	
		Cordless inflator and 12 volt power pack (like a battery charger),												
3171	BASEMENT	260 psi, Photo 9513	Replace	1	\$179.00 \$	179.00	6.25%	\$	11.19	\$	190.19		5+	
3172	BASEMENT	Large 24" long paint mixer drill bit attachmen	Replace	1	\$12.99 \$	12.99			0.81		13.80		5+	
3173	BASEMENT	Assorted screwdrivers, flat and Philips, Photo 9514	Replace	19	\$9.99 \$	189.81	6.25%		11.86		201.67		5+	
					*****			•		•			-	
												https://shopkoopman.com/pro ducts/hitachi-c10fsbp4-miter- saw-10-in-dia-blade-3800- rpm-speed-45-57-deg-max- miter-angle-45-deg-max-bevel angle?variant=39255169007 793¤cy=USD&utm_me dium=product_sync&utm_sou roe=google&utm_content=sa		
		Large tabletop miter saw from Hitachi, Model C10FSB, Photo		_								g_organic&utm_campaign=sa	_	
3174	BASEMENT	9515	Replace	1	\$529.99 \$	529.99			33.12		563.11	g_organic	5+	
3175	BASEMENT	50' garden hose with sprayer attachment	Replace	1	\$36.99 \$	36.99	6.25%		2.31		39.30		5+	
3176	BASEMENT	21 piece drill bit set, the actual drills	Replace	1	\$29.99 \$	29.99	6.25%		1.87		31.86		5+	
3177	BASEMENT	24" long pry bar	Replace	4	\$14.99 \$	59.96	6.25%	\$	3.75		63.71		5+	
3178	BASEMENT	50' heavy duty outdoor extension cord	Replace	3	\$21.99 \$	65.97	6.25%	\$	4.12	\$	70.09		5+	
		What is in the state of the state of the American Online State										https://www.tools4flooring.co		
0470	DAGEMENT	XL stainless steel sander made by American Spinner, Photo	B		40.400.00	0.400.55	0.050	•	405.00	•	0.005	m/american-sanders-super-7r-	· .	
3179	BASEMENT	9516, takes 8" discs	Replace	1	\$2,160.00 \$	2,160.00	6.25%	\$	135.00	\$	2,295.00	edger.html	5+	

https://shopkoopman.com/pro
ducts/hitachi-c10fsbp4-miter-
saw-10-in-dia-blade-3800-
rpm-speed-45-57-deg-max-
miter-angle-45-deg-max-beve
angle?variant=39255169007
793¤cy=USD&utm_me
dium=product_sync&utm_sou
rce=google&utm_content=sa
g_organic&utm_campaign=sa

												rce=google&utm_content=sa	
		Large industrial miter saw from Hitachi, Model C10FS, Photo										g_organic&utm_campaign=sa	_
3180	BASEMENT	9517	Replace	1	\$529.99 \$	529.99	6.25%		33.12			g_organic	5+
3181	BASEMENT	29 piece drill bit set from DeWalt	Replace	1	\$59.99 \$	59.99	6.25% 6.25%	\$ \$	3.75		63.74		5+
3182	BASEMENT	1/2" cordless drill from Porter Cable, Model PCC601	Replace	1	\$112.99 \$	112.99	6.25%	Þ	7.06	•	20.05	•	5+
3183	BASEMENT	1/2" cordless drill from Porter Cable, Model number scraped off	Replace	1	\$112.99 \$	112.99	6.25%	\$	7.06	s ·	20.05	•	5+
3184	BASEMENT	Cordless drill from Hitachi, Model DS18DVF3	Replace	1	\$224.99 \$	224.99	6.25%	\$	14.06		239.05		5+
3185	BASEMENT	Cordless impact driver from Porter Cable, Model burnt	Replace	1	\$136.99 \$	136.99	6.25%	\$	8.56		45.55		5+
3186	BASEMENT	Cordless drill from Craftsman, model number burn	Replace	1	\$79.99 \$	79.99	6.25%	\$	5.00	Š	84.99)	5+
3187	BASEMENT	Cordless impact driver from Hitachi, Model PC-GF15	Replace	1	\$389.00 \$	389.00	6.25%	\$	24.31	\$	113.31		5+
3188	BASEMENT	Disc sander from Hitachi, Model SV13YB	Replace	1	\$324.99 \$	324.99	6.25%	\$	20.31	\$	345.30	1	4years
3189	BASEMENT	Cordless drill driver from Hitachi, Model DS12DVF	Replace	1	\$224.99 \$	224.99	6.25%	\$	14.06	\$:	239.05	•	5+
3190	BASEMENT	Cordless drill from Porter Cable, Model burnt off Some kind of tabletop disc cutter, badly burned, can't read brand	Replace	1	\$96.99 \$	96.99	6.25%	\$	6.06	\$	03.05	•	5+
3191	BASEMENT	or model, Photo 9521 Battery charger, drill, from Porter Cable, Photo 9525, 9526 for all	Replace	1	\$129.00 \$	129.00	6.25%	\$	8.06	\$	37.06	•	5+
3192	BASEMENT	drills	Replace	2	\$40.99 \$	81.98	6.25%	\$	5.12	s	87.10	1	5+
3193	BASEMENT	Battery charger from Hitachi	Replace	1	\$63.99 \$	63.99	6.25%		4.00		67.99		5+
3194	BASEMENT	Small canvas tool bag from Porter Cable	Replace	1	\$28.99 \$	28.99	6.25%		1.81		30.80		5+
3195	BASEMENT	20 volt lithium battery pack from Porter Cable	Replace	4	\$69.99 \$	279.96	6.25%		17.50		297.46		5+
		14" oscillating spindle sander from Central Machinery, Item			*******			•		•			
3196	BASEMENT	69257, Photo 9523	Replace	1	\$149.99 \$	149.99	6.25%	\$	9.37	\$	59.36	;	5+
3197	BASEMENT	Craftsman wet/dry vac, 16 gallon, Photo 9524	Replace	1	\$119.99 \$	119.99	6.25%	\$	7.50	\$	27.49	1	5+
3198	BASEMENT	1-1/2" X 22" cutter drill bit from Hitachi, new in package	Replace	1	\$64.99 \$	64.99	6.25%	\$	4.06	\$	69.05	;	NEW
		Allowance-various hardware such as nuts, screws, bolts, etc.,	•										
3199	BASEMENT	Photo 9527, 9528, 9529	Replace	3	\$500.00 \$	1,500.00	6.25%	\$	93.75	\$ 1,	93.75		5+
3200	BASEMENT	5 gallon bucket of all purpose joint compound from Sheetrock	Replace	1	\$15.99 \$	15.99	6.25%	\$	1.00	\$	16.99	1	5+
		40" and all arms are used to confirm a second by Confirm										https://www.woodcraft.com/pr oducts/radial-arm-saw-with- 12-blade-and-24-crosscut-	
3201	BASEMENT	10" radial arm saw, very large machinery, made by Craftsman,	Daniesa	1	\$5,119.99 \$	5.119.99	6.25%	•	320.00		20.00		5+
3202	BASEMENT	Photo 9531, 9532 5 gallon gasoline can	Replace Replace	2	\$5,119.99 \$	47.98	6.25%			\$ 5,4	50.98	3hp-1-phase-208-230v	5+ 5+
3202	BASEMENT			2	\$63.99 \$	127.98			8.00		35.98		
3203	BASEMENT	100' outdoor extension cord, heavy duty 100' outdoor extension cord, heavy duty	Replace Replace	2	\$63.99 \$	127.98	6.25%		8.00		35.98		5+ 5+
												https://www.homedepot.com/ p/DEWALT-15-Amp-Corded- 10-in-Job-Site-Table-Saw- with-Rolling-Stand- DWE7491RS/204512007?g_ store~4502&source=shoppin	
3205	BASEMENT	Large table saw made by DeWalt, Photo 9533	Replace	1	\$599.00 \$	599.00	6.25%	\$	37.44	\$	36.44	gads&locale=en-US	5+
3206	BASEMENT	Disc sander from Bosch, Model 3725DEVS, Photo 9534	Replace	1	\$69.99 \$	69.99	6.25%	\$	4.37	\$	74.36	i -	5+
3207	BASEMENT	DeWalt cordless drill, 1/2", Model DC720 with spare battery, battery charger, and storage case, plastic, Photo 9535	Replace	1	\$99.00 \$	99.00	6.25%	¢	6.19		05.19	1	5+
3201	DASLINLIN	Porter Cable router, Model 7301, with four attachments: Model 7309, 7318, 7311, 7320, with hard plastic storage case, Photo	Replace	•	φ33.00 φ	33.00	0.2376	Ψ	0.13	•	05.12		<u> </u>
3208	BASEMENT	9536 Milwaukee Sawzall, Cat. 0519-30 with hard plastic carry case,	Replace	1	\$343.99 \$	343.99	6.25%	\$	21.50	\$	865.49	1	5+
3209	BASEMENT	Photo 9537 Package of Milwaukee Sawzall demolition 5X life replacement	Replace	1	\$119.00 \$	119.00	6.25%	\$	7.44	\$	26.44	,	5+
3210	BASEMENT	blades DeWalt 15 degree coil nail gun, pneumatic, 1-3/4" X 3-1/4" - coil	Replace	6	\$44.99 \$	269.94	6.25%	\$	16.87	\$	286.81		5+
3211	BASEMENT	framing nailer, Model DW325C, Photo 9538 Makita XL circular saw, blade size 10-1/4", Model 5104, Photo	Replace	1	\$249.00 \$	249.00	6.25%	\$	15.56	\$	264.56	•	NEW
3212	BASEMENT	9539	Replace	1	\$299.00 \$	299.00	6.25%	\$	18.69	\$	317.69)	5+
3213	BASEMENT	XL ratchet and socket set and wrenches from Husky, Photo 9540 Multi cutting tool from Multi Master or Fein, Model FMM250Q,	Replace	1	\$149.00 \$	149.00	6.25%	\$	9.31	\$	58.31		5+
3214	BASEMENT	Photo 9541 Large hammer drill from Hilti, Model TE12S, with storage case,	Replace	1	\$349.99 \$	349.99	6.25%	\$	21.87	\$	371.86	i	5+
3215	BASEMENT	plastic, Photo 9542	Replace	1	\$799.00 \$	799.00	6.25%	\$	49.94	\$	348.94	l .	5+
3216	BASEMENT	Large 7-1/4" circular saw from Hitachi, Model C7SV2, Photo 9543	Replace	3	\$149.00 \$	447.00	6.25%	\$	27.94	\$	174.94	ı	5+
3217	BASEMENT	Circular saw from Makita, 7-1/4", Model 5007MG, Photo 9543	Replace	1	\$159.00 \$	159.00	6.25%	\$	9.94	\$	68.94	ı	5+
3218	BASEMENT	Large pellet rifle from Marksman - crack barrel, Photo 9544	Replace	1	\$129.99 \$	129.99	6.25%	\$	8.12	\$	38.11		5+

3219 3220	BASEMENT BASEMENT	100' outdoor extension cord Wood saw	Replace	2	\$63.99 \$ \$9.99 \$	127.98 29.97	6.25% 6.25%	\$ 8.00 \$ 1.87		135.98 31.84		5+ 5 +
			Replace									
3221	BASEMENT	Large wooden clamp, not sure what to call them, Photo 9545	Replace	20	\$39.99 \$		6.25%			849.79		5 +
3222	BASEMENT	2-1/2 gallon pressurized water fire extinguisher, Photo 9546	Replace	3	\$139.99 \$	419.97	6.25%			446.22		5 +
3223	BASEMENT	Turbo Torch torch attachment	Replace	1	\$109.99 \$	109.99	6.25%	\$ 6.87		116.86		5 +
3224	BASEMENT	Dry tape banjo from Goldblatt, new in box	Replace	1	\$72.99 \$	72.99	6.25%	\$ 4.56	\$	77.55		NEW
3225	BASEMENT	Jigsaw from Bosch, Model 1587AVS	Replace	1	\$269.00 \$	269.00	6.25%	\$ 16.81		285.81		5+
3226	BASEMENT	7-1/4" circular saw from Makita, Model 5007F, Photo 9548	Replace	5	\$159.00 \$	795.00	6.25%	\$ 49.69	\$	844.69		5+
3227	BASEMENT	Some kind of hammer drill or impact drill, XL, industrial, from Makita, no model number, Photo 9549	Replace	1	\$299.00 \$	299.00	6.25%	\$ 18.69		317.69		5+
			•									
3228	BASEMENT	Heavy duty router from Porter Cable, Model 690LR, Photo 9550 Pneumatic air gun from DeWalt, wide crown lathing stapler, Model	Replace	1	\$343.99 \$	343.99	6.25%	\$ 21.50	\$	365.49		5+
3229	BASEMENT	DW450S2, Photo 9551 Bostitch pneumatic nail gun, Model SB-1850BN and Model	Replace	1	\$278.00 \$	278.00	6.25%	\$ 17.38	\$	295.38		5+
3230	BASEMENT	HP118, Photo 9552	Replace	2	\$99.99 \$	199.98	6.25%	\$ 12.50	\$	212.48		5+
3231	BASEMENT	15 degree coil roofing nailer, pneumatic, from Porter Cable, Model RN175B, Photo 9553	Replace	1	\$199.00 \$	199.00	6.25%	\$ 12.44	. s	211.44		5+
		Random orbit sander from Milwaukee, Cat. 6034-21 with small		1								
3232	BASEMENT	canvas tote bag also from Milwaukee, Photo 9554	Replace	1	\$119.00 \$	119.00	6.25%	\$ 7.44	. >	126.44		5 +
		DeWalt coil siding and fencing nailer, Model DW66C-1, with										
3233	BASEMENT	plastic carry case - appears to be like new, Photo 9555	Replace	1	\$244.00 \$	244.00	6.25%	\$ 15.25	\$	259.25		NEW
3234	BASEMENT	Dry tape banjo from Goldblatt	Replace	2	\$72.99 \$	145.98	6.25%	\$ 9.12	\$	155.10		5 +
3235	BASEMENT	Adult skis from Hart, Photo 9556	Replace	1	\$479.99 \$	479.99	6.25%	\$ 30.00	\$	509.99		5 +
3236	BASEMENT	Bicycle frame from Legacy, Photo 9558	Replace	1	\$199.95 \$	199.95	6.25%	\$ 12.50	\$	212.45		5 +
3237	BASEMENT	Adult skis from companies like Salomor	Replace	2	\$439.99 \$	879.98	6.25%	\$ 55.00		934.98		5 +
3238	BASEMENT	Ski poles, Photo 9559	Replace	3	\$39.99 \$	119.97	6.25%	\$ 7.50		127.47		5+
3239	BASEMENT			1	\$429.99 \$	429.99	6.25%			456.86		5+
3239	BASEMENT	Some kind of engine from Flotek, Model C48L2EC15, Photo 9560 LED shop light from Max Light, new, Model SL-48401-50, Photo 9561	Replace Replace	2	\$429.99 \$ \$26.99 \$		6.25%			456.66 57.35		NEW
3241	BASEMENT	5' tall standing box freezer, Photo 9562	Replace	1	\$879.00 \$	279.00	6.25%	\$ 54.94	c		JOSE-17-3-cu-ft-Frost-Free- Juright-Freezer-in-White- FUF17SMRWW/305904825 /Source-shoppingads&locale reen-US&mtc-Shopping-VF- -DYNM-G-D29A- 92 13 REFRIGERATION- JE-NA-NA-PLA_LIA- 1912813-WF- MK461603329_9015827320 FY21_32&cm_mmc=Shopping-VF-F_DYNM-G-D29A- 192-VF-F_DYNM-G-D29A- 192-VF-F_DYNM-G-D29A- 192-WF-F_DYNM-G-D29A- 192-WF-F_DYNM-G-D29A- 1912813-WF- MK461603329_9015827320 FY21_32- /TY00000862057371- J2700061809972781&gclid= Cj0KCQjw1a6EBhC0ARIsAOI fkrf_JBShkQOn_unWnYiYq oberaVtZWCYCYBXOEE	5+
		5' tall standing box freezer, Photo 9562 Allowance-freezer food		1							vcB&gclsrc=aw.ds	
3242	BASEMENT		Replace	1	\$500.00 \$	500.00	6.25%	\$ 31.25	•	531.25		5 +
3243	BASEMENT	Mini box fridge from companies like Kenmore, Juliette by Topp, Photo 9563	Replace	2	\$1,299.90 \$	2,599.80	6.25%	\$ 162.49	\$	r F	nttps://www.aircompressorsdi ect.com/Porter-Cable- PXCMLC3706056-Air-	5+
		60 gallon oil lubricated cast iron cylinder sleep pump air									Compressor/p9201.html?utm	_
3244 3245	BASEMENT BASEMENT	compressor from Porter Cable, 135 psi, Photo 9564 Moose or deer antlers, 3' across, Photo 9565	Replace Replace	1 1	\$809.99 \$ \$129.00 \$	809.99 129.00	6.25% 6.25%	\$ 50.62 \$ 8.06		860.61 137.06	term=0catch9201	5 + 5 +
		Model truck from companies like Hess, new in box, Photo 9566,										
3246	BASEMENT	9567	Replace	10	\$49.99 \$		6.25%	\$ 31.24		531.14		NEW
3247	BASEMENT	50' compressor air hose	Replace	2	\$34.99 \$	69.98	6.25%	\$ 4.37		74.35		5 +
3248	BASEMENT	Assorted electrical wire roll, 250' each, Photo 9568	Replace	8	\$140.00 \$	1,120.00	6.25%	\$ 70.00	\$	1,190.00		5 +
3249	BASEMENT	4' tall standing decoration, for Christmas, solid wood, Photo 9569	Replace	1	\$49.99 \$	49.99	6.25%	\$ 3.12		53.11		5+
3250	BASEMENT	WD40	Replace	2	\$12.00 \$	24.00	6.25%	\$ 1.50		25.50		NEW
3251	BASEMENT	Gallon of Elmers wood glue	Replace	1	\$25.00 \$	25.00	6.25%	\$ 1.56		26.56		New
3252	BASEMENT	Painters tape	Replace	4	\$20.00 \$	80.00	6.25%	\$ 5.00		85.00		1-5
3253	BASEMENT	packing tape	Replace	6	\$4.00 \$	24.00	6.25%	\$ 1.50		25.50		NEW
3254	BASEMENT	Oil for machines - Lubing oil	Allowance	1	\$15.00 \$	15.00		\$ -	\$	15.00		1-5
3255	BASEMENT	tape measure	Replace	5	\$15.00 \$	75.00	6.25%	\$ 4.69		79.69		1-5
3256	BASEMENT	Tyvek tape	Replace	3	\$15.00 \$	45.00	6.25%	\$ 2.81		47.81		1-5

3257 3258 3259 3260 3261 3262	BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT BASEMENT	wood wax electrical tape Johhny Ro park branding Iron Solar cover for the pool tub of Chlorine Pool Shock	Replace Replace Replace Replace Replace Replace	1 3 1 1 1	\$10.00 \$ \$3.00 \$ \$225.00 \$ \$150.00 \$ \$50.00 \$		6.25% 6.25% 6.25% 6.25% 6.25% 6.25%	\$ \$ \$	0.63 0.56 14.06 9.38 3.13 1.88	\$ 10.63 9.56 239.06 159.38 53.13 31.88		5+ 5+ 2 1-5 1	TBD
3263	BASEMENT	Shark Pool vacume	Replace	1	\$154.99 \$	154.99	6.25%	\$	9.69	\$ 164.68	https://intheswim.com/p/lil- shark-suction-side-automatic- above-ground-pool- cleaner/62698.html?utm_sour ce=google&utm_medium=cpc &utm_campaign=TTS_PD_SH OP_GOOG_NB_SMART_D4 00&gcild=CjwtKCAjw47eFBhA 9EiwAy8kzNCO1fJFB006Pg2 RPbLRPSt70OONDCr4S2vy Wt6XB6TezTTZkoAKM2yRo CIHOOAVD_BWE	4	TBD

<u>Total</u> \$ 452,870.29